D 1 O ® CATALOG 45
v A 316L STAINLESS METRIC
VERSION
O T N \ ‘ AR \

manufacturing products

‘MAIN’ HYDRAULIC
FLANGES AND COMPONENTS

ENCE: Over 55 Years of Dependability
000 square foot State-of-the-Art manufacturing facility

-bolt Flanges manufactured in the USA

QUICK DELIVERY: Over 5 Million Dollar Inventory
Flanges available in St., El., Tee, Wye, and other configurations
Ports available include Socket Weld, Butt Weld, NPTF and others

MTR’s available on Stainless Steel and common Carbon Steel flanges

MAIN MANUFACTURING PRODUCTS MAINmfa.com TOLL FREE PHONE: 800-521-7918
3181 TRI-PARK DRIVE i“n“ f““ “@“' y AINmfg. o MICHIGAN PHONE: 810-953-1380
GRAND BLANC, MICHIGAN 48439 ° g.co FAX: 810-953-1385

© Copyright MAIN Mfg. 2019



MAIN FLANGES ASSURE YOU OF THESE ADVANTAGES

V' EXPERIENCE - Over 55 years experience in designing, developing, manufacturing, and
distributing quality hydraulic flanges and components.

v ASSISTANCE - Engineers are active on ISO, SAE and NFPA technical committees and
are available to assist you with a toll free call (USA & CANADA)
800-521-7918 or 810-953-1380. Faxes can be sent to 810-953-1385.
E-mail inquiries to info@MAINmfg.com. Our “"Quick Reference Guide”
or MAIN’S web site, MAINmfg.com can also help.

v QUICK DELIVERY - Over 5 million dollar inventory and over 15,000 different items, including
some specials, available for stock delivery. Our 48,000 square foot
state-of-the-art manufacturing facility with specialized tooling and
fixtures allows MAIN to manufacture parts quickly, when items are
not in stock.

THE RIGHT PART, RIGHT TIME, RIGHT PRICE

MAIN manufactures components to SAE, ISO, Japanese, German, British and many
company standards with nearly 7,000 special blueprints going back over 50 years.
Most non-stock items are available in a few days. MAIN stocks 200+ tons of raw steel
and STAINLESS to 15” X 15”. Our staff can be of great assistance with up to 35 years
experience and working on SAE, NFPA, and ISO standards committees.

INCREASE YOUR PROFITS

Downtime costs money! Because MAIN has the skill, knowledge, experience,
materials, and tools, in-house, we can help keep your production lines going.
Usually delivery time will be much less than attempting to engineer and make the
flange in your own facility. You can be assured of receiving a flange manufactured
to the highest industry standards.

OVER 5,000 NON-CATALOGED ITEMS IN STOCK

MAIN manufactures over 15,000 items in Michigan. Every week a few new items are
added. This 120 page paper catalog shows only a few, while the electronic and on-line
catalog has over 200 pages of flanges and fittings. Visit MAINmfg.com to view these
pages or request our USB Flash Drive.

MATERIALS

MAIN can manufacture parts from any commercially available metal quickly and efficiently.

W Carbon Steel i Stainless Steel ¥ Pressure Vessel Quality
M Hastelloy M Monel = Aluminum
M Cupro-Nickel M Inconel

© Copyright 2019 Printed in the USA All Rights Reserved 10987654321



TABLE OF CONTENTS

Preface and Ordering Information . . . . . . . . . . . . . . . .. ... I
Special Flanges . . . e
Sales Terms and Condltlons .......................... ITI
SAE STYLE FLANGES - 61 Series & 62 Series
Socket Weld Pipe In-Line Flanges . . . . . . . . . . . . . . . . oo 1
Socket Weld In-Line Flanges with Gauge Ports - 1/4” NPTF & -4 ORB . . . . . . .. 4
Blind Flanges . . . 4
Socket Weld Pipe Elbow FIanges .......................... 8
Socket Weld Pipe Tee Flanges - Branch & Run Tee . . . . . . . . . . . . .. 10
Socket Weld Tube Flanges - In-Line & Elbow . . . . . . . . . . . . ... .. 12
Socket Weld Tube Tee Flanges - Branch & Run Tee . . . . . . . . . . . . .. 14
NPTF Threaded Flanges - In-Line & Elbow . . . . . . . . . . . . . ... .... 16
NPTF Threaded Tee Flanges - Branch & Run Tee . . . . . . . . . . . . . ... 20
BSPT Threaded Flanges - In-Line & Elbow . . . . . . . . . . ... ... .... 22
SAE 11926 (ORB) Threaded Flanges - In-Line & Elbow . . . . . . . .. .. .. 24
SAE ]1926 (ORB) Threaded Tee Flanges - Branch & Run Tee . . . . . . . . . 28
BSPP Threaded Flanges - In-Line & Elbow . . . . . . . . . . .. .. .. .... 30
ISO 6149 Threaded Flanges - In-Line & Elbow . . . . . . . . . .. ... ... 32
Butt Weld In-Line Flanges for Schedule 10, 40, 80, 160 & XXS Pipe . . . . .. 34
Butt Weld Elbow Flanges for Schedule 40, 80, 160 & XXS Pipe . . . . . . . .. 44
Spacers & Gauge Port Adapters - 1/4", 3/8", 1/2" & 3/4" . . . . . . . . . . .. 52
Flanged Elbow Flanges . . . . . . . . . . . . . . . . . . oo 58
Flanged Tee Flanges - Branch & Run Tee . . . . . . . . . . . . . . . . ... 60
Flange Adapters - 61x62, 61x61, 62x61 & 62x62 Series . . . . . . . . . .. 62
Connector Blocks, Plates & O-Ring Adapters . . . . . ... ... ... .. . 68
Reservoir & Tank Port Adapters . . . . . . . . . . . . . . . . ..o 72
Couplings - BSPP, BSPT . . . . . e ... . 74
Socket Weld Pipe Flanges - Flat Face W|th Clearance Bolt Holes . . . . .. 75
Split Flanges & Flange Clamps . . . . . . . e e e e e e e v .o ... 76
Socket Weld Flanged Heads - Pipe & Tube . . . . . . . . . . . . . .. ... 78
Threaded Flanged Heads - NPTF & SAE J1926 (ORB) . . . . . . . . . . . .. 80
Butt Weld Flanged Heads for Schedule 40, 80, 160 & XXS Pipe . . . . . .. 82

4 BOLT SQUARE FLANGES
JIS B 2291, 210k - SH & SS Series

Socket Weld Pipe In-Line Flanges . . . . . . . . . . . . . . . . . 87
Blind Flanges . . . X |
Threaded In-Line FIanges - NPTF & SAE J1926 (ORB) . . . . . . . . 92
ISO 6164 - 250 & 400 BAR Series
Socket Weld Pipe In-Line & Blind Flanges . . . ... . 94
Threaded In-Line Flanges - NPTF, SAE J1926 (ORB) & ISO 6149 .. . . 96
Butt Weld In-Line Flanges for Schedule 80, 160 & XXS Pipe . . . . . 98
MISCELLANEOUS PAGES
Website Find - A - Flange Page . . . . . . . . . . . . . . . . . oo 6
Multiple Flange Pattern Explanation . . . . . . . . . . . . . ... ... ... .. 56
Stainless Steel Part Numbering Conversion . . . . . . . . .. .. ... . ... 67
Quick Reference Guide . . . . . e N0
Mounting Kits & Engineering Informatlon .......................... 102

© Copyright MAIN Mfg. 2019



PREFACE AND ORDERING INFORMATION

Six items will normally describe a flange: PAD (pattern and screw size), TYPE (O-Ring or Flat Faced),
PORT (size and type), GEOMETRY, MATERIAL, and OPTIONs. Our way of describing these items uses
MAIN Manufacturing Products’ "Standard Catalog Part Numbering System” as follows:

CATALOG PART NUMBERING SYSTEM

6 103 D M**

A;;m

Stainless Steel Indicated in 1/16ths |

Grade Specified by Option Code

6 = Standard - No Gauge Port 08 =1/2" 40 =2 1/2" B = 304/304L
7 = 1/4” NPTF Gauge Port 12 = 3/4" 48 = 3" D = 316/316L
8 = -4 ORB (7/16-20) Gauge Port 16 = 1" 56 =31/2"
20 =11/4" 64 = 4"
Carbon Steel 24 =11/2" 80 = 5"
32 =2" 96 = 6" M** = Metric and
1 = Standard - No Gauge Port 00 = NO PORT screw size
2 = 1/4" NPTF Gauge Port EXAMPLE:

M12 - for use

3 = -4 ORB (7/16-20) Gauge Port
(7/ ) Gaug with M12 screws

Currently MAIN has over 500 Model nhumbers. This catalog shows only the most popular styles.
Many other styles and patterns are in stock. Some special parts are under other part numbering
systems. Please contact us with specific requirements.

MATERIAL SPECIFICATIONS

Most MAIN flanges are manufactured from steel specifically ordered from the mill with special
requirements on internal soundness and surface finish. Socket and butt weld flanges are manufactured
from a low carbon steel with excellent welding characteristics. Standard threaded flanges may be
manufactured from a low carbon leaded or resulfurized steel for superior threading. To specify stainless
steel, see above. Other materials are available. If certification is required, it must be specified
in advance so that the order can be properly quoted and handled.

SAE 4-BOLT HYDRAULIC FLANGES

MAIN’'s SAE flanges are manufactured in accordance with the bolt pattern and O-Rings of SAE 1518
specifications, either Code 61 or Code 62, and ISO 6162. Stock flanges include socket weld, butt weld,
NPTF, and straight thread connections and are available as reducers, in-line, elbows, tees and wyes.
Companion (flat-faced) flanges, for unions or converting split flange connections to pipe or tubing, are
available with either inch or metric threads (see above for ordering information). The stated pressures
are from the SAE J518 and are not derived by MAIN. Connections are no stronger than the weakest
link (including welds, fasteners, and fittings, especially larger straight threads).

GAUGE PORTS

Flanges are available with 1/4" NPTF or -4 ORB threaded gauge ports for a nominal charge. Other sizes
and types (BSPT, BSPP, ISO 6149) are available at a higher cost and slightly longer lead times.

© Copyright MAIN Mfg. 2019



SPECIAL FLANGES

MAIN Manufacturing Products, Inc. has manufactured hundreds of “special flanges” which do not fit any
established bolt hole spacing. We welcome the opportunity to quote on any particular flange not shown in
either the catalog or on-line. With over 55 years of manufacturing, the flange you need could easily be on
our shelves but not cataloged. This includes flanges to ISO 6162, ISO 6164, JIS, or DIN standards
and/or flanges with blind, ISO 6149, BSPP, BSPT, or butt weld ports. Run tees, branch tees, wyes, and
crosses are also available. Visit MAINmfg.com for more options or call 800-521-7918.

SPECIAL PRODUCTS and CONTRACT MACHINING

MAIN Manufacturing Products, Inc. has specialized in the production of various hydraulic components,
including hydraulic flanges, adapters, cylinder end caps, and block manifolds. Our engineering staff is
always available for consultation on special products, special designs or other contract machining.

MOUNTING KITS (must be ordered separately)

The part number shown DOES NOT INCLUDE the mounting kit. This allows the customer to specify the type
of screw and O-Ring material required. Generally the mounting kit numbers shown in the catalog include:
4 socket head screws, 4 hi-collar lock washers, and one Buna-N O-Ring. The third digit from the right (5-8)
designates the type of mounting kit.

MK 5** MK 15**, MK 25** MK 35** series: Socket head screws, lock washers, & Buna-N O-Ring
MK 6**, MK 16**, MK 26**, MK 36** series: Socket head screws, lock washers, & Viton O-Ring
MK 7**, MK 17**, MK 27**, MK 37** series: Hex head screws, lock washers, & Buna-N O-Ring
MK 8**, MK 18**, MK 28**, MK 38** series: Hex head screws, lock washers, & Viton O-Ring

To specify stainless screws, add an SS at the end of the kit number (MK 533SS). Please note that using
stainless steel screws may reduce the pressure rating of the assembly.

LIMITED WARRANTY

The soundness of steel cannot and is not guaranteed by steel manufacturers as it is always possible
that any fluid connector may leak from a pinhole or porosity in the steel, not detectable commercially.
Therefore, EXCEPT FOR DIMENSIONAL ACCURACY, THE MANUFACTURER HAS MADE NO
AFFIRMATION OF FACT AND HAS MADE NO PROMISE RELATING TO THE GOODS BEING SOLD,
WHICH HAS BECOME PART OF THE BASIS OF THE BARGAIN MADE OR HAS CREATED OR
AMOUNTED TO AN EXPRESS WARRANTY THAT THE GOODS WOULD CONFORM TO ANY SUCH
AFFIRMATION OR PROMISE OTHER THAN DIMENSIONAL ACCURACY. ALSO, THE
MANUFACTURER DISCLAIMS ANY WARRANTY OF FITNESS FOR ANY PARTICULAR PURPOSES
AND ANY IMPLIED WARRANTY OF MERCHANTABILITY WHATSOEVER WITH RESPECT TO THE
GOODS BEING SOLD AND BUYER ACKNOWLEDGES THAT HE IS NOT RELYING ON SELLER'S
SKILL OR JUDGMENT TO SELECT OR FURNISH GOODS SUITABLE FOR ANY PARTICULAR
PURPOSES.

LIMITATION OF REMEDY

Catalog dimensions are for reference only and subject to engineering changes as the policy of
MAIN Manufacturing Products, Inc. is one of continuous improvement. If dimensions are critical,
request certified drawings. The sole remedy for breach of this warranty will extend only to the repair
or the replacement of the defective part when returned, freight prepaid, within 90 days from
purchase, after receiving permission for same. Seller will not be responsible for consequential damage.

11

© Copyright MAIN Mfg. 2019



SALES TERMS AND CONDITIONS

MAIN Standard Terms and Conditions apply on all orders unless approved in writing

by the SALES MANAGER or GENERAL MANAGER ONLY.

ORDERING

A. Standard Parts: Order by MAIN Part Number, with description, to assure accuracy.

B. Special Parts: Please furnish full information including drawings, dimensions, and system
pressure if available.

C. Confirming Orders: Confirming orders must be marked with "CONFIRMING"” preferably
across the order. MAIN cannot be responsible for a shipment against an unmarked order.

D. Telephone Orders: Telephone orders requesting shipment before receipt of written confirming
order will be at customer's risk.

TERMS

E. Payment Terms: Standard terms are Net 30 days on approved credit (OAC).

F. Shipping Terms: EXW Grand Blanc, MI, USA. Title and possession will pass to the customer
upon delivery to the carrier. Claims for damage in transit should be made by the customer to
the carrier within the shorter of 3 days or the timeframe set by the carrier.

G. Shortages: Claims for shortages or other shipping errors must be made within three days of receipt.

RETURNS

H. Qualifying: No return of special parts, parts beyond 6 months from ship date, or parts beyond
our stocking limitations.

I. Authorized: Returns must be authorized by obtaining our "Return Goods Authorization" (RGA) form
and including a copy with the return. Unauthorized returns will be returned freight collect.

J. Timing: Parts must be within 6 months from ship date and returned within 20 days of RGA issuance.

K. Credit: Credit will be at the lower of original price or current price, less: 20% restocking, $25.00
handling, and less any necessary repair charges.

L. Freight: For parts shipped due to our error, credit will be issued for ground freight charges. Credit
for premium freight will not be allowed.

M. Return Freight: Return freight to be prepaid by customer.

N. Cancellations: Purchase orders cancelled after production has begun or parts packed will be
charged a cancellation charge.

0. NOTICE: These parts are precision made parts and require careful handling and
secure packaging. Parts must be received in resalable condition.

I1I

© Copyright MAIN Mfg. 2019



SOCKET WELD PIPE IN-LINE FLANGES (Pg 1/3)

SAE J518 61 SERIES / IS06162-1 PATTERN

FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B C D E F Jmm H| K PARTNO. | SCREW SIZE | 0-RING | "V 1
6101-08-08DM8 8.5 MKM 501 M8 x 30 210
1 1 1.50 | 2.12| .75 | 1. . . 38 | . .
/2 /2 |“6102-08-080m8 | > | 1200 688 |30 g 105 | 38 | 890 — 17
1/» 3/ iorosaaoms | 175|212 | 1.75| 1.500 | .688 | .50 [o——— 50 |1.070 —— 1.6
6101-12-08DM10 10.5 MKM 502 | M10 x 40 214
3/a 1/ 6102-12-08DM10 | 75| 2:62|1.001.875| 875 | .50 [ 38 | 860 : —— 1.1
6101-12-12DM10 10.5 MKM 502 | M10 x 40 214
3 3 1.752.62|1.00 [ 1.875 | .875 | .7 .50 |1.07 1.
Y/a Y& [ei02-12-120m10 | 17> | 262|100 | 1875 | 875 | 75 e 50 |1.070 — 1
3/4 1 oo eomio] 200|262 |175|1.875 | .875 | .75 [ .50 |1.335 — 2.1
6101-16-08DM10 10.5 MKM 503 | M10 x 40 219
1 1> 6103-16-08DM10 | 200 | 2:821.002.062 | 1.031 | .50 |- "r-— .38 | .860 : —— 1.4
6101-16-12DM10 10.5 MKM 503 |  M10 x 40 219
1 3/a 6103-16-120M10 | 200 | 2:821.002.062 | 1.031 | .75 |- .50 |1.070 : —— 1.3
6101-16-16DM10 10.5 MKM 503 |  M10 x 40 219
2.00|2.82|1.00 | 2.062 | 1.031 | 1. .50 |1. 1.2
1 1 [Gioate-teomio | 200|287 1:00| 2062 1.031 | 1.00 Grsfe] 50 |1.335
1 142 oo 00mio | 250 | 282 2:00 | 2.062 | 1.031 | 1.00 [ .50 |1.680 —1 3.2
6101-20-12DM10t 10.5 MKM 3524|  M10 x 40 222
114 3/a 6102-20-120M107] 2:50 | 3:191.00 | 2.312 | 1.188 | .75 |- = .50 |1.070 : 1.8
6101-20-16DM10t 10.5 MKM 3524|  M10 x 40 222
1 2.50 | 3.19 | 1.00 | 2.312 | 1.188 | 1.00 .50 |1.335 1.6
1% 1 [ic2-20-160mi07 M10x1.5
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 MATERIAL :

bolts, add an SS at the end of the kit number (MK 501SS).
Please note that using stainless steel bolts may reduce the pressure rating of the assembly.

TP

OO

-]

3181 TRI-PARK DR.

O-Ring Style

/ DRILL-G

l—— x ——

l— = —

B!

H|—

l— ¢ —

Model 6101 / 6103

GRAND BLANC, MI 48439

(Flat Face)

Companion Style

AN

—— x —
T

l—  —

—{ H

l— ¢ —

Model 6102 / 6104
800-521-7918 810-953-1380 FAX 810-953-1385

<

316L Stainless

INFO@MAINMFG.COM

SAE J518 62 SERIES / IS06162-2 PATTER
O G
“owe | St | wows | A B C| D | EFISMIH K | e e Toma| VT
1> 1/ Zigi:g::gzgm: 1.75|2.22|1.00 | 1.594 | .718 | .50 M8?<115.25 50 | .860 [ 212 M8 x 35 210 8
1/» 3/4 cioaosiaoms | 175|222 | 175 | 1.594 | 718 | 50 o 50 |1.070 —— 1.6
3/a 1/» Zigi:i;:gggmg 2.00 | 2.81|1.00 | 2.000 | .937 | .50 M11c?>;i.5 50 | .860 [ 202} M10 x40 214 1.4
6103-12-12DM10 10.5 MKM 502 |  M10 x 40 214
3/a 3/4 cioair1apmio] 200|281 [1.00|2.000| 937 | .75 e .50 |1.070 . ——{ 1.3
3/4 1 | oiaeomio] 225|281 [1.00|2.000 | .937 | .75 [ .50 |1.335 — 1.2
6103-16-12DM12 12.5 MKM 513 |  M12 x 45 219
i | 3/a 6104-16-12DM1a | 225 3:191.002.250 | 1.093 | .75 [ o= = 50 |1.070 . —— 17
6103-16-16DM12 12.5 MKM 513 |  M12 x 45 219
i | 1 6104-16-16DM1a | 225|319 1.002.250 | 1.093 | 1.00 [--="=— .50 |1.335 . —— 15
1 12 oiae0omis | 250 | 319|250 | 2250 | 1.093 | 1.00 (oo —| .50 |1.680 —— 4.6
@ Order Separately
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. t Also Available for M12 Bolts 1

© Copyright MAIN Mfg. 2019



SOCKET WELD PIPE IN-LINE FLANGES (Pg 2/3)

SAE J518 61 SERIES / IS06162-1 PATTERN

FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B C D E F Jmm H| K PARTNO. | SCREW SIZE | O-RING | V|
6101-20-20DM10t 10.5 MKM 3524 M10 x 40 222
1 1 2. .19 /1.00|2.312| 1.1 1.2 .50 |1. 1.
1a | 1Ya {5 050 200mi07| 250|319 | 1:00| 2.3 88 | 1.25 M owts | 00 | 1680 >
12 | 12 [ 5550000m07] 300 319 | 2:50 | 2.312 | 1.188 | 1.25 1 .50 |1.920 ——1 5.4
6101-24-12DM12% 13.0 MKM 3596 M12 x 50 225
11/ 3/a 610724 1aDM1ax] 275|375 1:252.750 | 1.406 | .75 [o-=mmo 50 |1.070 : 132
6101-24-16DM12% 13.0 MKM 3596 M12 x 50 225
11> 1 ioooutenmias| 275|375 | 1:25 | 2.750 | 1.406 | 1.00 """ .50 |1.335 : =1 3.0
6101-24-20DM12% 13.0 MKM 3596 M12 x 50 225
11/ | 114 6107-24-200M10x] 275|375 1:252.750 | 1.406 | 1.25 [ --=P=— .50 |1.680 : —— 28
6101-24-24DM12% 13.0 MKM 3596 M12 x 50 225
1 1 2.75|3.75|1.25| 2.7 1.406 | 1. .50 |1.92 2.
172 | 172 G iaaapmizs| 275|375 | 1:25| 2.750 | 1.406 | 1.50 [Lomtn) .50 1.920 >
11> 2 ioioasoomior] 350375225 2.750 | 1.406 | 1.50 [ ——1 .50 |2.411 —1 3.2
6101-32-20DM12% 13.0 MKM 3501 M12 x 55 228
2 114 6102-3220DM 15| 3:25 | 400 | 1.50 | 3.062 | 1.688 | 1.25 | === .50 |1.680 . —— 4.5
6101-32-24DM12% 13.0 MKM 3501 M12 x 55 228
2 11> 6100-3224DM 15| 3:25 | 400 | 1.50 | 3.062 | 1.688 | 1.50 | -1 .50 |1.920 . —— 4.3
6101-32-32DM12% 13.0 MKM 3501 M12 x 55 228
3.25|4.00 | 1.50 | 3.062 | 1.688 | 1.94 .62 [2.411 3.6
2 2 6102-32-32DM12% M12x1.75
1/ ————— 4.00 | 4.00 | 2.50 | 3.062 | 1.688 | 1.94 .50 |2.911 ——83
2 27> 6102-32-40DM12% M12x1.75
MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
. bolts, add an SS at the end of the kit number (MK 501SS).
316L Stainless Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
0O-Ring Style Companion Style
(Flat Face)
/ DRILL-G / TAP-J
D

RO gz ez
] e SHESS

¢ —] — ¢ —
Model 6101 / 6103 Model 6102 / 6104
3181 TRI-PARK DR. GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE 1518 62 SERIES / 1IS06162-2 PATTER
O G
"ave | Goe | wows | A B C D | E|FIS™UH| K (o scnewene [omme|WT
114 3/a Zigzjgjigmi 2.75(3.75|1.25 | 2.625 | 1.250 | .75 M1121.10.75 50 [1.070} KM 1202} M12 x50 222 3.0
114 1 Zigzjgjggmi 2.75|3.75 | 1.25 | 2.625 | 1.250 | 1.00 M1121.10.75 50 [1.335) KM 1202 M12 x50 222 2.9
1142 114 Zigzjgjggmiz 2.75|3.75 | 1.25 [ 2.625 | 1.250 | 1.25 M112i10.75 50 |1.680 | i 1302} M12x 30 222 2.7
1Y | 12 (550 000miae| 300 375 2.00| 2.625 | 1.250 | 1.25 o —1 .50 |1.920 —| 5.1
11> 1 Zigizzz:i:gmz 3.25|4.50 | 1.50 | 3.125 | 1.437 | 1.00 M1176'22 50 [1.335 KM 215 M16 x 60 225 5.3
11/> 114 Zigizzz:iggmz 3.254.50 | 1.50 | 3.125 | 1.437 | 1.25 M117é>?2 50 |1.680 | k215 M16x 60 225 5.1
11/ 11> Zigi:i:i:gmz 3.254.50 | 1.50 | 3.125 | 1.437 | 1.50 M117é>?2 50 |1.920 KM 515 L M16x 60 225 4.8
11/ 2 610‘;:;;:_;"2'[;M16 4.00 [ 4.50 | 3.00 | 3.125 | 1.437 | 1.50 M;-G-XZ 62 |2.411 —|12.6

@ Order Separately

2 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



SOCKET WELD PIPE IN-LINE FLANGES (Pg 3/3)

SAE J518 61 SERIES / IS06162-1 PATTERN

Please note that using stainless steel bolts may reduce the pressure rating of the assembly.

bolts, add an SS at the end of the kit number (MK 501SS).

L

0O

OO

3181 TRI-PARK DR.

-]

O-Ring Style

DRILL-G
=/

l— = —

—{ H

l— ¢ —

Model 6101 / 61

GRAND BLANC, MI 48439

03

800-521-7918 810-953-1380 FAX 810-953-1385

Companion Style
(Flat Face)

- c_.<

Model 6102 / 6104

—{ H

AN

[o] G
"owe | St | wows | A B C| D | EFISMIH K | e s Jomna| VT
2157 2 (ool T 0T ool o0 2000 | 1oa [ 120 gy [0 [ esiHizxe0 175 [
2152 21/ :ig;::g::ggmzz 4.00 | 4.50 | 1.75 | 3.500 | 2.000 | 2.44 M112?<I10.75 75 |2.011 |MKMA31LL  M12 x 60 232 5.7
215% 3 107-40-280m 124 500 | 5:00 | 3.00 | 3.500 | 2.000 | 2.44 [-————1 .75 |3.540 ——|15.6
6101-48-40DM16 17.0 MKM 508 |  M16 x 75 237
3° | 214 6102-28-200M 16 | 450|531 |2.00 | 4.188 | 2.438 | 2.44 |t .75 |2.911 : —— 9.7
6101-48-48DM16 17.0 MKM 508 |  M16x 75 237
3¢ 3 [ ciosasasomie | #50| 531|200 4.188 | 2.438 | 2.94 "~ 75 3.540 . ——8.3
31% 3 :18;3::2?3312 5.00 | 6.00 | 1.50 | 4.750 | 2.750 | 2.94 M1176.)(()2 75 |3.540 | 11KM 209 M16 x 63 241 8.5
314°% 31/ Zig;:g::g:gmz 5.00 | 6.00 | 1.50 | 4.750 | 2.750 | 3.44 M1176.>(()2 75 |a.0a5| KM 509 | MI16x 65 24 155
4° | 31 :18;23:223312 5.50 | 6.38 | 1.50 | 5.125 | 3.062 | 3.44 M1176.)(()2 75 |a.0a5| KM 510 MI16x 60 24 193
6101-64-64DM16 17.0 MKM 510 |  M16 x 60 245
4° 4 6102-64-64DM 16 | 550 | 6:38 | 1.50 | 5.125 | 3.062 | 3.94 = .75 |4.550 . ——{ 83
6101-80-64DM16 17.0 MKM 511 |  M16 x 75 253
5¢ 4 oo eanmie | 700 | 7:25|2.00 | 6.000 | 3.625 | 3.94 | .75 |4.550 : =2 119.7
6101-80-80DM16 17.0 MKM 511 |  M16x 75 253
5® 5 [ciossosoomie | 700 |7-25(2.006.000 | 3.625 | 4.94 —-—— .75 |5.635 : ——16.0
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 MATERIAL :

316L Stainless

INFO@MAINMFG.COM

SAE 1518 62 SERIES / 1IS06162-2 PATTER
O G

"G |t | wmmm |A|B | C|D|E|F|JmH arrwo. | _screw size Jommang | WT
2 11> Zigi:;;:;ignig 4.00 | 5.25|1.75|3.812 | 1.750 | 1.50 Mzzci;g.s 50 |1.920 KM 516 L M20x70 228 8.5

6103-32-32DM20 21.0 MKM 516 |  M20 x 70 228
2 2 [ 0a35300ma0 | 400 [5:25| 1.753.812 | 1.750 | 1.94 |- o .62 |2.411 : ~——78
2 22 500030 | 500 |5:503.00 | 3.812 | 1.750 | 1.94 o1 .62 |2.911 ——19.1

6103-40-32DM24 25.5 MKM 517 | M24 x 80 232
21> 2 [ 0a40320M04 | 500 |6:88| 2,00 4.875 2,312 | 1.94 | — 22— 62 |2.411 : —=—15.7

6103-40-40DM24 25.5 MKM 517 | M24 x 80 232
22 | 2V2 [ oiaoaoomaa | 500 | 6:88 | 2.00 | 4.875 | 2.312 | 2.44 =7 .62 |2.911 : —=—15.2
21/ 3 610;;1-0--4;;3-[-)M24 5.00 | 6.88 | 2.00 | 4.875 | 2.312 | 2.44 M-2-¢;>-<3 .62 |3.540 ——|14.6
3 21/ :182:22133238 6.00 | 8.50 | 2.50 | 6.000 | 2.812 | 2.44 M33:>;25 62 |2.011 | KM 518 | M30x 110 237 28.8
3 3 Zigi:iz:iggngg 6.00 | 8.50 | 2.50 | 6.000 | 2.812 | 2.94 M::);g_s 62 |3.500 | kM 518 | M30x 110 237 28.0

@ Order Separately @ 2500 PSI Max ® 2000 PSI Max @& 500 PSI Max
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. + Also Available for M14 Bolts 3
© Copyright MAIN Mfg. 2019



SOCKET WELD PIPE IN-LINE FLANGES

WITH 1/4" NPTF GAUGE PORT

SAE J518 61 SERIES / IS06162-1 PATTERN

FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B | C D E F Jmm H| K &t No. | screwsize | o-ring|WT
7101-08-08DM8 8.5 MKM 519 M8 x 45 210
1 1 1.50|2.12|1.25| 1. . . . ) 7
/2 /2 | 5105-08-0s0m8 | > | 1:500| 688 | .30 e ia5 | 38 | 860
7101-12-12DM10 10.5 MKM 520 M10 x 45 214
3 3 1.75|2.62|1.25|1.875| .875 | .7 .50 |1.07 1.2
Ya Y4 [Si0a12-120m10 | 175 |26 5| 1875 875 | 75 Foioags | 20 1070
7101-16-16DM10 10.5 MKM 1501 M10 x 45 219
2.00|2.82|1.25|2.062 | 1.031 | 1. .50 |1. 1.
1 1 7102-16-16DM10 | 220 | 28 >|2.06 03 00 atoxts | 20 [133° >
7101-20-20DM10* 10.5 MKM 4567 M10 x 45 222
1 1 2. 19 1.25|2.312| 1.1 1.2 .50 |1. 2.
1%a | 1Va |55, 20 200mi0r| 250 319 125 23 88 | 1.25 M owts | 00 | 1680 0
7101-24-24DM12# 13.0 MKM 3596 M12 x 50 225
1 1 2.75|3.75|1.25| 2.750 | 1.406 | 1. .50 |1.92 2.
12 | 12 515,50 000m10¢ | 275|375 | 1:25 | 2750 | 1:406 | 1.50 [l o] 50 |1.920 — 1>
7101-32-32DM12# 13.0 MKM 3501 M12 x 55 228
.25 4.00 | 1. 062 | 1. 1.94 62 |2.411 .
2 2 7102-32-32DM12% | >-2° [ 400 1.50 | 3.06 688 | 1.94 [ ox1.75| © — |3
7101-40-40DM12% 13.0 MKM 4511 M12 x 60 232
1/52 21 4.00 | 4.50 | 1.75 | 3. 2. 2.44 75 [2.911 7
227 2V/2 |5 0320-a00m12¢ | +0° | 450 | 175 | 3.500 | 2.000 mizxt.zs| > |[*° —1°
® 7101-48-48DM16 17.0 MKM 508 M16 x 75 237
4. .312.00|4.188 | 2.438 | 2.94 .75 |3.54 .
3 3 7102-48-a8pM16 | 0 | 53 00 88 381 2.94 0 6xa 5 [3-540 — |83
7101-56-56DM16 17.0 MKM 509 M16 x 65 241
1/5% 31 . .00 1.50 | 4.750 | 2.7 44 75 |4.04 7.7
32" 32 [Si0256560m16 | 500 | 6:00 | 150 | 4.750 | 2.750 | 3 Miexz | /0 |40%
@ 7101-64-64DM16 17.0 MKM 510 M16 x 60 245
. 38| 1. 125 | 3.062 | 3.94 .75 |4. .
4 i | S 103-6a-6aDM1ig | 550 | 6:38 1,50 5.125 | 3.062 | 3.94 — 5 14.550 ——1 8.3
@ 7101-80-80DM16 17.0 MKM 511 M16 x 75 253
7.00 | 7.25 | 2. . 625 | 4.94 .75 |5. 14.
5 5 ~102-80-800M16 | 700 5|2.00 | 6.000 | 3.625 | 4.94 [~ 5 |5.635 5
MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
Mk bolts, add an SS at the end of the kit number (MK 501SS).
316L Stainless Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
O-Ring Style Companion Style
(Flat Face)

44— ‘/ DRILL-G 44— / TAP-J

BlGe
e
_{-B {':-} 1'4"NPTF‘/%;%' 1I4"NPTF/#%'
= B Le =)

— ¢ —] — ¢ —
Model 7101 / 7103 Model 7102 / 7104
3181 TRI-PARK DR. GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

I

l— n —

ILESTT
l |

SAE 1518 62 SERIES / IS06162-2 PATTER
[e] G
"Goe | Soe | wemmem | A|B|C D EFISMIH K | ™ eneware Jomme] W'
1/> 1/> ;igi:g::g:gm: 1.75|2.22|1.25|1.594 | .718 | .50 MS?(.IS.ZS 50 | .860 |- 219 M8 x 45 210 1.1
3/4 3/a ;1821;1;3218 2.00 | 2.81|1.25|2.000 | .937 | .75 M11(§]>I<i.5 50 |1.070 |- kM 220 | M10x45 214 1.5
7103-16-16DM12 12.5 MKM 1504|  M12 x 50 219
1 1 S 104-16-16DM1a | 2:25 | 319|1.252.250 | 1.093 | 1.00 [ --===—1 .50 |1.335 X —— 1.9
114 | 114 ;igijgjggmi 2.75|3.75| 1.25 [ 2.625 | 1.250 | 1.25 M112?<l10.75 50 |1.680 |k 1202} M12x 30 222 2.7
11/ | 11> ;182:52:223212 3.254.50 | 1.50 | 3.125 | 1.437 | 1.50 M1176l>(<)2 50 |1.920 | kM 213 | M16x 60 225 4.7
7103-32-32DM20 21.0 MKM 516 | M20 x 70 228
2 2 [ l0i32300M20 | 00| 5:25|1.75|3.812 | 1.750 | 1.94 |r o .62 |2.411 X ——7.8
21/ | 21/ ;182:28:;8325: 5.00 | 6.88 | 2.00 | 4.875 | 2.312 | 2.44 Mzzi; 62 (2,911 | KM 17 | M24 x 80 232 15.2
3 3 ;182:22:;?32;8 6.00 | 8.50 | 2.50 | 6.000 | 2.812 | 2.94 M;’OZ)'(;S 62 |3.540 | KM 218 | M30x 110 237 27.8
@ Order Separately @ 2500 PSI Max ® 2000 PSI Max @& 500 PSI Max

4 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



SOCKET WELD PIPE IN-LINE FLANGES

WITH -4 ORB (7/16-20) GAUGE PORT ®

SAE J518 61 SERIES / 1IS06162-1 PATTERN

bolts, add an SS at the end of the kit number (MK 501SS).
Please note that using stainless steel bolts may reduce the pressure rating of the assembly.

TP

OO

-

3181 TRI-PARK DR.

O-Ring Style

44—

%/

L
|

@;

DRILL-G

A

B

-4ORB/

T

H |—

l— ¢ —

Model 8101 / 8103

GRAND BLANC, MI 48439

800-521-7918 810-953-1380 FAX 810-953-1385

|
|
-4ORB/

Companion Style
(Flat Face)

.44 —|

—{ H

l— ¢ —

<

Model 8102 / 8104

/ TAP-J

[} G
“we | swe | womsen | A B|C| D | E | FGMIH | K oo screwsme o] WT
1/ 1/ Zig;:gz:gzgmg 1.50 [ 2.12 | 1.25|1.500 | .688 | .50 Msi‘l‘:'.zs 38 | 860 [k 219 M8 x 45 210 7
S | Y 20200l T, ol ias[rers | 75 | 75 [ 105 | so [ronof MHs20 ] Woxas [ i F,
8101-16-16DM10 10.5 MKM 1501|  M10 x 45 219
i | 1 6103-16-160M10 | 200 2:821.25]2.062 | 1.031 | 1.00 |-or e .50 |1.335 : —— 15
14 | 114 :ig;jg:zggmgl 2.50(3.19 | 1.25|2.312 | 1.188 | 1.25 M11(?>;F1’.5 50 |1.680 [ r 4267} M10x 45 222 2.0
11/ | 11> :18;:5:223312: 2.75(3.75|1.25 | 2.750 | 1.406 | 1.50 M112i'10.75 50 |1.920 [ kM 3396] 12X 50 225 2.5
2 2 :ig;;ig;gmi 3.25[4.00 | 1.50 | 3.062 | 1.688 | 1.94 M112?<.10.75 62 [2.411 KM 301, M2 X55 228 3.6
2152 21/ :ig;:ig:iggmzz 4.00 | 4.50 | 1.75 | 3.500 | 2.000 | 2.44 M1§<f75 75 |2.011 KM 4311} M12 X 60 232 5.7
8101-48-48DM16 17.0 MKM 508 M16 x 75 237
3¢ 3 [ siosasasomie | #50| 531|200 | 4.188 | 2.438 | 2.94 = 75 3.540 . ——18.3
314% 314 :18;:22:?:3212 5.00 | 6.00 | 1.50 | 4.750 | 2.750 | 3.44 M1176l>f<)2 75 |4.045 |k 309 Hi8x 8o 241 7.7
8101-64-64DM16 17.0 MKM 510 M16 x 60 245
4° 4 6102-64-64DM 16 | 550 | 6:38 | 1.50 | 5.125| 3.062 | 3.94 |- .75 |4.550 . ——1 8.3
8101-80-80DM16 17.0 MKM 511 M16 x 75 253
5¢ 5 iossosopmie | 700 | 725|200 | 6.000 | 3.625 | 4.94 =T 75 [5.635 . =2 1145
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 MATERIAL :

316L Stainless

INFO@MAINMFG.COM

© Copyright MAIN Mfg. 2019

SAE 1518 62 SERIES / 1IS06162-2 PATTER
o G
" | o | wmeem | A B[ C| D | E|F G H| K o schewste [omme|WT
1/ 1/ zigi:g::g:gm: 1.75|2.22|1.25|1.594 | .718 | .50 M8£>;(.15.25 50 | 860 [k 219 M8 x93 210 1.1
8103-12-12DM10 10.5 MKM 520 M10 x 45 214
3/4 3/a [ gi0a12-1aDmio | 200|281 1.25|2.000| 937 | .75 oo .50 |1.070 X —— 1.5
8103-16-16DM12 12.5 MKM 1504|  M12 x 50 219
i | 1 8104-16-16DM1a | 225|319 1:25]2.250 | 1.093 | 1.00 [ o= o .50 |1.335 X —— 1.9
112 | 114 :182:;8:28533: 2.75|3.75|1.25| 2.625 | 1.250 | 1.25 M112i.10.75 .50 |1.680 MKM 1502 M12 x50 222 2.7
11/ 11> 2182:;2:223312 3.25[4.50 | 1.50 | 3.125 | 1.437 | 1.50 M117E;>(()2 50 |1.920[ kM 315 | 16 X 60 225 4.7
8103-32-32DM20 21.0 MKM 516 M20 x 70 228
2 2 [Gi0a32300M20 | 00| 5:25|1.75|3.812 | 1.750 | 1.94 "o .62 |2.411 X ——7.8
21/ | 21/ :182::8::33::2: 5.00 | 6.88 | 2.00 | 4.875 | 2.312 | 2.44 M22i53 62 2,011 | KM 517 M24 x 80 232 15.2
3 3 gigi:ig:izgmgg 6.00 | 8.50 | 2.50 | 6.000 | 2.812 | 2.94 M3302)'(2_5 62 |3.540| KM 518 | M30x 110 237 27.8
@ Order Separately @ 2500 PSI Max ® 2000 PSI Max @& 500 PSI Max
® Also Available with -6 ORB (9/16-18) GAUGE PORT
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. Tt Also Available for M12 Bolts # Also Available for M14 Bolts 5



FIND-A-FLANGE

MAIN’s “FIND-A-FLANGE” tool connects the dots from picture — to dimensions —
to part number. Using the “FIND-A-FLANGE” tool gets you from concept to the part
number and catalog page quickly.

STEP 1.  Visit our website at MAINmfg.com.
STEP 2.  Click on the “FIND-A-FLANGE?” link.

STEP 3. PICTURE - Choose the style of Flange needed.
a. Choose from IN-LINE, ELBOW, RUN TEE or ADAPTER.
b. O-Ring Style or Flat-Faced Style.
C. Socket Weld, Female Threaded (NPTF, SAE Straight (ORB),
ISO 6149, BSPP, BSPT, etc.), Butt Weld, or Flanged.

STEP 4. DIMENSIONS - Choose the pattern type.
a. SAE J518 C61 or C62 for Imperial (UNC) or Metric bolts.
b. ‘MAIN’ Square 3000 or 6000 Series
C. JIS B2291 Type SH or SS
d. ISO 6164 250 or 400 BAR

STEP 5. Find the PART NUMBER in the table.

a. If you require stainless click either 304L or 316L link.
b. To view a catalog page click the link below the table.
NOTE: If the flange you require is grayed-out or not on the table you can:

a. Call MAIN Manufacturing Products at (800) 521-7918 or send
us an e-mail at info@MAINmfg.com to discuss options.
b. Visit the “CREATE-A-FLANGE” tool.

STEP 6. Contact MAIN Manufacturing Products for a quote:
a. E-mail at info@MAINmfg.com.
b. Phone (800) 521-7918 or (810) 953-1380.
C. Fax (810) 953-1385.

Picture — Dimensions — Part Number
(step 3) (step 4) (step 5)

Find-A-Flange
se th

Choose the style of Flange needed

© Copyright MAIN Mfg. 2019



BLIND FLANGES

SAE 1518 61 SERIES / 1IS06162-1 PATTERN
"oe | e | nmeer |A|B|C E S earro. | screw size ormin| WT
1/» NA :13;:82:8833: 1.50 | 2.12| .75 | 1.500 | .688 Msi.15.25 MKM 501 M8 x 30 210 7
3/a NA Zig;ii:gggmg 1.75|2.62|1.00 | 1.875| .875 M11c?>i.5 MKM 502 M10 x 40 214 1.2
6101-16-00DM10 10.5 MKM 503 M10 x 40 219
i | NA 6102-16-000M10 | 200 | 2:821.00|2.062 | 1.031 I : —— 15
1171 | NA :18;:;8:88%181 2.50|3.191.00 | 2.312 | 1.188 M11c?>l<i.5 MKM 3524 M10 x 40 222 2.0
117/2 | NA :ig;:;i:gggmiz 2.75|3.75|1.25| 2.750 | 1.406 M1123(l10.75 MKM 3596 M12 x 50 225 3.3
2 NA :18;:32:823&12: 3.25|4.00 | 1.50 | 3.062 | 1.688 M112?<l10.75 MKM 3301 M12x5 228 5.2
217 NA [Zoieooonizi, ool ol s 5500 2000 |20 e asii] wioxeo | 252 [
6101-48-00DM16 17.0 MKM 508 M16 x 75 237
39 | NA 0o ooomie | 450|531 |2.00| 4.188 | 2.438 ed : = 1128
31~% NA Zig;:g::gggmz 5.00 | 6.00 | 1.50 | 4.750 | 2.750 M1176l>(<)2 MKM 509 M16 x 65 241 12.3
6101-64-00DM16 17.0 MKM 510 M16 x 60 245
4° | NA [ eiooomie | 550|638 1.50 | 5.125 | 3.062 ed . =2 1145
6101-80-00DM16 17.0 MKM 511 M16 X 75 253
59 | NA i l0ss000omie | 700 |7-25 | 2.00 | 6.000 | 3.625 ed : =2 128.1
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 MATERIAL :

Please note that using stainless steel bolts may reduce the pressure rating of the assembly.

bolts, add an SS at the end of the kit number (MK 501SS).

o)

O

©

©

3181 TRI-PARK DR.

]

GRAND BLANC, MI 48439

O-Ring Style

l— ¢ —

Model 6101 / 6103

/ DRILL-G

Companion Style
(Flat Face)

N

<

l— ¢ —

Model 6102 / 6104

800-521-7918 810-953-1380 FAX 810-953-1385

316L Stainless

INFO@MAINMFG.COM

SAE 1518 62 SERIES / 1IS06162-2 PATTER
"z | oze | wmeer | A | B | C E G sarro. | scnew size o | WT
1/» NA :igz:g::gggm: 1.75|2.22|1.00 | 1.594 | .718 Msif’.zs MKM 512 M8 x 35 210 .9
6103-12-00DM10 10.5 MKM 502 M10 x 40 214
3 | NA o sooomio | 200|281 1.00 | 2.000 | .937 o X = 1.4
6103-16-00DM12 12.5 MKM 513 M12 x 45 219
i | NA 6104-16-00DM12 | 225 | 3:191.00|2.250 | 1.093 Miaxl 75 X —— 1.8
1171 | NA Zigz:ig:gggmi 2.75|3.75|1.25 | 2.625 | 1.250 M112?<l10.75 MKM 1302 M12 x50 222 3.3
117/ | NA :182:52:882212 3.25|4.50 | 1.50 | 3.125 | 1.437 M1176l>(<)2 MKM 515 M16 x 60 225 5.7
6103-32-00DM20 21.0 MKM 516 M20 x 70 228
2 NA o s ooomag | 400 | 525|175 3.812 | 1.750 s X =97
6103-40-00DM24 25.5 MKM 517 M24 x 80 232
212 | NA [o0is000om0a | 500 | 6:88 200 4.875 |2.312 s X =< 118.2
3 | NA |20 ool oo o0 s000 2012|220 e st | wiox o [ 257 o,
@ Order Separately @ 2500 PSI Max ® 2000 PSI Max @& 500 PSI Max
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. Tt Also Available for M12 Bolts # Also Available for M14 Bolts 7

© Copyright MAIN Mfg. 2019



SOCKET WELD PIPE ELBOW FLANGES (Pg 1/2)

SAE 1518 61 SERIES / IS06162-1 PATTERN

FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B |C D E F Jmm H| K &t No.| screwsize |o-ring|WT
6125-08-08DM8 8.5 MKM 541 M8 x 50 210
1 1 1.75|2.12|1.44 | 1.500 | .688 | .50 .75 | .860 1.3
/2 /2 [6126-08-080M8 M8x1.25
6125-12-08DM10 10.5 MKM 542 M10 x 60 214
3 1 2.00|2.62|1.70 | 1.875 | .875 | .75 .88 | .860 2.1
/a /2 6126-12-08DM10 M10x1.5
6125-12-12DM10 10.5 MKM 542 M10 x 60 214
3 3 2.002.62|1.70 | 1.875| .875 | .75 .88 [1.070 2.0
Ya Y4 [ G126-12-120M10 M10x1.5
6125-16-12DM10 10.5 MKM 543 M10 x 65 219
3 2.25|2.821.94|2.062|1.031 | 1. 1.00|1.07 2.
1 /a 6126-16-12DM10 5|28 o 06 03 00 utox1.5 | 1001070 8
6125-16-16DM10 10.5 MKM 543 M10 x 65 219
2.25|2.82|1.94|2.062|1.031 | 1.00 1.00/1.335 2.7
1 1 6126-16-16DM10 M10x1.5
6125-20-16DM10* 10.5 MKM 4532 M10 x 75 222
1 2.75|3.19 | 2.40 | 2.312| 1.188 | 1.25 1.25/1.335 4.9
14 1 6126-20-16DM10* M10x1.5
6125-20-20DM10* 10.5 MKM 4532 M10 x 75 222
1 1 2.75|3.19|2.40 | 2.312 | 1.188 | 1.25 1.25(1.680 4.8
1Ya | 14 [ 5650 200mi00 M10x1.5
6125-20-24DM10*1 10.5 MKM 4597 M10 x 90 222
1 1 3.00|3.193.00 | 2.312 | 1.188 | 1.25 1.25(1.920 6.0
12 | 172 6126-20-24DM10* M10x1.5
6125-24-20DM10*1 13.0 MKM 4533 M12 x 90 225
1 1 3.00 | 3.75|2.90 | 2.750 | 1.406 | 1.50 1.38/1.680 7.4
172 | 1 6126-24-20DM12% M12x1.75
6125-24-24DM12% 13.0 MKM 4533 M12 x 90 225
1 1 3.00 | 3.752.90 | 2.750 | 1.406 | 1.50 1.38(1.920 7.3
12 | 172 [ 5e o0 2aomiss M12x1.75
6125-24-32DM12% 13.0 MKM 3521| M12 x 100 225
1 3.50 | 3.75 | 3.50 | 2.750 | 1.406 | 1.50 1.38(2.411 9.8
112 2 6126-24-32DM12+ M12x1.75
MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
Mk bolts, add an SS at the end of the kit number (MK 501SS).
316L Stainless Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
O-Ring Style Companion Style
(Flat Face)
K [—— Kk ——]
1 ' 1 ‘
| ® N7 ®
|

/|

i
Gi I J- DRILL-G _l__ |
@_HF I ;4/ I — /%
l 70 7207

D Cc TAP-J Cc

LTT9,
O

Model 6125 / 6127 Model 6126 / 6128
3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE 3518 62 SERIES / 1IS06162-2 PATTER
" | o | wmeem | A B[ C| D E|F IS IH| K o screwere Jomne|WT
1/> 1/» 212;:82:32832 2.002.22 | 1.46 | 1.594 | .718 | .50 Msi'15.25 88 | 860 [ KM 541 M8 x 50 210 1.6
3/a 1> :122:15:825218 2.25|2.811.70 [ 2.000 | .937 | .75 M11c?>l<i.5 1.00| .860 |1KM 342 M10 x 60 214 2.7
3/, 3/4 :Egiii;gmg 2.25|2.811.70 | 2.000 | .937 | .75 M11c?>'<i.5 1.00 [1.070 11KM 342 | M10x60 24 126
1 3/s :g;iziigmi 2.50|3.19 | 2.21 | 2.250 | 1.093 | 1.00 M1123(l15t75 1.12|1.070 MM 2333 M12 x 75 219 4.2
6127-16-16DM12 12.5 MKM 2533  M12x 75 219
i | 1 6128-16-16DM1a | 250 | 3:192:212.250 | 1.093 | 1.00 [ o= "o 1.12 |1.335 X 4.1
114 1 Ziié:igjggmi: 3.00 | 3.75 | 2.44 | 2.625 | 1.250 | 1.25 M112?<'10.75 1.38[1.335 | e 278 Hi2x 80 222 6.5
1141 | 114 Ziié:ig:iggmii 3.00 | 3.75|2.44 | 2.625 | 1.250 | 1.25 M112?<'10.75 1.38[1.680 | M 278 | M12 X80 222 6.3
112 | 11> Zii;jg:iigmii 3.00 | 3.753.00 | 2.625 | 1.250 | 1.25 M112?<l10.75 1.38[1.920 KM 35311 M12 X390 222 7.6

@ Order Separately
® C'bore Depth by Pipe Size: 1/2" is .38"; 3/4" to 2" is .50"
8 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



SOCKET WELD PIPE ELBOW FLANGES (Pg 2/2)

SAE 1518 61 SERIES / IS06162-1 PATTERN

bolts, add an SS at the end of the kit number (MK 501SS).
Please note that using stainless steel bolts may reduce the pressure rating of the assembly.

&
&

0O-Ring Style Companion Style
(Flat Face)
l—— K ——=] l——— K ——|

ﬁ.‘
&

"cwe | St | wowsen | A|B|C| D | E|FISMIH| K e s [omme|WT
2 114 :Ezgiiggmi: 3.50 [ 4.00 | 3.40 | 3.062 | 1.688 | 1.94 M112?(.10.75 1.62|1.680 |k 4534, M12 X 100 228 10.4
2 11> :Ezgiiigmii 3.50 [ 4.00 | 3.40 | 3.062 | 1.688 | 1.94 M112?(.10.75 1.62[1.920 KM 4534, 12 x 100 228 10.2
2 2 :Ezgizigmi: 3.50 [ 4.00 | 3.40 | 3.062 | 1.688 | 1.94 M112?(l10.75 1.62[2.411 KM 4534, 12 x 100 228 9.9

21/5% 2 :ii::igjigmi: 4.00 | 4.50 | 3.96 | 3.500 | 2.000 | 2.44 M1123(l10.75 2.00(2.411 KM 4235} M12x 120 232 14.9

2152 21/ :ii::zg:iggmii 4.00 | 4.50 | 3.96 | 3.500 | 2.000 | 2.44 M112?<l10.75 2.00(2.011 KM 4235} MI12x 120 232 13.9
3¢ | 21/ Zi;::iz:iggmz 5.00 | 5.31 | 4.96 | 4.188 | 2.438 | 2.94 M1176l>(()2 2.25(2.011 | kM 348 | MI16 X 150 237 _126.5

6125-48-48DM16 17.0 MKM 548 |  M16 x 150 237
3¢ 3 eioe o sspmie | 500|531 | 4.96 | 4.188 | 2.438 | 2.94 |t —2.253.540 = =l 1249
31A°% 3 Zii::g::iggmz 5.50 | 6.00 | 5.40 | 4.750 | 2.750 | 3.44 M1176l)(32 2.50 3,540 |k 349 | M16 X 160 241 36.8
314°% 314 Zi;g:g::g:gmz 5.50 | 6.00 | 5.40 | 4.750 | 2.750 | 3.44 M1176l>(<)2 2.50 |4.045 |k 349 | M16 X 160 241 34.8
6125-64-64DM16 17.0 MKM 550 |  M16 x 180 245
4° A o einmie | 6:00|6:38|5.96| 5.125 | 3.062 | 3.94 |- —2.75 4550 > =2 1419
6125-80-80DM16 17.0 MKM 1569|  M16 x 200 253
5® 5 [ ciesosoomig | 700 |7-25(6.90 | 6.000 | 3.625 | 4.94 —-— 3.385.635 : —=—160.9
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 MATERIAL :

316L Stainless

@ LT |
S =
2

Model 6125 / 6127
GRAND BLANC, MI 48439

Model 6126 / 6128
3181 TRI-PARK DR.

800-521-7918 810-953-1380 FAX 810-953-1385

INFO@MAINMFG.COM

SAE 1518 62 SERIES / 1S06162-2 PATTER
" | o | wmeem | A B[ C| D E|F IS IH| K o screwene Jomne|WT
11/ | 114 Zi;g:i:;ggmg 3.50 | 4.50 | 2.96 | 3.125 | 1.437 | 1.50 M1176l>(<)2 1.62|1.680 | KM 533 | M16x 100 225 11.0
11/ | 11> :1;2:22:;25212 3.50 | 4.50 | 2.96 | 3.125 | 1.437 | 1.50 M1176l>(<)2 1.62|1.920 | MKM 533 | M16x 100 225 10.7
11/ 2 :E;jijigmz 3.50 | 4.50 | 3.50 | 3.125 | 1.437 | 1.50 M1176.>?2 1.62|2.411 MKM 1598| M16x 120 225 12.2
2 11> Zi;g:;;:;ignig 4.00 | 5.25|3.46 [ 3.812 | 1.750 | 1.94 M2201)l<(2).5 2.00 |1.020 | KM 554 | M20 x 120 228 16.5
6127-32-32DM20 21.0 MKM 554 |  M20 x 120 228
2 2 [ 1>532300M20 | 00| 5:25(3.46|3.812 | 1.750 | 1.94 0o 2.00 |2.411 x ——{15.9
21> 2 Zi;g:igjigmii 5.50 | 6.88 | 4.50 | 4.875 | 2.312 | 2.44 M2254'f3 2.50 |2.411 [k 2257} M24 X 150 232 40.0
21/ | 21/ Zi;g:igjggmii 5.50 | 6.88 | 4.50 | 4.875 | 2.312 | 2.44 MZ;'; 2.50 (2,911 | KM 2237} M24 X 150 232 38.6
6127-48-48DM30 32.0 MKM 556 |  M30 x 180 237
3 3 e128-48-48DM30 | 6:00 | 8:50 | 500 | 6.000 | 2.812 | 2.94 |2 3.00 |3.540 a ——|56.5

@ Order Separately

@ 2500 PSI Max ® 2000 PSI Max

@ 500 PSI Max

® C'bore Depth by Pipe Size: 1 1/4" to 2 1/2" is .50" (2 1/2" 62 Series is .62"); 3" to 5" is .62"

NOTE:

DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED.

1 Also Available for M12 Bolts

© Copyright MAIN Mfg. 2019

+ Also Available for M14 Bolts

9



SOCKET WELD PIPE BRANCH TEE FLANGES

SAE 1518 61 SERIES / IS06162-1 PATTERN

FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B | C D E F Jmm H | K [oarvo. | screwsize Jorme| W7
6165-08-08DM8 8.5 MKM 541 M8 x 50 210
1 1 2.00|2.12 | 1.44 | 1. . . . ) 1.
/2 /2 4166080508 | >%° 500 .688 | .50 oo 25| 38 | 860 3
6165-12-12DM10 10.5 MKM 542 M10 x 60 214
3 3 2.25|2.62|1.70 | 1.875| .875 | .7 .50 |1.07 2.2
a Y4 [G166-12-120m10 | 225 | 26 0|1.875| .875 | .75 Foioxqs | >0 1070
6165-16-16DM10 10.5 MKM 543 M10 x 65 219
2.50|2.82 | 1.94 | 2.062 | 1.031 /1. .50 |1. 2.
1 1 6166-16-16DM10 | 20 | 28 ° 06 03 00 atoxts | 20 [133° 8
6165-20-20DM10t 10.5 MKM 4532 M10 x 75 222
1 1 . 19 2.40|2.312| 1.1 1.2 .50 |1. 4.
1%a | 1Va (oo 20200mi0r| 300 319 240 23 88 | 1.25 M oxt.s | 20 | 1680 >
6165-24-24DM12+ 13.0 MKM 4533 M12 x 90 225
1 1 . 75| 2. 2.7 1.4 1. .50 |1.92 7.7
172 | 12 [ ico2u2a0mie] 350|375 2:90 | 2750 | 1.406 | 1.50 (0oPimor] .50 |1.920
6165-32-32DM12# 13.0 MKM 4534  M12 x 100 228
.75 | 4. 40| 3.062 | 1. 1.94 .50 |2.411 .
2 2 6166-32-32DM12% | > > | 400 3.40| 3.06 688 | 1.94 [ ox1.75] ° — |3
6165-40-40DM 12+ 13.0 MKM 4535| M12 x 120 232
1/52 21 4.00 | 4. . . 2. 2.44 50 [2.911 12.
21/2%| 22 566 a0400mizs| 400 | 450 | 3.96 | 3.500 | 2.000 miax1.75| >0 |%° 0
® 6165-48-48DM16 17.0 MKM 548 M16 x 150 237
. .31 4.96|4.188 | 2.438 | 2.94 .62 |3.54 22.2
3 3 6166-48-48DM16 | >°0 | >3 % 88 381 2.94 I ewa | 82 |35%0
6165-56-56DM16 17.0 MKM 549 M16 x 160 241
1/5% 31 . . 40 | 4.750 | 2.7 44 62 |4.04 2.
32" 3Y2 icoceceomie | 600 | 6-00| 540 | 4.750 | 2.750 | 3 e | 62 [4:045 ——|32.5
@ 6165-64-64DM16 17.0 MKM 550 M16 x 180 245
. . ) 125 | 3.062 | 3.94 .62 |4. .
4 4 166-64-64DM1g | 600 | 6:38 | 5.96 | 5.125 | 3.062 | 3.94 - .62 |4.550 ——135.5
@ 6165-80-80DM16 17.0 MKM 1569| M16 x 200 253
7.25|7.25 | 6. . 625 | 4.94 .62 |5. 7
5 5 [cicesosoomig| /25| 725(6.906.000 | 3.625 | 4.94 — - .62 |5.635 —=—150
MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
il bolts, add an SS at the end of the kit number (MK 501SS).
316L Stainless Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
O-Ring Style Companion Style
(Flat Face)
l— Kk —] l— K —
i | |
H H
>
G} @ _I__ZI—F ' _I__d—F '
DRILL-G
A E F + // F + /
Ho\We| L0ty L
=== ==
] ] ¢ % [
l 3 TAP-J 3
D—— c c
B
Model 6165 / 6167 Model 6166 / 6168

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE 1518 62 SERIES / 1IS06162-2 PATTER
[e] G
"ooe | Soe | wemmem | A|B|C D EFIFMIH K | ™ eneware Jomme] W'
1/ 1/> 21:2:82:3235: 2.00|2.22|1.46 | 1.594 | .718 | .50 MS?(.IS.ZS 38 | .860 |M 241 M8 x 30 210 1.5
3/4 3/a :igjijzgmg 2.50 | 2.81|1.70 | 2.000 | .937 | .75 M11c?>i.5 50 |1.070 |- eM 242 | M10x 60 214 2.7
6167-16-16DM12 12.5 MKM 2533|  M12x 75 219
1 1 6168-16-16DM1o | 275 3:19(2:212.250 | 1.093 | 1.00 [ === .50 |1.335 X —— 4.2
114 | 114 Zi:;:igjggmii 3.00 | 3.75 | 2.44 | 2.625 | 1.250 | 1.25 M1123<I10.75 50 |1.680 | M 2/8 | M12x 80 222 5.7
11/ | 11> Zig;j::;:gm: 3.50 | 4.50 | 2.96 | 3.125 | 1.437 | 1.50 M117€;>(32 50 |1.920 | "KM 253 | M16x 100 225 9.7
6167-32-32DM20 21.0 MKM 554 | M20 x 120 228
2 2 [ Cie532300Ma0 | 00| 5:25(3.46|3.812 | 1.750 | 1.94 o .50 |2.411 X ——{14.5
21/ | 21/ :12;:28:28525: 5.50 | 6.88 | 4.50 | 4.875 | 2.312 | 2.44 MZ;'; 62 (2,911 |KM 2257} M24 X 150 232 35.4
3 3 Zig;ig:izgng 6.00 | 8.50 | 5.00 | 6.000 | 2.812 | 2.94 M3302>'<2.5 62 [3.540 | kM 396 | M30 x 180 237 51.0
@ Order Separately @ 2500 PSI Max ® 2000 PSI Max @& 500 PSI Max

10 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



SOCKET WELD PIPE RUN TEE FLANGES

SAE J518 61 SERIES / IS06162-1 PATTERN

3181 TRI-PARK DR.

Model 6189 / 6191

GRAND BLANC, MI 48439

800-521-7918 810-953-1380 FAX 810-953-1385

Model 6190 / 6192

FLANGE PIPE PART D
SIZE SIZE NUMBER A B C D E H K L O-RING WT
6189-08-08DM8 1.000 210
1 1 1.75 2.12 1.44 1.500 .688 .38 .860 1.3
/2 /2 6190-08-08DM8
6189-12-12DM10 1.250 214
3 3 2.00 2.62 1.70 1.875 .875 .50 1.070 2.0
/a Y4 | 100-12-120M10
6189-16-16DM10 1.562 219
2.2 2.82 1.94 2.062 1.031 . 1. 2.7
1 1 6190-16-16DM10 5 8 9 06 03 50 335
6189-20-20DM10t 1.750 222
1 1 2.75 3.19 2.40 2.312 1.188 .50 1.680 4.8
1Ya | 1Ya [¢5050-200mi07
6189-24-24DM12+ 2.125 225
1 1 3.00 3.75 2.90 2.750 1.406 .50 1.920 7.0
12 | 12 (5054 000m08
6189-32-32DM12+ 2.500 228
. 4, 4 .062 1. ) 2.411 }
2 2 [0 30om1ar| 390 00 | 3.40 3.06 688 50 9.5
6189-40-40DM12+ 3.000 232
1/,? 1 4.00 4.50 3.96 3.500 2.000 .50 2.911 15.0
227 2V/2 [¢i50a0-a00m12¢
® 6189-48-48DM16 3.625 237
5.00 5.31 4.96 4.188 2.438 .62 3.540 27.2
3 3 6190-48-48DM16
6189-56-56DM16 4.109 241
1/5% 31 . . 4 4.7 2.7 62 4.04 7.
32" 3Y2 | iooceceomie| 550 | 600 | 5.40 50 50 6 045 37.0
@ 6189-64-64DM16 4.609 245
6.00 6.38 5.96 5.125 3.062 .62 4.550 48.0
4 4 6190-64-64DM16
@ 6189-80-80DM16 5.609 253
7.00 7.25 6.90 6.000 3.625 .62 5.635 60.0
5 5 6190-80-80DM16
MATERIAL:
316L Stainless
O-Ring Style Companion Style
(Flat Face)
|e— K —] ——K———
. | i
| H ~ H
| |
I I < I <.
A l
E L + +
Hey @ | e ssases
77 777
D C Cc

INFO@MAINMFG.COM

SAE J518 62 SERIES / 1IS06162-2 PATTERN
el o A | B | C D E H K L |o-RING| WT
1/ 1/» 212;:8::8:33: 2.00 | 222 | 146 1.594 718 .38 .860 1'_(3?0 210 1.5
6191-12-12DM10 1.250 214
3/a 3/a 6190-12-1oDMio| 225 | 281 | 170 2.000 937 .50 1.070 2.5
6191-16-16DM12 1.562 219
1 1 6193161eDM1a| 250 | 319 | 221 2.250 1.093 .50 1.335 4.5
11 | 114 :i;jgjggmi 3.00 | 3.75 | 2.44 2.625 1.250 .50 1.680 1'_7_?0 222 6.5
11/ | 11> 213;:;2:523512 3.50 | 4.50 | 2.96 3.125 1.437 .50 1.920 2'_1_?5 225 10.0
6191-32-32DM20 2.500 228
2 2 619232-300M20| 400 | 525 | 3.46 3.812 1.750 .50 2.411 15.0
21> | 21/ 213;:;8:2833;2 550 | 6.88 | 4.50 4.875 2.312 62 2.911 3'_(3(_)0 232 34.2
3 3 213;:22:2:23;8 6.00 | 850 | 5.00 6.000 2.812 .62 3.540 3'_?5 237 48.0
@ Includes Buna-N O-Ring @ 2500 PSI Max ® 2000 PSI Max & 500 PSI Max
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts 1 1

© Copyright MAIN Mfg. 2019



SOCKET WELD TUBE IN-LINE FLANGES

SAE J518 61 SERIES / 1IS06162-1 PATTERN

FLANGE TUBE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B C D E F Jmm H K PARTNO. | SCREW SIZE | O-RING | W1
6113-08-08DM8 8.5 MKM 501 M8 x 30 210
1 1 1.50|2.12| .75 | 1.500 | .688 | .31 .38 | .510 .6
/2 /2 6114080808 M8x1.25
6113-08-12DM8 8.5 MKM 501 M8 x 30 210
1 3 1.50 | 2.12| .75 [ 1.500 | .688 | .50 .38 | .760 .5
/2 /a 6114-08-12DM8 M8x1.25
6113-12-12DM10 10.5 MKM 502 M10 x 40 214
3 3 1.75|2.62|1.00|1.875| .875 | .50 .38 | .760 .9
/a Y4 [ G114-12-120M10 M10x1.5
6113-12-16DM10 10.5 MKM 502 M10 x 40 214
3 1.75|2.62|1.00|1.875| .875 | .75 .50 [1.010 .8
Ya 1 6114-12-16DM10 M10x1.5
6113-16-16DM10 10.5 MKM 503 M10 x 40 219
2.00|2.82|1.00|2.062|1.031| .75 .50 |1.010 1.3
1 1 6114-16-16DM10 M10x1.5
6113-16-20DM10 10.5 MKM 503 M10 x 40 219
1 2.00|2.82 | 1.00 | 2.062 | 1.031 | 1.00 .50 |1.260 1.2
1 14 6114-16-20DM10 M10x1.5
6113-20-20DM10* 10.5 MKM 3524 M10 x 40 222
1 1 2.50 | 3.19 | 1.00 | 2.312 | 1.188 | 1.00 .50 |1.260 1.7
1a | 14 [ 50 0omi0r M10x1.5
6113-20-24DM10* 10.5 MKM 3524 M10 x 40 222
1 1 2.50|3.19|1.00 | 2.312 | 1.188 | 1.25 .50 |1.510 1.6
112 | 172 6114-20-24DM10* M10x1.5
6113-24-24DM12% 13.0 MKM 3596 M12 x 50 225
1 1 2.75|3.75|1.25| 2.750 | 1.406 | 1.25 .50 |1.510 2.7
12 | 172 [0 oaomis M12x1.75
1 6113-24-320M12%| | | oo oo o o | 130 50 |2.010 MKM 3596 M12 x 50 225 | ¢
11> 2 6114-24-32DM12%| = : ' : ' =Y [M12x1.75| : e
6113-32-32DM12% 13.0 MKM 3501 M12 x 55 228
3.25|4.00 | 1.50 | 3.062 | 1.688 | 1.50 .50 |2.010 4.1
2 2 6114-32-32DM12% M12x1.75
MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
il bolts, add an SS at the end of the kit number (MK 501SS).
316L Stainless Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
O-Ring Style Companion Style
(Flat Face)
/ DRILL-G / TAP-J
0 ! | \ t
B |‘( — F 1( HH——F F
Q@ B fie
H

l— —fH— K

l— ¢ — l— ¢ —

- d
A
Model 6113 / 6115 Model 6114 / 6116
3181 TRI-PARK DR. GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE J518 62 SERIES / 1IS06162-2 PATTER
[e] G
"Goe | e | wemsem | A|B|C| D EFIFMIH K | eeware Jomme]WT
1/> 3/a Zii::g::iigm: 1.75|2.221.00 | 1.594 | .718 | .50 Msif.zs 50 | .760 |eM 212 M8 x 35 210 8
3/a 1 Ziii:i;:izgmg 2.00 | 2.811.00|2.000 | .937 | .75 M11(§)>'<i.5 50 [1.010 KM 202 M10 x 40 214 1.2
6115-16-16DM12 12.5 MKM 513 | M12x45 219
i | 1 611616-160M1o | 225 | 319[1.002.250| 1.093 | .75 | --===—] .50 |1.010 X —— 1.6
1 114 Zii::ig:;ggmi 2.253.19 | 1.00 | 2.250 | 1.093 | 1.00 Mllzil15t75 50 |1.260 | M 213 | M12x45 219 1.5
114 | 114 Zii::igjggmi 2.75|3.75| 1.25 | 2.625 | 1.250 | 1.00 M112?<l10.75 50 |1.260 | "KM 1302} M12x 30 222 2.9
114 | 11> Zii::ig:iigmi 2.75|3.75| 1.25 [ 2.625 | 1.250 | 1.25 M1123<I10.75 50 |1.510 "KM 1302} M12x 30 222 2.8
6115-24-32DM16 17.0 MKM 515 | M16 x 60 225
11> 2 e116-24-32DM16 | 325|450 1.50 | 3.125| 1.437 | 1.50 (-~ .50 |2.010 X =147
6115-32-32DM20 21.0 MKM 516 | M20 x 70 228
2 2 il aobiag | 400 525|175 |3.812 | 1750 | 1.50 [ = 50 (2,010 : =83

@ Order Separately

12 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



SOCKET WELD TUBE ELBOW FLANGES

bolts, add an SS at the end of the kit number (MK 501SS).
Please note that using stainless steel bolts may reduce the pressure rating of the assembly.

3181 TRI-PARK DR.

O-Ring Style

GRAND BLANC, MI 48439

Model 6129 / 6131

DRILL-G
e

TAP-J

Companion Style
(Flat Face)

|—— Kk —]

Model 6130 / 6132

800-521-7918 810-953-1380 FAX 810-953-1385

'.-.

SAE J518 61 SERIES / IS06162-1 PATTERN
[} G
FLS‘;::E 1:;:: Nl'::\'ll;:R A B c D E F ?_,:‘:: H K PART NO. i l;:lls?lv sKIIzTE® O-RING wT
1> 1/ Ziiz:gz:gzgmg 1.75|2.12 | 1.44 | 1.500 | .688 | .50 Msi.15.25 75 | 510 Hkm 541 M8 x 20 210 1.3
1/ 3/a Ziiz:gz:iigmg 1.75|2.12|1.44 | 1.500 | .688 | .50 Msi.15.25 75 | 760 |km 541 M8 x 20 210 1.2
3/a 3/a Zg?}ji:i;gmg 2.00|2.62|1.70 [ 1.875 | .875 | .75 M11c?>i.5 88 | 760 [ kM 342 | M10x 60 214 2.0
3/a 1 :g‘;:i;:izgmg 2.00(2.62|1.70 | 1.875 | .875 | .75 M11t?>l<i.5 88 1010 [k 342 MiD x 90 214 1.9
i | 1 :Eijg:izgmg 2.25|2.82[1.94|2.062 | 1.031 | 1.00 Mllt?)l(i.s 1.00 1,010 | <M 243 MID x5 219 2.7
i | 114 :ii:igjggmg 2.25(2.82|1.94 | 2.062 | 1.031 | 1.00 M118>i.5 1.00 [1.260 |- <M 243 MiDx 95 219 2.6
14 | 114 :Ezjgjggmgl 2.75(3.19 | 2.40 | 2.312 | 1.188 | 1.25 M11c?>i.5 1.25|1.260 |k 4532, MI0X75 222 4.6
114 | 11> :Ezjgjﬁmgl 2.75(3.19 | 2.40 | 2.312 | 1.188 | 1.25 M11c?>i.5 1.25[1.510 k4532, MI0X75 222 4.4
11/ 11> :Ez:zi:izgmi: 3.00 | 3.752.90 | 2.750 | 1.406 | 1.50 M112?<l10.75 1.38[1.510 k4533, M12x30 225 7.0
11/ 2 giizijgigm;i 3.00 | 3.75[2.90 | 2.750 | 1.406 | 1.50 M112?<l10.75 1.38 |2.010 KM 4533 |  M12x90 225 6.7
2 2 :Egg;;;gmiz 3.50 | 4.00 | 3.40 | 3.062 | 1.688 | 1.50 M1123<l10.75 1.62[2.010 KM 4534, M12 x 100 228 9.9
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 MATERIAL :

316L Stainless

INFO@MAINMFG.COM

© Copyright MAIN Mfg. 2019

SAE 1518 62 SERIES / 1IS06162-2 PATTER
[o] G
“cwe | s | wowsen | A|B|C|D|E|F IS K e e o] VT
1/ 3/a 213;:8::1235: 2.00|2.22|1.46 [ 1.594 | .718 | .50 MS?(.IS.ZS 88 | 760 |im 541 M8 x 20 210 1.5
3/a 1 :g;:i;:izgmg 2.25(2.81|1.70 | 2.000 | .937 | .75 M118>i.5 1.00 1,010 | "KM 242 MLD x99 214 2.4
6131-16-16DM12 12.5 MKM 2533|  M12x 75 219
i | 1 6132-16-16DM1a | 250 3:192:212.250 | 1.093 | 1.00 [ o= = 11.12 |1.010 . —— 4.0
i | 114 Zig;:igjggmi 2.50 (3.19 | 2.21 | 2.250 | 1.093 | 1.00 M112f<l15t75 1.12|1.260 kM 2533 MI2X75 219 3.9
1141 | 114 :E;iggggmi 3.00 | 3.75|2.44 | 2.625 | 1.250 | 1.25 M1123<l10.75 1.38[1.260 | NM 278 | M12 X80 222 6.3
114 | 11> :E;igiigmiz 3.00 3.75 | 2.44 | 2.625 | 1.250 | 1.25 M1123<l10.75 1.38[1.510 | M 278 Mi2 x50 222 6.1
6131-24-32DM16 17.0 MKM 553 | M16 x 100 225
11> 2 €132-24-300m16 | 350 | 4:50 | 2.96 | 3.125 | 1.437 | 1.50 |-~ 1,62 2.010 X ———{10.1
2 | 2 [femmaomaol,  F o T k6] se1z | 17s0| 1o [ 250 o0 pon | MKMEse | M20xi20 [ 228 [,
@ Order Separately
® C'bore Depth by Pipe Size: 1/2" and 3/4" is .38"; 1" to 2" is .50"
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts 13



SOCKET WELD TUBE BRANCH TEE FLANGES

SAE J518 61 SERIES / IS06162-1 PATTERN

FLANGE TUBE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B C D E F Jmm H| K PART NO. BOLT SIZE o-ring | VT
1 1 6169-08-08DM8 2 212 1.44]1 1 8.5 1 MKM 541 M8 x 50 210 1
/> /> e170-08-0s0ms | 20 | : 500 | 688 | .31 "o .38 | 510 5
1 3 6169-08-12DM8 ) 212 1.44]1 8.5 7 MKM 541 M8 x 50 210 1.4
/> T/ e170-08-1aoms | 200 | : 500 | .688 | .50 [ .38 | .760 .
3 3 6169-12-12DM10 2251262 |1.70 | 1.875 | 875 62 10.5 38 | 760 MKM 542 M10 x 60 214 2.3
/4 /4 6170-12-12DM10 | ~° ’ ’ ’ ’ ’ M10x1.5 | ° ’ --- '
3 6169-12-16DM10 295262 11.70 | 1.87 7 7 10.5 1.01 MKM 542 M10 x 60 214 21
T/ 1 e170-12160M10 | 2-25|2:62 | 1.70 | 1.875 | 875 | .75 [ = .50 |1.010 .
6169-16-16DM10 10.5 MKM 543 M10 x 65 219
2. 2.8211.94|2.062|1.031| .7 . 1.01 .
1 1 6170-16-16DM10 50 8 9 06 03 > M10x1.5 >0 010 --- 3.0
1 6169-16-20DM10 250 | 2.82 | 1.94 | 2.062 | 1.031 | 1.00 10.5 50 11.260 MKM 543 M10 x 65 219 5.7
1 1 /4 6170-16-20DM10 | ’ ’ ’ ’ ’ M10x1.5 | ° ’ --- ’
1 1 6169-20-20DM10t 3.00 | 3.19 | 2.40 | 2.312 | 1.188 | 1.00 10.5 50 |1.260 MKM 4532 M10 x 75 222 4.9
1 /4 1 /4 6170-20-20DM10T| ’ ’ ’ ' ’ M10x1.5 | ° ’ --- ’
1 1 6169-20-24DM10t 3.00 | 3.19 | 2.40 | 2.312 | 1.188 | 1.25 10.5 50 |1.510 MKM 4532 M10 x 75 222 4.5
1 /4 1 /2 6170-20-24DM10T |~ ’ ’ ’ ’ ’ M10x1.5 | ° ’ --- ’
1 1 6169-24-24DM12+ 3.50 | 3.75 [ 2.90 | 2.750 | 1.406 | 1.25 13.0 50 |1.510 MKM 4533 M12 x 90 225 8.1
1 /2 1 /2 6170-24-24DM12%| ~° ’ ' ' ’ ' M12x1.75| ° ’ --- ’
1 3 6169-24-28DM12+ 3.50 | 3.75 [ 2.90 | 2.750 | 1.406 | 1.50 13.0 50 |1.760 MKM 4533 M12 x 90 225 7.6
1 /2 1 /4 6170-24-28DM12%| ~° ’ ’ ' ’ ' M12x1.75| ° ’ --- ’
1 6169-24-32DM12+ 25| 2.7 1.4 1 13.0 501 MKM 4533 M12 x 90 225 7.4
11/ 2 e17024-30DM 15| 3-50 | 375 2:90 | 2.750 | 1.406 | 1.50 (L-—== .50 2.010 .
MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
Mk bolts, add an SS at the end of the kit number (MK 501SS).
316L Stainless Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
O-Ring Style Companion Style
(Flat Face)
l—— K ——] l—— K ——
i | {
H H
>
G} @ SN ' A+ '
DRILL-G
A E F + // F + /
Hose| et i
o ==
L ] & % §
t 3 TAP-J 3
|_ s c c
B
Model 6169 / 6171 Model 6170 / 6172

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE 1518 62 SERIES / 1IS06162-2 PATTER
MOUNTING KIT
FLS‘;::E -;l:ZBEE Nl':l‘A'::IE-R A B C D E F ?_:::1‘ H K PART NO. BOLT SIZE s O-RING WT
1/ 3/a Zizizgz:ggm: 2.00|2.22|1.46 [ 1.594 | .718 | .50 M8?<115.25 38 | 760 | 541 M8 x 30 210 1.5
3/4 1 21;;:12:122518 2.50(2.81|1.70 | 2.000 | .937 | .75 M11(()J>I<i.5 50 [1.010 1M 242 M10 x 60 214 2.6
1 1 21;;:12:1:5312 2.753.19|2.21 | 2.250 | 1.093 | .75 M1lzi'15.75 50 [1.010 |PKM 235331 MI2x 75 219 4.4
1 114 21;;:12:28253 2.75(3.19 | 2.21 | 2.250 | 1.093 | 1.00 M112il15.75 50 [1.260 KM 2233} M12x 75 219 4.1
14 | 114 :i;;;giggmii 3.00(3.75|2.44 | 2.625 | 1.250 | 1.00 M112?<l10.75 50 [1.260 <M 278 M12 x 80 222 6.0
14 | 11> :i;;;gi:gmii 3.00 | 3.75|2.44 | 2.625 [ 1.250 | 1.25 M112i'10.75 50 [1.510 <M 278 M12 x 80 222 5.7
112 | 134 21;;:22:5:5312 3.50 [ 4.50 | 2.96 | 3.125 | 1.437 | 1.50 M117€£2 50 [1.760 1< 233 | M16 x 100 225 9.6
11/ 2 21;;:;2:;;3512 3.50 | 4.50 | 2.96 | 3.125 | 1.437 | 1.50 M117€;22 50 [2.010 KM 233 | M16x 100 225 9.4

@ Order Separately

14 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. T Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



SOCKET WELD TUBE RUN TEE FLANGES

SAE 1518 61 SERIES / IS06162-1 PATTERN

o
&

&
16

3181 TRI-PARK DR.

e

Model 6193 / 6195

GRAND BLANC, MI 48439

800-521-7918 810-953-1380 FAX 810-953-1385

e
7/2 :2

Cc

Model 6194 / 6196

FLANGE TUBE PART @
SIZE SIZE NUMBER A B c D E H K L O-RING | WT
1 1 6193-08-08DM8 1.000 210
/> /2 [ cioaososoms | 175 | 212 | 1.44 | 1.500 .688 .38 .510 1.2
1 3 6193-08-12DM8 1.000 210
/> Y4 | eionosiaoms | 175 | 212 | 1.44 | 1.500 .688 .38 .760 1.2
3 3 6193-12-12DM10 1.250 214
/a a4 | losis1oomio| 200 | 262 | 1.70 | 1.875 875 .50 .760 2.0
3 6193-12-16DM10 1.250 214
/a 1 [ oi>ieomo| 200 | 262 | 1.70 | 1.875 875 .50 1.010 1.9
6193-16-16DM10 1.562 219
1 1 [ oiieiecomio| 225 | 282 | 1.94 | 2,062 | 1.031 .50 1.010 2.6
1 6193-16-20DM10 1.562 219
1 12 oiicooomio| 225 | 282 | 1.94 | 2062 | 1.031 .50 1.260 2.5
1 1 6193-20-20DM10t 1.750 222
1Ya | 14 o ooo0omior] 275 | 319 | 240 | 2312 | 1.188 .50 1.260 4.4
1 1 6193-20-24DM10T 1.750 222
12 | 12 oiosmomior] 275 | 319 | 240 | 2312 | 1.188 .50 1.510 4.2
1 1 6193-24-24DM12% 2.125 225
12 | 12 [ oisusaomies| 300 | 375 | 290 | 2.750 | 1.406 .50 1.510 6.6
1 3 6193-24-28DM12+ 2.125 225
12 | 134 o suosomies| 300 | 375 | 290 | 2.750 | 1.406 .50 1.760 6.5
1 6193-24-32DM12+% 2.125 225
11/ 2 [oioaaoomisr] 300 | 375 | 290 | 2750 | 1.406 .50 2.010 6.4
MATERIAL:
316L Stainless
O-Ring Style Companion Style
(Flat Face)
|e— K —] ——K———
. f |
| T > T
' T Wk

INFO@MAINMFG.COM

SAE J518 62 SERIES / IS06162-2 PATTERN
e | Toae o A B C D E H K L |o-RING| WT
115 3/, Zizz:gz:igmz 200 | 222 | 146 | 1504 | 718 | .38 | .760 |—:000 1 210 1.5
3/4 1 :izizizgmg 225 | 281 | 170 | 2000 | .937 | .50 | 1010 220 L 214§ 5,
1 1 Zi:g:ig:i:gmi 250 | 3.19 | 2.21 | 2250 | 1.003 | .50 | 1.010 | 2621 219 3.9
1 114 :izigiggmi 250 | 3.19 | 2.21 | 2250 | 1.093 | .50 | 1.260 | 1202 | 219 3.8
142 | 14 :iggig;ggmiz 3.00 | 375 | 244 | 2625 | 1250 | .50 | 1260 201 222 | ¢,
1Va | 1z (S52020M2 300 | 3.75 | 244 | 2625 | 1250 | 50 | 1510 (7204 222 | 5
12 | 13/ oo oaoie] 350 | 450 | 2.96 | 3125 | 1437 | .50 | 1760 2125 | 225 | g4
11/ | 2 :12::;2:;;3312 3.50 | 450 | 2.96 | 3.125 | 1437 | .50 | 2010 =122 2B | 45
® Includes Buna N O-Ring
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. T Also Available for M12 Bolts # Also Available for M14 Bolts 15

© Copyright MAIN Mfg. 2019



NPTF THREADED IN-LINE FLANGES (Pg 1/2)

SAE J518 61 SERIES / IS06162-1 PATTERN

FLANGE PIPE PART Gmm K MOUNTING KIT®
SIZE SIZE NUMBER A B c D E F JImm NPTF | PART NO. SCREW SIZE | O-RING wT
6149-08-08DM8 8.5 MKM 519 M8 x 45 210
1 1 1.50|2.12|1.25| 1.500 | .688 | .50 1/2 .8
/2 /2 [150-08-080M8 M8x1.25 /
6149-12-08DM10 10.5 MKM 520 M10 x 45 214
3 1 1.75|2.62|1.25|1.875| .875 | .70 1/2 1.3
a /2 6150-12-08DM10 M10x1.5 /
6149-12-12DM10 10.5 MKM 520 M10 x 45 214
3 3 1.75|2.62|1.25|1.875| .875 | .75 3/4 1.2
Ya Y4 [ G150-12-120M10 M10x1.5 /
6149-16-12DM10 10.5 MKM 521 M10 x 50 219
3 2.00 | 2.82 | 1.50|2.062 | 1.031 | .92 3/4 1.9
1 /a 6150-16-12DM10 M10x1.5 /
6149-16-16DM10 10.5 MKM 521 M10 x 50 219
2.00 | 2.82 | 1.50 | 2.062 | 1.031 | 1.00 1 1.7
1 1 6150-16-16DM10 M10x1.5
6149-20-16DM10*t 10.5 MKM 3526 M10 x 50 222
114 1 6150-20-16DM10t| 250 | 319 | 150 | 2.312 | 1.188 | 1.16 o =or 1 —=— 26
6149-20-20DM10*1 10.5 MKM 3526 M10 x 50 222
14 | 114 6150-20-200M10t| 250 | 319 | 150 | 2.312 | 1.188 | 1.25 -2 =o 11/4 —=—23
1 1)y ———— 3.00 | 3.19 | 3.00 | 2.312 | 1.188 | 1.25 —— 11/2 ——1 6.4
112 | 172 6150-20-24DM10* M10x1.5 /
6149-24-20DM12% 13.0 MKM 2565 M12 x 60 225
11/ | 114 6150-24-200M 125 275 | 375 | 1.75| 2.750 | 1.406 | 1.50 (== 11/4 —— 3.8
6149-24-24DM12% 13.0 MKM 2565 M12 x 60 225
11/ | 11> 6150-24-24DM12E| 275|375 | 1.75| 2.750 | 1.406 | 1.50 (== 11/2 ——36
1/ | 2 —= 3.50 | 3.75 | 3.50 | 2.750 | 1.406 | 1.50 ——— 2 ——10.1
112 2 6150-24-32DM12% M12x1.75
MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
it bolts, add an SS at the end of the kit number (MK 501SS).
316L Stainless Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
0O-Ring Style Companion Style
(Flat Face)

nipryY
| T
A

' =

@
A

e

E

B
C

Lo

<
A — C— |l— ¢ ——
Model 6149 / 6151 Model 6150 / 6152
3181 TRI-PARK DR. GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE 1518 62 SERIES / 1IS06162-2 PATTER
[o] G
FLS‘;:SE :::E N::PA'::IE-R A B C D E F % NIISI'F PART NO. r ‘;:-::\‘N SI;:I:ZTE(D O-RING wWT
1> 1/ 21;:82:3:35: 1.75|2.22|1.25[1.594 | .718 | .50 Msiils.zs 172 [1KM 519 M8 x93 210 1.1
3/a 1/ Zi;:ii:gggmg 2.00(2.81|1.25|2.000 | .937 | .70 M11c?>l<i.5 172 [1KM 520 MiDx 95 214 1.6
3/4 3/a Zi;iii;gmg 2.00 | 2.81|1.25|2.000 | .937 | .75 M11c?>l<i.5 374 KM 520 MiDx92 214 1.5
1 3/a Zi;i:i;gmi 2.25(3.19 | 1.50 | 2.250 | 1.093 | .92 M1123(l15t75 34 KM 525 Mi2x 2> 219 2.4
6151-16-16DM12 12.5 MKM 525 M12 x 55 219
i | 1 615216-16DM1a | 225|319 1:50|2.250 | 1.093 | 1.00 (o= "= 1 . —— 23
114 1 Zi;igiggmii 3.00 | 3.75|1.50 | 2.625 | 1.250 | 1.16 M1123(l10.75 g M52z ) MIZx55 222 3.9
112 | 114 Zi;ig;ggmi 3.00 | 3.75|1.50 | 2.625 | 1.250 | 1.25 M112?<l10.75 1174 | KM 22 L MI2 X35 222 3.7
12 | 12 oo05u0mse| 300|375 3.00 | 2625 | 1.250 | 1.25 (oo — 11/2 — 7.9

@ Order Separately

16 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



NPTF THREADED IN-LINE FLANGES (Pg 2/2)

SAE J518 61 SERIES / IS06162-1 PATTERN

bolts, add an SS at the end of the kit number (MK 501SS).
Please note that using stainless steel bolts may reduce the pressure rating of the assembly.

O-Ring Style

e

@

3181 TRI-PARK DR.

©
C

E

O

A

/

l— ¢ —-

Model 6149 / 6151

GRAND BLANC, MI 48439

800-521-7918 810-953-1380 FAX 810-953-1385

/ DRILL-G

Companion Style

(Flat Face)

l— ¢ —

<

Model 6150 / 6152

[} G
“cwe | S | wowsem | A|B|C|D|E|F O K e o] WT
2 114 :igzji:iggmi 3.25[4.00 | 1.75 | 3.062 | 1.688 | 1.50 M112?(.10.75 1174 [PKM 2566, M12 X 60 228 5.2
2 11> :igg:gi:i:gmiz 3.25[4.00 | 1.75 | 3.062 | 1.688 | 1.74 M112?(.10.75 1172 [PKM 2566, M12 X 60 228 4.9
2 2 :iggii;;gmi 3.25[4.00 | 1.75 | 3.062 | 1.688 | 1.94 M112?(.10.75 o [HKM2366] Mi2x60 228 4.2
2152 11/ :Ez:zg:iigm;: 4.00 | 4.50 | 2.00 | 3.500 | 2.000 | 1.74 M112?<l10.75 1172 [KM 2574, M12x70 232 8.5
21/5% 2 Zi:z:zgjigmi 4.00 | 4.50 | 2.00 | 3.500 | 2.000 | 2.12 M1123<l10.75 o (MKM2574] MI2x70 232 7.5
2152 21/ :Ez::g::ggmii 4.00 | 4.50 | 2.00 | 3.500 | 2.000 | 2.44 M112?<I10.75 2172 [MKM 2574, M12x70 232 6.5
6149-48-32DM16 17.0 MKM 1516|  M16 x 80 237
3¢ 2 [Gisoassopmis | 450|550 (2.25|4.188 | 2438 | 2.12 2 . ——112.5
3¢ | 214 Zi:?}:ig:igg:iz 4.50 [ 5.50 | 2.25 | 4.188 | 2.438 | 2.62 M1176l)(()2 2172 MKM 1516)  MI6 X80 27 1114
6149-48-48DM16 17.0 MKM 1516|  M16 x 80 237
3¢ 3 elcosasomie | 450|550 2.25| 4.188 | 2.438 | 2.94 | 3 . = 9.8
314% 314 :123:22:223212 5.00 | 6.00 | 2.25 | 4.750 | 2.750 | 3.44 M117€;>?2 3172 [MKM 2576, MI6 X390 241 11.0
6149-64-64DM16 17.0 MKM 2545|  M16 x 90 245
4° A oo eieanmie | 550|6:50| 250 | 5.125 | 3.062 | 3.94 | 4 = =2 1145
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 MATERIAL :

316L Stainless

INFO@MAINMFG.COM

SAE 1518 62 SERIES / 1IS06162-2 PATTER
o G

FLS‘;::E :::: N:PA’::LR A B c D E F % NIISI'F PART NO. r l;':Z-II:I:\‘I\I SI;IZTE(D O-RING wT
11/ | 114 :1;:;2:;83:12 3.254.50 | 1.75 | 3.125 | 1.437 | 1.50 M1176l>(<)2 1174 KM 527 L MIGx65 225 5.7
11/ | 11/ :1;:52:;23:12 3.25|4.50 | 1.75 | 3.125 | 1.437 | 1.50 M1176l>(<)2 1172 |1IKM 527 M16 x 63 225 5.6
11> 2 G554 320mic | 00| 4.50 | 4.00 | 3.125 | 1.437 | 1.50 2 —17.0

6151-32-24DM20 21.0 MKM 516 M20 x 70 228
2 11> 6150-32-24DMa0 | 400|525 | 1.753.812 | 1.750 | 1.74 |- o 11/2 : ——— 8.4

6151-32-32DM20 21.0 MKM 516 M20 x 70 228
2 2 615232-30DM20 | 400 | 525 | 1.75 | 3.812 | 1.750 | 1.94 o0t — 2 X ——7.8
21> 2 :1;:28:;2322: 5.00 | 6.88 | 2.00 | 4.875 | 2.312 | 2.12 MZZ‘Z; o |MKMSL7 M24 x 80 232 15.4
21/ | 21/ :1;:28:28322: 5.00 | 6.88 | 2.00 | 4.875 | 2.312 | 2.44 M2254')‘:’3 21/2 M 5L M24 x 80 232 15.1
3 3 :13:22:223238 6.00 | 8.50 | 2.50 | 6.000 | 2.812 | 2.94 M3302>'<g.5 3 |HKMSI8 L M30x 110 237 27.5

@ Order Separately @ 2500 PSI Max ® 2000 PSI Max @& 500 PSI Max

NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts 17

© Copyright MAIN Mfg. 2019



NPTF THREADED ELBOW FLANGES (Pg 1/2)

SAE 1518 61 SERIES / IS06162-1 PATTERN

FLANGE PIPE PART Gmm K MOUNTING KIT®
SIZE SIZE NUMBER A B c D E F JImm H NPTF | PART NO. SCREW SIZE | O-RING wT
6161-08-08DM8 8.5 MKM 541 M8 x 50 210
1 1 2.00|2.12|1.44|1.500 | .688 | .50 75 | 1/2 1.5
/2 /2 [6162-08-080M8 M8x1.25 /
6161-12-08DM10 10.5 MKM 542 M10 x 60 214
3 1 2.50|2.62|1.70 | 1.875| .875 | .75 .88 | 1/2 2.7
a /2 6162-12-08DM10 M10x1.5 /
6161-12-12DM10 10.5 MKM 542 M10 x 60 214
3 3 2.50|2.62|1.70 | 1.875| .875 | .75 .88 | 3/4 2.6
Ya Y4 [ G162-12-120M10 M10x1.5 /
6161-16-12DM10 10.5 MKM 543 M10 x 65 219
3 .00|2.82|1.94|2.062|1.031 1. 1. 4 )
1 /a 6162-16-120M10 | 500 | 28 ° 06 03 00 atoxts | 00| ¥/ — | 3°
6161-16-16DM10 10.5 MKM 543 M10 x 65 219
3.00 | 2.82 | 1.94 | 2.062 | 1.031 | 1.00 1.00| 1 3.5
1 1 6162-16-16DM10 M10x1.5
6161-20-16DM10t 10.5 MKM 4532 M10 x 75 222
1 3.50 | 3.19 | 2.40 | 2.312 | 1.188 | 1.25 1.25| 1 6.5
14 1 6162-20-16DM10t M10x1.5
6161-20-20DM10t 10.5 MKM 4532 M10 x 75 222
1 1 3.50 | 3.19 | 2.40 | 2.312 | 1.188 | 1.25 1.25/1 1/4 6.2
1a | 14 [ o250 200mi00 M10x1.5 /
6161-20-24DM10t 10.5 MKM 4597 M10 x 90 222
1 1 4.00|3.193.00|2.312|1.188 | 1.25 1.25/1 1/2 6.0
112 | 172 6162-20-24DM10t M10x1.5 /
6161-24-20DM10t 13.0 MKM 4533 M12 x 90 225
1 1 4.00 | 3.75|2.90 | 2.750 | 1.406 | 1.50 1.38|1 1/4 10.0
1172 | 1 6162-24-20DM12% M12x1.75 /
6161-24-24DM12% 13.0 MKM 4533 M12 x 90 225
1 1 4.00 | 3.75|2.90 | 2.750 | 1.406 | 1.50 1.3811/2 9.9
12 | 172 [ oo o0oaomies M12x1.75 /
6161-24-32DM12% 13.0 MKM 4533 M12 x 90 225
1 4.00 | 3.75 | 2.90 | 2.750 | 1.406 | 1.50 1.38| 2 8.9
112 2 6162-24-32DM12% M12x1.75
MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
Mk bolts, add an SS at the end of the kit number (MK 501SS).
316L Stainless Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
O-Ring Style Companion Style
(Flat Face)
K—\ K-\.
i ]
| >

|
A _IIE_{':'} I 'G} 1__4' J_ DRILL-G _FI__
ey o | b= /4/ | p——

c TAP-J c

|— T —

Model 6161 / 6163 Model 6162 / 6164
3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE 1518 62 SERIES / 1IS06162-2 PATTER
[o] G
FLS‘;::E :::E N:PA'::;R A B c D E F ?_::nn: H NII§'F PART NO. r l::I-II?::I:\‘I\I SI;:I:ZTE(D 0-RING wWT
1/> 1> 2122:82:8:35: 2.00|2.22|1.46|1.594 | .718 | .50 Msif.zs 88 | 172 |1KM 541 M8 x 20 210 1.6
3/a 1/> Zigi:ii:g:gmg 2.50|2.81|1.70 | 2.000 | .937 | .75 M11(§J>I<i.5 1.00| 172 | TKM 42 M0 x 50 214 2.9
3/a 3/a Zigi:ii:izgmg 2.50|2.81|1.70 | 2.000 | .937 | .75 M11(§J>I<i.5 1.00| 3/4 | KM 42 M0 x 50 214 2.8
1 3/ Zi:i:i::iigmi 3.00 | 3.19 | 1.96 | 2.250 | 1.093 | 1.00 M112f<'15.75 112 34 |TKM 351 Mi2x 70 219 4.6
6163-16-16DM12 12.5 MKM 551 M12 x 70 219
1 1 oo ieicomis| 300|319 1.96 | 2.250 | 1.093 | 1.00 =S d112| 1 X o kY
114 1 Zi:i:ig:i:gmii 4.00 [ 3.75 | 2.44 | 2.625 | 1.250 | 1.25 M1123<I10.75 13| 1 |TKMS78 M2 x50 222 6.9
14 | 114 Zi:i:igjggmii 4.00 | 3.75|2.44 | 2.625 | 1.250 | 1.25 M112?<l10.75 1.38[1 174 | KM 378 Mi2x 5D 222 6.7
114 | 11> Zigi:ig:i:gmii 4.00 | 3.753.00 | 2.625 | 1.250 | 1.25 M112?<l10.75 1.38[1 172 KM 3551 MI2 X390 222 9.9

@ Order Separately

18 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



NPTF THREADED ELBOW FLANGES (Pg 2/2)

SAE 1518 61 SERIES / IS06162-1 PATTERN

&
&

©
ol

3181 TRI-PARK DR.

l

GRAND BLANC, MI 48439

Model 6161 / 6163

TAP-J

FLANGE PIPE PART Gmm K MOUNTING KIT®
SIZE SIZE NUMBER A B c D E F JImm H NPTF | PART NO. SCREW SIZE | O-RING wT
6161-32-20DM12% 13.0 MKM 4547 M12 x 90 228
1 4.50 | 4.00 | 2. 062 | 1. 1.94 1.621 1/4 11.
2 14 6162-32-20DM12% | +°0 [ 400 2.96 | 3.06 688 | 1.94 [ ox1.75| 18 / 3
6161-32-24DM12% 13.0 MKM 4547 M12 x 90 228
1 4.50 | 4.00 | 2. 062 | 1. 1.94 1.6211/2 10.
2 112 6162-32-24DM12%| +°0 | 400 2.96 | 3.06 688 | 1.94 [ ox1.75| 16 / 0.9
6161-32-32DM12% 13.0 MKM 4547 M12 x 90 228
4.50 | 4. 2. 062 | 1. 1.94 1.62| 2 10.7
2 2 6162-32-32DM12% | +°0 | 400 2.96 | 3.06 688 | 1.94 [ ox1.75| 16 0
6161-40-24DM12% 13.0 MKM 4535, M12 x 120 232
1/5? 1 5.00 | 4.50 | 3.96 | 3.500 | 2.000 | 2.44 2.00|1 1/2 18.5
22%| 12 oo 0 200mi0s M12x1.75 /
6161-40-32DM12% 13.0 MKM 4535, M12 x 120 232
1/, 5.00 | 4.50 | 3.96 | 3.500 | 2.000 | 2.44 2.00| 2 17.8
21> 2 6162-40-32DM12% M12x1.75
6161-40-40DM12% 13.0 MKM 4535, M12 x 120 232
1/5? 1 5.00 | 4.50 | 3.96 | 3.500 | 2.000 | 2.44 2.00|2 1/2 17.5
212%| 22 [5ieoa0400m12s M12x1.75 /
® 6161-48-32DM16 17.0 MKM 2532| M16 x 140 237
. 31|4.46 | 4.1 2.438 | 2.94 2.2 2 20.
3 2 6162-48-320M16 | 000 | 53 6 88 381 2.94 I 6xa > 9.6
® 1 6161-48-40DM16 1144641 5438 | 2.04 170 |5 5|51, (MKM2532]  M16 x 140 237
3 22 | ooasaoomie | 600|531 | 446 | 4.188 | 2.438 | 2.94 — o —2.25 (2 1/ ——30.0
® 6161-48-48DM16 17.0 MKM 2532| M16 x 140 237
. 31|4.46| 4.1 2.438 | 2.94 2.2 27.
3 3 6162-48-48DM16 | 000 | 53 6 88 38 2.94 I 6xa 5 3 6
6161-56-48DM16 17.0 MKM M16 x 241
1/5,@ 6.00 | 6.00 | 5.00 | 4.750 | 2.750 | 3.44 250 3 36.8
32 3 6162-56-48DM16 M16x2
6161-56-56DM16 17.0 MKM M16 x 241
1/5,@ 1 6.25 | 6.00 | 5.40 | 4.750 | 2.750 | 3.44 2.50 |3 1/2 40.0
32" 32 [¢i6256 s60m16 M16x2 /
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 MATERIAL :
bolts, add an SS at the end of the kit number (MK 501SS). A=
Please note that using stainless steel bolts may reduce the pressure rating of the assembly. 316L Stainless
O-Ring Style Companion Style
(Flat Face)
K—\l K-\
| | |
! ! > !
F ] ]
A T 717 | T |
E E + F oA +

Model 6162 / 6164

800-521-7918 810-953-1380 FAX 810-953-1385

INFO@MAINMFG.COM

SAE J518 62 SERIES / IS06162-2 PATTER
[e] G

FLS‘;::E :::E N:PA'::;R A B C D E F ?_::nn: H NIISI'F PART NO. r l::Z-II:I:\‘I\I SI;I:I:ZTE(D O-RING wWT
11> | 114 :1:2:52:28521: 4.00 [ 4.50 | 2.96 | 3.125 | 1.437 | 1.50 M1176l)(()2 1.62|11/4 MK 553 M16 x 100 225 12.5
11/ | 11> Zigi:i:jigmg 4.00 [ 4.50 | 2.96 | 3.125 | 1.437 | 1.50 M1176l>(<)2 1.6211/2 MK 553 M16 x 100 225 11.9
11> 2 Zi:i:i::zzgm: 4.50 | 4.50 | 3.50 | 3.125 | 1.437 | 1.50 M1176l>(<)2 162| 2 [MKM1598) MI16x120 225 15.3
2 11> gigi:;;:i:gmg 5.00 | 5.25 | 3.46 | 3.812 | 1.750 | 1.94 M2201)l<g.5 2.00|1 172 | "KM 354 | M20 x 120 228 20.7

6163-32-32DM20 21.0 MKM 554 | M20 x 120 228
2 2 [ iea32300Ma0 | 500 | 5:25(3.46 3812 1.750 | 1.94 - —2.00| 2 X ——20.2
21> 2 :122:28:3522: 6.00 | 6.88 | 4.00 | 4.875 | 2.312 | 2.44 MZ;'; 2.50| 2 |KM353 | M2 x 140 232 39.0
21> | 21> :122:28:28522: 6.00 | 6.88 | 4.00 | 4.875 | 2.312 | 2.44 M2254'i’3 2.50|21/2 MK 555 M24 x 140 232 37.9

6163-48-48DM30 32.0 MKM 556 |  M30 x 180 237
3 3 [ siciasasomso| 700|850 500 6.0002.812|2.94 —T—3.00| 3 X ——{63.7

@ Order Separately

NOTE:

@ 2500 PSI Max ® 2000 PSI Max

DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED.

@ 500 PSI Max

1 Also Available for M12 Bolts

© Copyright MAIN Mfg. 2019

* Also Available for M14 Bolts



NPTF THREADED BRANCH TEE FLANGES
. SAE J518 61 SERIES / ISO6162-1 PATTERN ___

SAE 1518 61 SERIES / IS06162-1 PATTERN

FLANGE PIPE PART Gmm K MOUNTING KIT®

SIZE SIZE NUMBER A B c D E F JImm H NPTF | PART NO. SCREW SIZE | O-RING wT
6153-08-08DM8 8.5 MKM 541 M8 x 50 210

1 1 2.50|2.12 | 1.44 | 1.500 | .688 | .50 1.25| 1/2 1.8
/2 /2 6154080808 M8x1.25 /
6153-12-12DM10 10.5 MKM 542 M10 x 60 214

3 3 3.00|2.62|1.70 | 1.875 | .875 | .75 1.50| 3/4 3.0
Ya Y4 [ G154-12-120M10 M10x1.5 /
6153-16-12DM10 10.5 MKM 543 M10 x 65 219

3 4.002.82|1.942.062|1.031 | 1.00 2.00| 3/4 5.1
1 /a 6154-16-12DM10 M10x1.5 /
6153-16-16DM10 10.5 MKM 543 M10 x 65 219

4.00|2.82|1.94|2.062|1.031 | 1. 2. 1 4.

1 1 6154-16-160M10 | 00 | 28 o 06 03 00 Fatoxt.s | 2% 8
6153-20-12DM10* 10.5 MKM 4532 M10 x 75 222

1 3 4.50|3.19|2.40 | 2.312 | 1.188 | 1.25 2.25| 3/4 8.0
14 Y4 (615420 120M107 M10x1.5 /
6153-20-16DM10*t 10.5 MKM 4532 M10 x 75 222

1 4.50|3.19|2.40 | 2.312 | 1.188 | 1.25 2.25( 1 7.7
14 1 6154-20-16DM10* M10x1.5
6153-20-20DM10* 10.5 MKM 4532 M10 x 75 222

1 1 4.50|3.19|2.40|2.312|1.188 | 1.25 2.25|11/4 7.3
1a | 14 [ 550 200mi00 M10x1.5 /
6153-24-20DM12% 13.0 MKM 4533 M12 x 90 225

1 1 4.50 | 3.75 | 2.90 | 2.750 | 1.406 | 1.50 2.25|1 1/4 12.1
112 | 1 6154-24-20DM12% M12x1.75 /
6153-24-24DM12% 13.0 MKM 4533 M12 x 90 225

1 1 4.50 | 3.75|2.90 | 2.750 | 1.406 | 1.50 2.25(11/2 10.2
12 | 172 [ 5o oaomies M12x1.75 /
6153-32-24DM12% 13.0 MKM 4547 M12 x 90 228

1 5.25|4.00 | 2.96 | 3.062 | 1.688 | 1.94 2.6211/2 13.0
2 112 6154-32-24DM12% M12x1.75 /
6153-32-32DM12% 13.0 MKM 4547 M12 x 90 228

5.254.00 | 2.96 | 3.062 | 1.688 | 1.94 2,62 2 11.5
2 2 6154-32-32DM12% M12x1.75

MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
Mk bolts, add an SS at the end of the kit number (MK 501SS).
316L Stainless Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
O-Ring Style Companion Style
(Flat Face)

QO
OO
—

ST
e/

TAP-J

O o —

W O 4

Model 6153 / 6155 Model 6154 / 6156
3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE J518 62 SERIES / IS06162-2 PATTER
[e] G

FLS‘;::E :::E N:PA'::;R A B c D E F ?_::nn: H NII§'F PART NO. r l::I-II?:]:;‘I\I SI;:I:ZTE(D O-RING wWT
1/> 1> 212::8::3:35: 2.502.221.46 [ 1.594 | .718 | .50 Msiils.zs 1.25| 1/2 MKM 541 M8 x 30 210 2.0
3 | 3 2220l o0 oo (10 000 | 937 | 75 [ 105 Iy so 5ya [MMse2] wioxeo [ ota f,

6155-16-16DM12 12.5 MKM 551 M12 x 70 219
i | 1 6156-16-160M1p | 400|319 | 1.962.250 | 1.093 [ 1.00 [ --===—12.00| 1 : —— 5.7
111 | 14 Zig:jgjggmi 4.50 | 3.75|2.44 | 2.625 | 1.250 | 1.25 M1123(l10.75 2.251 174 | "KM 278 M12 x 80 222 9.0
117/ | 11> Zig::i:jigmz 4.50 [ 4.50 | 2.96 | 3.125 | 1.437 | 1.50 M1176l>(<)2 2.25|11/2 MK 533 M16 x 100 225 13.0
11/ 2 Zig::zijigmg 5.00 | 4.50 | 3.50 | 3.125 | 1.437 | 1.50 M1176l)(<)2 2.50| 2 MM M16 x 225 15.8
2 11> Zi::;;:iignig 6.00 | 5.25 | 3.46 | 3.812 | 1.750 | 1.94 Mzzc:;(g.s 3.00|1 172 | "KM 354 | M20 x 120 228 24.3

6155-32-32DM20 21.0 MKM 554 | M20 x 120 228
2 2 [ icc32300Ma0 | 600 5:25(3:46 3812 1.750 | 1.94 - --——3.00| 2 3 ——{22.8

@ Order Separately

20 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



NPTF THREADED RUN TEE FLANGES

SAE J518 61 SERIES / IS06162-1 PATTERN

o
&

&
&

3181 TRI-PARK DR.

GRAND BLANC, MI 48439
SAE J518 62 SERIE

7

Model 6197 / 6199

N

Model 6198 / 6200
800-521-7918 810-953-1380 FAX 810-953-1385

S / 1IS06162-2 PATTERN

FLANGE PIPE PART @

SIZE SIZE NUMBER A B C D E F K L O-RING | WT
1 1/. 6197:08-05DM8 | 500 | 212 | 1.44 1.500 688 50 1/2 1000 220 1.3
/2 2 [ 6198-08-08DM8 | ' ' ' ' ' '

6197-08-12DM8 1.000 210
1 3 2.7 212 | 17 1. . . 4 2.4
/2 2 [ G108-08-120m8 > > >00 688 >0 3
6197-12-08DM10 1.250 214
3 1 2. 262 | 1.7 1.87 .87 7 1/2 2.
/a /2 1581208010 2 e 0 87> 875 > / e
6197-12-12DM10 1.250 214
3 3 . . . . . . .
Ya /] 6198-12-120M10 | 250 2.62 1.70 1.875 875 75 3/4 2.5
6197-16-12DM10 1.562 219
3
1 4 | eiosieoomio| 300 | 282 | 194 | 2062 1.031 | 1.00 3/4 3.7
O197:16-10MI0 | 300 | 2.82 | 1.94 | 2.062 1.031 1.00 1 2262 25 3.5
1 1 [ciosi61eom0] > ' ' ' ' ' '
6197-20-20DM10+ 1.750 222
1 1 . . . . . . .
1Va | 1Va [os0500mi0r] 350 | 319 | 240 2.312 1.188 1.25 11/4 5.3
6197-24-24DM12+ 2.125 225
1 1 . . . . . . .
12 | 12 [losoaoaomias| 400 | 375 | 290 2.750 1.406 1.50 11/2 9.5
2 D (S17323DMIZE 5o | 400 | 296 | 3.062 1.688 | 1.94 2 2:300 228 10.0
6198-32-32DM12%| ' ' : : ' '
6197-40-40DM12+ 3.000 232
1/5% 21 : : : : : : :
212°| 22 [iosa0a0omizs| 500 | 450 | 3.96 | 3.500 2000 | 244 | 21/2 18.0
3° 3 [ ABASDMIS | 00 | 531 | 446 | a.1ss 2438 | 2.94 3 352 237 27.0
6198-48-48DM16 | : : : : : :
MATERIAL.:
316L Stainless
O-Ring Style Companion Style
(Flat Face)
/—K /—K
| i | i/l
| t < f <
E L F + +

INFO@MAINMFG.COM

FLANGE PIPE PART o
SIZE SIZE NUMBER A B C D E F K L O-RING | WT
6199-08-08DM8 1.000 210
1 1 . . . . . . .
/> /2 o00-0s-0soMs | 200 | 222 | 146 1.594 718 50 1/2 1.5
6199-12-12DM10 1.250 214
3 3 . . . . . . .
T/ /4 [ ¢200-12-10DmM10| 250 | 281 | 170 2.000 937 75 3/4 2.7
1 1 BESEOMZT 540 | 39 | 196 | 2250 1.093 | 1.00 1 1562 20 4.2
6200-16-16DM12 |~ ' ' ' ' ' '
6199-20-20DM12+ 1.750 222
1 1 . . . . . . .
14 | 1Y [0020200m10¢| 400 | 375 | 244 2.625 1.250 1.25 11/4 6.5
6199-24-24DM16 2.125 225
1 1 . . . . . . .
112 | 12 o00ma0aomie| 400 | 450 | 296 3.125 1.437 1.50 11/2 11.7
2 D [SRIZIMAL o, | o5 | 346 | 3812 1.750 | 1.94 2 2:500 228 20.0
6200-32-32DM20 | ' ' ' ' ' '
6199-40-40DM24 3.000 232
1 1 . . . . . . .
22 | 22 [o020-a00M2a | 600 | 688 | 4.00 4.875 2.312 2.44 21/2 34.6
3 3 [ o180 ;00 | 850 | 500 | 6.000 2812 | 2.94 3 3:625 237 62.1
6200-48-48DM30 | " ' ' ' ' ' '
@ Includes Buna-N O-Ring @ 2500 PSI Max ® 2000 PSI Max
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. T Also Available for M12 Bolts # Also Available for M14 Bolts 21

© Copyright MAIN Mfg. 2019



BSPT THREADED IN-LINE FLANGES
. SAE J518 61 SERIES / ISO6162-1 PATTERN ____

SAE J518 61 SERIES / IS06162-1 PATTERN

FLANGE PIPE PART Gmm K MOUNTING KIT®
SIZE SIZE NUMBER A B c D E F JImm BSPT | PART NO. SCREW SIZE | O-RING wT
6355-08-08DM8 8.5 MKM 519 M8 x 45 210
1 1 1.50 | 2.12 | 1.25| 1.500 | .688 | .50 1/2 .8
/2 /2 [6356-08-080M8 M8x1.25 /
6355-12-12DM10 10.5 MKM 520 M10 x 45 214
3 3 1.75|2.62|1.25|1.875| .875 | .75 3/4 1.2
a Y4 [ o356-12-120M10 M10x1.5 /
6355-12-16DM10 10.5 MKM 521 M10 x 50 219
2.00|2.82 | 1.50 | 2.062 | 1.031 | 1. 1 1.7
1 1 6356-12-16DM10 | 200 | 28 5012.06 03 00 atox1.5
6355-20-20DM10t 10.5 MKM 3526 M10 x 50 222
1 1 2.50|3.19|1.50 | 2.312 | 1.188 | 1.25 11/4 2.3
1a | 14 [ 5so o0 200mi00 M10x1.5 /
6355-24-24DM12% 13.0 MKM 2565 M12 x 60 225
1 1 2.75|3.75|1.75 | 2.750 | 1.406 | 1.50 11/2 3.6
12 | 12 [ oo oaoaomins M12x1.75 /
6355-32-24DM12% 13.0 MKM 2566 M12 x 60 228
1 .25 | 4. 1.75 | 3.062 | 1. 1.74 11/2 4.
2 112 6356-32-24DM12% | > 2> | #:00 5|30 688 M12x1.75 / °
6355-32-32DM12% 13.0 MKM 2566 M12 x 60 228
.25/4.00|1.75 | 3.062 | 1. 1.94 2 4.2
2 2 6356-32-32DM12% | > 2> | #:00 5308 688 | 1.94 [1ox1.75
6355-40-40DM12% 13.0 MKM 2574 M12 x 70 232
1/5,? 1 4.00 | 4.50 | 2.00 | 3.500 | 2.00 |2.44 21/2 6.5
212°| 22 (5o u0a00mias M12x1.75 /
® 6355-48-48DM16 17.0 MKM 1516 M16 x 80 237
4. .50 | 2.25 | 4.188 | 2.438 | 2.94 .
3 3 6356-48-48DM16 | 0 | 550 > 88 38 2.94 I 6xa 3 — | °8
6355-56-56DM16 17.0 MKM 2576 M16 x 90 241
1/5,% 31 5.00 | 6.00 | 2.25 | 4.750 | 2.750 | 3.44 31/2 11.0
32" 32 [¢35e56560m16 M16x2 /
@ 6355-64-64DM16 17.0 MKM 2545 M16 x 90 245
. .50 | 2. 125 | 3.062 | 3.94 4 14.
4 4 36-64-64DM1g | 550 6:50 | 2.50 | 5.125 | 3.062 | 3.94 — 5
MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
Mk bolts, add an SS at the end of the kit number (MK 501SS).
316L Stainless Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
O-Ring Style Companion Style
(Flat Face)

@
A

- i\ 124
| /S i

£O) =
i

E

Lo

<
A — C— |l— ¢ ——
Model 6355 / 6357 Model 6356 / 6358
3181 TRI-PARK DR. GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE J518 62 SERIES / 1IS06162-2 PATTER
[e] G
FLS‘;::E :::: N:PA'::IE-R A B C D E F % BgT PART NO. r ‘;:::\‘N SI;IIZTE(D O-RING wWT
1/ 1/ 222;:82:3:35: 1.75|2.22|1.25|1.594 | .718 | .50 Msiils.zs 172 KM 519 M8 x 45 210 1.1
3/4 3/a Zg:;iiiigmg 2.00|2.81[1.25|2.000 | .937 | .75 M11c?>l<i.5 374 |1KM 520 MI0 x 45 214 1.5
6357-16-16DM10 12.5 MKM 525 M12 x 55 219
1 1 6358 16-160M10 | 225 | 319 | 1.50 | 2.250 | 1.093 | 1.00 [--== = 1 : —— 2.3
11 | 14 Zgg;jg:iggmiz 3.00 | 3.75|1.50 | 2.625 | 1.250 | 1.25 M1123(l10.75 11/ | 1KM 522 Mi2 x5 222 3.7
11/ | 11> Zgg;:i:jigmz 3.25|4.50 | 1.75 | 3.125 | 1.437 | 1.50 M1176l>(()2 11/2 MK 527 M16 x 6 225 5.6
6357-32-32DM20 21.0 MKM 516 M20x 70 228
2 2 [ G3c835300M20 | 00| 5:25[1.75|3.812 | 1.750 | 1.94 o 2 : ——7.8
21/ | 21/ :z:g:zgjggmi 5.00 | 6.88 | 2.00 | 4.875 | 2.312 | 2.44 M2254'f3 21/2 |51 M24x 80 232 15.1
3 3 :zg;:zz:iggng 6.00 | 8.50 | 2.50 | 6.000 | 2.812 | 2.94 M3302>'<g.5 3 |MKMSI8 | M30x 110 237 27.5
@ Order Separately @ 2500 PSI Max ® 2000 PSI Max @& 500 PSI Max

22 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



BSPT THREADED ELBOW FLANGES

bolts, add an SS at the end of the kit number (MK 501SS).
Please note that using stainless steel bolts may reduce the pressure rating of the assembly.

O-Ring Style COT&:?igancs)tyle
: ‘K\ N
! 7L
TNl T -
Ho\Je|| L2 et

3181 TRI-PARK DR.

Model 6363 / 6365

GRAND BLANC, MI 48439

800-521-7918 810-953-1380 FAX 810-953-1385

SAE J518 61 SERIES / IS06162-1 PATTERN
[} G
FLSI;::E :::: Nl'::\'ll;:R A|B c D E F ?_,:‘:: H N!SI‘F PART NO. i l;:-:::v sKIIzTE® O-RING wT
1> 1/ Zi:i:gz:gggmg 2.00(2.12 | 1.441.500 | .688 | .50 MSiIIS.ZS 75 | 172 KM 54T M8 x 20 210 1.5
Yo | Yo [SEIMON, s 10| 1as| 7 | 75 |05 | g | 3a [MKMse2 ] mioxe0 | 214 f, g
1 1 Zg:i:i::i:gmg 3.00 | 2.821.94 | 2.062 | 1.031 | 1.00 M11c?>'<i.5 100 1 |[TKM343 MIOX65 219 3.5
114 1 :gzzjgjggmg: 3.503.19 | 2.40 | 2.312 | 1.188 | 1.25 M11c?>l<i.5 15| 1 |KM4s32,  MIOX75 222 6.5
14 114 Zg:i:igjggmgl 3.503.19 | 2.40 | 2.312 | 1.188 | 1.25 M11(§J>I<i.5 1.25(1 174 KM 4532 MI0X75 222 6.0
11> | 114 Zg:i:i::iggmii 4.00 | 3.75|2.90 | 2.750 | 1.406 | 1.50 M112?(l10.75 1.38[1 174 | KM 4533 Mi2x20 225 10.0
117/ 114 Zg:zji:iigmi 4.00 | 3.75|2.90 | 2.750 | 1.406 | 1.50 M112?<l10.75 1.38[1 172 KM 4533, MI2 X390 225 9.5
2 |11 Z::Z:gi:izgmi: 4.50 | 4.00 | 2.96 | 3.062 | 1.688 | 1.94 M112?(l10.75 1.62(1 172 KM 4547, M12 X390 228 1105
2 2 232332323312: 4.50 | 4.00 | 2.96 | 3.062 | 1.688 | 1.94 M112?<l10.75 162| 2 [KMAsA7  MI2x90 228 10.9
2152 21/ Zg:i:ig:iggmii 5.00 | 4.50 | 3.96 | 3.500 | 2.000 | 2.44 M112?<l10.75 2.00|2 1/2 KM 4235} M12x 120 232 17.5
30 | 3 [oesaemic [ ol aas| aes| 238|204 [0 Japs| 5 [MKMZSRL Misxido [ 237 I,
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 MATERIAL :

316L Stainless

Model 6364 / 6366

INFO@MAINMFG.COM

SAE J518 62 SERIES / IS06162-2 PATTER
[o] G
FLS‘;:;:E :::E N:PA’::;R A B C D E F ?_::nn: H NIISI'F PART NO. r l;:-l:]:\‘l\l SI;I:I:ZTE(D O-RING wWT
1> 1/ 2222:82:8235: 2.00(2.22 | 1.46 | 1.594 | .718 | .50 Msi'15.25 88 | 172 |1KM 541 M8 x 20 210 1.6
6365-12-12DM10 10.5 MKM 542 M10 x 60 214
3/a 3/a 36 1r1aomio | 250|281 1.70/2.000| 937 | .75 o t1.00| 3/4 X —— 2.8
6365-16-16DM12 12.5 MKM 551 M12 x 70 219
1 1 Forceieicomis| 300|319 1.96 | 2.250 | 1,093 | 1.00 === d112| 1 X o kY
11 | 114 Zgg:jgjggmii 4.00 | 3.75|2.44 | 2.625 | 1.250 | 1.25 M1123<I10.75 1.38[1 174 | KM 378 Mi2x 8D 222 8.2
11/ | 11> :zg::zz:iigmg 4.00 | 4.50 | 2.96 | 3.125 | 1.437 | 1.50 M117€;>(<)2 1.62(1 172 | KM 353 | M16 X 100 225 12.0
6365-32-32DM20 21.0 MKM 554 |  M20 x 120 228
2 2 366 32300M20 | 500 | 5:25(3.46 3812 1.750 | 1.94 - —2.00| 2 X ——20.0
21 | 21/ :ggz:zg:iggmii 6.00 | 6.88 | 4.00 | 4.875 | 2.312 | 2.44 M2254'i’3 2.50 |2 1/2 | KM 355 | M24 x 140 232 37.9
3 3 :zg::zz:iggng 7.00 | 8.50 | 5.00 | 6.000 | 2.812 | 2.94 M;O3)l<g.5 3.00| 3 [LKM356 | M30x180 237 64.0
@ Order Separately @ 2500 PSI Max ® 2000 PSI Max
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts 23

© Copyright MAIN Mfg. 2019



SAE 11926 THREADED IN-LINE FLANGES (Pg 1/2)

SAE J518 61 SERIES / IS06162-1 PATTERN

FLANGE PART Gmm MOUNTING KIT®
RB

SIZE ° NUMBER A B C D E F Jmm K PART NO. SCREW SIZE | O-RING wT
6173-08-04DM8 8.5 MKM 501 M8 x 30 210

1 - 1.50 | 2.12 | 1.25 | 1.500 | .688 | .37 7/16-20 1.0
/2 4 | iosomms M8x1.25 /
6173-08-06DM8 8.5 MKM 501 M8 x 30 210

1 - 1.50|2.12|1.25|1.500 | .688 | 12.5 9/16-18 1.0
/2 6 [ ii0s000ms M8x1.25 /
6173-08-08DM8 8.5 MKM 501 M8 x 30 210

1 - 1.50 | 2.12|1.25| 1.500 | .688 | .50 3/4-16 .9
/2 8 [ i7aos080ms M8x1.25 /
-12- 10.5 MKM 1525 M10 x 35 214

3 - 6173-12-08DM10 1.75|2.62|1.50 | 1.875 | .875 | .66 3/4-16 1.6
/a 8 6174-12-08DM10 M10x1.5 /
-12- 10.5 MKM 1525 M10 x 35 214

3 - 6173-12-10DM10 1.75|2.62|1.50 | 1.875 | .875 | .50 7/8-14 1.5
/a 10 6174-12-10DM10 M10x1.5 /
-12- 10.5 MKM 1525 M10 x 35 214

3 - 6173-12-12DM10 1.75|2.62|1.50| 1.875 | .875 | .75 11/16-12 1.4
/a 12 6174-12-12DM10 M10x1.5 /

3 =16 ——— 2.00 | 2.62|2.50 | 1.875 | .875 | .75 15/16-12 —— 3.0
/a 16 6174-12-16DM10 M10x1.5 /
6173-16-12DM10 10.5 MKM 1542 M10 x 35 219

1 -12 2.00(2.82|1.50 | 2.062 | 1.031 | .94 11/16-12 : 1.9
6174-16-12DM10 M10x1.5
6173-16-14DM10 10.5 MKM 1542 M10 x 35 219

1 -14 2.00|2.821.50 | 2.062 | 1.031 | .75 13/16-12 : 1.8
6174-16-14DM10 M10x1.5
6173-16-16DM10 10.5 MKM 1542 M10 x 35 219

1 -16 2.00 |2.82|1.50 | 2.062 | 1.031 | 1.00 15/16-12 . 1.7
6174-16-16DM10 M10x1.5

=20 —F— 2.50 | 3.00 | 3.00 | 2.062 | 1.031 | 1.00 ——— 15/8-12 5.2
1 20 6174-16-20DM10 M10x1.5 /

MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
Mk bolts, add an SS at the end of the kit number (MK 501SS).
316L Stainless Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
O-Ring Style Companion Style
(Flat Face)

- / bRILLG | / TP
@ @ "\ ] L "\ = 1

QO Ve Zez)
- A

A l-— ¢ —] l— ¢ —]

Model 6173 / 6175 Model 6174 / 6176
3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE J518 62 SERIES / 1IS06162-2 PATTERN

L

FLANGE PART Gmm MOUNTING KIT®
RB —
SIZE o NUMBER A B C D E F Jmm K PART NO. SCREW SIZE | O-RING WT
6175-08-06DM8 8.5 MKM 501 M8 x 30 210
1 - 1.75(2.22|1.25|1.594 | .718 |12.5 9/16-18 1.2
/2 6 605 060ms M8x1.25 /
6175-08-08DM8 8.5 MKM 501 M8 x 30 210
1 - 1.75|2.22|1.25| 1.594 | .718 | .50 3/4-16 1.1
/2 8 [ 4i7605-080ms M8x1.25 /
6175-12-08DM10 10.5 MKM 1525 M10 x 35 214
3 - 2.00|2.81|1.50|2.000| .937 | .66 3/4-16 2.0
/a 8 [ci7e1r-0s0mi0 M10x1.5 /
6175-12-10DM10 10.5 MKM 1525 M10 x 35 214
3 - 2.00|2.81|1.50|2.000 | .937 | .50 7/8-14 1.9
/a 10 (e t00m0 M10x1.5 /
6175-12-12DM10 10.5 MKM 1525 M10 x 35 214
3 - 2.00|2.81|1.50|2.000| .937 | .75 11/16-12 1.8
/a 12 e omo M10x1.5 /
6175-16-12DM12 12.5 MKM 1529 M12 x 40 219
1 -12 2.25/3.19|1.50 | 2.250 | 1.093 | .94 11/16-12 X 2.5
6176-16-12DM12 M12x1.75 -—-
6175-16-14DM12 12.5 MKM 1529 M12 x 40 219
1 -14 2.25(3.19|1.50 | 2.250 | 1.093 | .75 13/16-12 . 2.4
6176-16-14DM12 M12x1.75 -—-
6175-16-16DM12 12.5 MKM 1529 M12 x 40 219
1 -16 2.25(3.19 | 1.50 | 2.250 | 1.093 | 1.00 15/16-12 . 2.3
6176-16-16DM12 M12x1.75 ---

@ Order Separately
NOTE: The Pressure Rating of the Assembly Should NOT Exceed the Lower of the Flange Pad or the Fitting. Check the Fitting Manufacturer for Details.
24 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



SAE 11926 THREADED IN-LINE FLANGES (Pg 2/2)

SAE J518 61 SERIES / IS06162-1 PATTERN

FLANGE PART Gmm MOUNTING KIT®
RB
SIZE ° NUMBER A B |C D E F JImm K PART NO. SCREw s1zé | o-riNG | W T
6173-20-16DM10* 10.5 MKM 4520 M10 x 35 222
1 - 2.50 | 3.19 | 1.50 | 2.312 | 1.188 | 1.20 15/16-12 2.6
172 | -16 6174-20-16DM10T M10x1.5 /
6173-20-20DM10* 10.5 MKM 4520 M10 x 35 222
1 - 2.50 3.19|1.50 | 2.312 | 1.188 | 1.25 15/8-12 2.3
12 | -20 6174-20-20DM10t M10x1.5 /
1 =24 ——— 3.00 | 3.19 | 3.00 | 2.312 | 1.188 | 1.25 ——— 17/8-12 1 6.4
11 | -24 6174-20-24DM10T M10x1.5 /
6173-24-20DM12% 13.0 MKM 2599 M12 x 45 225
1 - 2.75|3.75|1.75 | 2.750 | 1.406 | 1.50 15/8-12 3.8
12 | -20 | Jaas0omi: M12x1.75 /
6173-24-24DM12% 13.0 MKM 2599 M12 x 45 225
1 - 2.75|3.75|1.75 | 2.750 | 1.406 | 1.50 17/8-12 3.5
12 | -24 o ioma: M12x1.75 /
1 =32 3.50 | 3.75 | 3.50 | 2.750 | 1.406 | 1.50 ——— 21/2-12 —— 9.9
12 | -32 iimoms: M12x1.75 /
6173-32-20DM12% 13.0 MKM 4513 M12 x 45 228
2 =20 3.25/4.00 | 1.75 | 3.062 | 1.688 | 1.50 15/8-12 : 5.2
6174-32-20DM12% M12x1.75
6173-32-24DM12% 13.0 MKM 4513 M12 x 45 228
2 =24 3.25/4.00 | 1.75| 3.062 | 1.688 | 1.75 17/8-12 . 4.8
6174-32-24DM12% M12x1.75
B I ——— 3.25/4.00 | 1.75 | 3.062 | 1.688 | 1.94 ——— 21/2-12 —— 3.9
2 32 6174-32-32DM12% M12x1.75 /
-40- 13.0 MKM 3562 M12 x 45 232
1/54 - 6173-40-24DM12% \ 14| 4.50 | 1.75 | 3.500 | 2.000 | 1.75 17/8-12 7.4
2127 -24 | o zaomin M12x1.75 /
-40- 13.0 MKM 3562 M12 x 45 232
1/54 - 6173-40-32DM12%) 4 | 450 | 1.75 | 3.500 | 2.000 | 2.32 21/2-12 6.3
227 -32 [0 s2omins M12x1.75 /
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 MATERIAL :
bolts, add an SS at the end of the kit number (MK 501SS). A=
Please note that using stainless steel bolts may reduce the pressure rating of the assembly. 316L Stainless
O-Ring Style Companion Style
(Flat Face)

/ DRILL-G / TAP-J

o)
00| =

- A

A l— ¢ —] l— ¢ —]

Model 6173 / 6175 Model 6174 / 6176
3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE J518 62 SERIES / 1IS06162-2 PATTERN

N T
-
N

FLANGE PART Gmm MOUNTING KIT®
RB —
SIZE o NUMBER A B C D E F Imm K PART NO. SCREW SIZE | O-RING WT
6175-20-16DM12+ 13.0 MKM 567 M12 x 35 222
| - . 75| 1. 2.625 | 1.2 1.2 15/16-12 4,
14 | =16 |5 50 comize 300|375 | 1:50 | 2:625 | 1250 | 1.20 [ oti 5/16 0
6175-20-20DM12# 13.0 MKM 567 M12 x 35 222
| - . 75| 1. 2.625 | 1.2 1.2 15/8-12 .7
174 | =20 | 5o o0m0omize 300|375 | 1:50 | 2:625 | 1250 | 1.25 [0t >/8 — 13
6175-24-16DM16 17.0 MKM 1544 M16 x 45 225
1 - .25 | 4. 1.7 125(1.437 1.2 15/16-12 1
12 | =16 [( 7650 160me6| 25| +50 | 175| 3125 | 1.43 0 miex2 >/16 — |°
6175-24-20DM16 17.0 MKM 1544 M16 x 45 225
1 - .25 | 4. 1.7 125 1.437 | 1. 15/8-12 .
12 | =20 r e 2us0ome | 325|450 | 175 3125 | 1.437 | 1.50 | 5/8 — | >8
6175-24-24DM16 17.0 MKM 1544 M16 x 45 225
1 - .25 | 4. 1.7 125 |1.437 | 1. 17/8-12 .
12 | -24 o isaome | 325|450 | 1753125 | 1.437 | 1.50 | e /8 — 1°°
6175-32-20DM20 21.0 MKM 563 M20 x 45 228
2 -20 4.00 | 5.25|1.753.812 | 1.750 | 1.50 15/8-12 . 8.8
6176-32-20DM20 M20x2.5
6175-32-24DM20 21.0 MKM 563 M20 x 45 228
2 =24 4.00|5.25|1.75[3.812 | 1.750 | 1.75 17/8-12 . 8.4
6176-32-24DM20 M20x2.5
6175-32-32DM20 21.0 MKM 563 M20 x 45 228
2 =32 4.00 [5.25|1.75 | 3.812 | 1.750 | 1.94 21/2-12 . 7.5
6176-32-32DM20 M20x2.5
@ Order Separately @ 2500 PSI Max

NOTE: The Pressure Rating of the Assembly Should NOT Exceed the Lower of the Flange Pad or the Fitting. Check the Fitting Manufacturer for Details.
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts 25
© Copyright MAIN Mfg. 2019



SAE 11926 THREADED ELBOW FLANGES (Pg 1/2)

SAE 1518 61 SERIES / IS06162-1 PATTERN

FLANGE PART Gmm MOUNTING KIT®
RB
SIZE ° NUMBER A B C D E F Jmm H K PART NO. SCREW SIZE | O-RING wT
6177-08-04DM8 8.5 MKM 541 M8 x 50 210
1 - 2.00|2.12|1.44 | 1.500 | .688 | .50 .75 | 7/16-20 1.6
/2 4 | eos0mms M8x1.25 /
6177-08-06DM8 8.5 MKM 541 M8 x 50 210
1 - 2.00|2.12|1.44 | 1.500 | .688 | .50 .75 | 9/16-18 1.5
/2 6 [ 505000ms M8x1.25 /
6177-08-08DM8 8.5 MKM 541 M8 x 50 210
1 - 2.00|2.12|1.44 | 1.500 | .688 | .50 .75 | 3/4-16 1.5
/2 8 [4i7s05.080ms M8x1.25 /
-12- 10.5 MKM 542 M10 x 60 214
3 - 6177-12-08DM10 1, o | 5 62| 1.70 | 1.875 | .875 | .75 .88 | 3/4-16 2.8
/a 8 6178-12-08DM10 M10x1.5 /
-12- 10.5 MKM 542 M10 x 60 214
3 - 6177-12-10DM10 1, o | 5 65| 1.70 | 1.875 | .875 | .75 .88 | 7/8-14 2.7
/a 10 6178-12-10DM10 M10x1.5 /
-12- 10.5 MKM 542 M10 x 60 214
3 - 6177-12-12DM10 1, o | 5 62| 1.70 | 1.875 | .875 | .75 .88 |11/16-12 2.5
/a 12 6178-12-12DM10 M10x1.5 /
-12- 10.5 MKM M10 x 214
3 - 6177-12-16DM10 1 5 1 | 5 62 | 2.00 | 1.875 | .875 | .75 .88 |1 5/16-12 3.4
/a 16 6178-12-16DM10 M10x1.5 /
6177-16-12DM10 10.5 MKM 543 M10 x 65 219
1 -12 3.00(2.821.94 | 2.062 | 1.031 | 1.00 1.00 |1 1/16-12 . 4.0
6178-16-12DM10 M10x1.5
6177-16-14DM10 10.5 MKM 543 M10 x 65 219
1 [-14 3.00 | 2.82[1.94|2.062 | 1.031 | 1.00 1.00 |1 3/16-12 . 3.9
6178-16-14DM10 M10x1.5
6177-16-16DM10 10.5 MKM 543 M10 x 65 219
1 -16 3.00 | 2.82 | 1.94 | 2.062 | 1.031 | 1.00 1.00 |1 5/16-12 X 3.7
6178-16-16DM10 M10x1.5
6177-16-20DM10 10.5 MKM 577 M10 x 80 219
i -20 3.50 | 2.82 | 2.50 | 2.062 | 1.031 | 1.00 1.00 | 1 5/8-12 : 4.4
6178-16-20DM10 M10x1.5
MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
Mk bolts, add an SS at the end of the kit number (MK 501SS).
316L Stainless Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
0O-Ring Style Companion Style
(Flat Face)
K K

| 2 )/

| % %
A T@ 'G} ' B DRILLG | |
HSSOeT e e=
© © | G % >
Model 6177 / 6179 Model 6178 / 6180

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM
SAE 1518 62 SERIES / IS06162-2 PATTERN

FLANGE PART Gmm MOUNTING KIT®
RB
SIZE o NUMBER A B |C D E F Jmm H K PARTNO. | SCREW s1zé | o-RinG | W1
6179-08-06DM8 8.5 MKM 541 M8 x 50 210
1 - 2.00|2.22|1.46|1.594 | .718 | .50 .88 | 9/16-18 1.6
/2 6 [ is005060ms M8x1.25 /
6179-08-08DM8 8.5 MKM 541 M8 x 50 210
1 - 2.00|2.22|1.46|1.594 | .718 | .50 .88 | 3/4-16 1.6
/2 8 [ 4is005.080ms M8x1.25 /
6179-12-08DM10 10.5 MKM 542 M10 x 60 214
3 - 2.50 | 2.81|1.70 | 2.000 | .937 | .75 1.00| 3/4-16 3.1
/a 8 [ciso12-050mi0 M10x1.5 /
6179-12-10DM10 10.5 MKM 542 M10 x 60 214
3 - 2.50 | 2.81|1.70 | 2.000 | .937 | .75 1.00| 7/8-14 3.0
/a 10 (50 12-100m10 M10x1.5 /
6179-12-12DM10 10.5 MKM 542 M10 x 60 214
3 - 2.50 | 2.81|1.70 | 2.000 | .937 | .75 1.00 |1 1/16-12 2.8
/a 12 (oo oomo M10x1.5 /
6179-16-12DM12 12.5 MKM 551 M12 x 70 219
1 -12 3.00(3.191.96 | 2.250 | 1.093 | 1.00 1.12|1 1/16-12 : 4.6
6180-16-12DM12 M12x1.75
6179-16-14DM12 12.5 MKM 551 M12 x 70 219
1 =14 3.00|3.19 | 1.96 | 2.250 | 1.093 | 1.00 1.12|1 3/16-12 X 4.5
6180-16-14DM12 M12x1.75 -
6179-16-16DM12 12.5 MKM 551 M12 x 70 219
i1 -16 3.00 | 3.19 | 1.96 | 2.250 | 1.093 | 1.00 1.12 |1 5/16-12 . 4.3
6180-16-16DM12 M12x1.75

@ Order Separately
NOTE: The Pressure Rating of the Assembly Should NOT Exceed the Lower of the Flange Pad or the Fitting. Check the Fitting Manufacturer for Details.
26 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



SAE 11926 THREADED ELBOW FLANGES (Pg 2/2)

SAE 1518 61 SERIES / IS06162-1 PATTERN

FLANGE PART Gmm MOUNTING KIT®
RB

SIZE ° NUMBER A B C D E F Jmm H K PART NO. SCREW SIZE O-RING wT
6177-20-16DM10T 10.5 MKM 4532 M10 x 75 222

1 - 3.50|3.19|2.40|2.312 | 1.188 | 1.25 1.25|1 5/16-12 6.3
14 | -16 ;550 1comor M10x1.5 /
6177-20-20DM10t 10.5 MKM 4532 M10 x 75 222

1 - 3.50|3.19|2.40|2.312 | 1.188 | 1.25 1.25|15/8-12 6.1
14 | -20 [ 5550 200m100 M10x1.5 /
6177-20-24DM10T 10.5 MKM 4597 M10 x 90 222

1 - 4.00|3.19|3.00 | 2.312 | 1.188 | 1.25 1.25|17/8-12 8.1
14 | -24 | 0 somor M10x1.5 /
6177-24-16DM12+ 13.0 MKM 4533 M12 x 90 225

1 - 4.00 | 3.75|2.90 | 2.750 | 1.406 | 1.50 1.38 |1 5/16-12 10.1
12 | =16 oo comos M12x1.75 /
6177-24-20DM12+ 13.0 MKM 4533 M12 x 90 225

1 - 4.00 | 3.75|2.90 | 2.750 | 1.406 | 1.50 1.38|15/8-12 10.0
112 | =20 ;550 200m00 M12x1.75 /
6177-24-24DM12+ 13.0 MKM 4533 M12 x 90 225

1 - 4.00 | 3.75|2.90 | 2.750 | 1.406 | 1.50 1.38|17/8-12 9.8
12 | -24 | omas M12x1.75 /
6177-24-32DM12+ 13.0 MKM 4566 M12 x 120 225

1 - 4.00 | 4.00 | 4.00 | 2.750 | 1.406 | 1.50 1.38| 2 1/2-12 13.6
12 | -32 [ oo 0omas M12x1.75 /
6177-32-16DM12+ 13.0 MKM 4547 M12 x 90 228

2 -16 4.50 | 4.00 | 3.00 | 3.062 | 1.688 | 1.94 1.62 |1 5/16-12 : 12.0
6178-32-16DM12+ M12x1.75
6177-32-20DM12+ 13.0 MKM 4547 M12 x 90 228

2 -20 4.50 | 4.00 | 3.00 | 3.062 | 1.688 | 1.94 1.62|15/8-12 : 11.6
6178-32-20DM12+ M12x1.75
6177-32-24DM12+ 13.0 MKM 4547 M12 x 90 228

2 =24 4.50 | 4.00 | 3.00 | 3.062 | 1.688 | 1.94 1.62|17/8-12 : 11.1
6178-32-24DM12+ M12x1.75
6177-32-32DM12+ 13.0 MKM 3550 M12 x 120 228

2 =32 4.25(4.00 | 3.94 | 3.062 | 1.688 | 1.94 1.62| 2 1/2-12 : 13.9
6178-32-32DM12+ M12x1.75

MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 MATERIAL :
bolts, add an SS at the end of the kit number (MK 501SS). i
Please note that using stainless steel bolts may reduce the pressure rating of the assembly. 316L Stainless
O-Ring Style Companion Style
(Flat Face)
K K

%

| % 7 N7

'Gz _l__é-'_ DRILL-G _l__ﬁ-'-

A==t %/ i
l AT 7 720 7

D Cc TAP-J c

o
&

Model 6177 / 6179 Model 6178 / 6180
3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE 1518 62 SERIES / IS06162-2 PATTERN

FLANGE PART Gmm MOUNTING KIT®
RB
SIZE o NUMBER A B |C D E F JImm H K PARTNO. | SCREW s1zé | o-RinG| W1
6179-20-16DM12# 13.0 MKM 578 | M12 x 80 222
1 - 4.00 | 3.75 | 2.40 | 2.625 | 1.250 | 1.25 1381 5/16-12 8.6
1Ya | =16 55050 1600100 M12x1.75 /
6179-20-20DM12# 13.0 MKM 578 | M12 x 80 222
1 - 4.00 | 3.75 [ 2.40 | 2.625 | 1.250 | 1.25 1.38|15/8-12 8.6
1Ya | =20 [g15050-200m100 M12x1.75 /
6179-24-16DM16 17.0 MKM 553 | M16 x 100 225
1 - 4.00 | 4.50 | 2.96 | 3.125 | 1.437 | 1.50 1.62 |1 5/16-12 12.7
12 | =16 [G50zei00me M16x2 /
6179-24-20DM16 17.0 MKM 553 | M16 x 100 225
1 - 4.00 | 4.50 | 2.96 | 3.125 | 1.437 | 1.50 1.62|15/8-12 12.5
12 | =20 5020 200m0 M16x2 /
6179-24-24DM16 17.0 MKM 553 | M16 x 100 225
1 - 4.00 | 4.50 | 2.96 | 3.125 | 1.437 | 1.50 1.62|17/8-12 12.2
1Y2 | =24 [ (5ooimme M16x2 /
6179-32-20DM20 21.0 MKM 554 |  M20 x 120 228
2 =20 5.00 | 5.25 | 3.46 | 3.812 | 1.750 | 1.94 2.00 1 5/8-12 = 15.9
6180-32-20DM20 M20x2.5
6179-32-24DM20 21.0 MKM 554 | M20 x 120 228
2 |=-24 5.00 | 5.25 | 3.46 | 3.812 | 1.750 | 1.94 2.00 (1 7/8-12 3 15.5
6180-32-24DM20 M20x2.5
6179-32-32DM20 21.0 MKM 1507|  M20 x 130 228
2 (=32 5.00 | 5.25|3.94 | 3.812 | 1.750 | 1.94 2.00 2 1/2-12 = 21.1
6180-32-32DM20 M20x2.5

@ Order Separately
NOTE: The Pressure Rating of the Assembly Should NOT Exceed the Lower of the Flange Pad or the Fitting. Check the Fitting Manufacturer for Details.
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts 27
© Copyright MAIN Mfg. 2019



SAE J1926 THREADED BRANCH TEE FLANGES

SAE 1518 61 SERIES / IS06162-1 PATTERN

FLANGE PART Gmm MOUNTING KIT®
SIZE ORB NUMBER A B C D E F Jmm H K PART NO. SCREW SIZE | O-RING wT
6157-08-08DM8 8.5 MKM 541 M8 x 50 210
1/ -8 €125-08-080ME 2.50|2.12|1.44|1.500 | .688 | .50 Vel 35 1.25| 3/4-16 X 1.7
-12- 10.5 MKM 542 M10 x 60 214
3 - 6157-12-10DM10 | 5 2.62|1.70 | 1.875 | .87 . 1. 7/8-14 .
/a 10 6158-12-10DM10 3.00126 01.875) .875 | .50 M10x1.5 S0 7/8 3.0
-12- 10.5 MKM 542 M10 x 60 214
3 - 6157-12-12DM10 | 5 2.62|1.70 | 1.875 | .87 7 1.50(1 1/16-12 2.
/a 12 oo iioomol 2| 26 0|1.875| 875 | .75 Myiox1s | 120 |1 /16 8
6157-16-14DM10 10.5 MKM 543 M10 x 65 219
1 (-14 4.00 | 2.821.94|2.062 | 1.031 | .75 2.00 |1 3/16-12 : 4.7
6158-16-14DM10 M10x1.5
6157-16-16DM10 10.5 MKM 543 M10 x 65 219
1 -16 4.00 | 2.82 | 1.94 | 2.062 | 1.031 | 1.00 2.00 |1 5/16-12 . 4.6
6158-16-16DM10 M10x1.5
6157-20-20DM10t 10.5 MKM 4532 M10 x 75 222
1 - 4,50 |3.19|2.40 | 2.312|1.188 | 1.25 2.25|15/8-12 7.0
14 | -20 6158-20-20DM10t M10x1.5 /
6157-24-20DM12% 13.0 MKM 4533 M12 x 90 225
1 - 4,50 | 3.75|2.90 | 2.750 | 1.406 | 1.50 2.25|15/8-12 10.3
12 | =20 [ o520 200m2 M12x1.75 /
6157-24-24DM12% 13.0 MKM 4533 M12 x 90 225
1 - 4. 75| 2. 2.7 1.4 1. 2.25|17/8-12 .
12 | =24 | oo saomas| 50| 375|290 2750 | 1.406 | 1.50 [0orim 12,25 17/8 — 1°8
6157-32-20DM12% 13.0 MKM 4547 M12 x 90 228
2 =20 5.254.00 | 2.94 | 3.062 | 1.688 | 1.94 2.62|15/8-12 : 13.2
6158-32-20DM12# M12x1.75
6157-32-24DM12% 13.0 MKM 4547 M12 x 90 228
2 =24 5.25|4.00 | 2.94 | 3.062 | 1.688 | 1.94 2.62|17/8-12 . 12.7
6158-32-24DM12% M12x1.75
6157-32-32DM12% 13.0 MKM 3550 M12 x 120 228
2 =32 5.254.00 | 3.94 | 3.062 | 1.688 | 1.94 2.62 |2 1/2-12 x 15.7
6158-32-32DM12% M12x1.75
MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
Mk bolts, add an SS at the end of the kit number (MK 501SS).
316L Stainless Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
O-Ring Style Companion Style
(Flat Face)

| B N

N T~ T
o) | J_f%:_ / | iy o s
|—D

S

| TAP-J

c c

Model 6157 / 6159 Model 6158 / 6160
3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE 1518 62 SERIES / IS06162-2 PATTERN

FLANGE PART Gmm MOUNTING KIT®
RB
SIZE o NUMBER A B |C D E F Jmm H K PART NO. | ScREw size | o-ring | W71
6159-08-08DM8 8.5 MKM 541 M8 x 50 210
1 - 2.50 | 2.22 | 1.46 | 1.594 | .718 | .50 1.25| 3/4-16 1.8
/2 8 [ 4ic005-080ms M8x1.25 /
6159-12-10DM10 10.5 MKM 542 M10 x 60 214
3 - 3.00 | 2.81|1.70 | 2.000 | .937 | .50 1.50| 7/8-14 3.3
/a 10 f¢ico12-100m10 M10x1.5 /
6159-12-12DM10 10.5 MKM 542 M10 x 60 214
3 - 3.00 | 2.81|1.70 | 2.000 | .937 | .75 1.50 |1 1/16-12 3.1
/a 12 (o oomo M10x1.5 /
6159-16-14DM12 12.5 MKM 551 M12 x 70 219
1 =14 4.00(3.19|1.96 | 2.250 | 1.093 | .75 2.00|1 3/16-12 X 5.5
6160-16-14DM12 M12x1.75 ---
6159-16-16DM12 12.5 MKM 551 M12 x 70 219
1 -16 4.00 | 3.19 | 1.96 | 2.250 | 1.093 | 1.00 2.00 (1 5/16-12 . 5.4
6160-16-16DM12 M12x1.75
6159-20-20DM12% 13.0 MKM 578 M12 x 80 222
1 - 4.50 | 3.75|2.44 | 2.625 | 1.250 | 1.25 2.25| 1 5/8-12 9.0
14 | =20 |5 c020200m2¢ M12x1.75 /
6159-24-24DM16 17.0 MKM 553 |  M16 x 100 225
1 - 4.50 | 4.50 | 2.96 | 3.125 | 1.437 | 1.50 2.25|17/8-12 12.7
12 | -24 |0 5aomie M16x2 /
6159-32-32DM20 21.0 MKM 1507|  M20 x 130 228
2 =32 6.00 | 5.253.94 | 3.812 | 1.750 | 1.94 3.00 2 1/2-12 = 25.8
6160-32-32DM20 M20x2.5

@ Order Separately
NOTE: The Pressure Rating of the Assembly Should NOT Exceed the Lower of the Flange Pad or the Fitting. Check the Fitting Manufacturer for Details.
28 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



SAE J1926 THREADED RUN TEE FLANGES
. SAE J518 61 SERIES / ISO6162-1 PATTERN ___

SAE J518 61 SERIES / IS06162-1 PATTERN

FLANGE PART o}
SIZE ORB NUMBER A B C D E F K L O-RING| WT
6201-08-08DM8 1.000 210
1 - . . . . : . - .
/> 8 6202-08-080ms | 200 | 212 | 1.44 1.500 688 50 3/4-16 1.5
6201-08-12DM8 1.000 210
1 - 275 | 212 | 175 1.500 688 50 | 11/16-12 2.3
/2 1 2 6202-08-12DM8 / - -
6201-12-08DM10 1.250 214
3/a -8 250 | 262 | 1.70 1.875 875 .75 3/4-16 2.7
6202-12-08DM10
6201-12-10DM10 1.250 214
3 - : : : : : : - :
T/ 10 [0 oomo | 250 | 262 | 170 1.875 875 75 7/8-14 2.7
6201-12-12DM10 1.250 214
3 - . : : : : : - :
/a 12 oo omo | 250 | 262 | 170 1.875 875 75 | 11/16-12 2.5
6201-16-12DM10 1.562 219
1 -12 3.00 | 282 | 1.94 2.062 1.031 1.00 | 11/16-12 3.8
6202-16-12DM10 --- ---
6201-16-14DM10 1.562 219
1 -14 3.00 2.82 1.94 2.062 1.031 1.00 | 13/16-12 3.7
6202-16-14DM10 --- ---
6201-16-16DM10 1.562 219
1 -16 3.00 | 2.82 | 1.94 2.062 1.031 1.00 | 15/16-12 3.5
6202-16-16DM10 --- ---
6201-20-20DM10* 1.750 222
1 - . . . . . . - .
114 20 osoooomior| 359 | 319 | 240 2.312 1.188 1.25 | 15/8-12 5.7
6201-24-24DM12% 2.125 225
1 - . . . . . . - .
11> 24 o ooioaomar| 400 | 375 | 290 2.750 1.406 1.50 | 17/8-12 10.0
2 32 0201-32:32DM2 | 425 | 4.00 | 3.94 3.062 1.688 194 | 21/2-12 (220 228 14.0
- 6202-32-32DM12¢ | ' ' : ' ' '
MATERIAL:
316L Stainless
O-Ring Style Companion Style
(Flat Face)
K K
| % k%
| < <
AT i T
E L F + F +
Hoo| |l e —
7 P77
Cc Cc
Model 6201 / 6203 Model 6202 / 6204

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE J518 62 SERIES / 1IS06162-2 PATTERN

FLANGE PART o}
SIZE ORB NUMBER A B C D E F K L O-RING WT
6203-08-08DM8 1.000 210
1 - . . . . : . - .
/> 8 6204-08-080mg | 200 | 222 | 1.46 1.594 718 50 3/4-16 1.7
6203-12-10DM10 1.250 214
3 - : : : : : : - :
T/ 10 [ o.oomo | 250 | 281 | 170 2.000 937 75 7/8-14 3.0
6203-12-12DM10 1.250 214
3 - : : : : : : - :
T/ 12 oo omo | 250 | 281 | 170 2.000 937 75 | 11/16-12 2.7
6203-16-14DM12 1.562 219
i -14 3.00 3.19 1.96 2.250 1.093 1.00 | 13/16-12 4.5
6204-16-14DM12 --- ---
1 16 0203-16-160M12 | 300 | 319 | 1.96 2.250 1.093 1.00 | 15/16-12 =282 2 4.5
- 6204-16-16DM12 ' ' ' ' ' ' '
6203-20-20DM12# 1.750 222
1 - . . . . . . - .
114 20 oisoooomiar | 400 | 375 | 244 2.625 1.250 1.25 | 15/8-12 7.8
6203-24-24DM16 2.125 225
1 - . . . . . . - .
11> 24 [ oiioaomie | 400 | 450 | 296 3.125 1.437 1.50 | 17/8-12 12.0
2 32 0203:32:320M0 | 500 | 525 | 3.94 3.812 1.750 194 | 21/2-12 (220 225 20.2
- 6204-32-32DM20 ' ' ' ' ' ' '

® Includes Buna-N O-Ring
NOTE: The Pressure Rating of the Assembly Should NOT Exceed the Lower of the Flange Pad or the Fitting. Check the Fitting Manufacturer for Details.
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts 29
© Copyright MAIN Mfg. 2019



BSPP THREADED IN-LINE FLANGES
. SAE J518 61 SERIES / ISO6162-1 PATTERN ____

SAE J518 61 SERIES / 1IS06162-1 PATTERN

FLANGE | PORT PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B C D E F Jmm K PART NO. SCREW SIZE |O-RING wWT
6351-08-08DM8 8.5 MKM 501 M8 x 30 210
1 - 1.50 | 2.12|1.25| 1.500 | .688 | .50 1/2-14 .8
/2 8 [4:5205-080ms M8x1.25 /
351-12-08DM10 10.5 MKM 1525 M10 x 35 214
3 - 6 1.75|2.62|1.50 | 1.875 | .875 | .74 1/2-14 1.4
/a 8 6352-12-08DM10 M10x1.5 /
351-12-12DM10 10.5 MKM 1525 M10 x 35 214
3 - 6 1.75|2.62|1.50|1.875| .875 | .75 3/4-14 1.3
/a 12 6352-12-12DM10 M10x1.5 /
6351-16-12DM10 10.5 MKM 1542 M10 x 35 219
1 -12 2.00 | 2.82 | 1.50 | 2.062 | 1.031 | .94 3/4-14 X 1.7
6352-16-12DM10 M10x1.5
6351-16-16DM10 10.5 MKM 1542 M10 x 35 219
1 -16 2.00 |2.82|1.50 | 2.062 | 1.031 | 1.00 1-11 . 1.6
6352-16-16DM10 M10x1.5
6351-20-20DM10t 10.5 MKM 4520 M10 x 35 222
1 - 2.50|3.19|1.50|2.312 | 1.188 | 1.25 11/4-11 2.1
14 | -20 6352-20-20DM10t M10x1.5 /
6351-24-20DM12+ 13.0 MKM 2599 M12 x 45 225
1 - 2.75|3.75|1.75| 2.750 | 1.406 | 1.50 11/4-11 3.4
12 | =20 [0 200m0 M12x1.75 /
6351-24-24DM12+ 13.0 MKM 2599 M12 x 45 225
1 - 2.75|3.75|1.75| 2.750 | 1.406 | 1.50 11/2-11 3.2
12 | -24 . uomas M12x1.75 /
6351-32-24DM12+ 13.0 MKM 4513 M12 x 45 228
2 |-24 3.25/4.00 | 1.75 | 3.062 | 1.688 | 1.75 11/2-11 . 4.5
6352-32-24DM12+ M12x1.75
6351-32-32DM12+ 13.0 MKM 4513 M12 x 45 228
2 |=-32 3.254.00 | 2.00 | 3.062 | 1.688 | 1.94 2-11 . 3.8
6352-32-32DM12+ M12x1.75
351-40-32DM12+ 13.0 MKM 3562 M12 x 45 232
1/5% = 6 4.00 | 4.50 | 1.75 | 3.500 | 2.000 | 2.12 2-11 6.2
227 -32 | osomin M12x1.75
MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
Mk bolts, add an SS at the end of the kit number (MK 501SS).
316L Stainless Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
O-Ring Style Companion Style

(Flat Face)

- / DRILLG | / s
| 1_ @ @ "\ 7 | "\ >A |

QO Ve Zez)
- A

A l— ¢ — l— ¢ —

Model 6351 / 6353 Model 6352 / 6354
3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE J518 62 SERIES / 1IS06162-2 PATTERN

FLANGE | PORT PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A|lB|C D E F Jmm K PARTNO. | SCREW SIZE | O-RING | "V |
6353-08-08DM8 8.5 MKM 501 M8 x 30 210
1 - 1.75(2.22|1.25|1.594 | .718 | .50 1/2-14 1.0
/2 8 [ ssioe-0s0m8 M8x1.25 /
6353-12-08DM10 10.5 MKM 1525  M10 x 35 214
3 - 2.00 | 2.811.50 | 2.000 | .937 | .74 1/2-14 1.9
/a 8 [e3sei2-080m10 M10x1.5 /
6353-12-12DM10 10.5 MKM 1525  M10 x 35 214
3 - 2.00(2.81|1.50 | 2.000 | .937 | .75 3/4-14 1.7
/a | =12 [ oomo M10x1.5 /
6353-16-12DM12 12.5 MKM 1529  M12 x 40 219
1 -12 2.25|3.19 | 1.50 | 2.250 | 1.093 | .94 3/4-14 . 2.3
6354-16-12DM12 M12x1.75 ---
6353-16-16DM12 12.5 MKM 1529|  M12 x 40 219
1 -16 2.25(3.19 | 1.50 | 2.250 | 1.093 | 1.00 1-11 = 21
6354-16-16DM12 M12x1.75 ---
6353-20-20DM12% 13.0 MKM 567 M12 x 35 222
1 - 3.00(3.75|1.50 | 2.625 | 1.250 | 1.25 11/4-11 3.4
1Y | =20 |55 20 200m2 M12x1.75 /
6353-24-24DM16 17.0 MKM 1544  M16 x 45 225
1 - 3.25(4.50 | 1.75 | 3.125 | 1.437 | 1.50 11/2-11 4.9
12 | =24 55 zaomis M16x2 /
6353-32-32DM20 21.0 MKM 563 M20 x 45 228
2 |=-32 4.00 | 5.252.00 | 3.812 | 1.750 | 1.94 2-11 . 6.7
6354-32-32DM20 M20x2.5
@ Order Separately @ 2500 PSI Max

NOTE: The Pressure Rating of the Assembly Should NOT Exceed the Lower of the Flange Pad or the Fitting. Check the Fitting Manufacturer for Details.
30 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



BSPP THREADED ELBOW FLANGES
. SAE J518 61 SERIES / ISO6162-1 PATTERN ____

SAE 1518 61 SERIES / IS06162-1 PATTERN

FLANGE | PORT PART Gmm MOUNTING KIT®

SIZE SIZE NUMBER A B C D E F Jmm H K PART NO. | ScRew size | o-ring | W1
6359-08-08DM8 8.5 MKM 541 M8 x 50 210

1 - 2.00|2.12|1.44|1.500 | .688 | .50 75 | 1/2-14 1.5
/2 8 [ 3e0-05-080ms M8x1.25 /
359-12-08DM10 10.5 MKM 542 M10 x 60 214

3 - 6 2.50|2.62|1.70 | 1.875 | .875 | .50 .88 | 1/2-14 2.7
/a 8 [cs6012.080m10 M10x1.5 /
359-12-12DM10 10.5 MKM 542 M10 x 60 214

3 - 6 2.50|2.62|1.70 | 1.875| .875 | .75 .88 | 3/4-14 2.5
/a 12 oo omo M10x1.5 /
6359-16-12DM10 10.5 MKM 543 M10 x 65 219

1 [-12 3.00(2.82|1.94|2.062 | 1.031| .75 1.00| 3/4-14 : 3.9
6360-16-12DM10 M10x1.5
6359-16-16DM10 10.5 MKM 543 M10 x 65 219

1 [-16 3.00 | 2.82 [ 1.94|2.062 | 1.031 | 1.00 1.00| 1-11 : 3.7
6360-16-16DM10 M10x1.5
6359-20-20DM10+ 10.5 MKM 4532 M10 x 75 222

1 - 3.50|3.19 | 2.40 | 2.312 | 1.188 | 1.25 1.25|1 1/4-11 5.8
14 | =20 |5co 20 200m107 M10x1.5 /
6359-24-20DM12% 13.0 MKM 4533 M12 x 90 225

1 - 4.00 | 3.75|2.90 | 2.750 | 1.406 | 1.50 1.38| 1 1/4-11 9.2
12 | =20 |5co 20 200m1or M12x1.75 /
6359-24-24DM12% 13.0 MKM 4533 M12 x 90 225

1 - 4.00 | 3.75|2.90 | 2.750 | 1.406 | 1.50 1.38 1 1/2-11 9.2
12 | =24 | naomos M12x1.75 /
6359-32-20DM12% 13.0 MKM 4547 M12 x 90 228

2 -20 4.50 | 4.00 | 2.96 | 3.062 | 1.688 | 1.94 1.62| 1 1/4-11 : 12.0
6360-32-20DM12% M12x1.75
6359-32-24DM12% 13.0 MKM 4547 M12 x 90 228

2 |-24 4.50 | 4.00 | 2.96 | 3.062 | 1.688 | 1.94 1621 1/2-11 : 12.0
6360-32-24DM12% M12x1.75
6359-32-32DM12% 13.0 MKM 4534 M12 x 100 228

2 |=-32 4.50 | 4.00 | 3.40 | 3.062 | 1.688 | 1.94 162| 2-11 = 12.0
6360-32-32DM12% M12x1.75

MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 MATERIAL :
bolts, add an SS at the end of the kit number (MK 501SS). i
Please note that using stainless steel bolts may reduce the pressure rating of the assembly. 316L Stainless
O-Ring Style Companion Style
(Flat Face)

| % 7 N%

'Gz _l__é-'_ DRILL-G _l__ﬁ-'-

A==t %/ )y
l AT 7 R,

D Cc TAP-J c

%

o
&

Model 6359 / 6361 Model 6360 / 6362
3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE 1518 62 SERIES / IS06162-2 PATTERN

FLANGE | PORT PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A|B|C D E F Jmm H K PARTNO. | SCREW SIZE | O-RING | "V |
6361-08-08DM8 8.5 MKM 541 M8 x 50 210
1 - 2.002.22 | 1.46 | 1.594 | .718 | .50 88 | 1/2-14 1.6
/2 8 [cssr-0s.080ms M8x1.25 /
6361-12-08DM10 10.5 MKM 542 | M10 x 60 214
3 - 2.50 | 2.81 | 1.70 | 2.000 | .937 | .50 1.00| 1/2-14 3.0
/a 8 [Gerirumomio M10x1.5 /
6361-12-12DM10 10.5 MKM 542 | M10 x 60 214
3 - 2.50 | 2.81 | 1.70 | 2.000 | .937 | .75 1.00| 3/4-14 2.8
a | =12 [ omaomo M10x1.5 /
6361-16-12DM12 12.5 MKM 551 | M12x 70 219
1 -12 3.00 | 3.19 | 1.96 | 2.250 | 1.093 | .75 1.12| 3/4-14 . 4.5
6362-16-12DM12 M12x1.75
6361-16-16DM12 12.5 MKM 551 | M12x 70 219
1 -16 3.00 | 3.19 | 1.96 | 2.250 | 1.093 | 1.00 112 1-11 . 4.3
6362-16-16DM12 M12x1.75
6361-20-20DM12# 13.0 MKM 578 | M12 x 80 222
Va | - 4.00 | 3.75 | 2.44 | 2.625 | 1.250 | 1.25 1.38| 1 1/4-11 8.3
12 | =20 [Geo0500m: M12x1.75 /
6361-24-24DM16 17.0 MKM 553 | M16 x 100 225
1 - 4.00 | 4.50 | 2.96 | 3.125 | 1.437 | 1.50 1.62|11/2-11 12.0
12 | -24 |5, 5iaomis M16x2 /
6361-32-32DM20 21.0 MKM 554 | M20 x 120 228
2 |=-32 5.00 | 5.25 | 3.46 | 3.812 | 1.750 | 1.94 2.00| 2-11 = 19.7
6362-32-32DM20 M20x2.5

@ Order Separately
NOTE: The Pressure Rating of the Assembly Should NOT Exceed the Lower of the Flange Pad or the Fitting. Check the Fitting Manufacturer for Details.
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts 31
© Copyright MAIN Mfg. 2019



ISO 6149 THREADED IN-LINE FLANGES

SAE J518 61 SERIES / 1IS06162-1 PATTERN

FLANGE | PORT PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A | B C D E F Jmm K PART NO. | SCREW SIZE | O-RING wWT
6601-08-08DM8 8.5 MKM 501 M8 x 30 210
1 - 1.50|2.19|1.25| 1.500 | .688 | .50 M18x1.5 .9
/2 8 [ eo0205-080ms M8x1.25 X
-12- 10.5 MKM 1525 M10 x 35 214
3 - 6601-12-10DM10 1.75|2.69|1.50 | 1.875 | .875 | .50 M22x1.5 1.4
/a 10 co02i2-100m10 M10x1.5 X
-12- 10.5 MKM 1525 M10 x 35 214
3 - 6601-12-12DM10 1.75|2.69|1.50 | 1.875 | .875 | .75 M27x2.0 1.3
/a 12 o oomo M10x1.5 X
6601-16-12DM10 10.5 MKM 1542 M10 x 35 219
1 -12 2.00 | 2.88 | 1.50 | 2.062 | 1.031 | .94 M27x2.0 . 1.7
6602-16-12DM10 M10x1.5
6601-16-16DM10 10.5 MKM 1542 M10 x 35 219
1 -16 2.00 | 2.88 | 1.50 | 2.062 | 1.031 | 1.00 M33x2.0 . 1.6
6602-16-16DM10 M10x1.5
6601-20-20DM10+ 10.5 MKM 4520 M10 x 35 222
1 - 2.50|3.19|1.50 | 2.312 | 1.188 | 1.25 M42x2.0 2.1
14 | =20 [¢o0220200m10r M10x1.5 X
6601-24-20DM12% 13.0 MKM 2599 M12 x 45 225
1 - 2.75|3.75|1.75 | 2.750 | 1.406 | 1.50 M42x2.0 3.3
12 | =20 o020 200m2¢ M12x1.75 X
6601-24-24DM12% 13.0 MKM 2599 M12 x 45 225
1 - 2.75|3.75|1.75 | 2.750 | 1.406 | 1.50 M48x2.0 3.5
12 | -24 | i oaomas M12x1.75 X
6601-32-24DM12% 13.0 MKM 4513 M12 x 45 228
2 =24 3.254.00 | 1.75 | 3.062 | 1.688 | 1.77 M48x2.0 . 4.4
6602-32-24DM12% M12x1.75
6601-32-32DM12% 13.0 MKM 4513 M12 x 45 228
2 =32 3.254.00 | 1.75 | 3.062 | 1.688 | 1.94 M60x2.0 : 3.7
6602-32-32DM12% M12x1.75
-40- 13.0 MKM 3562 M12 x 45 232
1/5% = 6601-40-32DM12%| 14 | 450 | 1.75 | 3.500 | 2.000 | 2.12 M60x2.0 6.3
227 -32 | aosomize M12x1.75 x
MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
Mk bolts, add an SS at the end of the kit number (MK 501SS).
316L Stainless Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
O-Ring Style Companion Style

(Flat Face)

- / DRILLG | / s
| 1_ @ @ "\ 7 | "\ >A |

QO Ve Zez)
- A

A l-— ¢ —] l— ¢ —]

Model 6601 / 6603 Model 6602 / 6604
3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE J518 62 SERIES / 1IS06162-2 PATTERN

FLANGE | PORT PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A|B C D E F Jmm K PARTNO. | SCREW SIZE | O-RING | "V |
6603-08-08DM8 8.5 MKM 501 M8 x 30 210
1 - 1.75|2.22|1.25|1.594 | .718 | .50 M18x1.5 1.1
/2 8 [ oos-oe-0s0m8 M8x1.25 *
6603-12-10DM10 10.5 MKM 1525  M10 x 35 214
3 - 2.00 | 2.81|1.50 | 2.000 | .937 | .50 M22x1.5 2.0
/a | =10 [¢o0i12100m0 M10x1.5 *
6603-12-12DM10 10.5 MKM 1525  M10 x 35 214
3 - 2.00(2.81|1.50 | 2.000 | .937 | .75 M27x2.0 1.8
/a | =12 [iiaioomo M10x1.5 *
6603-16-12DM12 12.5 MKM 1529  M12 x 40 219
1 -12 2.25(3.19 | 1.50 | 2.250 | 1.093 | .94 M27x2.0 . 2.3
6604-16-12DM12 M12x1.75
6603-16-16DM12 12.5 MKM 1529|  M12 x40 219
1 -16 2.25(3.19 | 1.50 | 2.250 | 1.093 | 1.00 M33x2.0 = 2.2
6604-16-16DM12 M12x1.75
6603-20-20DM12+ 13.0 MKM 567 M12 x 35 222
1 - 3.00(3.75|1.50 | 2.625 | 1.250 | 1.25 M42x2.0 3.7
1Y | =20 [ 20200m2 M12x1.75 *
6603-24-24DM16 17.0 MKM 1544|  M16 x 45 225
1 - 3.25(4.50 | 1.75 | 3.125 | 1.437 | 1.50 M48x2.0 5.5
12 | =24 oiizaomis M16x2 *
6603-32-32DM20 21.0 MKM 563 M20 x 45 228
2 =32 4.00 | 5.25|1.75|3.812 | 1.750 | 1.94 M60x2.0 . 7.5
6604-32-32DM20 M20x2.5
@ Order Separately @ 2500 PSI Max

NOTE: The Pressure Rating of the Assembly Should NOT Exceed the Lower of the Flange Pad or the Fitting. Check the Fitting Manufacturer for Details.
32 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



ISO 6149 THREADED ELBOW FLANGES

SAE 1518 61 SERIES / IS06162-1 PATTERN

FLANGE | PORT PART Gmm MOUNTING KIT®

SIZE SIZE NUMBER A B |C D E F Jmm H K PART NO. | ScRew size | o-ring | W1
6605-08-08DM8 8.5 MKM 541 M8 x 50 210

1 - 2.00|2.12|1.44 | 1.500 | .688 | .50 .75 | M18x1.5 1.5
/2 8 [ o06.05-080ms M8x1.25 X
-12- 10.5 MKM 542 M10 x 60 214

3 - 6605-12-10DM10 1, o | 5 65| 1.70 | 1.875 | .875 | .75 .88 | M22x1.5 2.7
/a 10 o0 12-100m10 M10x1.5 X
-12- 10.5 MKM 542 M10 x 60 214

3 - 6605-12-12DM10 1, o | 5 62| 1.70 | 1.875 | .875 | .75 .88 | M27x2.0 2.5
/a 12 (e oomo M10x1.5 X
6605-16-12DM10 10.5 MKM 543 M10 x 65 219

1 -12 3.00 | 2.82 | 1.94 | 2.062 | 1.031 | 1.00 1.00 | M27x2.0 X 3.9
6606-16-12DM10 M10x1.5
6605-16-16DM10 10.5 MKM 543 M10 x 65 219

1 [-16 3.00 | 2.82 [ 1.94|2.062 | 1.031 | 1.00 1.00 | M33x2.0 : 3.7
6606-16-16DM10 M10x1.5
6605-20-20DM10t 10.5 MKM 4532 M10 x 75 222

1 - 3.50|3.19|2.40 | 2.312 | 1.188 | 1.25 1.25 | M42x2.0 5.8
1Y | =20 [5oez0200m00 M10x1.5 *
6605-24-20DM12# 13.0 MKM 4533 M12 x 90 225

1 - 4.00 | 3.75|2.90 | 2.750 | 1.406 | 1.50 1.38 | M42x2.0 9.2
12 | =20 o006 20200m12¢ M12x1.75 X
6605-24-24DM12# 13.0 MKM 4533 M12 x 90 225

1 - 4.00 | 3.75|2.90 | 2.750 | 1.406 | 1.50 1.38 | M48x2.0 9.4
12 | =24 (oo sioms M12x1.75 *
6605-32-20DM12# 13.0 MKM 4547 M12 x 90 228

2 |-20 4.50 | 4.00 | 2.96 | 3.062 | 1.688 | 1.94 1.62 | M42x2.0 : 12.3
6606-32-20DM12# M12x1.75
6605-32-24DM12# 13.0 MKM 4547 M12 x 90 228

2 |-24 4.50 | 4.00 | 2.96 | 3.062 | 1.688 | 1.94 1.62 | M48x2.0 : 12.0
6606-32-24DM12% M12x1.75
6605-32-32DM12# 13.0 MKM 4534 M12 x 100 228

2 |=-32 4.25/4.00 | 3.40 | 3.062 | 1.688 | 1.94 1.62 | M60x2.0 = 11.5
6606-32-32DM12% M12x1.75

MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 MATERIAL :
bolts, add an SS at the end of the kit number (MK 501SS). i
Please note that using stainless steel bolts may reduce the pressure rating of the assembly. 316L Stainless
O-Ring Style Companion Style
(Flat Face)

| % 7 N%

'Gz _l__é-'_ DRILL-G _l__ﬁ-'-

A==t %/ )
l AT 7 R,

D Cc TAP-J c

%

o
&

Model 6605 / 6607 Model 6606 / 6608
3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE 1518 62 SERIES / IS06162-2 PATTERN

FLANGE | PORT PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A|B|C D E F Jmm H K PARTNO. | SCREW SIZE | O-RING | "V |
6607-08-08DM8 8.5 MKM 541 M8 x 50 210
1 - 2.00[2.221.46| 1.594 | .718 | .50 .88 | M18x1.5 1.6
/2 8 [ eo0s.05-080ms M8x1.25 X
6607-12-10DM10 10.5 MKM 542 M10 x 60 214
3 - 2.50 | 2.81|1.70 | 2.000 | .937 | .75 1.00 | M22x1.5 3.0
/a 10 (o0 12-100m10 M10x1.5 X
6607-12-12DM10 10.5 MKM 542 M10 x 60 214
3 - 2.50 | 2.81|1.70 | 2.000 | .937 | .75 1.00 | M27x2.0 2.8
/a 12 (oo omo M10x1.5 X
6607-16-12DM12 12.5 MKM 551 M12 x 70 219
1 -12 3.00|3.19|1.96 | 2.250 | 1.093 | 1.00 1.12| M27x2.0 X 4.5
6608-16-12DM12 M12x1.75
6607-16-16DM12 12.5 MKM 551 M12 x 70 219
1 [-16 3.00 | 3.19 | 1.96 | 2.250 | 1.093 | 1.00 1.12 | M33x2.0 . 4.3
6608-16-16DM12 M12x1.75
6607-20-20DM12+ 13.0 MKM 578 M12 x 80 222
1 - 4.00|3.75|2.44 | 2.625 | 1.250 | 1.25 1.38| M42x2.0 8.3
14 | =20 o505 20-200m12¢ M12x1.75 X
6607-24-24DM16 17.0 MKM 553 |  M16 x 100 225
1 - 4.00 | 4.50 | 2.96 | 3.125 | 1.437 | 1.50 1.62 | M48x2.0 12.0
12 | -24 | o aomie M16x2 X
6607-32-32DM20 21.0 MKM 554 | M20 x 120 228
2 =32 5.00 | 5.25 | 3.46 | 3.812 | 1.750 | 1.94 2.00 | M60x2.0 = 19.7
6608-32-32DM20 M20x2.5

@ Order Separately
NOTE: The Pressure Rating of the Assembly Should NOT Exceed the Lower of the Flange Pad or the Fitting. Check the Fitting Manufacturer for Details.
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts 33
© Copyright MAIN Mfg. 2019



BUTT WELD IN-LINE FLANGES (Pg 1/2)

For Schedule 10 Pipe ®

SAE J518 61 SERIES / IS06162-1 PATTERN

FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B |C D E F Jmm H| K PART NO. | SCREw s1ze | o-RinG | W7
6279-08-08DM8 8.5 MKM 512 M8 x 35 210
1 1 1.50 | 2.12|1.25| 1.500 | .688 | .67 .38 | .88 7
/2 /2 [6250-08-080M8 M8x1.25
6279-12-08DM10 10.5 MKM 1525 M10 x 35 214
3 1 1.75/2.62|1.25|1.875| .875 | .67 38 | .88 1.0
/a /2 6280-12-08DM10 M10x1.5
6279-12-12DM10 10.5 MKM 1525 M10 x 35 214
3 3 1.75/2.62|1.25|1.875| .875 | .88 38 | 1.12 1.0
a Y4 2801212010 M10x1.5
6279-16-12DM10 10.5 MKM 1542 M10 x 35 219
3 2.00|2.82|1.25|2.062|1.031| .88 38 | 1.12 1.3
1 Ya 6280-16-12DM10 M10x1.5
6279-16-16DM10 10.5 MKM 1542 M10 x 35 219
2.00 | 2.82 | 1.25|2.062 | 1.031 | 1.10 .38 | 1.38 1.2
1 1 6280-16-16DM10 M10x1.5
6279-20-16DM10*t 10.5 MKM 4520 M10 x 35 222
1 2.50 | 3.19 | 1.25|2.312 | 1.188 | 1.10 .38 | 1.38 1.7
14 1 6280-20-16DM10*t M10x1.5
6279-20-20DM10* 10.5 MKM 4520 M10 x 35 222
1 1 2.50|3.19|1.25|2.312 | 1.188 | 1.44 .38 | 1.75 1.6
1Ya | 14 [oo5020200m107 M10x1.5
1 1)y ———— 2.503.19|1.50 | 2.312 | 1.188 | 1.68 F——— .50 | 2.00 ——2.0
112 | 112 6280-20-24DM10* M10x1.5
6279-24-20DM12% 13.0 MKM 4551 M12 x 40 225
1 1 2.75|3.75 | 1.50 | 2.750 | 1.406 | 1.44 .50 | 1.75 2.6
172 | 14 6280-24-20DM12% M12x1.75
6279-24-24DM12% 13.0 MKM 4551 M12 x 40 225
1 1 2.75|3.75|1.50 | 2.750 | 1.406 | 1.68 .50 | 2.00 2.3
12 | 12 (5000 0a0omizs M12x1.75
1/ | 2 |—= 3.50 | 3.75 | 2.25 | 2.750 | 1.406 | 2.16 }—- .50 | 2.50 —— 5.6
112 2 6280-24-32DM12% M12x1.75
MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
it bolts, add an SS at the end of the kit number (MK 501SS).
316L Stainless Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
0O-Ring Style Companion Style
(Flat Face)
/ DRILL-G TAP-J
r~ 7//f f#’/%/é
D | l
B K |'= +—4-—F K |'= +—t-—
37.5° ﬁ4/7//4: 37.5° ﬁ4/7?%
—{ H|— —H— K
l~— C — — C—
Model 6279 / 6281 Model 6280 / 6282

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE J518 62 SERIES / 1IS06162-2 PATTER

[o] G
"cee | owe | womeen | A|B | C| D | E|FIMUIH|K [ e Jomme| WT
1> 1/ 22:;:3::3:35: 1.75|2.22|1.25|1.594 | .718 | .67 Msil15.25 38 | .88 [M>12 M8 x 35 210 8
3/a 1/ Zi:;:ii:gggmg 2.00|2.81|1.25|2.000 | .937 | .67 M11c?>i.5 38 | .8 [TAM1523] M10x35 214 1.3
3/a 3/a Zi:;zii:ggmg 2.00|2.811.252.000 | .937 | .88 M11c?>i.5 38 | 112 [MKM 15251 M10x35 214 1.3
1 3/a Zi:;:i::i;gmi 2.253.19|1.25[2.250 | 1.093 | .88 M1121.15.75 38 | 112 [MKM 4569 M12 x40 219 1.6
6281-16-16DM12 12.5 MKM 4569|  M12 x 40 219
1 1 6282-16-16DM12 | 225|319 1:25]2.250 | 1.093 | 1.10 [o-oP"=) .38 | 1.38 . —— 15
114 1 Zi:;jg:i:gmi 2.75(3.75|1.25 | 2.625 | 1.250 | 1.10 M1121-10.75 38 | 138 [TeM 1527} M12 x40 222 2.3
112 | 114 Zi:;jgjggmiz 2.75|3.75|1.25|2.625 | 1.250 | 1.44 M1121-10.75 38 | 1.75 [TKM 1527} M12 x40 222 2.1
12 | 12 [ 5550 0a0mias| 300|375 1.50 | 2.625 | 1.250 | 1.68 [o————| .50 | 2.00 — 3.1

@ Order Separately
® Other Pipe and Tube Sizes are Available
34 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



BUTT WELD IN-LINE FLANGES (Pg 2/2)

For Schedule 10 Pipe ®

SAE J518 61 SERIES / IS06162-1 PATTERN

FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B C D E F JImm H| K PARTNO. | SCREW SIZE | O-RING | V|
6279-32-20DM12+ 13.0 MKM 4552 M12 x 45 228
1 3.25/4.00 | 1.50 | 3.062 | 1.688 | 1.44 .50 | 1.75 3.3
2 1 /4 6280-32-20DM12+ M12x1.75 ---
6279-32-24DM12+ 13.0 MKM 4552 M12 x 45 228
1 .25 4.00 | 1. .062 | 1. 1. ) 2. 2
2 1 /2 6280-32-24DM12+ 3.25 0o 50| 3.06 688 68 M12x1.75 50 00 --- 3
6279-32-32DM12+ 13.0 MKM 4552 M12 x 45 228
3.25/4.00 | 1.50 | 3.062 | 1.688 | 2.16 .50 | 2.50 2.8
2 2 6280-32-32DM12+ M12x1.75 ---
6279-40-32DM12+ 13.0 MKM 2575 M12 x 50 232
1/5,@ 4.00 | 4.50 | 1.75| 3.500 | 2.000 | 2.16 .50 | 2.50 5.3
2 /2 2 6280-40-32DM12+ M12x1.75 ---
6279-40-40DM12+ 13.0 MKM 2575 M12 x 50 232
1/52 1 4.00 | 4.50 | 1.75| 3.500 | 2.000 | 2.63 .50 | 3.00 4.8
22| 22 [535540-a00m12+ M12x1.75
® 1 6279-48-40DM16 4 17.0 MKM 585 M16 x 60 237
.50 |5.31|2.00|4.188 | 2.438 | 2.63 .50 | 3.00 8.1
3 2 /2 6280-48-40DM16 M16x2 ---
® 6279-48-48DM16 17.0 MKM 585 M16 x 60 237
4.50 | 5.31|2.00 | 4.188 | 2.438 | 3.26 .50 | 3.50 7.2
3 3 6280-48-48DM16 M16x2 ---
6279-56-48DM16 17.0 MKM 1571 M16 x 50 241
1/5® 5.00 | 6.00 | 1.50 | 4.750 | 2.750 | 3.26 .50 | 3.50 6.6
3 /2 3 6280-56-48DM16 M16x2 ---
6279-56-54DM16 17.0 MKM 1571 M16 x 50 241
1/5@ 1 5.00 | 6.00 | 1.50 | 4.750 | 2.750 | 3.76 .50 | 4.00 5.9
312" 32 |450-565a0m16 M16x2
@ 6279-64-48DM16 17.0 MKM 1572 M16 x 50 245
5.50 | 6.38 | 1.50 | 5.125 | 3.062 | 3.26 .50 | 3.50 8.1
4 3 6280-64-48DM16 M16x2 ---
@ 6279-64-64DM16 17.0 MKM 1572 M16 x 50 245
5.50 | 6.38 | 1.50 | 5.125 | 3.062 | 4.26 .50 | 4.50 6.7
4 4 6280-64-64DM16 M16x2 ===
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 MATERIAL :
bolts, add an SS at the end of the kit number (MK 501SS). A
Please note that using stainless steel bolts may reduce the pressure rating of the assembly. 316L Stainless
O-Ring Style Companion Style
(Flat Face)
DRILL-G / TAP-J
r~ 7//f #7§/é
0 | |
B K T +—-—t K T +—-—t
37.5° " 7//4 37.5° N 7%
— H|— — H|— <.
|— C — |— C —|
Model 6279 / 6281 Model 6280 / 6282

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE J518 62 SERIES / 1IS06162-2 PATTER

[o] G
“cwe | owe | woween | A|B | C| D | E|F IMUIH|K [ e Jomme| WT
6281-24-20DM16 17.0 MKM 562 |  M16 x 45 225
11/ | 114 6282-24-200M1g | 325 | 4:50 | 1.50 | 3.125 | 1.437 | 1.44 =2 m— 50 | 1.75 . =135
11/ 11> Zi:;:i:jigmz 3.254.50 | 1.50 | 3.125 | 1.437 | 1.68 M117é>?2 50 | 2.00 [ M 562} M6 x45 225 3.3
11/ 2 " 5oaaomic | 400|450 2.003.125|1.437 | 2.16 |-~ .50 | 2.50 —— 6.8
2 11/ Zi:;;i:i:gmg 4.00 | 5.25|1.75 | 3.812 | 1.750 | 1.68 M2201);2.5 50 | 2.00 [MKM 1548] ™20 x 60 228 6.4
6281-32-32DM20 21.0 MKM 1548  M20 x 60 228
2 2 [ sr35390ma0 | 400 [5:25| 1.753.812 | 1.750 | 2.16 |- o .50 | 2.50 . —— 5.9
21/ 2 Zi:;:gjigmii 5.00 | 6.88 | 2.00 | 4.875 | 2.312 | 2.16 M222:3 50 | 2.50 [MAM 1575 ™24 x 70 232 12.8
21> | 21/ Zi:;::g:iggmii 5.00 | 6.88 | 2.00 | 4.875 | 2.312 | 2.63 M222:3 50 | 3.00 [ KM 1575 M24 X 70 232 12.0
3 3 Zi:;:ig:iggng 6.00 | 8.50 | 2.50 | 6.000 | 2.812 | 3.26 M::);g_s 50 | 3.50 [em 1576} M30 x 100 237 23.3
@ Order Separately @ 2500 PSI Max ® 2000 PSI Max @& 500 PSI Max

® Other Pipe and Tube Sizes are Available
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. T Also Available for M12 Bolts # Also Available for M14 Bolts 35
© Copyright MAIN Mfg. 2019



BUTT WELD IN-LINE FLANGES (Pg 1/2)

For Schedule 40 Pipe ®

SAE J518 61 SERIES / IS06162-1 PATTERN

FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B |C D E F Jmm H| K PART NO. | SCREw s1ze | o-RinG | W7
6105-08-08DM8 8.5 MKM 512 M8 x 35 210
1 1 1.50 | 2.12|1.25| 1.500 | .688 | .62 .38 | .88 7
/2 /2 [6106-08-080M8 M8x1.25
6105-12-08DM10 10.5 MKM 1525 M10 x 35 214
3 1 1.75/2.62|1.25|1.875| .875 | .62 .38 | .88 1.0
/a /2 6106-12-08DM10 M10x1.5
6105-12-12DM10 10.5 MKM 1525 M10 x 35 214
3 3 1.75/2.62|1.25|1.875| .875 | .82 38 | 1.12 1.0
a Y4 61061212010 M10x1.5
6105-16-12DM10 10.5 MKM 1542 M10 x 35 219
3 2.00|2.82|1.25|2.062|1.031| .82 38 | 1.12 1.3
1 Ya 6106-16-12DM10 M10x1.5
6105-16-16DM10 10.5 MKM 1542 M10 x 35 219
2.00 | 2.82 | 1.25|2.062 | 1.031 | 1.04 .38 | 1.38 1.2
1 1 6106-16-16DM10 M10x1.5
6105-20-16DM10*t 10.5 MKM 4520 M10 x 35 222
1 2.50 | 3.19 | 1.25|2.312 | 1.188 | 1.04 .38 | 1.38 1.7
14 1 6106-20-16DM10* M10x1.5
6105-20-20DM10t 10.5 MKM 4520 M10 x 35 222
1 1 2.50|3.19|1.25|2.312 | 1.188 | 1.38 .38 | 1.75 1.6
1Ya | 14 [ oe20200m107 M10x1.5
1 1)y ———— 2.50 3.19|1.50 | 2.312 | 1.188 | 1.61 ——r .50 | 2.00 ——2.0
112 | 112 6106-20-24DM10* M10x1.5
6105-24-20DM12% 13.0 MKM 4551 M12 x 40 225
1 1 2.75|3.75|1.50 | 2.750 | 1.406 | 1.38 .50 | 1.75 2.6
172 | 14 6106-24-20DM12% M12x1.75
6105-24-24DM12% 13.0 MKM 4551 M12 x 40 225
1 1 2.75|3.75|1.50 | 2.750 | 1.406 | 1.61 .50 | 2.00 2.3
12 | 12 [ oezanaomizs M12x1.75
1/H | 2 — 3.50 | 3.75 | 2.25 | 2.750 | 1.406 | 2.06 ——— .50 | 2.50 —— 5.6
112 2 6106-24-32DM12% M12x1.75
MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
it bolts, add an SS at the end of the kit number (MK 501SS).
316L Stainless Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
0O-Ring Style Companion Style
(Flat Face)
/ DRILL-G TAP-J
r~ 7//f f#’/%/é
D | l
B K |'= +—4-—F K |'= +—t-—
37.5° ﬁ4/7//4: 37.5° ﬁ4/7?%
—{ H|— —H— K
l~— C — — C—
Model 6105 / 6107 Model 6106 / 6108

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE J518 62 SERIES / 1IS06162-2 PATTER

[o] G
"cee | owe | womeen | A|B | C| D | E|FIMUIH|K [ e Jomme| WT
1> 1/ 218;:3::3:35: 1.75|2.22|1.25|1.594 | .718 | .62 Msil15.25 38 | .88 [M>12 M8 x 35 210 8
3/a 1/ Ziggji:gggmg 2.00 | 2.81|1.25|2.000 | .937 | .62 M11c?>i.5 38 | .8 [TAM1523] M10x35 214 1.3
3/a 3/a :182:12:33:18 2.00 | 2.811.252.000 | .937 | .82 M11c?>i.5 38 | 112 [MKM 15251 M10x35 214 1.3
1 3/a Zig;:i::i;gmi 2.25|3.19 [ 1.25|2.250 | 1.093 | .82 M1121.15.75 38 | 112 [MKM 4569 M12 x40 219 1.6
6107-16-16DM12 12.5 MKM 4569|  M12 x 40 219
1 1 6108-16-16DM1a | 225|319 1:25]2.250 | 1.093 | 1.04 [o-"P"= .38 | 1.38 . —— 15
114 1 Zig;jg:i:gmi 2.75(3.75|1.25 | 2.625 | 1.250 | 1.04 M1121-10.75 38 | 138 [TeM 1527} M12 x40 222 2.3
14 | 114 Zig;jgjggmi 2.75(3.75|1.25 | 2.625 | 1.250 | 1.38 M1121-10.75 38 | 1.75 [TKM 1527} M12 x40 222 2.1
12 | 12 [ 5s500a0mias| 300|375 1.50 | 2.625 | 1.250 | 1.61 [o———| .50 | 2.00 — 3.1

@ Order Separately
® Other Pipe and Tube Sizes are Available
36 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



BUTT WELD IN-LINE FLANGES (Pg 2/2)

For Schedule 40 Pipe ®

SAE J518 61 SERIES / IS06162-1 PATTERN

FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B C D E F JImm H| K PARTNO. | SCREW SIZE | O-RING | V|
6105-32-20DM12+ 13.0 MKM 4552 M12 x 45 228
1 3.25/4.00 | 1.50 | 3.062 | 1.688 | 1.38 .50 | 1.75 3.3
2 1 /4 6106-32-20DM12+ M12x1.75 ---
6105-32-24DM12+ 13.0 MKM 4552 M12 x 45 228
1 3.25/4.00 | 1.50 | 3.062 | 1.688 | 1.61 .50 | 2.00 3.2
2 1 /2 6106-32-24DM12+ M12x1.75 ---
6105-32-32DM12+ 13.0 MKM 4552 M12 x 45 228
3.25/4.00 | 1.50 | 3.062 | 1.688 | 2.06 .50 | 2.50 2.8
2 2 6106-32-32DM12+ M12x1.75 ---
6105-40-32DM12+ 13.0 MKM 2575 M12 x 50 232
1/5,@ 4.00 | 4.50 | 1.75 | 3.500 | 2.000 | 2.06 .50 | 2.50 5.3
2 /2 2 6106-40-32DM12+ M12x1.75 ---
6105-40-40DM12+ 13.0 MKM 2575 M12 x 50 232
1/52 1 4.00 | 4.50 | 1.75| 3.500 | 2.000 | 2.47 .50 | 3.00 4.8
22| 22 (5 06-40-a00m12+ M12x1.75
® 1 6105-48-40DM16 4 17.0 MKM 585 M16 x 60 237
.50 |5.31|2.00|4.188 | 2.438 | 2.47 .50 | 3.00 8.1
3 2 /2 6106-48-40DM16 M16x2 ---
® 6105-48-48DM16 17.0 MKM 585 M16 x 60 237
4.50 | 5.31|2.00 | 4.188 | 2.438 | 3.06 .50 | 3.50 7.2
3 3 6106-48-48DM16 M16x2 ---
6105-56-48DM16 17.0 MKM 1571 M16 x 50 241
1/5® 5.00 | 6.00 | 1.50 | 4.750 | 2.750 | 3.06 .50 | 3.50 6.6
3 /2 3 6106-56-48DM16 M16x2 ---
6105-56-54DM16 17.0 MKM 1571 M16 x 50 241
1/5@ 1 5.00 | 6.00 | 1.50 | 4.750 | 2.750 | 3.54 .50 | 4.00 5.9
312" 32 |4i06-565a0m16 M16x2
@ 6105-64-48DM16 17.0 MKM 1572 M16 x 50 245
5.50 | 6.38 | 1.50 | 5.125 | 3.062 | 3.06 .50 | 3.50 8.1
4 3 6106-64-48DM16 M16x2 ---
@ 6105-64-64DM16 17.0 MKM 1572 M16 x 50 245
5.50 | 6.38 | 1.50 | 5.125 | 3.062 | 4.02 .50 | 4.50 6.7
4 4 6106-64-64DM16 M16x2 ===
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 MATERIAL :
bolts, add an SS at the end of the kit number (MK 501SS). A
Please note that using stainless steel bolts may reduce the pressure rating of the assembly. 316L Stainless
O-Ring Style Companion Style
(Flat Face)
DRILL-G / TAP-J
r~ 7//f #7§/é
0 | |
B K T +—-—t K T +—-—t
37.5° " 7//4 37.5° N 7%
— H|— — H|— <.
|— C — |— C —|
Model 6105 / 6107 Model 6106 / 6108

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE J518 62 SERIES / 1IS06162-2 PATTER

[o] G
“cwe | owe | woween | A|B | C| D | E|F IMUIH|K [ e Jomme| WT
6107-24-20DM16 17.0 MKM 562 |  M16 x 45 225
11/ | 114 6108-24-200M1g | 3:25 | 4:50 | 1.50 | 3.125 | 1.437 | 1.38 [—-" 50 | 1.75 . =135
117/ | 11> Zig;zzz:iigmz 3.25|4.50 | 1.50 | 3.125 | 1.437 | 1.61 M117é>?2 50 | 2.00 [M 562 Mifx®2 225 3.3
11/ 2 iosoaaomic | 400|450 2.003.125|1.437 | 2.06 |-~ .50 | 2.50 —— 6.8
2 11/ Zig;:;i:i:gmg 4.00 | 5.25|1.75|3.812 [ 1.750 | 1.61 M2201);2.5 50 | 2.00 [MKM 1548] ™20 x 60 228 6.4
6107-32-32DM20 21.0 MKM 1548|  M20 x 60 228
2 2 [ 0535320Ma0 | 400 [5:25| 1.753.812 | 1.750 | 2.06 |- = .50 | 2.50 . —— 5.9
21/ 2 Zig;z:gjzgmi: 5.00 | 6.88 | 2.00 | 4.875 | 2.312 | 2.06 M222:3 50 | 2.50 [MAM 1575 ™24 x 70 232 12.8
21> | 21> Zig;z:g:iggmii 5.00 | 6.88 | 2.00 | 4.875 | 2.312 | 2.47 M222:3 50 | 3.00 [ KM 1575 M24 X 70 232 12.0
3 3 Zig;::::iggng 6.00 | 8.50 | 2.50 | 6.000 | 2.812 | 3.06 M::);g_s 50 | 3.50 [em 1576} M30 x 100 237 23.3
@ Order Separately @ 2500 PSI Max ® 2000 PSI Max @& 500 PSI Max

® Other Pipe and Tube Sizes are Available
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. T Also Available for M12 Bolts # Also Available for M14 Bolts 37
© Copyright MAIN Mfg. 2019



BUTT WELD IN-LINE FLANGES (Pg 1/2)

For Schedule 80 Pipe ®

SAE J518 61 SERIES / 1IS06162-1 PATTERN

FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B |C D E F Jmm H| K PART NO. | SCREw s1ze | o-rinG | W7
6109-08-08DM8 8.5 MKM 512 M8 x 35 210
1 1 1.50 | 2.12|1.25| 1.500 | .688 | .53 .38 | .88 .7
/2 /2 [6110-08-080M8 M8x1.25
6109-12-08DM10 10.5 MKM 1525 M10 x 35 214
3 1 1.75/2.62|1.25|1.875| .875 | .53 38 | .88 1.0
/a /2 6110-12-08DM10 M10x1.5
6109-12-12DM10 10.5 MKM 1525 M10 x 35 214
3 3 1.75/2.62|1.25|1.875| .875 | .75 38 | 1.12 1.0
a Y4 | 6110-12-120M10 M10x1.5
6109-16-12DM10 10.5 MKM 1542 M10 x 35 219
3 2.00|2.82 | 1.25|2.062 | 1.031 | .75 38 | 1.12 1.3
1 Ya 6110-16-12DM10 M10x1.5
6109-16-16DM10 10.5 MKM 1542 M10 x 35 219
2.00|2.82|1.25|2.062|1.031| .94 .38 | 1.38 1.2
1 1 6110-16-16DM10 M10x1.5
6109-20-16DM10* 10.5 MKM 4520 M10 x 35 222
1 2.50 3.19 | 1.25|2.312 | 1.188 | .94 .38 | 1.38 1.8
14 1 6110-20-16DM10* M10x1.5
6109-20-20DM10* 10.5 MKM 4520 M10 x 35 222
1 1 2.50|3.19|1.25|2.312 | 1.188 | 1.25 .38 | 1.75 1.6
1Ya | 14 [ 00 200m107 M10x1.5
1 1)y ——— = 2.50 | 3.19 | 1.50 | 2.312 | 1.188 | 1.25 }——— .50 | 2.00 2.1
112 | 12 6110-20-24DM107t M10x1.5
6109-24-20DM12+ 13.0 MKM 4551 M12 x 40 225
1 1 2.75|3.75|1.50 | 2.750 | 1.406 | 1.25 .50 | 1.75 2.6
172 | 14 6110-24-20DM12+ M12x1.75
6109-24-24DM12+ 13.0 MKM 4551 M12 x 40 225
1 1 2.75|3.75 | 1.50 | 2.750 | 1.406 | 1.50 .50 | 2.00 2.3
12 | 12 [ 0oamaomas M12x1.75
1H | 2 — 3.50 | 3.75 | 2.25 | 2.750 | 1.406 | 1.50 ——— .50 | 2.50 5.8
11> 2 6110-24-32DM12+ M12x1.75
MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
i bolts, add an SS at the end of the kit number (MK 501SS).
316L Stainless Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
O-Ring Style Companion Style
(Flat Face)
/ DRILL-G / TAP-J
b, 77
D I [
B K +——-—+F F K +———+F F
37.5° "4;/7//4 37.5° - é
— H|— —|H= K
A — ¢ — L c—
Model 6109 / 6111 Model 6110 / 6112

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE J518 62 SERIES / 1IS06162-2 PATTER

[o] G
"cee | owe | womee | A|B | C| D | E|FIMUIH|K [ e Jomme| WT
1/ 1/ 211;:8::2:35: 1.75|2.22|1.25|1.594 | .718 | .53 M8?<115.25 38 | .88 [M>12 M8 x 35 210 8
3/4 1/ 211;:1;:822&18 2.00 | 2.81|1.25|2.000 | .937 | .53 M11(;J>'<i.5 38 | .8 [TaM 15251 M10x35 214 1.3
3/4 3/a :ﬂ;iiggmg 2.00 | 2.81|1.25[2.000 | .937 | .75 Mlltt)))i.S 38 | 112 MM 15251 M0 X35 214 1.3
1 3/a :E;i:ggmi 2.25|3.19|1.25[2.250 | 1.093 | .75 M1121-15.75 38 | 112 [MKM 4569 M12 x40 219 1.6
6111-16-16DM12 12.5 MKM 4569|  M12 x 40 219
1 1 6112-16-16DMiz | 225|319 1:25]2.250 | 1.093 | .94 [o-or ) 38 | 1.38 X —— 15
114 1 zigigizgmii 2.75(3.75|1.25 | 2.625 [ 1.250 | .94 M1121'10.75 38 | 1.3g [TM 1527 M12 x40 222 2.3
14 | 114 Ziiizgiggmi 2.75(3.75|1.25 | 2.625 | 1.250 | 1.25 M112:>3<'10.75 38 | 1.75 MM 1527 M12 x40 222 2.1
12 | 12 [ 55505a0m0s 300|375 1.50 | 2.625 | 1.250 | 1.25 [o———1 .50 | 2.00 — 3.1

@ Order Separately
® Other Pipe and Tube Sizes are Available
38 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



BUTT WELD IN-LINE FLANGES (Pg 2/2)

For Schedule 80 Pipe ®

SAE J518 61 SERIES / IS06162-1 PATTERN

FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B C D E F Jmm H K PART NO. | SCREW SIZE | O-RING wWT
6109-32-20DM 12+ 13.0 MKM 4552 M12 x 45 228
1 .25 | 4. 1. .062 | 1. 1.2 . 1.7 4
2 1 /4 6110-32-20DM12+ 3.2514.0011.503.06 688 > M12x1.75 50 > 3
6109-32-24DM12+ 13.0 MKM 4552 M12 x 45 228
1 3.25|14.00|1.50| 3.062 | 1.688 | 1.50 .50 | 2.00 3.2
2 1 /2 6110-32-24DM12+ M12x1.75
6109-32-32DM12+ 13.0 MKM 4552 M12 x 45 228
.25 | 4. 1. .062 | 1. 1.94 . 2. 2.
2 2 6110-32-32DM12+ 3.2514.0011.503.06 688 | 1.9 M12x1.75 >0 50 8
6109-40-32DM12+ 13.0 MKM 2575 M12 x 50 232
1/5,@ 4.00 | 4.50 | 1.75 | 3.500 | 2.000 | 1.94 .50 | 2.50 5.4
2 /2 2 6110-40-32DM12+ M12x1.75
6109-40-40DM 12+ 13.0 MKM 2575 M12 x 50 232
1/5? 1 4.00 | 4.50 | 1.75 | 3.500 | 2.000 | 2.32 .50 | 3.00 4.8
212° 22 ¢ 5 a0 a0om1zs M12x1.75
® 1 6109-48-40DM16 4 i1 a1 54 532 17.0 MKM 585 M16 x 60 237
3 22 o asaoomie | 450|531 2.00 | 4.188 | 2.438 | 2.32 -~ .50 | 3.00 ——183
® 6109-48-48DM16 17.0 MKM 585 M16 x 60 237
4, 31 2. 4.1 2.4 2. . . 7.2
3 3 6110-48-48DM16 50153 00 88 3812.90 M16x2 50 | 3.50
6109-56-48DM16 17.0 MKM 1571 M16 x 50 241
1/5,® 5.00|6.00|1.50|4.750 | 2.750 | 2.90 .50 | 3.50 6.8
3 /2 3 6110-56-48DM16 M16x2
6109-56-56DM16 17.0 MKM 1571 M16 x 50 241
1/5® 1 5.00 | 6.00 | 1.50 | 4.750 | 2.750 | 3.36 .50 | 4.00 5.9
32" 32 [¢i1056560m16 M16x2
@ 6109-64-48DM16 17.0 MKM 1572 M16 x 50 245
. . 1. 12 .062 | 2. . . .2
4 3 6110-6a-48DM1g | 550 | 6:38 | 1.50 | 5.125|3.062 | 2.90 [—-cm— .50 | 3.50 —— 8
@ 6109-64-64DM16 17.0 MKM 1572 M16 x 50 245
. . 1. 12 .062 | 3. . 4, 7
4 4 6110-64-64DM16 | 550 | 6:38 | 1.50 | 5.1253.062 | 3.83 — " .50 | 4.50 —— 6
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 MATERIAL :
bolts, add an SS at the end of the kit number (MK 501SS). A
Please note that using stainless steel bolts may reduce the pressure rating of the assembly. 316L Stainless
0O-Ring Style Companion Style
(Flat Face)
DRILL-G / TAP-J
78 Y
D
B K +————F K +———+

l— m —
|— = —

J_s{<7//4

L 7z
?/

RORR G as | 7.5
- SHE 1k
A — ¢ — — ¢ —
Model 6109 / 6111 Model 6110 / 6112

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE J518 62 SERIES / 1IS06162-2 PATTER
O G
FLS‘;::E ;::: NSQ';:R A B c D E F (J;_,:‘,:‘ H K PART NO. i ‘;:-I:]:\‘N sKIIzTE(D 0-RING WT
11/> 114 Zi;:i:jggmz 3.254.50 | 1.50 | 3.125 | 1.437 | 1.25 M117€;>?2 50 | 1.75 |km 562} MI6x45 225 3.7
117/ | 11 gii;:iijgmz 3.25[4.50 | 1.50 | 3.125 | 1.437 | 1.50 M1176;>(32 50 | 2.00 |kM 262 MI6 x 43 225 3.3
11> 2 cioa3aomic | 400|450 2.003.125|1.437 | 1.50 " .50 | 2.50 —1 6.9
2 11> :E;:g;:;ig:‘ég 4.00 | 5.25|1.75 | 3.812 | 1.750 | 1.50 M2201);2.5 50 | 2.00 [KM 1348} M20 x 60 228 6.6
6111-32-32DM20 21.0 MKM 1548|  M20 x 60 228

2 2 o35 300Ma0 | 400 [5:25| 1.753.812 | 1.750 | 1.94 |-0o o .50 | 2.50 X ~——15.9
21> 2 211;::8:;;33;2 5.00 | 6.88 | 2.00 | 4.875 | 2.312 | 1.94 M2254'i3 50 | 2.50 KM 1373] M4 x 70 232 12.8
21/ | 21/ :ﬂ;:g::ggmi: 5.00 | 6.88 | 2.00 | 4.875 | 2.312 | 2.32 M2254)‘:’3 50 | 3.00 [M 1373, M24 x 70 232 12.0
3 3 211;22:2:3232 6.00 | 8.50 | 2.50 | 6.000 | 2.812 | 2.90 M:o2>'<(3).5 50 | 3.50 [ 1376} M30x 100 237 23.3
@ Order Separately @ 2500 PSI Max ® 2000 PSI Max @& 500 PSI Max

® Other Pipe and Tube Sizes are Available
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts 39
© Copyright MAIN Mfg. 2019



BUTT WELD IN-LINE FLANGES (Pg 1/2)

For Schedule 160 Pipe ®

SAE J518 61 SERIES / 1IS06162-1 PATTERN

FLANGE PIPE PART Gmm MOUNTING KIT®

SIZE SIZE NUMBER A B |C D E F Jmm H| K PART NO. | SCREw s1ze | o-rinG | W7
6117-08-08DM8 8.5 MKM 512 M8 x 35 210

1 1 1.50 | 2.12|1.25| 1.500 | .688 | .47 .38 | .88 7
/2 /2 6115080808 M8x1.25
6117-12-08DM10 10.5 MKM 1525 M10 x 35 214

3 1 1.75/2.62|1.25|1.875| .875 | .47 38 | .88 1.1
Ya /2 6118-12-08DM10 M10x1.5
6117-12-12DM10 10.5 MKM 1525 M10 x 35 214

3 3 1.75/2.62|1.25|1.875| .875 | .61 38 | 1.12 1.0
/a 4 [ G115.12-120M10 M10x1.5
6117-16-12DM10 10.5 MKM 1542 M10 x 35 219

3 2.00|2.82 | 1.25|2.062 | 1.031 | .61 38 | 1.12 1.3
1 Ya 6118-16-12DM10 M10x1.5
6117-16-16DM10 10.5 MKM 1542 M10 x 35 219

2.00|2.82 | 1.25|2.062 | 1.031 | .81 .38 | 1.38 1.2
1 1 6118-16-16DM10 M10x1.5
6117-20-16DM10* 10.5 MKM 4520 M10 x 35 222

1 2.50 3.19 | 1.25|2.312 | 1.188 | .81 .38 | 1.38 1.8
14 1 6118-20-16DM10* M10x1.5
6117-20-20DM107 10.5 MKM 4520 M10 x 35 222

1 1 2.50|3.19|1.25|2.312 | 1.188 | 1.16 .38 | 1.75 1.6
1Ya | 14 [ 50 200m107 M10x1.5

1 1y ———— 2.50 | 3.19 | 1.50 | 2.312 | 1.188 | 1.25 }——— .50 | 2.00 2.1
112 | 12 6118-20-24DM107t M10x1.5
6117-24-20DM12+ 13.0 MKM 4551 M12 x 40 225

1 1 2.75|3.75|1.50 | 2.750 | 1.406 | 1.16 .50 | 1.75 2.6
172 | 14 6118-24-20DM12+ M12x1.75
6117-24-24DM12+ 13.0 MKM 4551 M12 x 40 225

1 1 2.75|3.75|1.50 | 2.750 | 1.406 | 1.34 .50 | 2.00 2.3
12 | 12 [ 5oanaomas M12x1.75

1/H | 2 — 3.50 | 3.75 | 2.25 | 2.750 | 1.406 | 1.50 ——— .50 | 2.50 5.8
11> 2 6118-24-32DM12+ M12x1.75

MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
i bolts, add an SS at the end of the kit number (MK 501SS).
316L Stainless Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
O-Ring Style Companion Style
(Flat Face)

/ 7%/

TEZ

K +————+

J—';%
o

7

K +————+

I

l— n —
l— 7 —

J_>4<7//4

SEE I 4 37.5° |
— H|— —H= K
A — ¢ — L c—]
Model 6117 / 6119 Model 6118 / 6120

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE J518 62 SERIES / 1IS06162-2 PATTER

[o] G
"cee | owe | womee | A|B | C| D | E|FIMUIH|K [ e Jomme| WT
1/ 1/» 21;3:8::2:35: 1.75|2.22 [ 1.25| 1.594 | .718 | .47 M8?<115.25 38 | .88 [M>12 M8 x 35 210 .8
3/4 1/ 21;2:1;:822&18 2.00 | 2.81|1.25|2.000 | .937 | .47 M11(()J>I<i.5 38 | .8 [TaM 15251 M10x35 214 1.3
3/a 3/a Zi;g:ii:ggmg 2.00|2.811.25|2.000 | .937 | .61 Mlltt)))i.S 38 | 112 MM 15251 M0 X35 214 1.3
1 3/a :1;3:1::33212 2.25/3.19|1.25|2.250 | 1.093 | .61 M1123<.15.75 38 | 112 [MKM 4569 M12 x40 219 1.7
6119-16-16DM12 12.5 MKM 4569|  M12 x 40 219
1 1 6120-16-16DM1a | 225|319 1:25]2.250 | 1.093 | .81 (oo - 38 | 1.38 X —— 15
114 1 21;2:;8:123312: 2.75(3.75|1.25 | 2.625 | 1.250 | .81 M1121'10.75 38 | 1.3g [TM 1527 M12 x40 222 2.4
14 | 114 Ziizjgjggmi 2.75(3.75|1.25 | 2.625 | 1.250 | 1.16 M112:>3<'10.75 38 | 1.75 MM 1527 M12 x40 222 2.1
12 | 12 [ 55505a0mi0s| 300|375 1.50 | 2.625 | 1.250 | 1.25 [——— .50 | 2.00 — 3.1

@ Order Separately
® Other Pipe and Tube Sizes are Available
40 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



BUTT WELD IN-LINE FLANGES (Pg 2/2)

For Schedule 160 Pipe ®

SAE J518 61 SERIES / IS06162-1 PATTERN

FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B C D E F JImm H| K PARTNO. | SCREW SIZE | O-RING | "V |
6117-32-20DM12% 13.0 MKM 4552 M12 x 45 228
1 .25 | 4.00 1. .062 | 1. 1.1 . 1.7 4
2 1 /4 6118-32-20DM12% 3.25 0o 50| 3.06 688 6 M12x1.75 50 > --- 3
6117-32-24DM12% 13.0 MKM 4552 M12 x 45 228
1 3.25|4.00 | 1.50 | 3.062 | 1.688 | 1.34 .50 | 2.00 3.3
2 1 /2 6118-32-24DM12% M12x1.75 ---
6117-32-32DM12#% 13.0 MKM 4552 M12 x 45 228
3.25/4.00 | 1.50 | 3.062 | 1.688 | 1.69 .50 | 2.50 2.8
2 2 6118-32-32DM12#+ M12x1.75 ---
6117-40-32DM12+ 13.0 MKM 2575 M12 x 50 232
1/5? 4.00 | 4.50 | 1.75| 3.500 | 2.000 | 1.69 .50 | 2.50 5.7
2 /2 2 6118-40-32DM12+% M12x1.75 ---
6117-40-40DM12+ 13.0 MKM 2575 M12 x 50 232
1/52 1 4.00 | 4.50 | 1.75 | 3.500 | 2.000 | 2.12 .50 | 3.00 4.8
22| 22 (¢, 1540-a00m12+ M12x1.75
® 1 6117-48-40DM16 4 17.0 MKM 585 M16 x 60 237
.50 |5.31|2.00|4.188|2.438 | 2.12 .50 | 3.00 8.7
3 2 /2 6118-48-40DM16 M16x2 ---
® 6117-48-48DM16 17.0 MKM 585 M16 x 60 237
4.50|5.31|2.00|4.188 | 2.438 | 2.62 .50 | 3.50 7.2
3 3 6118-48-48DM16 M16x2 ---
6117-56-48DM16 17.0 MKM 1571 M16 x 50 241
1/5® 5.00 | 6.00 | 1.50 | 4.750 | 2.750 | 2.62 .50 | 3.50 7.2
3 /2 3 6118-56-48DM16 M16x2 ---
6117-56-56DM16 17.0 MKM 1571 M16 x 50 241
1/5@ 1 5.00 | 6.00 | 1.50 | 4.750 | 2.750 | 3.00 .50 | 4.00 5.9
32" 32 |4 1556560m16 M16x2
@ 6117-64-48DM16 17.0 MKM 1572 M16 x 50 245
5.50 | 6.38 | 1.50 | 5.125 | 3.062 | 2.62 .50 | 3.50 8.6
4 3 6118-64-48DM16 M16x2 ---
@ 6117-64-64DM16 17.0 MKM 1572 M16 x 50 245
5.50 | 6.38 | 1.50 | 5.125 | 3.062 | 3.44 .50 | 4.50 6.7
4 4 6118-64-64DM16 M16x2 ===
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 MATERIAL :
bolts, add an SS at the end of the kit number (MK 501SS). i
Please note that using stainless steel bolts may reduce the pressure rating of the assembly. 316L Stainless
O-Ring Style Companion Style
(Flat Face)
DRILL-G / TAP-J
e /B/a; Y
D
B K +———+ K +———+

l— n —
|— = —

J_s{<7//4

L 7z
?/

RORR G s 7.5
- SHE 1k
A — ¢ — — ¢c—
Model 6117 / 6119 Model 6118 / 6120

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE J518 62 SERIES / 1IS06162-2 PATTER
O G
FLS‘;::E ;::: NSQ';:R A B c D E F (J;_,:‘,:‘ H K PART NO. i ‘;:-I:]:\‘N sKIIzTE(D 0-RING WT
11/> 114 Zi;g:i:jggmz 3.254.50 | 1.50 | 3.125 | 1.437 | 1.16 M117€;>?2 50 | 1.75 |km 562} MI6x45 225 3.8
117/ | 11 ggzjijgmz 3.25|4.50 | 1.50 | 3.125 | 1.437 | 1.34 M1176;>(32 50 | 2.00 |kM 262 MI6 x 43 225 3.3
11> 2 054 3a0mic | 400|450 2.003.125 | 1.437 | 1.50 " .50 | 2.50 —1 6.9
2 11> :i;i:g;:;ig:‘ég 4.00 | 5.25|1.75|3.812 | 1.750 | 1.34 M2201);2.5 50 | 2.00 [KM 1348} M20 x 60 228 6.7
6119-32-32DM20 21.0 MKM 1548|  M20 x 60 228

2 2 55035 320Ma0 | 400 [5:25| 1.753.812 | 1.750 | 1.69 |- o .50 | 2.50 X ~——15.9
21> 2 21;2::8:;;33;2 5.00 | 6.88 | 2.00 | 4.875 | 2.312 | 1.69 M2254'i3 50 | 2.50 KM 1373] M4 x 70 232 13.2
21/ | 21/ :1;3::8::32522 5.00 | 6.88 | 2.00 | 4.875 | 2.312 | 2.12 M2254)‘:’3 50 | 3.00 [M 1373, M24 x 70 232 12.0
3 3 Zi;g::g:i:gxg 6.00 | 8.50 | 2.50 | 6.000 | 2.812 | 2.62 M;()2>'<(3).5 50 | 3.50 [ 1376} M30x 100 237 23.3
@ Order Separately @ 2500 PSI Max ® 2000 PSI Max @& 500 PSI Max

® Other Pipe and Tube Sizes are Available
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts 41
© Copyright MAIN Mfg. 2019



BUTT WELD IN-LINE FLANGES (Pg 1/2)

For Schedule XXS Pipe ®

SAE J518 61 SERIES / 1IS06162-1 PATTERN

FLANGE PIPE PART Gmm MOUNTING KIT®

SIZE SIZE NUMBER A B |C D E F Jmm H| K PART NO. | SCREw s1ze | o-rinG | W7
6121-08-08DM8 8.5 MKM 512 M8 x 35 210

1 1 1.50|2.12|1.25| 1.500 | .688 | .25 .38 | .88 .8
/2 /2 [6122-08-080M8 M8x1.25
6121-12-08DM10 10.5 MKM 1525 M10 x 35 214

3 1 1.75/2.62|1.25|1.875| .875 | .25 38 | .88 1.1
Ya /2 6122-12-08DM10 M10x1.5
6121-12-12DM10 10.5 MKM 1525 M10 x 35 214

3 3 1.75/2.62|1.25|1.875| .875 | .44 38 | 1.12 1.1
/a 4 [ G122-12-120M10 M10x1.5
6121-16-12DM10 10.5 MKM 1542 M10 x 35 219

3 2.00|2.82|1.38|2.062|1.031| .44 .50 | 1.12 1.4
1 Ya 6122-16-12DM10 M10x1.5
6121-16-16DM10 10.5 MKM 1542 M10 x 35 219

2.00|2.82|1.38|2.062 | 1.031 | .60 .50 | 1.38 1.4
1 1 6122-16-16DM10 M10x1.5
6121-20-16DM10* 10.5 MKM 4520 M10 x 35 222

1 2.50|3.191.38 | 2.312 | 1.188 | .60 .50 | 1.38 2.0
14 1 6122-20-16DM10* M10x1.5
6121-20-20DM10* 10.5 MKM 4520 M10 x 35 222

1 1 2.50|3.19|1.38 | 2.312 | 1.188 | .89 .50 | 1.75 1.9
1Ya | 14 {55 50m00mi0r M10x1.5

1 1y ———F—— 2.50 3.19|1.50 | 2.312 | 1.188 | 1.10 ——— .50 | 2.00 2.1
112 | 12 6122-20-24DM10t M10x1.5
6121-24-20DM12+ 13.0 MKM 4551 M12 x 40 225

1 1 2.75|3.75|1.50 | 2.750 | 1.406 | .89 .50 | 1.75 2.8
172 | 14 6122-24-20DM12+ M12x1.75
6121-24-24DM12+ 13.0 MKM 4551 M12 x 40 225

1 1 2.75|3.75 | 1.50 | 2.750 | 1.406 | 1.10 .50 | 2.00 2.7
12 | 12 [0 sanaomas M12x1.75

15 | 2 — 3.50 | 3.75 | 2.50 | 2.750 | 1.406 | 1.50 ———— .75 | 2.50 ——5.9
11> 2 6122-24-32DM12+ M12x1.75

MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
i bolts, add an SS at the end of the kit number (MK 501SS).
316L Stainless Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
O-Ring Style Companion Style
(Flat Face)

DRILL-G TAP-J
/ 7%/

TEZ

K +4————+

J—';%
o

7

K +—————

I

l— 1 —
l— 7 —

J_>4<7//4

SEE I 4 37.5° |
— H|— —H= K
A — ¢ — — ¢ —
Model 6121 / 6123 Model 6122 / 6124

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE J518 62 SERIES / 1IS06162-2 PATTER

[o] G
"cee | owe | womeen | A|B | C| D | E|FIMUIH|K [ e Jomme| WT
1> 1/ 2122:8::2:35: 1.75|2.22|1.25|1.594 | .718 | .25 M8?<115.25 38 | .88 [M>12 M8 x 35 210 9
3/4 1/ 2122:1;:822&18 2.00 | 2.81|1.25[2.000 | .937 | .25 M11(()J>I<i.5 38 | .8 [TaM 15251 M10x35 214 1.3
3/a 3/a Zi;iiiggmg 2.00 | 2.811.252.000 | .937 | .44 Mlltt)))i.S 38 | 112 [MRM15251 M0 X35 214 1.3
1 34 :Eii:izgmi 2.253.19 [ 1.50 | 2.250 | 1.093 | .44 M1121-15.75 50 | 1.12 [MRM 4569 M12 x40 219 2.0
6123-16-16DM12 12.5 MKM 4569|  M12 x 40 219
1 1 612416 16DM1a | 225|319 1:502.250 | 1.093 | .60 (oo o .50 | 1.38 X ——1 20
114 1 2122:;8:123312: 2.75(3.75|1.50 | 2.625 | 1.250 | .60 M1121'10.75 50 | 1.3g [ 1527 M12 x40 222 2.8
14 | 114 Ziizjgjggmi 2.75(3.75|1.50 | 2.625 | 1.250 | .89 M112:>3<'10.75 50 | 1.75 [TM 1527 M12 x40 222 2.8
12 | 12 [ 5asooanmias| 300|375 1.75| 2.625 | 1.250 | 1.10 [o——1 .75 | 2.00 — 3.1

@ Order Separately
® Other Pipe and Tube Sizes are Available
42 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



BUTT WELD IN-LINE FLANGES (Pg 2/2)

For Schedule XXS Pipe ®

SAE J518 61 SERIES / IS06162-1 PATTERN

FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B C D E F Jmm H K PART NO. SCREW SIZE | O-RING wWT
6121-32-20DM12+ 13.0 MKM 4552 M12 x 45 228
1 .25 | 4.00 1. .062 | 1. . . 1.7 .
2 1 /4 6122-32-20DM12+ 3.25 00 >0 (3.06 688 89 M12x1.75 50 > --- 3.5
6121-32-24DM12+ 13.0 MKM 4552 M12 x 45 228
1 3.25|4.00|1.50| 3.062 | 1.688 | 1.10 .50 | 2.00 3.5
2 1 /2 6122-32-24DM12+ M12x1.75 ---
6121-32-32DM12+ 13.0 MKM 4552 M12 x 45 228
3.25|4.00|1.75| 3.062 | 1.688 | 1.50 .75 | 2.50 3.6
2 2 6122-32-32DM12+ M12x1.75 ---
6121-40-32DM12+ 13.0 MKM 2575 M12 x 50 232
1/5? 4.00 | 4.50 | 2.00 | 3.500 | 2.000 | 1.50 .75 | 2.50 6.1
2 /2 2 6122-40-32DM12+ M12x1.75 ---
6121-40-40DM12+ 13.0 MKM 2575 M12 x 50 232
1/5? 1 4.00 | 4.50 | 2.00 | 3.500 | 2.000 | 1.77 .75 | 3.00 6.0
227 2Y2 (¢ a0a0omizs M12x1.75
® 1 6121-48-40DM16 4 17.0 MKM 585 M16 x 60 237
.50 |5.31|2.25|4.188 | 2.438 | 1.77 .75 | 3.00 9.5
3 2 /2 6122-48-40DM16 M16x2 ---
® 6121-48-48DM16 17.0 MKM 585 M16 x 60 237
450 |5.31|2.25|4.188 | 2.438 | 2.30 .75 | 3.50 8.8
3 3 6122-48-48DM16 M16x2 ---
6121-56-48DM16 17.0 MKM 1571 M16 x 50 241
1/5,® 5.00|6.00|1.75|4.750 | 2.750 | 2.30 .75 | 3.50 7.9
3 /2 3 6122-56-48DM16 M16x2 ---
6121-56-56DM16 17.0 MKM 1571 M16 x 50 241
1/5@ 1 5.00 | 6.00 | 1.75 | 4.750 | 2.750 | 2.73 .75 | 4.00 7.6
312" 32 [¢i256560m16 M16x2
@ 6121-64-48DM16 17.0 MKM 1572 M16 x 50 245
5.50|6.38|1.75| 5.125| 3.062 | 2.30 .75 | 3.50 9.3
4 3 6122-64-48DM16 M16x2 ---
@ 6121-64-64DM16 17.0 MKM 1572 M16 x 50 245
5.50|6.38|1.75| 5.125 | 3.062 | 3.15 .75 | 4.50 8.7
4 4 6122-64-64DM16 M16x2 --=
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 MATERIAL :
bolts, add an SS at the end of the kit number (MK 501SS). i
Please note that using stainless steel bolts may reduce the pressure rating of the assembly. 316L Stainless
0O-Ring Style Companion Style
(Flat Face)
DRILL-G / TAP-J
78 Y
D
B K 4+———+1 K +———+1

l— m —
|— = —

J_s{<7//4

L 7z
?/

RORR G as | 7.5
- SHE 1k
A — ¢ — — ¢ —
Model 6121 / 6123 Model 6122 / 6124

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE J518 62 SERIES / 1IS06162-2 PATTER
O G
FLS‘;::E ;::: NSQ';:R A B c D E F (J;_:: H K PART NO. i ‘;:-I:]:\‘N sKIIzTE(D 0-RING WT
11/> 114 Zi;i:i:jggmz 3.254.50 | 1.50 | 3.125 | 1.437 | .89 M117€;>?2 50 | 1.75 |km 562} MI6x45 225 3.9
1172 11> giiz:iijgmz 3.254.50 | 1.50 | 3.125 | 1.437 | 1.10 M1176;>(32 50 | 2.00 |KM 302} MI6 X 45 225 3.9
11> 2 cusasaomic | 400|450 2.003.125|1.437 | 1.50 oo .75 | 2.50 — 6.0
2 11> :i;i:g;:i:g:‘ég 4.00 | 5.25|1.75|3.812 | 1.750 | 1.10 M2201);2.5 50 | 2.00 [KM 1348} M20 x 60 228 6.9
6123-32-32DM20 21.0 MKM 1548|  M20 x 60 228

2 2 [ 55a35320Ma0 | 400 [5:25|2.003.812 | 1.750 | 1.50 |-oo o 75 | 2.50 X ~——6.9
21> 2 gizi:igzzigm: 5.00 | 6.88 | 2.50 | 4.875 | 2.312 | 1.50 M2254'i3 75 | 2.50 KM 1375 M24 x 70 232 15.8
21/ | 21/ :122::8::8232: 5.00 | 6.88 | 2.50 | 4.875 | 2.312 | 1.77 MZ;'; 75 | 3.00 [IKM 13751 M2d x 70 232 15.7
3 3 2122::2:2:2538 6.00 | 8.50 | 3.00 | 6.000 | 2.812 | 2.30 M;o2>'<(3).5 88 | 3.50 [NM 1576 M30x 100 237 27.4
@ Order Separately @ 2500 PSI Max ® 2000 PSI Max @& 500 PSI Max

® Other Pipe and Tube Sizes are Available
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts 43
© Copyright MAIN Mfg. 2019



BUTT WELD ELBOW FLANGES (Pg 1/2)

For Schedule 40 Pipe ®

SAE 1518 61 SERIES / IS06162-1 PATTERN

FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B |C D E F Jmm H| K PART NO. | SCREw s1ze | o-rinG | W7
6133-08-08DM8 8.5 MKM 541 M8 x 50 210
1 1 2.00|2.12|1.44|1.500 | .688 | .62 .75 | .88 1.3
/2 /2 6134080808 M8x1.25
6133-12-08DM10 10.5 MKM 542 M10 x 60 214
3 1 2.25|2.62|1.70|1.875| .875 | .62 .88 | .88 2.1
Ya /2 6134-12-08DM10 M10x1.5
6133-12-12DM10 10.5 MKM 542 M10 x 60 214
3 3 2.25|2.62|1.70|1.875| .875 | .82 .88 | 1.12 2.1
/a 4 [ G134-12-120M10 M10x1.5
6133-16-12DM10 10.5 MKM 543 M10 x 65 219
3 2.50|2.82|1.94 | 2.062 | 1.031 | .82 1.00| 1.12 2.
1 Ya 6134-16-12DM10 | 20 | 28 o 06 031 82 o owts | 100 8
6133-16-16DM10 10.5 MKM 543 M10 x 65 219
2.50 | 2.82 | 1.94 | 2.062 | 1.031 | 1.04 1.00| 1.38 2.8
1 1 6134-16-16DM10 M10x1.5
6133-20-16DM10* 10.5 MKM 4532 M10 x 75 222
1 3.00 | 3.19 | 2.40 | 2.312 | 1.188 | 1.04 1.25| 1.38 4.8
14 1 6134-20-16DM10*t M10x1.5
6133-20-20DM10* 10.5 MKM 4532 M10 x 75 222
1 1 3.00 | 3.19 | 2.40 | 2.312 | 1.188 | 1.38 1.25| 1.75 4.7
1Ya | 14 (550 00mior M10x1.5
6133-20-24DM10* 10.5 MKM 4597 M10 x 90 222
1 1 3.003.19 | 3.00 | 2.312 | 1.188 | 1.61 1.25| 2.00 5.7
112 | 12 6134-20-24DM10* M10x1.5
6133-24-20DM12# 13.0 MKM 4533 M12 x 90 225
1 1 3.253.75|2.90 | 2.750 | 1.406 | 1.38 1.38( 1.75 6.8
172 | 14 6134-24-20DM12# M12x1.75
6133-24-24DM12# 13.0 MKM 4533 M12 x 90 225
1 1 3.253.75|2.90 | 2.750 | 1.406 | 1.61 1.38 2.00 6.7
12 | 12 [ 5sasaomies M12x1.75
6133-24-32DM12# 13.0 MKM 3521 M12 x 100 225
1 3.50 | 3.75 | 3.50 | 2.750 | 1.406 | 2.06 1.38| 2.50 9.1
11> 2 6134-24-32DM12+ M12x1.75
MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
Mk bolts, add an SS at the end of the kit number (MK 501SS).
316L Stainless Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
O-Ring Style Companion Style
(Flat Face)

—

37.5°

+H =

—
>é_'_2~—

r 77

c TAP-J c

]

D, ©
O T
\&\Y’

Model 6133 / 6135 Model 6134 / 6136

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE 3518 62 SERIES / 1IS06162-2 PATTER
[o] G
" | G | wmem | A B[ C| D | E|FFMIH| K o scaewsie [omne|WT
1/ 1/ zizz:gzzg:gm: 2.25(2.22|1.46 | 1.594 | .718 | .62 Msil15.25 88 | .gg |KM 341 M8 x 50 210 1.5
3/a 1/» Zg::i;:g:gmg 2.50|2.81|1.70 | 2.000 | .937 | .62 M11<;)>i.5 1.00| .88 MKM 542 M10 x 60 214 2.6
3/a 3/a :1;21;32218 2.50|2.81|1.70 | 2.000 | .937 | .82 M11(;)>£.5 1.00( 1.12 MKM 542 M10 x 60 214 2.5
1 3/ :1;21:33215 2.75|3.19|2.21 | 2.250 | 1.093 | .82 M1121-15.75 1.12] 1,12 [MKM 2533 M12x 75 219 4.1
6135-16-16DM12 12.5 MKM 2533|  M12 x 75 219
1 1 6136-16-16DM1a | 275|319 2:21|2.250 | 1.093 | 1.04 [o-oP o 1,12 1.38 : ——1 4.0
114 1 Zigz:igjggm;i 3.25|3.75|2.44 | 2.625 | 1.250 | 1.04 M1121-10.75 138 1.38 [ kM 378 | MI2 X80 222 6.3
14 | 114 Zigz:igjggm;i 3.25(3.75|2.44 | 2.625 | 1.250 | 1.38 M1121-10.75 138 1.75 | KM 578 Hi2x80 222 6.1

@ Order Separately
® Schedules 80, 160 and XXS also Stocked. Other Pipe and Tube Sizes are Available
44 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



For Schedule 40 Pipe ®

SAE 1518 61 SERIES / IS06162-1 PATTERN

BUTT WELD ELBOW FLANGES (Pg 2/2)

bolts, add an SS at the end of the kit number (MK 501SS).
Please note that using stainless steel bolts may reduce the pressure rating of the assembly.

37.5°

+H =

S, O

©
Al

3181 TRI-PARK DR.

GRAND BLANC, MI 48439

O-Ring Style

T

T—

7

Model 6133 / 6135

DRILL-G
V.

TAP-J

Companion Style

(Flat Face)

k%

—+
e

—
T TP

)

74
/7

r 77

Model 6134 / 6136

(o) G
"Gee | swe | wwee | A|B | C|D | E | FISMIH| K [ ™ ewsme o] WT
2 114 :izgiiggmii 3.75[4.00 | 3.40 | 3.062 | 1.688 | 1.38 M1121.10.75 162 1.75 | KM 4334, M12 x 100 228 9.9
2 11/ Zizzgiiigmii 3.75[4.00 | 3.40 | 3.062 | 1.688 | 1.61 M1121.10.75 162 2.00 | KM 4234, M12 X 100 228 9.7
2 2 Zizzi;zgmii 3.75[4.00 | 3.40 | 3.062 | 1.688 | 2.06 M112?<.10.75 162 2.50 | KM 4334, M12 x 100 228 9.2
215% 2 :122:28:22333: 4.50 | 4.50 | 3.96 | 3.500 | 2.000 | 2.06 M1121.10.75 2.00| 2.50 MM 4535, MI12x120 | 232 J,,
21/5°% 21/ 2132:28:233312: 4.50 | 4.50 | 3.96 | 3.500 | 2.000 | 2.47 M1121.10.75 2.00| 3.00 [MKM 4535 M12x 120 232 14.5
3° | 214 Ziii::::iggmz 5.00 [ 5.31 | 4.96 | 4.188 | 2.438 | 2.47 M1176.>(()2 2.25|3.00 | KM 248 | MI16 X150 237 24.6
6133-48-48DM16 17.0 MKM 548 |  M16 x 150 237
3° 3 ei3i 4o sspmie | 500|531 [ 4.6 | 4.188 | 2.438 | 3.06 - ——2.25) 3.50 = =231
31A% 3 Zgi:gg:iggmz 5.50 | 6.00 | 5.40 | 4.750 | 2.750 | 3.06 M117é22 2.50( 3.50 [ KM 249 | MI6X160 | 241 1,5,
314% 31/ :gi:g::g:gmg 5.50 | 6.00 | 5.40 | 4.750 | 2.750 | 3.54 M1176.)(()2 2.50| 4.00 [ 1KM 249 | MI6X160 | 241 1,
6133-64-48DM16 17.0 MKM 550 |  M16 x 180 245
4° 3 eisicsssomic | 6:00| 638|596 |5.125 | 3.062 | 3.06 - ——2.75| 3.50 x = {a1.4
6133-64-64DM16 17.0 MKM 550 |  M16 x 180 245
4° 4 134-64-64DM16 | 000 | 6:38 | 5.96 | 5.125 | 3.062 | 4.02 |— - 2.75 | 4.50 > ——{38.0
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 MATERIAL :

316L Stainless

800-521-7918 810-953-1380 FAX 810-953-1385

INFO@MAINMFG.COM

SAE ])518 62 SERIES / 1IS06162-2 PATTER
FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B C D E F Jmm H K PART NO. SCREW SIZE
6135-24-20DM16 17.0 MKM 553 M16 x 100
1 1 .75 | 4.50 | 2. 125 1.437 | 1. 1.62 1.7
172 | 1Va [5ooaz00mie | 375|450 | 2:96| 3.125 | 1.437 | 1.38 | oo —1.6 >
6135-24-24DM16 17.0 MKM 553 M16 x 100 225
1 1 .75 | 4.50 | 2. 125 1.437 | 1.61 1.62 ] 2. 10.
12 | 12 [¢5c500a0mie | 375|450 | 296 | 3125 | 1437 | 161 [0 o162 2.00 e
6135-32-24DM20 21.0 MKM 554 | 3/4-10 x 120 228
1 4. .25 |3.46|3.812|1.750 | 1.61 2.00] 2. 16.
2 11> 6136-32-24DM20 | 00 [ 32534638 50| 1.61 o oxa.s | 2:00 | 200 6.8
6135-32-32DM20 21.0 MKM 554 | 3/4-10 x 120 228
4. .25 |3.46|3.812|1.750 | 2. 2.00] 2. 16.2
2 2 6136-32-32DM20 | 00 [ 32534638 50 12.06 70 oxas | 2:00 | 230 6
6135-40-32DM24 25.5 MKM 2557  M24 x 150 232
1 . .88 |4.50 | 4.875 | 2.312 | 2. 2.50| 2. .
21> 2 6136-40-32DM2a | 550 | 6:88 | 4.50 | 4.875 | 2.3 06 [— o~ 2.50| 2.50 —=—136.3
6135-40-40DM24 25.5 MKM 2557  M24 x 150 232
1 1 . .88 | 4.50 | 4.875 | 2.312 | 2.47 2. . 4
21> | 21> 6136-40-40DM2a | 550 | 6:88 | 4.50 | 4.875 | 2.3 aans | 2:50| 3.00 —=—135
6135-48-48DM30 32.0 MKM 556 M30 x 180 237
. . . . 2.812 | 3. . . 7.2
3 3 [ ei3548a8om30 | 650 | 850|500 6.000 | 2.812 | 3.06 |- —"—3.00 | 3.50 ——15
® Order Separately @ 2500 PSI Max @ 2000 PSI Max @ 500 PSI Max
® Schedules 80, 160 and XXS also Stocked. Other Pipe and Tube Sizes are Available
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. T Also Available for M12 Bolts # Also Available for M14 Bolts 45

© Copyright MAIN Mfg. 2019



BUTT WELD ELBOW FLANGES (Pg 1/2)

For Schedule 80 Pipe ®

SAE 1518 61 SERIES / IS06162-1 PATTERN

FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B |C D E F Jmm H| K PART NO. | SCREw s1ze | o-rinG | W7
6137-08-08DM8 8.5 MKM 541 M8 x 50 210
1 1 2.00 | 2.12 | 1.44 | 1. . . 75 | . 1.
/2 /2 [6138-08-030M8 | > 500 .688 | .53 oo 125 72| 88 3
6137-12-08DM10 10.5 MKM 542 M10 x 60 214
3 1 2.25/2.621.70 | 1.875 | .875 | . ) . 2.1
Ya /2 6138-12-08DM10 5|26 0|1.875] .875 | .53 oioq5| 88| 88
6137-12-12DM10 10.5 MKM 542 M10 x 60 214
3 3 2.25|2.62|1.70 | 1.875| .875 | .7 ) 1.12 2.
/a Y4 [o135-12-120mM10 | 225 | 26 0|1.875) .875 | .73 oioii 5| 88 0
6137-16-12DM10 10.5 MKM 543 M10 x 65 219
3 2.50|2.82|1.94|2.062 | 1.031 | .73 1.00| 1.12 2.8
1 Ya 6138-16-12DM10 M10x1.5
6137-16-16DM10 10.5 MKM 543 M10 x 65 219
2.50 | 2.82|1.94|2.062|1.031| .04 1.00] 1. 2.
1 1 6138-16-16DM10 | 20 | 28 9 06 031 94 Mo ioxr.s | 100 1-38 8
6137-20-16DM10* 10.5 MKM 4532 M10 x 75 222
1 . 19 2.40|2.312| 1.1 .94 1.25] 1. 4.
14 1 6138-20-16DM107| > 00 | 319 0f23 88| 9% iox1.s >[1-38 8
6137-20-20DM10* 10.5 MKM 4532 M10 x 75 222
1 1 . 19 2.40|2.312| 1.1 1.2 1.25/ 1.7 4.
1a | 14 (5550 200mi07| 300 | 319|240 | 23 88 | 1.23 o owrs | 120 170 6
6137-20-24DM10* 10.5 MKM 4597 M10 x 90 222
1 1 . .19 /3.00|2.312| 1.1 1.4 1.25] 2. .
112 | 12 6138-20-24DM107| >0 | 3:19|3:00| 23 88 8 Miox1s >(2:00 - 1°°
6137-24-20DM12# 13.0 MKM 4533 M12 x 90 225
1 1 .25/3.75|2.90 | 2.7 1.406 | 1.2 1.38 1.7 7.
172 | 14 6138-24-20DM12% | > 2> | 375 2:90 50 06 3 Mi2x1.75| 138 > 0
6137-24-24DM12# 13.0 MKM 4533 M12 x 90 225
1 1 3.25|3.75/2.90 | 2.750 | 1.406 | 1.48 1.38 2.00 6.8
12 | 12 [ 5ssanaomies M12x1.75
6137-24-32DM12# 13.0 MKM 3521 M12 x 100 225
1 3.50 | 3.75 | 3.50 | 2.750 | 1.406 | 1.94 1.38 2.50 9.1
11> 2 6138-24-32DM12+ M12x1.75
MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
Mk bolts, add an SS at the end of the kit number (MK 501SS).
316L Stainless Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
O-Ring Style Companion Style
(Flat Face)

—

37.5°

+H =

—
>é_'_2~—

r 77

c TAP-J c

]
D, ©
O T
\&\Y’

Model 6137 / 6139 Model 6138 / 6140

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE 3518 62 SERIES / 1IS06162-2 PATTER
[o] G
" | G | wmem | A B[ C| D | E|FFMIH| K o scaewsie [omne|WT
1/ 1/ zizz:gzzg:gm: 2.25(2.221.46 | 1.594 | .718 | .53 Msil15.25 88 | .gg |KM 341 M8 x 50 210 1.6
3/, 1/ :123:12:8:5218 2.50 | 2.811.70 | 2.000 | .937 | .53 M11<?>i.5 1.00| gg |MKM>42| MI10x60 24 16
3/a 3/a :123:1;:32218 2.50|2.81|1.70 | 2.000 | .937 | .73 M11(;)>£.5 1.00( 1.12 MKM 542 M10 x 60 214 2.5
1 3/ :123:1::33215 2.75|3.19|2.21 | 2.250 | 1.093 | .73 M1121-15.75 1.12] 1,12 [MKM 2533 M12x 75 219 4.1
6139-16-16DM12 12.5 MKM 2533|  M12 x 75 219
1 1 6140-16-16DM1a | 275|319 2:21|2.250 | 1.093 | .94 [o-or 1,12 1.38 : 4.1
114 1 Zizzjgjggm;i 3.25|3.75|2.44 | 2.625 | 1.250 | .94 M1121-10.75 138 1.38 [ kM 378 | MI2 X80 222 6.4
14 | 114 Ziii:;gjggm;i 3.25(3.75|2.44 | 2.625 | 1.250 | 1.23 M1121-10.75 138 1.75 | KM 578 Hi2x80 222 6.2

@ Order Separately
® Schedules 40, 160 and XXS also Stocked. Other Pipe and Tube Sizes are Available
46 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



For Schedule 80 Pipe ®

SAE 1518 61 SERIES / IS06162-1 PATTERN

BUTT WELD ELBOW FLANGES (Pg 2/2)

bolts, add an SS at the end of the kit number (MK 501SS).
Please note that using stainless steel bolts may reduce the pressure rating of the assembly.

37.5°

+H =

S, O

©
Al

3181 TRI-PARK DR.

GRAND BLANC, MI 48439

O-Ring Style
—

T—

7

Model 6137 / 6139

DRILL-G
V.

Companion Style

(Flat Face)

k%

—+
e

—
T TP

)

74
/7

TAP-J

r 77

Model 6138 / 6140

[o] G
"owe | St | wowsn | A B C| D | EFISMIH| K | e s Joma| VT
2 114 :izggiiggm;i 3.75|4.00 | 3.40 | 3.062 | 1.688 | 1.23 M1121.10.75 162 1.75 | KM 4334, M12 x 100 228 10.1
2 11> Zii;giiigmii 3.754.00 | 3.40 | 3.062 | 1.688 | 1.48 M1121.10.75 162 2.00 | KM 4234, M12 X 100 228 9.9
2 2 Zi;g;;;igmii 3.754.00 | 3.40 | 3.062 | 1.688 | 1.94 M112?<-10.75 1.62| 2.50 [KM4234)  M12x 100 228 9.4
215% 2 :12;28:22333: 4.50 | 4.50 | 3.96 | 3.500 | 2.000 | 1.94 M1121.10.75 2.00| 2.50 MM 4535, M12x120 | 232 1, ,
21/5°% 21/ Zii;ig:iggmii 4.50 | 4.50 | 3.96 | 3.500 | 2.000 | 2.32 M1121.10.75 2.00| 3.00 (KM 4535, MI2x120 | 232 1, ¢
3° | 214 Zii;::::iggmz 5.00 | 5.31 | 4.96 | 4.188 | 2.438 | 2.32 M1176.>(()2 2.25| 3.00 [ KM 248 | MIOX10 L 237 1o44
6137-48-48DM16 17.0 MKM 548 | M16 x 150 237
3° 3 [ ei3sasasomig| 500 | 531|496 4.188 | 2.438 | 2.90 = —2.25| 3.50 = ——123.6
31A% 3 :g;jz:iggmz 5.50 | 6.00 | 5.40 | 4.750 | 2.750 | 2.90 M1176'22 2.50| 3.50 | xM 49 | MI6 x 160 241 1328
314% 31/ :g;:g::z:gmg 5.50 | 6.00 | 5.40 | 4.750 | 2.750 | 3.36 M1176.)(()2 2.50 | 4.00 [ 1KM 249 | MI6X160 | 241 15 g
6137-64-48DM16 17.0 MKM 550 | M16 x 180 245
4° 3 eisoeasspmie | 6:00| 638|596 |5.125 | 3.062 | 2.90 2,75 3.50 x —>{42.0
6137-64-64DM16 17.0 MKM 550 | M16 x 180 245
4° 4 138-64-64DM 16 | 000 | 6:38 | 5.96 | 5.125 | 3.062 | 3.83 |— - 2.75 | 4.50 > ——38.8
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 MATERIAL :

316L Stainless

800-521-7918 810-953-1380 FAX 810-953-1385

INFO@MAINMFG.COM

SAE ])518 62 SERIES / 1IS06162-2 PATTER
FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B C D E F Jmm H K PART NO. SCREW SIZE
6139-24-20DM16 17.0 MKM 553 M16 x 100
1 1 .75 | 4.50 | 2. 1251.437 | 1.2 1.62 1.7
12 | 1Va [(iiozaz00mie | 375|450 | 2:96|3.125 | 1.43 3 v |1 >
6139-24-24DM16 17.0 MKM 553 M16 x 100 225
1 1 .75 | 4.50 | 2. 1251.437 | 1.4 1.62 ] 2. 10.2
12 | 12 [(oaaaome | 37% | 450|296 | 3125 | 143 8 Tmiexa | 102|290 .
6139-32-24DM20 21.0 MKM 554 | 3/4-10 x 120 228
1 4. .25|3.46|3.812|1.750 | 1.4 2.00] 2. 17.
2 11> 6140-32-24DM20 | 00 [ 32534638 >0 8 w2oxa.5 | 200 2:00 0
6139-32-32DM20 21.0 MKM 554 | 3/4-10 x 120 228
4. .25 3.46|3.812|1.750 | 1.94 2.00] 2. 16.4
2 2 6140-32-32DM20 | 00 [ 32534638 50 | 1.94 0 oxa.s | 200 230 6
6139-40-32DM24 25.5 MKM 2557  M24 x 150 232
1 . .88 |4.50 | 4.875 | 2.312 | 1.94 2.50| 2. .
21> 2 6140-40-32DM2a | 550 | 6:88 | 4.50 | 4.875 | 2.3 vy 50| 2.50 —=—136.6
6139-40-40DM24 25.5 MKM 2557  M24 x 150 232
1 1 . .88 | 4.50 | 4.875 | 2.312 | 2.32 2. . .
21> | 21> 6140-40-40DM2a | 550 | 6:88 | 4.50 | 4.875 | 2.3 32 [oas 50| 3.00 —=—135.8
6139-48-48DM30 32.0 MKM 556 M30 x 180 237
. . . . 2.812 | 2. . . .
3 3 [ eizoasasomso | 650|850 5.00 | 6.000 | 2.8 90 (=0 =3.00 3.50 ——158.0
® Order Separately @ 2500 PSI Max @ 2000 PSI Max @ 500 PSI Max
® Schedules 40, 160 and XXS also Stocked. Other Pipe and Tube Sizes are Available
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. T Also Available for M12 Bolts # Also Available for M14 Bolts 47

© Copyright MAIN Mfg. 2019



BUTT WELD ELBOW FLANGES (Pg 1/2)

For Schedule 160 Pipe ®

SAE 1518 61 SERIES / IS06162-1 PATTERN

FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B |C D E F Jmm H| K [T No.| screw size | o-ring | WY
6141-08-08DM8 8.5 MKM 541 M8 x 50 210
1 1 2.00|2.12|1.44 | 1.500 | .688 | .47 .75 | .88 1.3
/2 /2 [6142-08-080M8 M8x1.25
6141-12-08DM10 10.5 MKM 542 M10 x 60 214
3 1 2.25|2.62|1.70|1.875| .875 | .47 .88 | .88 2.1
a /2 6142-12-08DM10 M10x1.5
6141-12-12DM10 10.5 MKM 542 M10 x 60 214
3 3 2.25|2.62|1.70 | 1.875| .875 | .61 .88 | 1.12 2.1
a Y4 [ G1a2-12-120M10 M10x1.5
6141-16-12DM10 10.5 MKM 543 M10 x 65 219
3 2.50|2.82|1.94|2.062|1.031| .61 1.00| 1.12 2.
1 Ya 6142-16-12DM10 | 20 | 28 o 06 0311 .61 Mioxi.s | 100 °
6141-16-16DM10 10.5 MKM 543 M10 x 65 219
2.50 | 2.82 | 1.94 | 2.062 | 1.031 | .81 1.00| 1.38 2.8
1 1 6142-16-16DM10 M10x1.5
6141-20-16DM10t 10.5 MKM 4532 M10 x 75 222
1 3.00 | 3.19 | 2.40 | 2.312 | 1.188 | .81 1.25| 1.38 4.8
14 1 6142-20-16DM10t M10x1.5
6141-20-20DM10t 10.5 MKM 4532 M10 x 75 222
1 1 3.00 | 3.19 | 2.40 | 2.312 | 1.188 | 1.16 1.25| 1.75 4.7
1Ya | 14 i s0200mi0r M10x1.5
6141-20-24DM10t 10.5 MKM 4597 M10 x 90 222
1 1 3.00 | 3.19 | 3.00|2.312|1.188 | 1.34 1.25| 2.00 5.6
112 | 12 6142-20-24DM10t M10x1.5
6141-24-20DM12% 13.0 MKM 4533 M12 x 90 225
1 1 3.253.75|2.90 | 2.750 | 1.406 | 1.16 1.38| 1.75 7.1
172 | 14 6142-24-20DM12% M12x1.75
6141-24-24DM12% 13.0 MKM 4533 M12 x 90 225
1 1 3.25|3.75/2.90 | 2.750 | 1.406 | 1.34 1.38 2.00 6.9
12 | 12 [ ionasaomias M12x1.75
6141-24-32DM12% 13.0 MKM 3521 M12 x 100 225
1 3.50 | 3.75 | 3.50 | 2.750 | 1.406 | 1.69 1.38| 2.50 9.2
112 2 6142-24-32DM12% M12x1.75
MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
Ml bolts, add an SS at the end of the kit number (MK 501SS).
316L Stainless Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
O-Ring Style Companion Style
(Flat Face)

—

37.5°

+H =

—
>é_'_2~—

r 77

c TAP-J c

]
D, ©
O T
\&\Y’

Model 6141 / 6143 Model 6142 / 6144

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE 3518 62 SERIES / 1IS06162-2 PATTER
[o] G
" | G | wmem | A B[ C| D | E|FFMIH| K o scaewsie [omne|WT
1/ 1/> zi:i:gzzgzgm: 2.25(2.22|1.46 | 1.594 | .718 | .47 Msil15.25 88 | .88 |KkM 341 M8 x 50 210 1.6
3/a 1/» Ziii:ii:g:gmg 2.50|2.81|1.70 | 2.000 | .937 | .47 M11<;)>i.5 1.00| .88 MKM 542 M10 x 60 214 2.6
3/a 3/a :ﬁijijzgmg 2.50|2.81|1.70|2.000 | .937 | .61 M11(;)>£.5 1.00( 1.12 MKM 542 M10 x 60 214 2.6
1 3/ :122:12:33215 2.75|3.192.21|2.250 | 1.093 | .61 M1121-15.75 1.12] 1,12 [MKM 2533 M12x 75 219 4.2
6143-16-16DM12 12.5 MKM 2533|  M12 x 75 219
i | 1 c144-16-16DM1a | 275|319 2:21]2.250 | 1.093 | .81 (oo 1,12 1.38 : 4.1
114 1 Zi:zjgjggmi 3.25|3.75|2.44 | 2.625 | 1.250 | .81 M1121-10.75 138 1.38 | kM 378 | MI2x80 222 6.5
12 14 Zi:i:;gjggmi 3.25|3.75|2.44 [ 2.625 | 1.250 | 1.16 M1121-10.75 138 1.75 [KM 378 | MI2 X80 222 6.3

@ Order Separately
® Schedules 40, 80 and XXS also Stocked. Other Pipe and Tube Sizes are Available
48 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



For Schedule 160 Pipe ®

SAE 1518 61 SERIES / IS06162-1 PATTERN

BUTT WELD ELBOW FLANGES (Pg 2/2)

bolts, add an SS at the end of the kit number (MK 501SS).
Please note that using stainless steel bolts may reduce the pressure rating of the assembly.

37.5°

+H =

S, O

©
Al

3181 TRI-PARK DR.

GRAND BLANC, MI 48439

O-Ring Style
—

T—

7

Model 6141 / 6143

DRILL-G
72V e

800-521-7918 810-953-1380 FAX 810-953-1385

(o) G
"cwe | owe | wowee | A|B | C| D | E|FIMUIH|K [ e Tomme| WT
2 114 :i:;giiggm;i 3.75|4.00 | 3.40 | 3.062 | 1.688 | 1.16 M1121.10.75 162 1.75 | KM 4334, M12 x 100 228 10.1
2 |11 Zi:;giiigmii 3.75 | 4.00 | 3.40 | 3.062 | 1.688 | 1.34 M1121.10.75 1.62| 2.00 KM 4534 MI2x100 | 228 1,4,
2 2 Zi:;gi;igmii 3.754.00 | 3.40 | 3.062 | 1.688 | 1.69 M112?<-10.75 162 2.50 | KM 4334, M12 x 100 228 198
2152 2 :i:;:zgjigmi: 4.50 | 4.50 | 3.96 | 3.500 | 2.000 | 1.69 Mllzifjs 2.00| 2.50 "KM 4535 M12x 120 22 liss
21/5°% 21/ Zi:;:ig:iggmii 4.50 | 4.50 | 3.96 | 3.500 | 2.000 | 2.12 M1121.10.75 2.00| 3.00 [MKM 4535 M12x 120 232 15.2
3° | 214 Zii;:::iggmz 5.00 | 5.31 | 4.96 | 4.188 | 2.438 | 2.12 M1176.>(()2 2.25|3.00 | KM 248 | MI16 X150 237 25.4
6141-48-48DM16 17.0 MKM 548 | M16 x 150 237
3° 3 eiso 4 ssomie | 500|531 [ 496 | 4.188 | 2.438 | 2.62 - ——2.25) 3.50 = =" 24.4
31A% 3 Zii;zg::iggmz 5.50 | 6.00 | 5.40 | 4.750 | 2.750 | 2.62 M117é22 2.50| 3.50 | xM 49 | MI6 x 160 241 33.6
314% 31/ :12:2::2:5312 5.50 | 6.00 | 5.40 | 4.750 | 2.750 | 3.00 M117é:2 2.50 | 4.00 [ KM 249 | MI6X160 | 241 1,5,
6141-64-48DM16 17.0 MKM 550 | M16 x 180 245
4° 3 eisocassomie | 6:00| 638|596 5125 3.062 | 2.62 - ——2.75| 3.50 x > {a2.9
6141-64-64DM16 17.0 MKM 550 | M16 x 180 245
4° 4 o eieiomie | 6:00|6:38|5.96|5.125 | 3.062 | 3.44 275 | 4.50 > —>140.4
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 MATERIAL :

316L Stainless

Companion Style
(Flat Face)

—
>é_'_2~
)
-

r 77

TAP-J

Model 6142 / 6144

INFO@MAINMFG.COM

SAE ])518 62 SERIES / 1IS06162-2 PATTER
FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B C D E F Jmm H K PART NO. SCREW SIZE
6143-24-20DM16 17.0 MKM 553 M16 x 100
1 1 .75 | 4.50 | 2. 125 1.437 | 1.1 1.62 1.7
12 | 1Va [asas0omie | 375|450 | 2:96|3.125 | 1.43 6 Miex2 |1 >
6143-24-24DM16 17.0 MKM 553 M16 x 100 225
1 1 .75 | 4.50 | 2. 125 1.437 | 1.34 1.62 ] 2. 10.
12 | 12 [¢iisaaaome | 375|450 296 | 3125 | 1437 | 134 [0 7| 162 2.00 e
6143-32-24DM20 21.0 MKM 554 | 3/4-10 x 120 228
1 4. .25 3.46|3.812|1.750 | 1.34 2.00] 2. 17.
2 11> 6144-32-24DM20 | 00 [ 2534638 50| 1.34 0 oxa.s | 2:00 | 2:00 8
6143-32-32DM20 21.0 MKM 554 | 3/4-10 x 120 228
4. .25|3.46|3.812|1.750 | 1. 2.00] 2. 16.
2 2 6144-32-32DM20 | 00 [ 32534638 50| 1.69 0 oxa.s | 2:00 | 230 6.8
6143-40-32DM24 25.5 MKM 2557  M24 x 150 232
1 . .88 |4.50 | 4.875 | 2.312 | 1. 2.50| 2. .
21> 2 6124-20-30DM2a | 550 | 6:88 | 4.50 | 4.875 | 2.3 69 iaryg | 250 | 2:50 —=—136.6
6143-40-40DM24 25.5 MKM 2557  M24 x 150 232
1 1 . .88 | 4.50 | 4.875 | 2.312 | 2.12 2. . .
21> | 21> e124-20-40DM2a | 550 | 6:88 | 4.50 | 4.875 | 2.3 aans | 2:50| 3.00 —=—136.3
6143-48-48DM30 32.0 MKM 556 M30 x 180 237
. . . . 2.812 | 2.62 . . .
3 3 [ eiziasasomso | 650|850 500 6.000 | 2.8 62 [ =3.00 3.50 ——159.0
® Order Separately @ 2500 PSI Max @ 2000 PSI Max @ 500 PSI Max
® Schedules 40, 80 and XXS also Stocked. Other Pipe and Tube Sizes are Available
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. T Also Available for M12 Bolts # Also Available for M14 Bolts 49

© Copyright MAIN Mfg. 2019



BUTT WELD ELBOW FLANGES (Pg 1/2)

For Schedule XXS Pipe ®

SAE 1518 61 SERIES / IS06162-1 PATTERN

FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B |C D E F Jmm H| K [T No.| screw size | o-ring | WY
6145-08-08DM8 8.5 MKM 541 M8 x 50 210
1 1 2.00|2.12|1.44|1.500 | .688 | .25 .75 | .88 1.3
/2 /2 6146080808 M8x1.25
6145-12-08DM10 10.5 MKM 542 M10 x 60 214
3 1 2.25|2.62|1.70 | 1.875| .875 | .25 .88 | .88 2.1
Ya /2 6146-12-08DM10 M10x1.5
6145-12-12DM10 10.5 MKM 542 M10 x 60 214
3 3 2.25|2.62|1.70|1.875| .875 | .44 .88 | 1.12 2.1
/a 4 [ G1a6-12-120M10 M10x1.5
6145-16-12DM10 10.5 MKM 543 M10 x 65 219
3 2.50|2.82|1.94 | 2.062 | 1.031 | .44 1.00| 1.12 2.
1 Ya 6146-16-12DM10 | 20 | 28 o 06 03 miox1.s | 100 °
6145-16-16DM10 10.5 MKM 543 M10 x 65 219
2.50 | 2.82 | 1.94 | 2.062|1.031| .60 1.00| 1.38 2.8
1 1 6146-16-16DM10 M10x1.5
6145-20-16DM10t 10.5 MKM 4532 M10 x 75 222
1 3.00 | 3.19 | 2.40 | 2.312 | 1.188 | .60 1.25| 1.38 4.8
14 1 6146-20-16DM10t M10x1.5
6145-20-20DM10t 10.5 MKM 4532 M10 x 75 222
1 1 3.00 | 3.19 | 2.40 | 2.312 | 1.188 | .89 1.25| 1.75 4.7
1Ya | 14 [ ic20200m100 M10x1.5
6145-20-24DM10t 10.5 MKM 4597 M10 x 90 222
1 1 3.00 | 3.19 | 3.00 | 2.312 | 1.188 | 1.10 1.25| 2.00 5.8
112 | 12 6146-20-24DM10t M10x1.5
6145-24-20DM12% 13.0 MKM 4533 M12 x 90 225
1 1 3.253.75|2.90 | 2.750 | 1.406 | .89 1.38| 1.75 7.2
172 | 14 6146-24-20DM12% M12x1.75
6145-24-24DM12% 13.0 MKM 4533 M12 x 90 225
1 1 3.253.75|2.90 | 2.750 | 1.406 | 1.10 1.38 2.00 7.1
12 | 12 [ icoanaomizs M12x1.75
6145-24-32DM12% 13.0 MKM 3521 M12 x 100 225
1 3.50 | 3.75 | 3.50 | 2.750 | 1.406 | 1.50 1.38| 2.50 9.2
11> 2 6146-24-32DM12% M12x1.75
MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
Mk bolts, add an SS at the end of the kit number (MK 501SS).
316L Stainless Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
O-Ring Style Companion Style
(Flat Face)

—

37.5°

+H =

—
>é_'_2~—

r 77

c TAP-J c

]

D, ©
O T
\&\Y’

Model 6145 / 6147 Model 6146 / 6148

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE 3518 62 SERIES / 1IS06162-2 PATTER
[o] G
" | G | wmem | A B[ C| D | E|FFMIH| K o scaewsie [omne|WT
1/ 1/ 212;:82:8:35: 2.25|2.22|1.46 | 1.594 | .718 | .25 Msil15.25 88 | .gg |KM 341 M8 x 50 210 1.6
3/a 1/» Zig:i;:g:gmg 2.50|2.81|1.70|2.000 | .937 | .25 M11<;)>i.5 1.00| .88 MKM 542 M10 x 60 214 2.6
3/a 3/a :ﬁgjijzgmg 2.50|2.81|1.70 | 2.000 | .937 | .44 M11(;)>£.5 1.00| 1.12 MKM 542 M10 x 60 214 2.6
1 3/ :ﬁgjzjzgmi 2.75|3.192.21 | 2.250 | 1.093 | .44 M1121-15.75 1.12] 1,12 [MKM 2533 M12x 75 219 4.0
6147-16-16DM12 12.5 MKM 2533|  M12 x 75 219
1 1 6148-16-16DM1a | 275|319 2:21|2.250| 1.093 | .60 (oot 1,12 1.38 : ——1 4.0
114 1 Zi:g:ig:iggmi 3.25|3.75|2.44 | 2.625 | 1.250 | .60 M1121.10.75 138 1.38 [ kM 378 | MI2 X80 222 6.3
112 14 Zi:g:;gjggm;i 3.25|3.75|2.44 [ 2.625 | 1.250 | .89 M1121-10.75 138 1.75 KM 378 | M12 X80 222 6.3

@ Order Separately
® Schedules 40, 80 and 160 also Stocked. Other Pipe and Tube Sizes are Available
50 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



For Schedule XXS Pipe ®

SAE 1518 61 SERIES / IS06162-1 PATTERN

BUTT WELD ELBOW FLANGES (Pg 2/2)

bolts, add an SS at the end of the kit number (MK 501SS).
Please note that using stainless steel bolts may reduce the pressure rating of the assembly.

37.5°

+H =

S, O

©
Al

3181 TRI-PARK DR.

GRAND BLANC, MI 48439

O-Ring Style
—

T—

7

Model 6145 / 6147

DRILL-G
72V e

800-521-7918 810-953-1380 FAX 810-953-1385

(o) G
"Gee | swe | wwee | A|B | C|D | E | FISMIH| K [ ™ ewsme o] WT
2 114 :122:§§jggmii 3.75|4.00 | 3.40 | 3.062 | 1.688 | .89 M1121.10.75 162 1.75 | KM 4334, M12 x 100 228 10.4
2 11> Zi:g:gi:i:gmii 3.75|4.00 | 3.40 | 3.062 | 1.688 | 1.10 M1121.10.75 162 2.00 | KM 4234, M12 X 100 228 10.2
2 2 Zi:ggi;igmii 4.00 | 4.00 | 3.40 [ 3.062 | 1.688 | 1.50 M112?<.10.75 162 2.50 | KM 4334, M12 x 100 228 10.2
2152 2 :122:28:22233: 4.75|4.50 | 3.96 | 3.500 | 2.000 | 1.50 M1121.10.75 2.00| 2.50 "KM 4535 M12x 120 232 16.3
21/5°% 21/ Zi:g:ig:iggmii 4.75 | 4.50 | 3.96 | 3.500 | 2.000 | 1.77 M1121.10.75 2.00| 3.00 [MKM 4535 M12x 120 232 16.1
3° | 214 Ziig::::iggmz 5.25(5.31|4.96 | 4.188 | 2.438 | 1.77 M1176.>(()2 2.25|3.00 | KM 248 | MI16 X150 237 26.3
6145-48-48DM16 17.0 MKM 548 |  M16 x 150 237
3° 3 [ eiicasasomie| 525|531 496 4.188 | 2.438 | 2.30 = —2.25| 3.50 = ——25.5
3157 3 [ersseaeonis [l ool gm0 | 250 | 230 |20 |5 50| 550 [MKME | Misxi60 | a1 |,
314% 31/ Ziig:g::g:gmg 5.75 | 6.00 | 5.40 | 4.750 | 2.750 | 2.73 M1176.)(()2 2.50| 4.00 | KM 49 | MI6 x 160 241 33.9
6145-64-48DM16 17.0 MKM 550 |  M16 x 180 245
4° 3 eisceassomie | 6256385965125 3.062 | 230 2,75 3.50 x > {442
6145-64-64DM16 17.0 MKM 550 |  M16 x 180 245
4° 4 e eiomie | 6:25|6:38|5.96|5.125 | 3.062 | 3.15 275 | 4.50 > —>{42.0
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 MATERIAL :

316L Stainless

Companion Style
(Flat Face)

—
>é_'_2~
)
-

r 77

TAP-J

Model 6146 / 6148

INFO@MAINMFG.COM

SAE ])518 62 SERIES / 1IS06162-2 PATTER
FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B C D E F Jmm H K PART NO. SCREW SIZE
6147-24-20DM16 17.0 MKM 553 M16 x 100
1 1 4.00 | 4.50 | 2. 125 1.437 | . 1.62 1.7
172 | 1Ya [(igoaz00mie | 400|450 |2:96|3.125 | 1.437 | .89 |— - —1.6 >
6147-24-24DM16 17.0 MKM 553 M16 x 100 225
1 1 .75 | 4.50 | 2. 125 1.437 | 1.1 1.62 ] 2. 10.
12 | 12 [(issaaaome | 37% | 450|296 | 3125 | 143 O Tmiexa | 102|290 — |°
6147-32-24DM20 21.0 MKM 554 | 3/4-10 x 120 228
1 4. .25|3.46|3.812|1.750 | 1.1 2.00] 2. 17.4
2 11> 6148-32-24DM20 | 00 [ 32534638 >0 0 "2ox2.5 | 200 2:00
6147-32-32DM20 21.0 MKM 554 | 3/4-10 x 120 228
4.75|5.25|3.46 | 3.812 | 1.750 | 1. 2.00] 2. 17.
2 2 6148-32-32DM20 >|5-25|346|3.8 50| 1.50 70 oxa.s | 2:00 | 230 3
6147-40-32DM24 25.5 MKM 2557  M24 x 150 232
1 . .88 |4.50 | 4.875 | 2.312 | 1. 2.50| 2. 7.
21> 2 6148-40-30DM2a | 588 6:88 | 4.50 | 4.875 | 2.3 50 [—moaxs | 2:50| 2:50 —=—137.8
6147-40-40DM24 25.5 MKM 2557  M24 x 150 232
1 1 . .88 |4.50 | 4.875 | 2.312 | 1.77 2. . 7.
21> | 21> 6148-40-40DM2a | 588 | 6:88 | 4.50 | 4.875 | 2.3 aans | 2:50| 3.00 —=—137.5
6147-48-48DM30 32.0 MKM 556 M30 x 180 237
7. . . . 2.812 | 2. . . 1.
3 3 [ cizsasasomso| 700|850 500 6.000 | 2.8 30 30r3 5 3:00| 3.50 ———161.0
® Order Separately @ 2500 PSI Max @ 2000 PSI Max @ 500 PSI Max
® Schedules 40, 80 and 160 also Stocked. Other Pipe and Tube Sizes are Available
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. T Also Available for M12 Bolts # Also Available for M14 Bolts 51

© Copyright MAIN Mfg. 2019



SPACERS AND GAUGE PORT ADAPTERS

1/4" GAUGE PORTS

SAE J518 61 SERIES / 1IS06162-1 PATTERN

FLANGE PIPE PART ©
SIZE SIZE NUMBER A B C D E F Gmm L O-RING |WT
6303-08-08DM8
1/ NA | 7303-08-08DM8 | 1.50 2.12 1.00 1.500 688 .50 8.5 1.000 210 7

8303-08-08DM8
6303-12-12DM10
3/a NA | 7303-12-12DM10| 1.75 2.62 1.00 1.875 875 75 10.5 1.250 214 | 1.0
8303-12-12DM10
6303-16-16DM10
i NA | 7303-16-16DM10| 2.00 2.82 1.00 2.062 1.031 1.00 10.5 1.562 219 |11
8303-16-16DM10
6303-20-20DM10T
112 | NA [7303-20-200M107| 2.50 3.19 1.00 2.312 1.188 1.25 10.5 1.750 222 |16
8303-20-20DM10T
6303-24-24DM12+
11> | NA [7303-24-24DM12%¥| 2.75 3.75 1.00 2.750 1.406 1.50 13.0 2.125 225 | 2.0
8303-24-24DM12%
6303-32-32DM12+
2 NA [7303-32-32DM12%| 3.25 4.00 1.00 3.062 1.688 1.94 13.0 2.500 228 | 2.4
8303-32-32DM12%
6303-40-40DM12+
21/2% NA [7303-40-20DM12%| 4.00 4.50 1.00 3.500 2.000 2.44 13.0 3.000 232 | 3.3
8303-40-40DM12¥
6303-48-48DM16
3° | NA [7303-28-48DMi6| 4.50 5.31 1.00 4.188 2.438 2.94 17.0 3.625 237 |41
8303-48-48DM16

MATERIAL:
316L Stainless

Spacer 1/4" NPTF -4 ORB

(ST THD)
DRILL-G-\ DRILL-G DRILL-G
<< \ << \ <<

t 1 l
“ i R R

74 AN e 4%
_.@. @ 7/ /5 1/4" NPTF 4 -4 ORB

NEN
NN

f i (ST THD)
|— E ——I —|.44|— —|.44|—
A —c— —c—| —c—|
Model 6303 / 6305 Model 7303 / 7305 Model 8303 / 8305

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE J518 62 SERIES / IS06162-2 PATTERN

FLANGE PIPE PART @
SIZE SIZE NUMBER A B C D E F Gmm L O-RING |WT
6305-08-08DM8
15 NA | 7305-08-08DM8 | 1.75 2.22 1.00 1.594 718 .50 8.5 1.000 210 .8

8305-08-08DM8
6305-12-12DM10
3/a NA | 7305-12-12DM10 | 2.00 2.81 1.00 2.000 937 75 10.5 1.250 214 | 1.2
8305-12-12DM10
6305-16-16DM12
1 NA | 7305-16-16DMi2 | 2.25 3.19 1.00 2.250 1.093 1.00 12.5 1.562 219 | 1.5
8305-16-16DM12
6305-20-20DM12+%
112 | NA [7305-20-200M12%#| 2.75 3.75 1.00 2.625 1.250 1.25 13.0 1.750 222 |22
8305-20-20DM12%
6305-24-24DM16
11/ | NA | 7305-24-24DM16 | 3.25 4.50 1.00 3.125 1.437 1.50 17.0 2.125 225 | 3.1
8305-24-24DM16
6305-32-32DM20
2 NA [ 7305-32-32DM20 |  4.00 5.25 1.00 3.812 1.750 1.94 21.0 2.500 228 | 4.3
8305-32-32DM20

@ Includes Buna-N O-Ring @ 2500 PSI Max ® 2000 PSI Max

52 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



GAUGE PORT ADAPTERS

3/8" GAUGE PORTS

SAE J518 61 SERIES / IS06162-1 PATTERN

FLANGE PIPE PART a
SIZE SIZE NUMBER A B C D E F Gmm L O-RING |WT
6291-08-08DM8
1/» NA 1.50 2.12 1.25 1.500 688 .50 8.5 1.000 210 | 1.0

6293-08-08DM8

6291-12-12DM10

3/a NA 1.75 2.62 1.25 1.875 .875 .75 10.5 1.250 214 1.2
6293-12-12DM10

6291-16-16DM10
i NA 2.00 2.82 1.25 2.062 1.031 1.00 10.5 1.562 219 | 1.5
6293-16-16DM10

6291-20-20DM10+
1172 | NA 2.50 3.19 1.25 2.312 1.188 1.25 10.5 1.750 222 |21
6293-20-20DM10+

6291-24-24DM12#+

1172 | NA 2.75 3.75 1.25 2.750 1.406 1.50 13.0 2.125 225 | 2.6
6293-24-24DM12+%

6291-32-32DM12#+

2 NA 3.25 4.00 1.25 3.062 1.688 1.94 13.0 2.500 228 | 3.2
6293-32-32DM12+%

6291-40-40DM12#

21-% NA 4.00 4.50 1.25 3.500 2.000 2.44 13.0 3.000 232 | 4.3
6293-40-40DM12%

6291-48-48DM16
3° | NA 4.50 5.31 1.25 4.188 2.438 2.94 17.0 3.625 237 |55
6293-48-48DM16

MATERIAL:
316L Stainless

3/8" NPTF -6 ORB
(ST THD)

_G} G} \ /A/AQ \ //Q

l l
B L F 4+<X+7T L F +€+)} 1
l l

_-@ ® /4 3/8" NPTF 7/_ -6 ORB

t ‘ e (ST THD)

|_ E —-I — 62— —| 62—
A

l~—Cc — l~— C —

°

Model 6291 / 6292 Model 6293 / 6294
3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE J518 62 SERIES / IS06162-2 PATTERN

FLANGE PIPE PART a
SIZE SIZE NUMBER A B C D E F Gmm L O-RING |WT
6292-08-08DM8
1> NA 1.75 2.22 1.25 1.594 718 .50 8.5 1.000 210 | 1.2

6294-08-08DM8

6292-12-12DM10

3/a NA 2.00 2.81 1.25 2.000 937 75 10.5 1.250 214 |16
6294-12-12DM10

6292-16-16DM12

1 NA 2.25 3.19 1.25 2.250 1.093 1.00 12.5 1.562 219 | 1.9
6294-16-16DM12

6292-20-20DM12#

1172 | NA 2.75 3.75 1.25 2.625 1.250 1.25 13.0 1.750 222 2.8
6294-20-20DM12%

6292-24-24DM16

1172 | NA 3.25 4.50 1.25 3.125 1.437 1.50 17.0 2.125 225 | 4.0
6294-24-24DM16

6292-32-32DM20

2 NA 4.00 5.25 1.25 3.812 1.750 1.94 21.0 2.500 228 | 5.6
6294-32-32DM20

@ Includes Buna-N O-Ring @ 2500 PSI Max ® 2000 PSI Max

NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts 53
© Copyright MAIN Mfg. 2019



PORT ADAPTERS

1/2" GAUGE PORTS
SAE J518 61 SERIES / 1IS06162-1 PATTERN

FLANGE | PIPE PART q

SIZE SIZE NUMBER A B C D E F Gmm L O-RING |WT
6295-08-08DM8 USE PART # 6197-08-08DM8

/2 | NA 210
6297-08-08DM8 USE PART # 6201-08-08DM8
6295-12-12DM10 USE PART # 6197-12-08DM10

34 | NA 214
6297-12-12DM10 USE PART # 6201-12-08DM10
6295-16-16DM10

i NA 2.00 2.82 1.50 2.062 1.031 1.00 10.5 1.562 219 |17

6297-16-16DM10

6295-20-20DM10+
1172 | NA 2.50 3.19 1.50 2.312 1.188 1.25 10.5 1.750 222 2.5
6297-20-20DM10+

6295-24-24DM12#

1172 | NA 2.75 3.75 1.50 2.750 1.406 1.50 13.0 2.125 225 | 3.2
6297-24-24DM12+%

6295-32-32DM12+#

2 NA 3.25 4.00 1.50 3.062 1.688 1.94 13.0 2.500 228 | 3.8
6297-32-32DM12+%

6295-40-40DM12#
21-% NA 4.00 4.50 1.75 3.500 2.000 2.44 13.0 3.000 232 | 6.0
6297-40-40DM12%

6295-48-48DM16
3¢ NA 4.50 5.31 2.00 4.188 2.438 2.94 17.0 3.625 237 8.8
6297-48-48DM16

MATERIAL:
316L Stainless

1/2" NPTF -8 ORB
(ST THD)

_@ @ \_%/ /S \%<

°

LD O -%é\" o -%é\s -
’ EA—J _ ]~ aone

l-— ¢ — l-— ¢ —

Model 6295 / 6296 Model 6297 / 6298
3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE J518 62 SERIES / IS06162-2 PATTERN

FLANGE PIPE PART a

sve | srze NUMBER A B C D E F Gmm L |O-RING|WT
6296-08-08DM8 USE PART # 6199-08-08DM8

12 | NA 210
6298-08-08DM8 USE PART # 6203-08-08DM8
6296-12-12DM10 USE PART # 6199-12-08DM10

32 | NA 214
6298-12-12DM10 USE PART # 6203-12-08DM10
6296-16-16DM12

1 NA 2.25 3.19 1.50 2.250 1.093 1.00 12.5 1.562 219 | 2.3

6298-16-16DM12

6296-20-20DM12%
1172 | NA 3.00 3.75 1.50 2.625 1.250 1.25 13.0 1.750 222 |38
6298-20-20DM12%

6296-24-24DM16

112 | NA 3.25 4.50 1.50 3.125 1.437 1.50 17.0 2.125 225 |47
6298-24-24DM16

6296-32-32DM20
2 NA 4.00 5.25 1.75 3.812 1.750 1.94 21.0 2.500 228 | 7.8
6298-32-32DM20

@ Includes Buna-N O-Ring @ 2500 PSI Max ® 2000 PSI Max

54 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



E PO

3/4" GAUGE PORTS

ADAPTERS

SAE J518 61 SERIES / IS06162-1 PATTERN

°

O

NSy

&

&

-

3181 TRI-PARK DR.

e

N

GRAND BLANC, MI 48439

l— ¢ —

Model 6299 / 6300

=

l— ¢ —

Model 6301 / 6302

(ST THD)

800-521-7918 810-953-1380 FAX 810-953-1385

FLANGE PIPE PART a
SIZE SIZE NUMBER A B C D E F Gmm L O-RING |WT
6299-08-08DM8 USE PART # 6197-08-12DM8
/2 | NA 210
6301-08-08DM8 USE PART # 6201-08-12DM8
6299-12-12DM10 USE PART # 6197-12-12DM10
3/4 NA 214
6301-12-12DM10 USE PART # 6201-12-12DM10
1 NA 6299-16-16DM10 USE PART # 6197-16-12DM10
219
6301-16-16DM10 USE PART # 6201-16-12DM10
6299-20-20DM10+
1171 | NA 2.50 3.19 1.75 2.312 1.188 1.25 10.5 1.750 222 |28
6301-20-20DM10t
6299-24-24DM12#
1172 | NA 2.75 3.75 1.75 2.750 1.406 1.50 13.0 2.125 225 | 3.6
6301-24-24DM12#
6299-32-32DM12#
2 NA 3.25 4.00 1.75 3.062 1.688 1.94 13.0 2.500 228 |43
6301-32-32DM12+
6299-40-40DM12+%
21-% NA 4.00 4.50 1.75 3.500 2.000 2.44 13.0 3.000 232 | 6.0
6301-40-40DM12#
6299-48-48DM16
3° | NA 4.50 5.31 2.00 4.188 2.438 2.94 17.0 3.625 237 | 8.7
6301-48-48DM16
MATERIAL:
316L Stainless
3/4" NPTF -12 ORB
(ST THD)

INFO@MAINMFG.COM

FLANGE PIPE PART a
sve | size NUMBER A B C D E F Gmm L |O-RING|WT
6300-08-08DM8 USE PART # 6199-08-12DM8
/2 | NA 210
6302-08-08DM8 USE PART # 6203-08-12DM8
6300-12-12DM10 USE PART # 6199-12-12DM10
32 | NA 214
6302-12-12DM10 USE PART # 6203-12-12DM10
1 NA 6300-16-16DM12 USE PART # 6199-16-12DM12
219
6302-16-16DM12 USE PART # 6203-16-12DM12
6300-20-20DM12+%
11714 | NA 3.00 3.75 1.75 2.625 1.250 1.25 13.0 1.750 222 |43
6302-20-20DM12#
6300-24-24DM16
1172 | NA 3.25 4.50 1.75 3.125 1.437 1.50 17.0 2.125 225 | 5.4
6302-24-24DM16
6300-32-32DM20
2 NA 4.00 5.25 1.75 3.812 1.750 1.94 21.0 2.500 228 | 7.7
6302-32-32DM20
@ Includes Buna-N O-Ring @ 2500 PSI Max ® 2000 PSI Max
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. t Also Available for M12 Bolts * Also Available for M14 Bolts 55

© Copyright MAIN Mfg. 2019



56

MULTIPLE FLANGE PATTERN FLANGES

Some flanges offered by MAIN Manufacturing Products, Inc. have multiple flange connections.
These flanges are available in In-Line, Elbow, Branch Tee and Run Tee and are also available with
IMPERIAL (Inch) or METRIC bolt holes. The pages in this catalog refer to METRIC x METRIC on
both flange patterns (####-##M-##M). These are also available in IMPERIAL x IMPERIAL (####-##-##),
METRIC x IMPERIAL (####-##M**-#4#) and IMPERIAL x METRIC (####-##-##M**), where **
is the metric bolt size. The following would be a 1 1/4” (-20) Code 61 O-Ring style flange pattern x
1”7 (-16) Code 61 Flat Face flange pattern, In-Line Flange Adapter.

CATALOG PART NUMBERING SYSTEM

Both Pad 1 & 2 Use Metric Bolts: 6317-20M-16D M

Only Pad 1 Uses Metric Bolts: 6317 -20M10-16D
Only Pad 2 Uses Metric Bolts:

6317 - 20-16 D M10

6 317 20 M** 16 D M**

OPTION

PAD 2 SIZE
Stainless Steel Indicated in 1/16ths |
Grade Specified by Option Code
6 = Standard - No Gauge Port 08 =1/2" 40=21/2" D = 316/316L
7 = 1/4” NPTF Gauge Port 12 = 3/4” 48 = 3" B = 304/304L
8 = 7/16-20 (-4) Gauge Port 16 = 1" 56 =31/2"
20=11/4"  64=ar
Carbon Steel - " _cn
24 _ 1"1/2 80 _ 5" M** = Metric and
32=2 9 =6 bolt size
1 = Standard - No Gauge Port 00 = NO PORT EXAMPLE:
2 = 1/4" NPTF Gauge Port M12 - for use

3 = 7/16-20 (-4) Gauge Port with M12 bolts

METRIC x METRIC METRIC x IMPERIAL IMPERIAL x METRIC

6181-##M-##DM
6182-##M-##DM
6183-##M-##DM
6184-##M-##DM
6185-##M-##DM
6186-##M-##DM
6187-##M-##DM
6188-##M-##DM
6205-##M-##DM
6206-##M-##DM
6207-##M-##DM
6208-##M-##DM
6315-##M-##DM
6316-##M-##DM
6317-##M-##DM
6318-##M-##DM
6339-##M-##DM
6340-##M-##DM
6341-##M-##DM
6342-##M-##DM

6181-##M**-##D
6182-##M**-##D
6183-##M**-##D
6184-##M**-##D
6185-##M**-##D
6186-##M**-##D
6187-##M**-##D
6188-##M**-##D
6205-##M**-##D
6206-##M**-##D
6207-##M**-##D
6208-##M**-##D
6315-##M**-##D
6316-##M**-##D
6317-##M**-##D
6318-##M**-##D
6339-##M**-##D
6340-##M**-##D
6341-##M**-##D
6342-##M**-##D

© Copyright MAIN Mfg. 2019

6181-##-##DM**
6182-##-##DM**
6183-##-##DM**
6184-##-##DM**
6185-##-##DM**
6186-##-##DM**
6187-##-##DM**
6188-##-##DM**
6205-##-##DM**
6206-##-##DM**
6207-##-##DM**
6208-##-##DM**
6315-##-##DM**
6316-##-##DM**
6317-##-##DM**
6318-##-##DM**
6339-##-##DM**
6340-##-##DM**
6341-##-##DM**
6342-##-##DM**



FLANGE ADAPTERS

AVAILABLE AS PAD ROTATORS, REDUCERS AND INCREASERS (Not shown)

3181 TRI-PARK DR.

the kit number (MK 501SS). Please note that using stainless steel bolts may reduce the pressure rating of the assembly.

——

i

+

D

A

TAP-H
(PAD 2)

>

l

I
/7

DRILL-G

/(PAD 1)

316L Stainless

ngll Pgtli)lz N:::;LR A|B | C| D E F Gmm H J K I earrwo. Moz::::fsl(l;@ O-RING
1/» 1/5 | 6317-08M8-08D |2.25|2.25|1.00 | 1.500 | .688 | .50 | 8.5 | 5/16-18 | 1.500 | .688 | MKM 564 M8 x 25 210
3/a 1/5 |6317-12M10-08D|2.25[2.75|1.75| 1.875 | .875 | .50 | 10.5| 5/16-18 | 1.500 | .688 | MKM 502 |  M10 x 40 214
3/a 3/4 |6317-12m10-12D | 2.75|2.75| 1.00 | 1.875 | .875 | .75 | 10.5| 3/8-16 | 1.875| .875 |MKM 5572|  M10x 25 214
1 1/> |6317-16M10-08D | 2.25 | 3.00 | 1.75 | 2.062 | 1.031 | .50 |10.5| 5/16-18 | 1.500 | .688 | MKM 503 |  M10 x 40 219
1 3/4 |6317-16M10-12D|2.75[3.00 | 1.75 | 2.062 [ 1.031 | .75 | 10.5| 3/8-16 |1.875 | .875 | MKM 503 |  M10 x 40 219
1 1 |6317-16M10-16D|3.00 | 3.00 | 1.25 | 2.062 | 1.031 | 1.00 | 10.5| 3/8-16 |2.062 | 1.031 [MKM 2535  M10 x 30 219
114 | 3/4 [6317-20M10t-12D|2.75|3.25|1.75|2.312 | 1.188 | .75 [10.5| 3/8-16 |1.875| .875 |MKM 3524|  M10 x 40 222
114 1 [6317-20M10t-16D| 2.81 | 3.25 [ 1.75 | 2.312 | 1.188 | 1.00 [ 10.5| 3/8-16 |2.062 | 1.031 |[MKM 3524  M10 x 40 222
114 | 11/4 [6317-20M10t-20D| 3.25 | 3.25 [ 1.25 | 2.312 | 1.188 | 1.25 | 10.5 | 7/16-14 | 2.312 | 1.188 [MKM 2567|  M10 x 30 222
11> 1 [6317-24M12#-16D| 2.75 [ 3.75 | 1.75 | 2.750 | 1.406 | 1.00 | 13.0| 3/8-16 |2.062 | 1.031 [MKM 2599| ~ M12 x 45 225
11/> | 11/a |6317-24M12#-20D| 3.25 | 3.75 | 2.00 | 2.750 | 1.406 | 1.25 | 13.0 | 7/16-14 | 2.312 | 1.188 |MKM 3596/  M12 x 50 225
11/2 | 11/3 (6317-24M12+-24D| 3.75 | 3.75 | 1.25 | 2.750 | 1.406 | 1.50 | 13.0| 1/2-13 |2.750 | 1.406 [MKM 5502| ~ M12 x 30 225
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 bolts, add an SS at the end o MATERIAL :

NOTE: Model 6317, shown, is O-Ring Face by Flat Face. Model 6318, see page 68, is Flat Face by Flat Face.
800-521-7918 810-953-1380 FAX 810-953-1385

GRAND BLANC, MI 48439

61 SERIES TO 61 SERIES

INFO@MAINMFG.COM

SAE ]J518 / ISO06162 BOLT PATTERN

P2:11 P2:12 Nl:::;TER A/ B C|D E F Gmm H J K I earrno. Moz::::fsl(llz.;@ 0-RING
2 11/ |6317-32M12#-20D| 3.25 | 4.00 | 2.00 | 3.062 | 1.688 | 1.25 | 13.0 | 7/16-14 | 2.312 | 1.188 [MKM 4513|  M12x 45 228
2 1 1/2 6317-32M12#-24D 3.75 | 4.00 | 2.00 | 3.062 | 1.688 | 1.50 | 13.0 | 1/2-13 | 2.750 | 1.406 [MKM 4513|  M12 x 45 228
2 2 [6317-32M12#-32D| 4.00 | 4.00 | 1.25 | 3.062 | 1.688 | 1.94 | 13.0| 1/2-13 |3.062 | 1.688 |[MKM 1509|  M12 x 30 228

21/5% 1 1/5 [6317-40M12+-24D| 4.00 | 4.50 | 2.00 | 3.500 | 2.000 | 1.50 | 13.0| 1/2-13 |2.750 | 1.406 |MKM 2575  M12 x 50 232

21/54 2 [6317-40M12+-32D| 4.00 | 4.50 | 2.00 | 3.500 | 2.000 | 1.94 | 13.0| 1/2-13 |3.062 | 1.688 |MKM 2575  M12 x 50 232

21/5% 21/5 |6317-40M12#-40D| 4.50 | 4.50 | 1.50 | 3.500 | 2.000 | 2.44 [ 13.0| 1/2-13 |3.500 | 2.000 |[MKM 3538  M12 x 40 232
3¢ 2 |6317-48M16-32D | 4.50 | 5.31 | 2.00 | 4.188 | 2.438 | 1.94 | 17.0| 1/2-13 |3.062 | 1.688 |[MKM 1511|  M16 x 50 237
3 | 21/5 |6317-48M16-40D | 4.50 | 5.50 | 2.25 | 4.188 | 2.438 | 2.44 | 17.0| 1/2-13 | 3.500 | 2.000 | MKM 585 |  M16 x 60 237
3¢ 3 | 6317-48M16-48D | 5.50 [ 5.50 | 1.75 | 4.188 | 2.438 | 2.94 | 17.0| 5/8-11 |4.188 | 2.438 [MKM 2538  M16 x 45 237
@ Order Separately @ 2500 PSI Max ® 2000 PSI Max

NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts 57

© Copyright MAIN Mfg. 2019



FLANGED ELBOW FLANGES (Pg 1/2)

SAE 1518 61 SERIES / IS06162-1 PATTERN

PAD 1 PAD 2 PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B |C D E F Jmm H| K PART NO. | SCREw s1ze | o-rinG | W7
6571-08M8-08DM8 8.5 MKM M8 x 70 210
1 1 2.252.12 | 2.25| 1. . . 78 | .7 2.
/2 /2 [¢572-08ms-080M8| 22 5| 1.500 | .688 | .50 o i os| 78| 78 8
6181-12M-12DM 10.5 MKM 576 M10 x 70 214
3 3 2.50|2.62|2.25|1.875| .875 | .7 1.03| 1. )
/a Y4 G182 12m120m | 250 | 26 5| 18751 875 | 75 Mooy | 103|103 —13°
3/, 1 6181-12M-16DM | 2.50 | 2.82 | 2.50 | 1.875 | .875 | .75 10.5 |[1.25| 1.03 | MKM 595 M10 x 80 214 |, 3
4 | L USE PART # 6182-16M-12DM )
6181-16M-16DM 10.5 MKM 577 M10 x 80 219
2. 2.82 | 2. 2.062 | 1.031 | 1. 1.16 1. 4.
1 1 6182-16M-16DM 50128 5012.06 03 0o M10x1.5 6]1.09 0
1 11/ 6181-16M-20DM* | 3.00 | 3.25 | 3.00 | 2.062 | 1.031 | 1.00 | 10.5 |1.44| 1.09 | MKM 3530 M10 x 90 219 |, 0
4 USE PART # 6182-20Mt-16DM :
6181-20Mt-16DM 10.5 MKM M10 x 222
1 .25/3.19(3.25|2.312| 1.1 1.2 1. 1. 2
1 1 6182-20Mt-16DM 3.2513.1913.25)1 2.3 88 > "M10x1.5 38(1.38 — |8
6181-20Mt-20DM* 10.5 MKM M10 x 222
1 1 .25/3.19(3.25|2.312| 1.1 1.2 1. 1. 7.
1Va | 1V [ oo oomiaooms| 325 (319|325 23 88 | 1.25 M oxrs | 138 138 °
11/ 11/ 6181-20Mt-24DM#| 3.50 | 3.75 | 3.50 | 2.312 [ 1.188 | 1.25| 10.5 |1.62|1.38| MKM M10 x 222 |, 0
4 2 [ USE PART # 6182-24M%-20DM* )
6181-24M#-20DM+ 13.0 MKM 3521 M12 x 100 225
1 1 4. .753.00|2.7 1.406 | 1. 1.50 1. 10.7
172 | 14 6182-24M#-20DM+ 003.753.00 50 06 | 1.50 M12x1.75 50(1.38 0
6181-24M#-24DM=* 13.0 MKM 5549 M12 x 110 225
1 1 . .753.50| 2.7 1.406 | 1. 1.62| 1.62 10.7
172 | 172 [ 5o 5umenaome| 350|375 | 3:50| 2.750 | 1.406 | 1.50 [ oP 1 1.62| 1.6 — |*°
11/ 2 6181-24M#-32DM#*| 4.00 | 4.00 | 4.00 | 2.750 | 1.406 | 1.50 | 13.0 [1.91| 1.62 |[MKM 4566/ M12 x 120 225 146
2| &£ [ USE PART # 6182-32M*-24DM# )
MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
i bolts, add an SS at the end of the kit number (MK 501SS).
316L Stainless Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
0O-Ring Style Companion Style
(Flat Face)
PAD 2 \ PAD 2
] —
1 1 1 \/ \
T T
II II | T N

AT | \ oo T |
E + F + F oA +
Dol =~ =

c TAP-J c
PAD 1

Model 6181 / 6183 Model 6182 / 6184
3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM
SAE 1518 62 SERIES / IS06162-2 PATTERN

— = —

PAD 1 PAD 2 PART Gmm MOUNTING KIT®

SIZE SIZE NUMBER A B | C|D E F Jmm H | K Iorwo. | screwsize Jorna | W7
6183-08M8-08DM8 8.5 MKM 575 M8 x 60 210

1 1 2.00|2.22|2.00|1.594 | .718 | .50 .94 | .81 2.3
/2 /2 (¢ 154-08m8-08DM8 M8x1.25
6183-12M-08DM 10.5 MKM 595 | M10 x 80 214

3 1 2.50 | 2.81 | 2.50 | 2.000 | .937 | .75 1.19] 1.06 4.5
/a /2 [Gisa 12 08DM M10x1.5
6183-12M-12DM 10.5 MKM 595 | M10 x 80 214

3 3 2.50|2.81|2.50 | 2.000 | .937 | .75 1.19| 1.06 4.4
/a Y4 o184 12 120M M10x1.5
6183-16M-12DM 125 MKM 596 | M10 x 100 219

3 3.00 | 3.19 | 3.00 | 2.250 | 1.093 | 1.00 1.38]1.38 7.3
1 Y4 [ o184 16 120M M12x1.75
6183-16M-16DM 125 MKM 596 | M10 x 100 219

3.00 | 3.19 | 3.00 [ 2.250 | 1.093 | 1.00 1.38]1.38 7.2
1 1 6184-16M-16DM M12x1.75
6183-20M*-16DM 13.0 MKM M12 x 222

1 3.50 [ 3.75 | 3.00 | 2.625 | 1.250 | 1.25 110.5[ 1.50 9.3
14 1 [isiz0me160m M12x1.75
6183-20M%-20DM# 13.0 MKM 5548| M12 x 110 222

1 1 3.50 | 3.75 | 3.50 | 2.625 | 1.250 | 1.25 1.62(110.5 10.8
1a | 14 o oomea0oms M12x1.75
6183-20M*-24DM | 4.00 | 4.50 | 4.00 | 2.625 | 1.250 | 1.25| 13.0 |1.90| 1.75 |MKM 2560|  M12 x 120 222

111 11 17.5
---------- USE PART # 6184-24M-20DM*

@ Order Separately

58 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



FLANGED ELBOW FLANGES (Pg 2/2)

SAE 1518 61 SERIES / IS06162-1 PATTERN

bolts, add an SS at the end of the kit number (MK 501SS).
Please note that using stainless steel bolts may reduce the pressure rating of the assembly.

3181 TRI-PARK DR.

O-Ring Style

\H_

— T —

\
mEn

GRAND BLANC, MI 48439

7

Model 6181 / 6183

DRILL-G
PAD 1

TAP-J
PAD 1

Companion Style

(Flat Face)

\H_

>

==

2

7W

7

Model 6182 / 6184
800-521-7918 810-953-1380 FAX 810-953-1385

[o] G
Soe | s | wwem | A B|C | D E | FISMIH| K | scewsme [owne| T
2 |1, :iéiimiggm 4.50 | 4.00 | 3.00 | 3.062 | 1.688 | 1.94 M112?<I10.75 144 1,62 [N 4347 MI2x30 228 1423
2 11> :i:;gimiigm 4.00 | 4.00 | 4.00 | 3.062 | 1.688 | 1.94 M1121.10.75 191 1.1 [MKM 3950, M12x 120 228 14.5
2 2 :ig;gimizg:i 4.00 | 4.00 | 4.00 | 3.062 | 1.688 | 1.94 M1121.10.75 191 1.1 |MKM 3950, M12x 120 228 1139
21/2® 2 Zig;:zgm:jzgm 4.50 | 4.50 | 4.50 | 3.500 | 2.000 | 2.44 M1121.10.75 2.14| 225 [MKM 4529 M12x 130 232 19.8
21/5°% 21/ :ig;:igm:igg:i 4.50 | 4.50 | 4.50 | 3.500 | 2.000 | 2.44 M1121.10.75 2.14| 225 |[MKM 4529 M12x 130 232 18.8
3° 2 :i:;:igm:iigm 5.00 | 5.31 [ 4.00 | 4.188 | 2.438 | 2.94 M1176.>(()2 191 2.25 | KM Mi5 X 27 1021
3° | 214 :1:;:2:2:2833: 5.50 | 5.31 | 5.50 | 4.188 | 2.438 | 2.94 M117é:2 2.58 | 2.75 | LKM 294 | MIOX180 | 237 1,5
6181-48M-48DM 17.0 MKM 594 | M16 x 160 237
3° 3 [ eisosamason | 550 | 531|550 | 4.188 | 2.438 | 2.94 - 2.58] 2.75 = = {32.7
314% 31/ Zi:;:g:ﬂ:g:gm 6.00 | 6.00 | 6.00 | 4.750 | 2.750 | 3.44 M117é:2 3.00| 3.00 | KM 1389)  MI6 x 180 241 45.0
6181-64M-64DM 17.0 MKM 550 | M16 x 180 245
4° 4 o eaveany | 6:00|6:38|6.00 | 5.125 | 3.062 | 3.4 |- —2.813.00 > —>143.0
6181-80M-80DM 17.0 253
5° 5 [Gis2-sov-soon 6.000] 3.625 M16x2
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 MATERIAL :

316L Stainless

INFO@MAINMFG.COM

SAE J518 62 SERIES / IS06162-2 PATTERN
[o] G

e | eme | womsm | A B C D | E | FIOmIH K Tomme|WT
11/ | 114 Zigijmjggm 4.00 | 4.50 | 4.00 | 3.125 | 1.437 | 1.50 M117é>?2 188 1.75 | kM 397 M16 x 130 225 17.4
117/ | 11 gizz:iimjig: 4.00 | 4.50 | 4.00 | 3.125 | 1.437 | 1.50 M117é>?2 188 1.75 | kM 397 M16 x 130 225 16.9
115 2 618?_-_2_4_1?1:?_2DM 4.50 | 5.25 Sioousz.:’f\fwi";3124-13.25|8|-2401;-0 2.50| 1.75 |[MKM 3503|  M16x6 225 50.0
2 11> zizz:zim:iigm 5.00 | 5.255.00 | 3.812 | 1.750 | 1.94 Mzzci;g.s 2.25| 2.50 [MKM 2524]  M20 x 160 228 31.8

6183-32M-32DM 21.0 MKM 5554|  M20 x 160 228
2 2 c184-32M320m | 500 | 5:25|5.00 | 3.812 | 1.750 | 1.94 |- = 2.25 | 2.50 = ~——131.5
21/ 2 21:2:283:;;32 6.00 | 7.00 | 5.00 | 4.875 | 2.312 | 2.44 MZ;'; 2.50| 2.50 |— M H2d x 232 49.7
21> | 21> gizz:igm:iggm 6.00 | 7.00 | 6.00 | 4.875 | 2.312 | 2.44 MZ;'; 2.75| 2.50 |MKM 1596} M24 X 160 232 56.6

6183-48M-48DM 32.0 MKM M30 237
3 3 [ cisaasmasom | 700|850 7.006.000 | 2.812 | 2.94 |-oeo—3.25| 3.00 - ———92.4

@ Order Separately

NOTE:

@ 2500 PSI Max ® 2000 PSI Max

DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED.

@ 500 PSI Max

1 Also Available for M12 Bolts

© Copyright MAIN Mfg. 2019

+ Also Available for M14 Bolts

59



FLANGED BRANCH TEE FLANGES
. SAE J518 61 SERIES / ISO6162-1 PATTERN ___

SAE 1518 61 SERIES / IS06162-1 PATTERN

BRANCH RUN PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B |C D E F Jmm H| K [T No. | screw size | o-ring | WY
6575-08M8-08DM8 8.5 MKM M8 x 70 210
1 1 3.00|2.12 | 2.25|1.500 | .688 | .50 .78 | 1.50 3.6
/2 /2 [6576-08M8-08DM8 M8x1.25
6185-12M-12DM 10.5 MKM 576 M10 x 70 214
3 3 2.75|2.62 | 2.25|1.875| .875 | .75 1.03| 1.38 3.6
/a Y4 6186 12 120M M10x1.5
6185-16M-16DM 10.5 MKM 577 M10 x 80 219
3.00 | 2.82 | 2.50 | 2.062 | 1.031 | 1.00 1.16 1.50 4.6
1 1 6186-16M-16DM M10x1.5
6185-20Mt-20DMT 10.5 MKM 4597 M10 x 90 222
1 1 3.75|3.19 | 3.25|2.312 | 1.188 | 1.25 1.38| 1.88 9.0
1Ya | 14 [i5eo0m20omr M10x1.5
6185-24M#$-24DM+ 13.0 MKM 5549 M12 x 110 225
1 1 4.00 | 3.75|3.50 | 2.750 | 1.406 | 1.50 1.62| 2.00 11.2
12 | 12 5o oumeoaoms M12x1.75
6185-32M+$-32DM+ 13.0 MKM 3550 M12 x 120 228
4.25|4.00 | 4.00 | 3.062 | 1.688 | 1.94 191/ 2.12 13.8
2 2 6186-32M+$-32DM+ M12x1.75
6185-40M#$-40DM+ 13.0 MKM 4529  M12 x 130 232
1/5? 1 4.50 | 4.50 | 4.50 | 3.500 | 2.000 | 2.44 2.14| 2.25 17.0
212" 22 [isesomeaooms M12x1.75
® 6185-48M-48DM 17.0 MKM 594 M16 x 160 237
5.50 | 5.31 | 5.50 | 4.188 | 2.438 | 2.94 2.58| 2.75 29.9
3 3 6186-48M-48DM M16x2
6185-56M-56DM 17.0 MKM 1589 M16 x 180 241
1/5,® 1 6.00 | 6.00 | 6.00 | 4.750 | 2.750 | 3.44 3.00| 3.00 38.0
32| 32 [(igesemseom M16x2
@ 6185-64M-64DM 17.0 MKM 550 M16 x 180 245
6.00 | 6.38 | 6.00 | 5.125 | 3.062 | 3.94 2.81 3.00 35.8
4 4 6186-64M-64DM M16x2
@® 6185-80M-80DM 17.0 MKM M16 x 253
. .62
5 5 6186-80M-80DM 6.000 | 3.625 M16x2
MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
Mk bolts, add an SS at the end of the kit number (MK 501SS).
316L Stainless Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
O-Ring Style Companion Style
(Flat Face)
RUN RUN
. v N v NT'

iigs Qjﬂ* % : - :
| T ¥ I Zva— /
s LV
18 971 | “T"; T

|
TAP-J !
BRANCH /\ c

W O 4+—

Model 6185 / 6187 Model 6186 / 6188
3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE 1518 62 SERIES / 1IS06162-2 PATTER
O G
v | Sm | wowsm | A|B|C| D E|FISMIH| K e ™ ewee o WT
1> 1/» Zi:é:g::‘l::gggm: 2.50|2.22|2.00 | 1.594 | .718 | .50 Msifzs 94 | 1.25 | KM 575 M8 x 60 210 2.7
3/4 3/a zizggmggm 3.00 | 2.81 | 2.50 | 2.000 | .937 | .75 M11c?>i.5 1.19| 1.50 |[KM 393 | 10 x 80 214 5.1
6187-16M-16DM 12.5 MKM 596 |  M12 x 100 219
i | 1 188 16M-16oM | 350 | 319 [3:002.250 | 1.093 | 1.00 [ --"==—11.38 | 1.75 x —— 7.7
112 114 Zi:;:igmjggm 4.00 | 3.753.50 | 2.625 | 1.250 | 1.25 M1121-10.75 1.62| 2.00 [1KM 5248 M12x 110 222 11.9
11/ 11> Zig;jm:iigm 4.50 | 4.50 | 4.00 | 3.125 | 1.437 | 1.50 M117e';>c<)2 1.88| 2.25 [ KM 397 MI16x130 225 17.8
6187-32M-32DM 21.0 MKM 5554|  M20 x 160 228
2 2 188-32M320m | 500 | 5:25|5.00 | 3.812 | 1.750 | 1.94 |- = 2.25 | 2.50 x ——127.8
21/ | 21/ zizg:igm:iggm 7.00 | 7.00 | 6.00 | 4.875 | 2.312 | 2.44 MZ;'; 2.50| 3.50 |— <M M24 x 232 64.3
3 3 zizgjzmj:gm 9.00 | 8.50 | 7.00 | 6.000 | 2.812 | 2.94 M::);g_s 3.00| 4.50 |— M M30 x 237 116
@ Order Separately @ 2500 PSI Max ® 2000 PSI Max @& 500 PSI Max

60 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. T Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



FLANGED RUN TEE FLANGES

SAE 1518 61 SERIES / IS06162-1 PATTERN

3181 TRI-PARK DR.

GRAND BLANC, MI 48439

Model 6205 / 6207

Model 6206 / 6208

800-521-7918 810-953-1380 FAX 810-953-1385

RUN BRANCH PART )

SIZE SIZE NUMBER A B C D E F K L O-RING| WT
1. 1. 6579-08M8-08DM8| 2.25 | 2.12 | 2.25 1.500 .688 .50 .78 1.000 210 26
2 2 [6580-08M8-08DM8 USE PART # 6576-08M8-08DM8 '

6205-12M-12DM | 2.50 | 2.62 | 2.25 1.875 875 .75 1.03 1.250 214
% | % 262 [ 225 | | 75 ] s
6206-12M-12DM USE PART # 6186-12M-12DM
1 - 6205-16M-16DM | 2.50 | 2.82 | 2.50 | 2062 | 1.031 | 1.00 | 1.09 1.562 219 a0
6206-16M-16DM USE PART # 6186-16M-16DM '
11/ 11/ 6205-20Mt-20DMt| 3.25 | 3.19 | 3.25 | 2312 | 1.188 | 1.25 | 1.38 1.750 222 .
4 4 [6206-20M7-20DMT USE PART # 6186-20M-20DM* '
11/ 11/ 6205-24M#-24DM%| 3,50 | 3.75 | 3.50 | 2.750 | 1.406 | 1.50 | 1.62 2.125 225 107
2 2 [6206-24M#-24DM# USE PART # 6186-24M-24DM# '
2 2 6205-32M#-32DM*| 4.00 | 4.00 | 4.00 | 3.062 | 1.688 | 1.94 | 1.91 2.500 228 136
6206-32M#-32DM3+ USE PART # 6186-32M-32DM# '
6205-40M+-40DM#| 4.50 | 4.50 | 4.50 3.500 2.000 2.44 2.25 3.000 232
21/2® 21/2 l l I l l I 18.3
6206-40M#-40DM+ USE PART # 6186-40M-40DM#
30 3 6205-48M-48DM | 550 | 531 | 550 | 4.188 | 2438 | 294 | 2.75 3.625 237 317
6206-48M-48DM USE PART # 6186-48M-48DM '
6205-56M-56DM | 6.00 | 6.00 | 6.00 4.750 2.750 3.44 3.00 4.109 241
31/2@ 31/2 l l I l l I 45.0
6206-56M-56DM USE PART # 6186-56M-56DM
4° 4 6205-64M-64DM | 6.00 | 6.38 | 6.00 | 5.125 | 3.062 | 3.94 | 3.00 4.609 245 8.2
6206-64M-64DM USE PART # 6186-64M-64DM '
5© 5 6205-80M-80DM [ [ | 6.000 | 3.625 | [ 5.609 253
6206-80M-80DM USE PART # 6186-80M-80DM
MATERIAL:
316L Stainless
O-Ring Style Companion Style
(Flat Face)
BRANCH BRANCH
II 1 l 1 I 1 “ \/ \/
IR >
| [
- ! o ' < RUN ' <
Té} ' # \' ¢
A
E — L F + F +
| I S — [Emp—
1c} 5] « e
& 7//4 RUN j
(o3 Cc

INFO@MAINMFG.COM

SAE 1518 62 SERIES / IS06162-2 PATTERN

RUN BRANCH PART )
SIZE SIZE NUMBER A B C D E F K L O-RING | WT
6207-08M8-08DM8| 2.00 | 2.22 | 2.00 1.594 718 .50 .81 1.000 210
12 1/2 2.0
6208-08M8-08DM8 USE PART # 6188-08M8-08DM8
6207-12M-12DM | 2.50 | 2.81 | 2.50 2.000 937 .75 1.06 1.250 214
% | % 281 [ 250 | | 75 ] s
6208-12M-12DM USE PART # 6188-12M-12DM
1 - 6207-16M-16DM | 3.00 | 3.19 | 3.00 | 2250 | 1.093 | 1.00 | 1.38 1.562 219 20
6208-16M-16DM USE PART # 6188-16M-16DM '
6207-20M#-20DM#| 3.50 | 3.75 | 3.50 2.625 1.250 1.25 1.41 1.750 222
1va | 1Va [ 275 | 3% ] | [125 ] 108
6208-20M#-20DM#+ USE PART # 6188-20M-20DM#
6207-24M-24DM | 4.00 | 4.50 | 4.00 3.125 1.437 1.50 1.75 2.125 225
115 | 115 l l I l l I 166
6208-24M-24DM USE PART # 6188-24M-24DM
2 2 6207-32M-32DM | 5.00 | 525 | 500 | 3.812 | 1.750 | 1.94 | 2.50 2.500 228 20,7
6208-32M-32M USE PART # 6188-32M-32DM '
6207-40M-40DM | 6.00 | 7.00 | 6.00 4.875 2.312 2.44 2.50 3.000 232
21/ | 21/5 l l I l l I sas
6208-40M-40DM USE PART # 6188-40M-40DM
3 3 6207-48M-48DM | 7.00 | 8.50 | 7.00 | 6.000 | 2.812 | 2.94 | 3.00 3.625 237 88,7
6208-48M-48DM USE PART # 6188-48M-48DM '
@ Includes Buna-N O-Ring @ 2500 PSI Max ® 2000 PSI Max & 500 PSI Max
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. t Also Available for M12 Bolts * Also Available for M14 Bolts 61

© Copyright MAIN Mfg. 2019




FLANGE ADAPTERS

AVAILABLE AS PAD ROTATORS, REDUCERS AND INCREASERS (Not shown)

316L Stainless

3181 TRI-PARK DR.

—

I

+

D

A

>

l

F

| -3
TAP-H /

(PAD 2)

DRILL-G

/(PAD 1)

Pé\:ll Pg:zz NS:/:;LR A|B | C| D E | F Gmm Hmm | J K | earrwo. Moz:::::sl(:;@ O-RING
1/> 1/5 [6315-08M8-08DMg 2.25 | 2.25 | 1.00 | 1.500 | .688 | .50 | 8.5 | M8x1.25|1.594 | .718 | MKM 564 M8 x 25 210
3/a 1/5 |6315-12M-08DM8| 2.25 [ 2.75|1.75| 1.875 | .875 | .50 | 10.5|M8x1.25|1.594 | .718 | MKM 502|  M10 x 40 214
3/a 3/4 | 6315-12M-12DM | 2.81|2.75|1.00 | 1.875 | .875 | .75 | 10.5| M10x1.5|2.000 | .937 |MKM 5572|  M10 x 25 214
1 1/> |6315-16M-08DM8| 2.25 | 3.00 | 1.75 | 2.062 | 1.031 | .50 [10.5|M8x1.25|1.594 | .718 | MKM 503 |  M10 x 40 219
1 3/4 | 6315-16M-12DM | 2.81[3.00 | 1.75 | 2.062 | 1.031 | .75 | 10.5|M10x1.5|2.000 | .937 | MKM 503 |  M10 x 40 219
1 1 | 6315-16M-16DM |3.19 | 3.00 | 1.25 | 2.062 | 1.031 | 1.00 | 10.5 [M12x1.75| 2.250 | 1.093 [MKM 2535 ~ M10 x 30 219
114 | 3/3 |6315-20M-12DM |2.81|3.25|1.75|2.312 | 1.188 | .75 [10.5|M10x1.5|2.000 | .937 |[MKM 3524|  M10 x 40 222
114 1 | 6315-20M-16DM | 3.19 | 3.25 [ 1.75 | 2.312 | 1.188 | 1.00 | 10.5 |[M12x1.75| 2.250 | 1.093 |[MKM 3524|  M10 x 40 222
114 | 11/4 |6315-20M-20DM#| 3.75 | 3.25 [ 1.25 | 2.312 | 1.188 | 1.25 | 10.5 |M12x1.75| 2.625 | 1.250 [MKM 2567| ~ M10 x 30 222
11> 1 |6315-24M#-16DM|3.19 [ 3.75 | 1.75 | 2.750 | 1.406 | 1.00 | 13.0 [M12x1.75| 2.250 | 1.093 [MKM 2599 ~ M12 x 45 225
11/ | 11/ 6315-24M+-20DM# 3.75 | 3.75 | 1.75 | 2.750 | 1.406 | 1.25 | 13.0 [M12x1.75| 2.625 | 1.250 |MKM 2599|  M12 x 45 225
11/2 | 11/2 |6315-24M#-24DM| 4.50 | 3.75 | 1.50 | 2.750 | 1.406 | 1.50 [ 13.0| M16x2 |3.125 | 1.437 [MKM 3535  M12 x 35 225
MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 bolts, add an SS at the end of

the kit number (MK 501SS). Please note that using stainless steel bolts may reduce the pressure rating of the assembly.

NOTE: Model 6315, shown, is O-Ring Face by Flat Face. Model 6316, see page 66, is Flat Face by Flat Face.
800-521-7918 810-953-1380 FAX 810-953-1385

GRAND BLANC, MI 48439

61 SERIES® TO 62 SERIES

INFO@MAINMFG.COM

SAE J518 / I1SO06162 BOLT PATTERN

ngll P(I:\;)z2 NECI?!TER A|B | C| D E | F Gmm Hmm | J K I earrwo. Moz:::\::sl(llz? O-RING
2 | 11/4 6315-32M+-20DM4 3.75 | 4.00 | 2.00 | 3.062 | 1.688 | 1.25 | 13.0 [M12x1.75| 2.625 | 1.250 [MKM 4513  M12 x 45 228
2 | 11/2 |6315-32M#-24DM| 4.50 | 4.00 | 1.50 | 3.062 | 1.688 | 1.50 [ 13.0| M16x2 |3.125 | 1.437 [MKM 3537|  M12x 35 228
2 2  |6315-32M#-32DM|5.25|4.00 | 1.75 | 3.062 | 1.688 | 1.94 [ 13.0 | M20x2.5 | 3.812 | 1.750 [MKM 4513|  M12 x 45 228
21/5% 1 1/5 |6315-40M#-24DM| 4.50 | 4.50 | 2.25 | 3.500 | 2.000 | 1.50 | 13.0| M16x2 |3.125 | 1.437 [MKM 4511  M12 x 60 232
21/54 2 |6315-40M#-32DM| 5.25 | 4.50 | 1.75 | 3.500 | 2.000 | 1.94 | 13.0| M20x2.5 | 3.812 | 1.750 |MKM 3562|  M12 x 45 232
21/5% 21/5 |6315-40M+-40DM| 6.88 | 5.00 | 2.00 | 3.500 | 2.000 | 2.44 [ 13.0| M24x3 |4.875 | 2.312 [MKM 2575  M12 x 50 232
3¢ 2 | 6315-48M-32DM | 5.25 | 5.50 | 2.50 | 4.188 | 2.438 | 1.94 | 17.0 | M20x2.5 | 3.812 | 1.750 | MKM 585 |  M16 x 60 237
39 | 21/5 | 6315-48M-40DM | 6.88 | 5.50 | 2.00 | 4.188 | 2.438 | 2.44 | 17.0| M24x3 | 4.875 | 2.312 [MKM 1511|  M16 x 50 237
3¢ 3 | 6315-48M-48DM | 8.50 | 6.00 | 2.50 | 4.188 | 2.438 | 2.94 | 17.0 | M30x3.5 | 6.000 | 2.812 | MKM 585 |  M16 x 60 237

@ Order Separately

62

NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED.

@ 2500 PSI Max ® 2000 PSI Max

® CAUTION: Flange Adapter Pressure Rating CANNOT Exceed 61 Series Pad Connection.

© Copyright MAIN Mfg. 2019

1 Also Available for M12 Bolts

* Also Available for M14 Bolts



FLANGE ADAPTERS
AVAILABLE AS PAD ROTATORS, REDUCERS AND INCREASERS (Not shown)

SAE ]J518 / 1S06162 BOLT PATTERN 61 SERIES TO 61 SERIES

3181 TRI-PARK DR.

the kit number (MK 501SS). Please note that using stainless steel bolts may reduce the pressure rating of the assembly.

—

I

+

D

A

>
l
F
| -3
/ :
TAP-H c

(PAD 2)

DRILL-G

/(PAD 1)

316L Stainless

ngll Pgtli)lz N:::;LR A|B | C| D E | F Gmm Hmm | J K I earrwo. Moz::::fsl(l;@ O-RING
1/» 1/5 [6317-08M8-08DMg 2.25 | 2.25 | 1.00 | 1.500 | .688 | .50 | 8.5 | M8x1.25|1.500 | .688 | MKM 564 M8 x 25 210
3/a 1/5 |6317-12M-08DM8| 2.25 [ 2.75|1.75| 1.875 | .875 | .50 | 10.5|M8x1.25|1.500 | .688 | MKM 502 |  M10 x 40 214
3/a 3/4 | 6317-12M-12DM | 2.75|2.75|1.00 | 1.875 | .875 | .75 | 10.5| M10x1.5|1.875 | .875 |MKM 5572|  M10 x 25 214
1 1/> |6317-16M-08DM8| 2.25 | 3.00 | 1.75 | 2.062 | 1.031 | .50 |10.5|M8x1.25|1.500 | .688 | MKM 503 |  M10 x 40 219
1 3/4 | 6317-16M-12DM | 2.75[3.00 | 1.75 | 2.062 | 1.031 | .75 | 10.5|M10x1.5|1.875 | .875 | MKM 503 |  M10 x 40 219
1 1 | 6317-16M-16DM |3.00 | 3.00 | 1.25 | 2.062 | 1.031 | 1.00 | 10.5 | M10x1.5 | 2.062 | 1.031 [MKM 2535  M10 x 30 219
114 | 3/3 |e317-20Mt-12DM|2.75|3.25|1.75|2.312 | 1.188 | .75 [10.5|M10x1.5|1.875 | .875 |MKM 3524|  M10 x 40 222
114 1 |6317-20Mt-16DM| 2.81 | 3.25[1.75| 2.312 | 1.188 | 1.00 [ 10.5 | M10x1.5 | 2.062 | 1.031 |[MKM 3524  M10 x 40 222
112 | 11/a 6317-20Mt-20DM1| 3.25 | 3.25 | 1.25 | 2.312 | 1.188 | 1.25 | 10.5 | M10x1.5 | 2.312 | 1.188 |MKM 2567|  M10 x 30 222
11> 1 [6317-24M#-16DM|2.75[3.75 | 1.75 | 2.750 | 1.406 | 1.00 | 13.0 | M10x1.5 | 2.062 | 1.031 [MKM 2599 ~ M12 x 45 225
11/2 | 11/4 [6317-2aM+-20DM1{ 3.25 | 3.75 2.00 | 2.750 | 1.406 | 1.25 [ 13.0 | M10x1.5 | 2.312 | 1.188 [MKM 3596 ~ M12 x 50 225
11/2 | 11/3 [6317-24aM+-24DM4 3.75 | 3.75 | 1.25 | 2.750 | 1.406 | 1.50 | 13.0 [M12x1.75| 2.750 | 1.406 [MKM 5502| ~ M12 x 30 225
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 bolts, add an SS at the end o MATERIAL :

NOTE: Model 6317, shown, is O-Ring Face by Flat Face. Model 6318, see page 68, is Flat Face by Flat Face.
800-521-7918 810-953-1380 FAX 810-953-1385

GRAND BLANC, MI 48439

61 SERIES TO 61 SERIES

INFO@MAINMFG.COM

SAE ]J518 / ISO06162 BOLT PATTERN

P2:11 P2:12 Nl:::;TER A/ B C|D E F Gmm Hmm | J K I earrno. Moz::::fsl(llz.;@ 0-RING
2 | 11/4 6317-32M#-20DM1| 3.25 | 4.00 | 2.00 | 3.062 | 1.688 | 1.25 | 13.0 | M10x1.5 | 2.312 | 1.188 [MKM 4513  M12 x 45 228
2 | 11/2 6317-32M#-24DM# 3.75 | 4.00 | 2.00 | 3.062 | 1.688 | 1.50 | 13.0 |M12x1.75| 2.750 | 1.406 |MKM 4513  M12 x 45 228
2 2  6317-32M#-32DM# 4.00 | 4.00 | 1.25 | 3.062 | 1.688 | 1.94 | 13.0 [M12x1.75| 3.062 | 1.688 |[MKM 1509| ~ M12 x 30 228

21/5% 1 1/5 (6317-40M#-24DM# 4.00 | 4.50 | 2.00 | 3.500 | 2.000 | 1.50 | 13.0 [M12x1.75| 2.750 | 1.406 |MKM 2575/  M12 x 50 232

21/5% 2 [6317-40M#-32DM# 4.00 | 4.50 | 2.00 | 3.500 | 2.000 | 1.94 | 13.0 [M12x1.75| 3.062 | 1.688 |MKM 2575  M12 x 50 232

21/5@ 21/5 (6317-40M+-40DM# 4.50 | 4.50 | 1.50 | 3.500 | 2.000 | 2.44 | 13.0 |[M12x1.75| 3.500 | 2.000 |[MKM 3538  M12 x 40 232
3¢ 2 |6317-48M-32DM#| 4.50 | 5.31 | 2.00 | 4.188 | 2.438 | 1.94 | 17.0 [M12x1.75| 3.062 | 1.688 |[MKM 1511|  M16 x 50 237
39 | 21/5 |6317-48M-40DM#| 4.50 | 5.50 | 2.25 | 4.188 | 2.438 | 2.44 | 17.0 |M12x1.75 3.500 | 2.000 | MKM 585 |  M16 x 60 237
3¢ 3 | 6317-48M-48DM | 5.50 [ 5.50 | 1.75 | 4.188 | 2.438 | 2.94 | 17.0| M16x2 |4.188 | 2.438 [MKM 2538  M16 x 45 237
@ Order Separately @ 2500 PSI Max ® 2000 PSI Max

NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts 63

© Copyright MAIN Mfg. 2019



FLANGE ADAPTERS
AVAILABLE AS PAD ROTATORS, REDUCERS AND INCREASERS (Not shown)

SAE ]J518 / 1S06162 BOLT PATTERN 62 SERIES TO 61 SERIES®

ngzl Pgtli)lz NS:/:;LR A|B | C| D E | F Gmm Hmm | J K I earrwo. Moz:::::sl(:;@ O-RING
1/» 1/5  [6339-08M8-08DMg 2.25 | 2.25 | 1.00 | 1.594 | .718 | .50 | 8.5 | M8x1.25 | 1.500 | .688 | MKM 564 M8 x 25 210
3/a 1/5 |6339-12M-08DM8| 2.25 [ 2.81 | 1.75 | 2.000 | .937 | .50 |10.5|M8x1.25|1.500 | .688 | MKM 502 |  M10 x 40 214
3/4 3/4 | 6339-12M-12DM | 2.75|2.81 | 1.00 | 2.000 | .937 | .75 | 10.5|M10x1.5|1.875| .875 |MKM 5572|  M10x 25 214
1 1/> |6339-16M-08DM8| 2.25 | 3.19 | 1.75 | 2.250 | 1.093 | .50 [12.5|M8x1.25|1.500 | .688 | MKM 513 |  M12x 45 219
1 3/4 | 6339-16M-12DM | 2.75[3.19 | 1.75| 2.250 | 1.093 | .75 | 12.5|M10x1.5|1.875 | .875 | MKM 513 |  M12x45 219
1 1 | 6339-16M-16DM | 3.00 | 3.19 | 1.25 | 2.250 | 1.093 | 1.00 | 12.5| M10x1.5 | 2.062 | 1.031 | MKM 569 | ~ M12 x 30 219
114 | 3/3 |6339-20M#-12DM|2.75|3.75|1.75|2.625 | 1.250 | .75 [13.0 | M10x1.5|1.875 | .875 |MKM 1527|  M12 x 40 222
114 1 |6339-20M#-16DM| 2.75 | 3.75 [ 1.75 | 2.625 | 1.250 | 1.00 | 13.0 | M10x1.5 | 2.062 | 1.031 |[MKM 1527|  M12 x 40 222
11/ | 11/ 6339-20M+-20DMt| 3.25 | 3.75 | 1.25 | 2.625 | 1.250 | 1.25 | 13.0 | M10x1.5 | 2.312 | 1.188 |[MKM 5557|  M12 x 30 222
11> 1 | 6339-24M-16DM | 3.25[4.50 | 1.75 | 3.125 | 1.437 | 1.00 | 17.0 | M10x1.5 [ 2.062 | 1.031 | MKM 562 |  M16 x 45 225
11/> | 11/ |6339-24m-20DMt| 3.25 | 4.50 | 2.00 | 3.125 | 1.437 | 1.25 | 17.0 | M10x1.5 | 2.312 | 1.188 | MKM 562 |  M16 x 45 225
11/2 | 11/2 |6339-24M-24DM#| 3.75 | 4.50 | 1.50 | 3.125 | 1.437 | 1.50 | 17.0 [M12x1.75| 2.750 | 1.406 [MKM 1531|  M16 x 35 225
MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 bolts, add an SS at the end of

316L Stainless

3181 TRI-PARK DR.

——

i

+

D

A

>

l

F

| -3
TAP-H /

(PAD 2)

DRILL-G

/(PAD 1)

the kit number (MK 501SS). Please note that using stainless steel bolts may reduce the pressure rating of the assembly.

NOTE: Model 6339, shown, is O-Ring Face by Flat Face. Model 6340, see page 66, is Flat Face by Flat Face.
800-521-7918 810-953-1380 FAX 810-953-1385

GRAND BLANC, MI 48439
SAE ]J518 / I1SO06162 BOLT PATTERN

62 SERIES TO 61 SERIES®

INFO@MAINMFG.COM

ngzl P(‘:\é)i2 Nl:::;TER A/ B C| D E F Gmm Hmm | J K I earrwo. Moz:::\::sl(llz.;@ 0-RING
2 | 11/4 |6339-32M-20DMt| 4.00 | 5.25 | 2.00 | 3.812 | 1.750 | 1.25 | 21.0 | M10x1.5 | 2.312 | 1.188 | MKM M20 x 50 228
2 | 11/2 |6339-32M-24DM#| 4.00 | 5.25 | 2.00 | 3.812 | 1.750 | 1.50 | 21.0 |M12x1.75| 2.750 | 1.406 | MKM M20 x 50 228
2 2 [6339-32M-32DM#| 4.00 | 5.25 [ 1.75 | 3.812 | 1.750 | 1.94 | 21.0 [M12x1.75| 3.062 | 1.688 | MKM 563 |  M20 x 45 228
21/> | 11/ [6339-40M-24DM# | 5.00 | 6.88 | 2.00 | 4.875 | 2.312 | 1.50 | 25.5 |M12x1.75/ 2.750 | 1.406 | MKM M24 x 50 232
212 | 2 |[6339-40M-32DM#| 5.00 | 6.88 | 2.00 | 4.875 | 2.312 | 1.94 | 25.5 |M12x1.75| 3.062 | 1.688 | MKM M24 x 50 232
21/5 | 21/5%6339-40M-40DM# | 5.00 | 6.88 | 2.00 | 4.875 | 2.312 | 2.44 | 25.5 |[M12x1.75| 3.500 | 2.000 | MKM M24 x 50 232
3 2 |6339-48M-32DM#| 6.00 | 8.50 | 2.50 | 6.000 | 2.812 | 1.94 | 32.0 [M12x1.75| 3.062 | 1.688 | MKM 518 | M30 x 110 237
3 | 21/5%6339-48M-40DM+| 6.00 | 8.50 | 2.50 | 6.000 | 2.812 | 2.44 | 32.0 [M12x1.75| 3.500 | 2.000 | MKM 518 | M30 x 110 237
3 3 | 6339-48M-48DM | 6.00 | 8.50 | 2.50 | 6.000 | 2.812 | 2.94 | 32.0| M16x2 | 4.188 | 2.438 [MKM 1514|  M30 x 70 237

@ Order Separately

NOTE:

64

@ 2500 PSI Max ® 2000 PSI Max

® CAUTION: Flange Adapter Pressure Rating CANNOT Exceed 61 Series Pad Connection.

DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED.

© Copyright MAIN Mfg. 2019

1 Also Available for M12 Bolts

+ Also Available for M14 Bolts



FLANGE ADAPTERS
AVAILABLE AS PAD ROTATORS, REDUCERS AND INCREASERS (Not shown)

SAE ]J518 / 1S06162 BOLT PATTERN 62 SERIES TO 62 SERIES

3181 TRI-PARK DR.

the kit number (MK 501SS). Please note that using stainless steel bolts may reduce the pressure rating of the assembly.

——

i

+

D

A

(PAD 2)

>

l

F

| -3
TAP-H /

DRILL-G

/(PAD 1)

316L Stainless

ngzl Pg:zz NS:/:;LR A|B | C| D E | F Gmm Hmm | J K I earrwo. Moz:::::sl(:;@ O-RING
1/> 1/5 [6341-08M8-08DMg 2.25 | 2.25 | 1.00 | 1.594 | .718 | .50 | 8.5 | M8x1.25|1.594 | .718 | MKM 564 M8 x 25 210
3/a 1/5 |6341-12M-08DM8| 2.25 [ 2.81 | 1.50 | 2.000 | .937 | .50 |10.5|M8x1.25|1.594 | .718 | MKM 502|  M10 x 40 214
3/4 3/4 | 6341-12M-12DM | 3.00 | 3.00 | 1.00 | 2.000 | .937 | .75 | 10.5|M10x1.5|2.000 | .937 |MKM 5572 ~ M10 x 25 214
1 1/> |6341-16M-08DM8| 2.25 | 3.19 | 1.50 | 2.250 | 1.093 | .50 [12.5|M8x1.25[1.594 | .718 | MKM 513 |  M12x 45 219
1 3/4 | 6341-16M-12DM |3.00 [ 3.19 | 1.75| 2.250 | 1.093 | .75 | 12.5|M10x1.5|2.000 | .937 | MKM 513 |  M12x45 219
1 1 | 6341-16M-16DM | 3.25[3.25 | 1.25 2.250 | 1.093 | 1.00 | 12.5 [M12x1.75| 2.250 | 1.093 | MKM 569 | ~ M12 x 30 219
11/4 | 3/3 |6341-20M#-12DM|2.81|3.75|1.75|2.625 | 1.250 | .75 [13.0 | M10x1.5|2.000 | .937 |[MKM 1527|  M12 x 40 222
114 1 |6341-20M#-16DM|3.25 | 3.75 [ 1.75 | 2.625 | 1.250 | 1.00 | 13.0 [M12x1.75| 2.250 | 1.093 |[MKM 1527|  M12 x 40 222
114 | 11/ 6341-20M+-20DM# 3.75 | 3.75 | 1.25 | 2.625 | 1.250 | 1.25 | 13.0 [M12x1.75| 2.625 | 1.250 [MKM 5557| ~ M12 x 30 222
11> 1 | 6341-24M-16DM | 3.25 [ 4.50 | 2.00 | 3.125 | 1.437 | 1.00 | 17.0 [M12x1.75| 2.250 | 1.093 | MKM 562 |  M16 x 45 225
11/> | 11/a |6341-24m-20DM#| 3.75 | 4.50 | 2.00 | 3.125 | 1.437 | 1.25 | 17.0 [M12x1.75| 2.625 | 1.250 | MKM 562 |  M16 x 45 225
11/2 | 11/2 | 6341-24M-24DM | 4.50 | 4.50 | 1.75 | 3.125 | 1.437 | 1.50 [ 17.0 | M16x2 |3.125|1.437 [MKM 1531|  M16 x 35 225
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 bolts, add an SS at the end o MATERIAL :

NOTE: Model 6341, shown, is O-Ring Face by Flat Face. Model 6342, see page 68, is Flat Face by Flat Face.
800-521-7918 810-953-1380 FAX 810-953-1385

GRAND BLANC, MI 48439

62 SERIES TO 62 SERIES

INFO@MAINMFG.COM

SAE ]J518 / I1SO06162 BOLT PATTERN

ngzl P(‘:\?22 Nl:::;TER A/ B C| D E F Gmm Hmm | J K I earrwo. Moz:::\::sl(llz.;@ 0-RING
2 | 11/3 |6341-32M-20DM#| 4.00 | 5.25 | 2.00 | 3.812 | 1.750 | 1.25 | 21.0 [M12x1.75| 2.625 | 1.250 | MKM M20 x 50 228
2 | 11/2 | 6341-32M-24DM | 4.50 | 5.25 | 2.25 | 3.812 | 1.750 | 1.50 | 21.0 | M16x2 |3.125|1.437 | MKM M20 x 50 228
2 2 | 6341-32M-32DM | 5.25|5.25 [ 1.75 | 3.812 | 1.750 | 1.94 | 21.0 | M20x2.5 | 3.812 | 1.750 | MKM 563 |  M20 x 45 228
21/> | 11/5 | 6341-40M-24DM | 5.00 | 7.00 | 2.50 | 4.875 | 2.312 | 1.50 | 25.5| M16x2 |3.125|1.437 | MKM M24 x 50 232
21> | 2 | 6341-40M-32DM |5.25|7.00 | 2.50 | 4.875 | 2.312 | 1.94 | 25.5 [ M20x2.5 | 3.812 | 1.750 | MKM M24 x 50 232
21/> | 21/5 | 6341-40M-40DM | 6.88 | 7.00 | 2.00 | 4.875 | 2.312 | 2.44 [ 25.5| M24x3 [4.875|2.312| MKM M24 x 50 232
3 2 | 6341-48M-32DM | 6.00 | 8.50 | 2.50 | 6.000 | 2.812 | 1.94 | 32.0 | M20x2.5 | 3.812 | 1.750 [MKM 1514|  M30 x 70 237
3 | 21/2 | 6341-48M-40DM | 7.00 | 8.50 | 2.50 | 6.000 | 2.812 | 2.44 [ 32.0 | M24x3 |4.875 | 2.312 [MKM 1514  M30 x 70 237
3 3 | 6341-48M-48DM | 8.50 [ 8.50 | 2.50 | 6.000 | 2.812 | 2.94 | 32.0 | M30x3.5 | 6.000 | 2.812 |[MKM 1514 ~ M30 x 70 237
@ Order Separately

NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. + Also Available for M14 Bolts G5

© Copyright MAIN Mfg. 2019



FLANGE ADAPTERS

AVAILABLE AS PAD ROTATORS AND REDUCERS

PADL | PAD2 | MRT A | B | c| D | E | F| Gmm | Hm | 3 | K
1/» 1/> |6316-08M8-08DM§ 2.25 | 2.25 | 1.00 | 1.500 | .688 .50 | M8x1.25 | M8x1.25 | 1.594 | .718
3/a 3/4 |6316-12M-12DM | 2.81 | 2.75 | 1.00 | 1.875 | .875 .75 | M10x1.5 | M10x1.5 | 2.000 | .937

1 1 |6316-16M-16DM | 3.19 | 3.00 | 1.25 | 2.062 | 1.031 | 1.00 | M10x1.5 | M12x1.75 | 2.250 | 1.093

114 | 11/4 6316-20Mt-20DM% 3.75 | 3.25 | 1.25 | 2312 | 1.188 | 1.25 | M10x1.5 | M12x1.75 [ 2.625 | 1.250

11/> | 11/a b316-24m+-20DM% 3.75 | 3.75 | 1.75 | 2.750 | 1.406 | 1.50 | M12x1.75 | M12x1.75 | 2.625 | 1.250

11/> | 11/> |6316-24m#-24DM| 4.50 | 3.75 | 1.50 | 2.750 | 1.406 | 1.50 | M12x1.75 | M16x2 | 3.125 | 1.437

2 | 11/3 |6316-32M#-24DM| 4.50 | 4.00 | 1.50 | 3.062 | 1.688 | 1.94 | M12x1.75 | M16x2 | 3.125 | 1.437

2 2 6316-32M#+-32DM| 5.25 4.00 1.75 3.062 1.688 1.94 | M12x1.75 | M20x2.5 3.812 1.750

21/5% 1/5 6316-40M#-40DM| 6.88 | 5.00 | 2.00 | 3.500 | 2.000 | 2.44 | M12x1.75 | M24x3 | 4.875 | 2.312

3® 3 6316-48M-48DM | 8.50 6.00 2.50 4.188 2.438 2.94 M16x2 M30x3.5 6.000 2.812

MATERIAL:
316L Stainless

e

o ¢ ="
<

L l

i _T_ | W7)

feert /B

(PAD 2)

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE )518 / 1S06162 BOLT PATTERN 62 SERIES TO 61 SERIES®
"e» | ot | wumer | A | B | C | D | E | F | Gum | Hwm | J | K
3/a 1/> | 6340-12M-08DM | 2.25 | 2.81 | 1.75 | 2.000 | .937 .50 | M10x1.5 | M8x1.25 | 1.500 | .688
1 3/4 |6340-16M-12DM | 2.75 | 3.19 | 1.75 | 2.250 | 1.093 | .75 | M12x1.75 | M10x1.5 | 1.875 | .875

114 1 |6340-20M#-16DM| 2.75 | 3.75 | 1.75 | 2.625 | 1.250 | 1.00 | M12x1.75 [ M10x1.5 | 2.062 | 1.031

11/> | 11/a |6340-24m-20DMt| 3.25 | 4.50 | 2.00 | 3.125 | 1.437 | 1.25 | Mi6x2 | M10x1.5 | 2.312 | 1.188

2 | 11/5 |6340-32M-24DM#| 4.00 | 5.25 | 2.00 | 3.812 | 1.750 | 1.50 | M20x2.5 | M12x1.75 | 2.750 | 1.406

21/ | 2 |[6340-40M-32DM#| 5.00 | 6.88 | 2.00 | 4.875 | 2.312 | 1.94 | M24x3 | M12x1.75 | 3.062 | 1.688

3 | 21/5%6340-a8M-40DM#| 6.00 | 850 | 2.50 | 6.000 | 2.812 | 2.44 | M30x3.5 | M12x1.75 | 3.500 | 2.000

@ 2500 PSI Max ® 2000 PSI Max
® CAUTION: Flange Adapter Pressure Rating CANNOT Exceed 61 Series Pad Connection.
66 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. T Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



STAINLESS STEEL PART NUMBERING

CATALOG PART NUMBERING SYSTEM

To change any Main Manufacturing Products’ part number in this catalog to 304L stainless steel, change the D to a B.
To change to carbon steel subtract 5 from the first digit and remove the SS Grade Option from the end of the part number:

316/316L Stainless Steel Part Number: 6103 - 20 - 16 DM12

304/304L Stainless Steel Part Number: 6103 - 20 - 16 BM12
Carbon Steel Part Number: 1103 - 20 - 16 M12

6 103 20 16 D M12

Stainless Steel | Indicated in 1/16ths |

Grade Specified by Option Code
6 = Standard - No Gauge Port 08 = 1/2” 40 =2 1/2" B = 304/304L

7 = 1/4" NPTF Gauge Port 12 = 3/4” 48 = 3” D = 316/316L
8 = -4 ORB (7/16-20) Gauge Port 16 =1" 56 =3 1/2"
20 = 11/4" 64 = 4"
Carbon Steel | 24=11/2" 80=5"
32 =2" 96 = 6” M** = Metric and
= Standard - No Gauge Port 00 = NO PORT screw size
1/4” NPTF Gauge Port EXAMPLE:

_ _ M12 - for use
4 ORB (7/16-20) Gauge Port with M12 screws

w N =
i

SOCKET WELD PIPE IN-LINE FLANGES SOCKET WELD PIPE IN-LINE FLANGES

SAE 1518 61 SERIES / 1S06162-1 PATTERI SAE )518 61 SERIES / IS06162-1 PATTERN

FLANGE PIPE PART Gmm MOUNTING KIT% FLANGE PIPE Gmm MOUNTING KIT%
SIZE SIZE NUMBER A|B|C D E F Jmm H | K I erno. | screwsize Jormne| WT SIZE SIZE A|B|C L E F Jmm H | K | oiRvno. | screw size
1101-08-08M8 8.5 MKM 501 M8 x 30 210 08BM8 8.5 MKM 501 M8 x 30
1, 1, —_— 1, 1, o
/2 /2 T102-08-08Ms | 1:50| 212 | 75 | 1.500 | 688 | .50 [l 38 | 860 (o —] s /> Y2 |cio2-08-08ms | 50| 212 | 75 | 1:500 | 688 | .50 [t 38 | 860 |
3, 3, 1101-12-12M10 . X } . } k 10.5 : : MKM 502 214 r 3, 3, 6101-12-12BM10 . y X ; i . 10.5 i y MKM 502 M10 x 40
3/ 7/% T102-12- 1m0 | 175 [ 2:62| 1,00 | 1.875 | 875 | 75 |t 150 (1,070 e — 10 3/ 3/ e102-12-128M10 | 175|262 | 1.00| 1.875 | 875 | .75 [ree 50 |1.070
1101-16-16M10 10.5 MKM 503 | M10 x 40 219 6101-16-16BM10 10.5 MKM 503 | M10 x 40
1 1 iorieiemio | 20| 282|100 | 2.062 | 1.031 | 1.00 [ore o 50 [1.335 > —12 1 1 iooieiemmio| 200 2:82|1.00(2.062 [ 1.031 | 1.00 ol 50 [1.335 >
1101-20-20M10% 105 MKM 3524|  M10 x 40 222 6101-20-20BM101 10.5 MKM 3524|  M10 x 40
1, 1, e 1, 1, e
1Ya | 1Ya 550 50mi0 | 250 | 319 | 1:00| 2312 | 1.188 | 1.25 |0 mo- 50 1,680 [~ =15 1Ya | 1Ya [¢0r50 20mi0r] 250 | 319 | 1:00| 2312 | 1.188 | 1.25 e 50 |1.680 7= -
1101-24-24M12% 13.0 MKM 3506|  M12 x 50 225 6101-24-24BM12+ 13.0 MKM 3506|  M12 x 50
1, 1, e 1, 1, |
12 | 12 (0500 0amiar | 275|375 | 1:25| 2750 | 1.406 | 1.50 [Zoromt 50 (1,920 (772 o ) 12 | 12 (00 sammizs| 275 | 375|125 2750 [ 1.406 | 1.50 (228"t 50 (1,920 (772
1101-32-32M12% 13.0 MKM 3501 228 6101-32-32BM12+ 13.0 MKM 3501|  M12x55
2 2 o332 3amias | 325|400 150 | 3.062 | 1.688 | 1.94 (et 62 (2,411 ~=36 2 2 0232 30mmiar] 325|400 150 | 3.062 | 1.688 | 1.94 (Lot o 62 (2,411
1101-40-40M12% 13.0 MKM 4511|  M12 x 60 232 6101-40-40BM12+ 13.0 MKM 4511|  M12 x 60
152 1 | 15?2 Yy e
215°% 21/ T103-40-40M12+ | 400 [4:50 | 1.75| 3.500 | 2.000 | 2.44 (L=t 75 (2,910 S 4 2152 21/ e102-40-a0BM12¢| 00 | 4:50 | 1.75|3.500 | 2.000 | 2.44 =R 75 (2,910 [
® 1101-48-48M16 17.0 MKM 508 | M16 x 75 237 ® 6101-48-48BM16 17.0 MKM 508 | M16 x 75
3 3 T02-a8-agmie | 450 | 531|200 4.188 | 2.438 | 2.04 ([ rer 75 (3540 =83 3 3 | eio2asasemie | +50| 531|200 4.188 | 2.438 | 2.04 [T 75 (3540
159 =21 1101-56-56M16 17.0 MKM 509 | M16 x 65 241 154 =1 6101-56-56BM16 17.0 MKM 509 | M16x 65 241
32| 3V2 [{igssesemic | 500 |6:00 [ 1:50|4.750 | 2750 | 3.44 [ HEo | 75 |a.0a5 = —— 7.5 32| 3Y2 [¢iorse-seamig | 500|600 [1:50 | 4.750 | 2750 | 3.44 |—ro | 75 a.045 = —— 75
@ 1101-64-64M16 17.0 MKM 510 245 @ 6101-64-64BM16 17.0 MKM 510 M16 x 60 245
4 4 T103-64-canite | 550 | 6:38 | 1.50 | 5.125 | 3.062 | 3.94 [ rm— 75 |4.550 [~ ——83 4 4 | Cioreicapmic] 550|638 [ 1.50 5125 3.062 | 3.94 [ 75 (4550 [ =83
@ 1101-80-80M16 17.0 MKM 511 | M16x75 253 ) 6101-80-80BM16 17.0 MKM 511 | M16x75 253
5 5 [ ioa-s0-somie | 700 | 7:25[2:006.000 | 3.625 | 4.94 —rer 75 |s635 [ ==—16.0] 5 5 [ ioa-s0-s0amie | 700 | 7:25 | 2:00| 6.000 | 3.625 | 4.94 o 75 |5.635 - ==—16.0]
. MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specify stainless Grade 18-8 .
MATERIAL: bolts, add an SS at the end of the kit number (MK 501SS). MATERIAL:
Low Carbon Steel Please note that using stainless steel bolts may reduce the pressure rating of the assembly. 304L Stainless
0-Ring Style Companion Style O-Ring Style Companion Style
(Flat Face) (Flat Face)
DRILLG APy DRILLG AP
e} W/ ) / W/
T Z 7 N7 Z 2
b s s T Nimn
8 L L F L F 5 L F T F
LD O 2 Z et S B
Z: % A # &
- T s - b 1
A —c— —c— A —c—| f—c—
Model 1101 / 1103 Model 1102 / 1104 Model 6101 / 6103 Model 6102 / 6104
SAE 1518 62 SERIES / IS06162-2 PATTERI SAE )518 62 SERIES / IS06162-2 PATTERI
FLANGE PIPE PART Gmm MOUNTING KIT: FLANGE PIPE PART Gmm MOUNTING KIT:)
s1zE s1zE NUMBER AlB|C|D|E|F 5 | H K owno | screwsze [orme|VT s1zE s1zE NUMBER A/B|C|D | E |F 5 " H| K| screwsize [ormne
1103-08-08M8 8.5 MKM 512 M8 x 35 210 6103-08-08BM8 8.5 MKM 512 M8 x 35 210
1 1 oo — 1. ¥ d d ¢ d .50 |. d 1 1 oo o 1. i X d ¢ d .50 | . d
/2 /2 T104-08-0sMs | 175 | 2:22| 1.00| 1.594 | 718 | .50 [iRo 50 | 860 — s /> /2 e104-08-08BME | 175 | 2:22|1:00| 1594 | 718 | 50 [ro 150 | .860 [ = —] s
1103-12-12M10 10.5 MKM 502 | M10 x 40 214 6103-12-12BM10 10.5 MKM 502 | M10 x 40 214
3, 3, E 3, 3, T E K .
773 /4 [ios12-1amio | 200 281 [ 1.00| 2000 | .937 | 75 |oe 50 (1,070 (T — — 13 773 8 | gr04 12 108m10 | 200 | 281 | 1.00|2.000 | 037 | 75 |t 50 [1.070 | 13
1103-16-16M12 12,5 M12 x 45 219 6103-16-16BM12 12.5 MKM 513 | M12x45 219
1 1 10416 1emis | 225|319 | 1.00 [ 2.250 [ 1.093 | 1.00 [LoS2o] 50 —15 1 1 Eioiicieamis| 225|319 1.00 (2.250 | 1.093 | 1.00 G252 50 1,335 - =15
1103-20-20M12% 13.0 M12 x 50 222 6103-20-20BM12+ 13.0 MKM 1502|  M12 x 50 222
1, 1, el 1, 1, e
14 14 T104-20-20M12¢ | 275|375 | 1:25 | 2.625 | 1250 | 1.25 |2t 150 {1680 (e =27 1Va | 114 610420 208M123| 275 | 375 | 1:25| 2625 | 1.250 | 1.25 [ZoR ) 50 (1,680 |7 =27
1103-24-24M16 17.0 MKM 515 | M16 x 60 225 6103-24-24BM16 17.0 MKM 515 | M16 x 60 225
1 Vo oaoaoamie | 3 Y d b X d d d X 1 Vo o S o 3 d d . ¥ d d d X
12 | 12 ioisaamie | 325|450 | 1:50 | 3.125 | 1.437 | 1.50 2o 150 [1.920 48 12 | 12 [uasamme ] 25 | 450 | 150 | 3.125 | 1.437 | 1.50 oo~ 50 (1,920 = =48
1103-32-32M20 21.0 M20 x 70 228 6103-32-328M20 21.0 MKM 516 | M20 x 70 228
2 2 Tl0432-32m20 | 00| 525|175 | 3.812 | 1.750 | 1.94 [0 62 [2.411 [ i 78 2 2 eioa3230mmz0 | #00| 525|175 3.812 | 1.750 | 1.94 [ 62 (2411 =78
1103-40-40M24 255 M24 x 80 232 6103-40-40BM24 255 MKM 517 | M24 x 80 232
1, 1, 1, 1, o
21> | 21> 1104-40-40Maa | 5:00 | 68| 2.00 | 4.875| 2312 | 2.44 [P0 ==15.2) 21> | 21> 104-40-40BM24 | 500 | 6:882.00| 4.875 | 2.312 | 2.44 | o 62 [2.911 [ - ==15.2
1103-48-48M30 32.0 MKM 518 M30 x 110 237 6103-48-48BM30 32.0 MKM 518 M30 x 110 237
3 3 T104-48-agms0 | 00 | 850 | 2:50 | 6.000 | 2.812 | 2.94 [t 62 (3,540 | > =—28.0] 3 3 |cios4sasemao] 600|850 250 |6.000 | 2.812|2.94 | 62 (3540 [ =—28.0]
@ Order Separately @ 2500 PSI Max @ 2000 PSI Max @ 500 PSI Max @ Order Separately @ 2500 PSI Max  ® 2000 PSI Max @ 500 PSI Max
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. + Also Available for M12 Bolts  # Also Available for M14 Bolts NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. f Also Available for M12 Bolts # Also Available for M14 Bolts

67

© Copyright MAIN Mfg. 2019



CONNECTOR BLOCKS - FA STYLE
AVAILABLE AS PAD ROTATORS AND REDUCERS (Not shown)

61 SERIES TO 61 SERIE

SAE 1518 / ISO6

162 BOLT PATTER

PADL | PAD2 | PRT A | B | Cc| D | E | F| Gomm | Hm | 3 | K
1/ 1/> |6318-08M8-08DM§ 2.25 | 2.25 | 1.00 | 1.500 | .688 .50 | M8x1.25 | M8x1.25 | 1.500 | .688
3/a 3/4 |e6318-12M-12DM | 2.75 | 2.75 | 1.00 | 1.875 | .875 .75 | M10x1.5 | M10x1.5 | 1.875 | .875
1 1 | 6318-16M-16DM | 3.00 | 3.00 | 1.25 | 2.062 | 1.031 | 1.00 | M10x1.5 | M10x1.5 | 2.062 | 1.031
114 | 11/a l318-20Mt-20DM1 3.25 | 3.25 | 1.25 | 2.312 | 1.188 | 1.25 | M10x1.5 | M10x1.5 | 2.312 | 1.188
11/> | 11/ 6318-24M#-24DM# 3.75 | 3.75 | 1.25 | 2.750 | 1.406 | 1.50 | M12x1.75 | M12x1.75 | 2.750 | 1.406
2 2 6318-32M#-32DM# 4.00 | 4.00 | 1.25 | 3.062 | 1.688 | 1.94 | M12x1.75 | M12x1.75 | 3.062 | 1.688
21/24 21/5 6318-40M+-40DM# 4.50 | 4.50 | 1.50 | 3.500 | 2.000 | 2.44 | M12x1.75 | M12x1.75 | 3.500 | 2.000
3¢ 3 | 6318-48M-48DM | 5.50 | 5.50 | 1.75 | 4.188 | 2.438 | 2.94 | M16x2 M16x2 | 4.188 | 2.438
MATERIAL:
316L Stainless
_—— / (PAD 1)
& 4 =
@ © |
B D |F

3181 TRI-PARK DR.

—

GRAND BLANC, MI 48439

|
TAP-H /——c—»

(PAD 2)

o

800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM
62 SERIES TO 62 SERIE

SAE 1518 / IS06162 BOLT PATTERN

PAD1 | PAD2 PART
c62 ce2 NUMBER A B C D E F Gmm Hmm J K
1/ 1/5 [6342-08M8-08DM§ 2.25 | 2.25 | 1.00 | 1.594 | .718 .50 | M18x1.25 | M8x1.25 | 1.594 | .718
3/s 3/4 | 6342-12M-12DM | 3.00 | 3.00 | 1.00 | 2.000 | .937 .75 | M10x1.5 | M10x1.5 | 2.000 | .937
1 1 | 6342-16M-16DM | 3.25 | 3.25 | 1.25 | 2.250 | 1.093 | 1.00 | M12x1.75 | M12x1.75 | 2.250 | 1.093
11/ | 11/ 6342-20M#-20DMH 3.75 | 3.75 | 1.25 | 2.625 | 1.250 | 1.25 | M12x1.75 | M12x1.75 | 2.625 | 1.250
11/ | 11/> | 6342-24m-24DM | 4.50 | 4.50 | 1.75 | 3.125 | 1.437 | 1.50 | M16x2 M16x2 | 3.125 | 1.437
2 2 | 6342-32m-32DM | 525 | 5.25 | 1.75 | 3.812 | 1.750 | 1.94 | M20x2.5 | M20x2.5 | 3.812 | 1.750
@ 2500 PSI Max @ 2000 PSI Max
® CAUTION: Flange Adapter Pressure Rating CANNOT Exceed 61 Series Pad Connection.
68 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts

© Copyright MAIN Mfg. 2019



CONNECTOR BLOCKS

SAE J518 61 SERIES / 1IS06162-1 PATTERN

“size | cwe | womses A B c D E F Jom | WT
1/ NA | 6304-08-08DM8 2.00 2.12 1.75 1.500 .688 .50 M8x1.25 1.8
3/a NA 6304-12-12DM10|  2.00 2.62 1.75 1.875 .875 .75 M10x1.5 | 2.1
1 NA 6304-16-16DM10|  2.25 2.75 1.75 2.062 1.031 1.00 M10x1.5 | 2.4
112 | NA 6304-20-20DM10tf  3.00 3.19 2.00 2.312 1.188 1.25 M10x1.5 4.4
112 | NA 6304-24-24DM124{  3.50 3.75 2.25 2.750 1.406 1.50 M12x1.75 | 5.9
2 NA 6304-32-32DM124  3.88 4.00 2.25 3.062 1.688 1.94 M12x1.75 | 6.6
21/% NA [6304-40-40DM12#  4.38 4.50 2.25 3.500 2.000 2.44 M12x1.75 | 9.1
3® | NA |6304-48-48DM16|  5.00 5.31 2.50 4.188 2.438 2.94 M16x2 11.9
MATERIAL:

316L Stainless

N
A o 2

© o =
- pra

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

AE J518 62 SERIES / IS06162-2 PATTERN
“swe | size | wumeer A B c D E F Jmm | WT
1/ NA | 6306-08-08DM8 |  2.00 2.22 1.75 1.594 718 .50 M8x1.25 | 1.9
34 | NA |6306-12-12DM10| 2.50 2.81 2.00 2.000 937 .75 M10x1.5 | 3.4
1 NA |[6306-16-16DM12| 2.75 3.19 2.00 2.250 1.093 1.00 | M12x1.75 | 4.2
114 | NA 6306-20-20DM12#  3.00 3.75 2.00 2.625 1.250 1.25 | M12x1.75 | 5.2
11/ | NA |6306-24-24DM16| 3.88 4.50 2.88 3.125 1.437 1.50 Mi6x2 | 12.1
2 NA |[6306-32-32DM20|  4.50 5.25 3.00 3.812 1.750 1.94 M20x2.5 | 16.2

@ 2500 PSI Max ® 2000 PSI Max

NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts 69
© Copyright MAIN Mfg. 2019



'MAIN' 1/4" THICK CONNECTOR PLATES

SAE J518 61 SERIES / IS06162-1 PATTERN

“oe | ez | wmsr | A | B | C | D E | F | Gmm wT
1/ NA | 6321-08-08DM8 | 1.75 | 2.12 .25 1.500 688 .50 8.5 4
3/a NA | 6321-12-12DM10 | 2.00 | 2.62 .25 1.875 .875 75 10.5 6

1 NA | 6321-16-16DM10 | 2.25 | 2.82 .25 2.062 1.031 1.00 | 105 7
112 | NA |6321-20-20DM10t| 2.75 | 3.19 .25 2.312 1188 | 1.25 | 105 1.0
112 | NA |6321-24-24DM12¢| 3.00 | 3.75 .25 2.750 1.406 | 1.50 | 13.0 1.2

2 NA |6321-32-32DM12%| 3.50 | 4.00 | .25 3.062 1.688 | 1.94 | 13.0 1.4

21> | NA 6321-40-40DM12%| 4.25 | 4.50 .25 3.500 2.000 | 2.44 | 13.0 2.0
3 NA |6321-48-48DM16 | 4.75 | 5.31 .25 4.188 2.438 | 2.94 | 17.0 2.4

MATERIAL:
316L Stainless
/—DRILL-G
S

3181 TRI-PARK DR.

GRAND BLANC, MI 48439

K{T} {é\

Ciusi
]

800-521-7918 810-953-1380 FAX 810-953-1385

S

l— . —=
|
T
|
|
T

INFO@MAINMFG.COM

AE J518 62 SERIES / I1SO6162-2 PATTERN |

"o | sz | wmmr | A | B | C | D E | F | Gmm wT
1/» NA | 6322-08-08DM8 | 2.00 | 2.22 .25 1.594 718 .50 8.5 5
3/a NA | 6322-12-12pM10 | 2.25 | 2.81 .25 2.000 .937 75 10.5 7
1 NA | 6322-16-16DM12 | 2.50 | 3.19 .25 2.250 1.093 1.00 | 125 1.0
112 | NA |6322-20-20pM12¢| 3.00 | 3.75 .25 2.625 1.250 1.25 13.0 1.3
112 | NA | 6322-24-24DM16 | 3.50 | 4.50 .25 3.125 1.437 | 150 | 17.0 1.9
2 NA | 6322-32-32DM20 | 4.25 | 5.25 .25 3.812 1.750 | 1.94 | 210 2.6

70 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. T Also Available for M12 Bolts # Also Available for M14 Bolts

© Copyright MAIN Mfg. 2019



DOUBLE O-RING ADAPTERS

SAE J518 61 SERIES / IS06162-1 PATTERN

3181 TRI-PARK DR.

GRAND BLANC, MI 48439

FLANGE PIPE PART @
pocl I o A | B | C D E F |Gmm | L | O-RING | WT
1/ NA | 6275-08-08DM8 | 1.50 | 2.12 .50 1.500 .688 .50 8.5 1.000 210 3
3/a NA | 6275-12-12pM10 | 1.75 | 2.62 .50 1.875 .875 .75 10.5 1.250 214 5
1 NA |6275-16-16DM10 | 2.00 | 2.82 | .50 2.062 1.031 | 1.00 | 10.5 1.562 219 6
1142 | NA |6275-20-20pM10t| 2.50 | 3.19 .50 2.312 1188 | 1.25 | 10.5 1.750 222 8
112 | NA |6275-24-24DM12%| 2.75 | 3.75 .50 2.750 1.406 1.50 13.0 2.125 225 1.0
2 NA 6275-32-32DM12%| 3.25 | 4.00 .50 3.062 1.688 | 1.94 | 13.0 2.500 228 1.2
21> | NA 6275-40-400M12%| 4.00 | 4.50 .50 3.500 2.000 | 2.44 | 13.0 3.000 232 1.7
3 NA | 6275-48-48DM16 | 4.50 | 5.31 .50 4.188 2.438 | 2.94 | 17.0 3.625 237 2.1
MATERIAL:
316L Stainless
/DRILL-G
O, O Z
D l
B F L
@ G}
L7
=
— C |—

800-521-7918 810-953-1380 FAX 810-953-1385

INFO@MAINMFG.COM

AE 1518 62 SERIES / IS06162-2 PATTERN |
e | ome NUMBER A | B | C D E F [Gmm | L | O-RING'| WT
1/ NA | 6276-08-08DM8 | 1.75 | 2.22 .50 1.594 718 .50 8.5 1.000 210 4
3/a NA | 6276-12-120M10 | 2.00 | 2.81 .50 2.000 937 .75 10.5 1.250 214 6
1 NA | 6276-16-16DM12 | 2.25 | 3.19 .50 2.250 1.093 1.00 | 125 1.562 219 8
112 | NA |6276-20-20pM12%| 2.75 | 3.75 .50 2.625 1250 | 125 | 13.0 1.750 222 1.1
112 | NA |6276-24-24DM16 | 3.25 | 4.50 .50 3.125 1.437 | 150 | 17.0 2.125 225 1.6
2 NA | 6276-32-320M20 | 4.00 | 525 | .50 3.812 1.750 | 1.94 | 21.0 2.500 228 2.2
@ Includes 2 Buna-N O-Rings
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts 71

© Copyright MAIN Mfg. 2019



RESERVOIR ADAPTERS
. SAE J518 61 SERIES / ISO6162-1 PATTERN ______

SAE J518 61 SERIES / 1IS06162-1 PATTERN

FLANGE PIPE PART
SIZE SIZE NUMBER A B c D E F Imm H K wWT
6209-08-08DM8 NA NA 1.2
1/» 1/» | 6563-08-08DM8 1.50 2.12 1.50 1.500 .688 .50 M8x1.25 | .38 860 1.2
6565-08-08DM8 NA | 172" NPTF | 1.2
6209-12-12DM10 NA NA 1.7
3/a 3/4 | 6563-12-12DM10 | 1.75 2.62 1.50 1.875 875 75 M10x1.5 [ .50 1.070 | 1.6
6565-12-12DM10 NA | 3/4" NPTF | 1.6
6209-16-16DM10 NA NA 2.0
i 1 6563-16-16DM10 | 2.00 2.82 1.50 2.062 1.031 1.00 | M10x1.5 | .50 1335 | 1.9
6565-16-16DM10 NA 1"NPTF | 1.9
6209-20-20DM10T NA NA 3.2
114 | 11/ [6563-20-200M107| 2.50 3.19 1.75 2.312 1.188 1.25 | M10x1.5 [ .50 1.680 | 3.0
6565-20-20DM10T NA |1 1/4" NPTF| 3.0
6209-24-24DM12% NA NA 2.0
11/> | 11/ [6563-24-24DM12%| 2.75 3.75 1.75 2.750 1.406 1.50 |Mi12x1.75| .50 1.920 | 3.8
6565-24-24DM12% NA |11/2" NPTF| 3.8
6209-32-32DM12% NA NA 43
2 2  [6563-32-32DM12%| 3.25 4.00 1.75 3.062 1.688 1.94 |M12x1.75[ .62 2411 | 4.4
6565-32-32DM12% NA 2"NPTF | 4.4
6209-40-40DM 12+ NA NA 7.3
21/5? 21/5 [6563-40-40DM12%| 4.00 4.50 2.00 3.500 2.000 2.44  |M12x1.75| .75 2.911 | 6.8
6565-40-40DM 12+ NA |2 1/2" NPTF| 7.0
6209-48-48DM16 NA NA 10.5
3¢ 3 | 6563-48-48DM16 | 4.50 5.31 2.25 4.188 2.438 2.94 M16x2 75 3.540 | 9.8
6565-48-48DM16 NA 3 NPTF | 9.7

MATERIAL:

316L Stainless

Plain Socket Weld NPTF

s o B9 B ¥

| |
O O | EB| s
e ul-

Model 6209 / 6210 Model 6563 / 6564 Model 6565 / 6566
3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE J518 62 SERIES / IS06162-2 PATTERN

FLANGE PIPE PART
SIZE SIZE NUMBER A B c D E F Imm H K wT
6210-08-08DM8 NA NA 1.5
1/ 1/5 | 6564-08-08DM8 | 1.75 2.22 1.50 1.594 718 .50 M8x1.25 | .50 860 1.4
6566-08-08DM8 NA | 1/2"NPTF | 1.5
6210-12-12DM10 NA NA 2.5
3/a 3/4 | 6564-12-12DM10 | 2.00 2.81 1.75 2.000 937 75 M10x1.5 | .50 1.070 | 2.4
6566-12-12DM10 NA | 3/4" NPTF | 2.4
6210-16-16DM12 NA NA 3.0
i | 1 | 6564-16-16DM12 | 2.25 3.19 1.75 2.250 1.093 1.00 |M12x1.75| .50 1.335 | 2.9
6566-16-16DM12 NA 1"NPTF | 2.9
6210-20-20DM12% NA NA 43
114 | 11/ [6564-20-200M12%| 2.75 3.75 1.75 2.625 1.250 1.25 | M12x1.75[ .50 1.680 | 4.1
6566-20-20DM12% NA |1 1/4" NPTF| 4.1
6210-24-24DM16 NA NA 7.8
11/ | 11/ |6564-24-24DM16 | 3.25 4.50 2.25 3.125 1.437 1.50 M16x2 .50 1.920 | 7.6
6566-24-24DM16 NA |1 1/2"NPTF| 7.5
6210-32-32DM20 NA NA 12.0
2 2 | 6564-32-32DM20 | 4.00 5.25 2.50 3.812 1.750 1.94 | M20x2.5 | .62 2.411  |11.7
6566-32-32DM20 NA 2"NPTF | 11.7

@ 2500 PSI Max ® 2000 PSI Max

72 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2019



'MAIN' TANK PORT ADAPTERS

BSPT TANK PORT

PART
SIZE NUMBER A B C E BspT WT
14 6377-04-04D 1.25 1.00 .73 1/4 2
1/» 6377-08-08D 1.50 1.25 .86 1/2 3
3/ 6377-12-12D 2.00 1.75 1.23 3/4 .8
1 6377-16-16D 2.00 2.00 1.48 1 1.1
114 6377-20-20D 2.00 2.38 1.86 11/4 1.3
11> 6377-24-24D 2.00 2.62 2.10 11/2 1.6
2 6377-32-32D 2.00 3.50 2.98 2 3.0

MATERIAL:
/ 316L Stainless
B C T B C
\—E \—E
BSP
/e \ 7
25— |— 25— |—
A A
Model 6377 Model 6376 / 6614

3181 TRI-PARK DR.

GRAND BLANC, MI 48439

800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

BSPP TANK PORT

SIZE NOMBER A B C E WT
14 6376-04-04D 1.25 1.00 73 1/4 - 19 2
1/» 6376-08-08D 1.50 1.38 .86 1/2 - 14 3
3/a 6376-12-12D 2.00 1.75 1.23 3/4 - 14 .9

i | 6376-16-16D 2.00 2.00 1.48 1-11 1.0
114 6376-20-20D 2.00 2.38 1.86 11/4-11 1.3
11> 6376-24-24D 2.00 2.62 2.10 11/2-11 1.5

2 6376-32-32D 2.00 3.50 2.98 2-11 2.6

1S06149 TANK PORT

SIZE NOMBER A B C E WT

M12 6614-04-04D 1.25 1.00 .73 M12 x 1.5 2

M18 6614-08-08D 1.50 1.25 .86 M18 x 1.5 .3

M27 6614-12-12D 1.75 1.75 1.23 M27 x 2 .9

M33 6614-16-16D 2.00 2.00 1.48 M33 x 2 1.0

M42 6614-20-20D 2.00 2.38 1.86 M42 x 2 1.3

M48 6614-24-24D 2.00 2.62 2.10 M48 x 2 1.5

M60 6614-32-32D 2.00 3.50 2.98 M60 x 2 2.6

73

© Copyright MAIN Mfg. 2019



'MAIN' COUPLINGS

e leme | e (a8 S, | D, |wr sze| o, | A | B | S |wr
=4 | =4 |6373-04-04D| 1.25 | 1.00 | 1/4-19 1/4-19 | .3 1/4 |6374-04-04D | 1.50 | 1.00 1/4 3
-6 | =6 |6373-06-06D| 1.38 | 1.12 | 3/8-19 3/8-19 | .4 3/g |6374-06-06D | 1.75 | 1.25 3/8 5
-8 | -8 |6373-08-08D| 1.50 | 1.38 | 1/2-14 1/2-14 | 6 1/> |6374-08-08D | 2.00 | 1.50 1/2 4
=12 =12 |6373-12-12D| 2.00 | 1.75 | 3/4-14 3/4-14 | 1.0 3/4 |6374-12-12D| 2.25 | 1.75 3/4 1.1
=16 -16/6373-16-16D| 2.00 | 2.00 | 1-11 1-11 1.2 1 | 6374-16-16D| 2.50 | 2.25 1 2.1
=20 -20/6373-20-200 | 2.00 | 2.38 | 11/4-11 | 11/4-11 | 1.5 11/4 6374-20-200| 2.50 | 2.50 | 11/4 | 2.2
=24 =24 |6373-24-24p| 2.25 | 2.62 | 11/2-11 | 11/2-11 | 1.8 11/2|6374-24-24D| 2,50 | 3.00 | 11/2 | 3.3
=32 =32(6373-32-32D| 2.25 | 3.50 | 2-11 2-11 | 3.0 2 |6374-32-32D| 3.00 | 3.62 2 5.4

MATERIAL:
316L Stainless
- \ B B - B -
BDSPP A BSPCP ESPT A BSFS;I' gSPP A BSPPI'
Model 6373 Model 6374 Model 6375
BSPP x BSPT

© | o NUMBER A B asee stor wT

-4 1/4 6375-04-04D 1.25 1.00 1/4-19 1/4 3

-8 1/» 6375-08-08D 2.00 1.50 1/2-14 1/2 9
-12 1> 6375-12-08D 2.25 1.75 3/4-14 1/2 1.3
-12 3/a 6375-12-12D 2.25 1.75 3/4-14 3/4 1.2
-12 1 6375-12-16D 2.50 2.25 3/4-14 1 2.2
-16 1 6375-16-16D 2.50 2.25 1-11 1 2.1
=20 | 114 6375-20-20D 2.50 2.50 11/4-11 11/4 2.2
=24 | 11> 6375-24-24D 2.50 3.00 11/2-11 11/2 3.3
-32 2 6375-32-32D 3.00 3.62 2-11 2 5.3
74

© Copyright MAIN Mfg. 2019



SOCKET WELD IN-LINE PIPE FLANGES

SAE 1518 61 SERIES / IS06162-1 PATTERN

FLANGE PIPE PART MOUNTING KIT®
SIZE SIZE NUMBER A B C D E F Gmm H K PART NO. BOLT SIZE O-RING WT
1/» 1/> | 6324-08-08DM8 | 1.50 |2.12| .75 | 1.500| .688 | .50 | 8.5 | .38 | .860 == || &
3/4 3/4 6324-12-12DM10 | 1.75 | 2.62 | 1.00 | 1.875 | .875 | .75 10.5 .50 |1.070 1.0
1 1 6324-16-16DM10 | 2.00 | 2.82 | 1.00 | 2.062 | 1.031 | 1.00 | 10.5 .50 [1.335 - 1.2
11/4 11/4 6324-20-20DM10t| 2.50 | 3.19|1.00 | 2.312 | 1.188 | 1.25 10.5 .50 [1.680 1.5
11/> | 11/2 [6324-24-24DM12%| 2.75 | 3.75 [ 1.25 | 2.750 | 1.406 | 1.50 | 13.0 | .50 |1.920 = |25
2 2  6324-32-32DM12#| 3.25 | 4.00 [ 1.50 | 3.062 [ 1.688 | 1.94 | 13.0 | .62 |2.411 -~ 136

@

21/2% | 21/> 6324-40-40DM12#| 4.00 | 4.50 | 1.75 | 3.500 | 2.000 | 2.44 | 13.0 | .75 |2.911 = |57

3® 3 6324-48-48DM16 | 4.50 | 5.31 | 2.00 | 4.188 | 2.438 | 2.94 | 17.0 .75 |3.540 --- 8.3
@

31/2% | 31/ | 6324-56-56DM16 | 5.00 | 6.00 | 1.50 | 4.750 | 2.750 | 3.44 | 17.0 | .75 |4.045 == ||75
4° 4 | 6324-64-64DM16 | 5.50 | 6.38 | 1.50 | 5.125 | 3.062 [ 3.94 | 17.0 | .75 |4.550 - |83
5@ 5 6324-80-80DM16 | 7.00 | 7.25 | 2.00 | 6.000 | 3.625 | 4.94 | 17.0 .75 |5.635 --- |16.0

MATERIAL:
316L Stainless
/DRILL-G

&, O A S v

D I

B K - -—t F

|
SRS o
|——E—-| —v— K '3 ’2
A — ¢ —
SAE 1518 62 SERIES / IS06162-2 PATTERN

FLANGE PIPE PART MOUNTING KIT®
SIZE SIZE NUMBER A B |C D E F| Gmm H | K PART NO. BOLT SIZE orineg | WT
1/> 1/> | 6326-08-08DM8 | 1.75|2.22|1.00 | 1.594 | .718 | .50 8.5 .50 | .860 = || 8
3/4 3/4 6326-12-12DM10 | 2.00 | 2.81 | 1.00 | 2.000 | .937 | .75 10.5 .50 |1.070 1.3
1 1 6326-16-16DM12 | 2.25 | 3.19 | 1.00 | 2.250 | 1.093 | 1.00 | 12.5 .50 [1.335 -~ |15
11/4 11/4 6326-20-20DM12#|2.75| 3.75| 1.25| 2.625 | 1.250 | 1.25 13.0 .50 |1.680 2.7
11/2 11/2 6326-24-24DM16 | 3.25 | 4.50 | 1.50 | 3.125 | 1.437 | 1.50 17.0 .50 |1.920 4.8
2 2 6326-32-32DM20 | 4.00 | 5.25 | 1.75 | 3.812 | 1.750 | 1.94 | 21.0 .62 |2.411 - |78

®

21/2 21/2 6326-40-40DM24 | 5.00 | 6.88 | 2.00 | 4.875 | 2.312 | 2.44 | 25.5 .62 |2.911 ---  J15.2
3@ 3 6326-48-48DM30 | 6.00 | 8.50 | 2.50 | 6.000 | 2.812 | 2.94 | 32.0 .62 [3.540 --- 28.0

@ Not Applicable

NOTE:

@ 2500 PSI Max ® 2000 PSI Max ® 500 PSI Max ® Not Included in SAE 1518 specifications

DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED.

© Copyright MAIN Mfg. 2019

T Also Available for M12 Bolts

* Also Available for M14 Bolts 75



SPLIT FLANGES

SAE 1518 61 SERIES / ISO 6162-1 PATTERN (13518 61 SERIES METRIC)
PART ® MOUNTING KIT @
FLANGE SIZE NUMBER A B c D E F G H J K PART NO. SCREW SIZE O-RING
1 6319-08-08 34 MK 701 | 5/16-18 x 1 1/4
/> 13 6319.08-08mg | 81| 2:12| .75 | 1.500| 688 | .955 | o | 245 .50 [1.219) T M8 x 25 210
3 6319-12-12 41 MK 1743 | 3/8-16x 1 1/4
3/ 19 6319-12-12m10 | 205256 | .88 | 1.875 | .875 |1.265| " | 245 | .56 | 1.531) oo M10 % 30 214
6319-16-16 41 MK 2735 | 3/8-16x 1 1/4
1 25 6319-16-16mM10 | 231|275 | 94 | 2.062| 1.031 |1.515) /") | 295 | .62 |1.781 )\ u T T W10 % 30 219
6319-20-20 47 MK 1727 | 7/16-14 x 1 1/2
114 32 |6319-20-20M10 | 2.88 | 3.12 | .88 |2.312 | 1.188 [1.720|[11.0]| .295 | .56 2.031| MKM 2767 M10 x 30 222
6319-20-20M12* [13.5] MKM 767 M12 x 35
6319-24-24 .53 MK 2736 | 1/2-13x 1 1/2
11> 38 |6319-24-24M12 | 3.253.69 | 1.00 | 2.750 | 1.406 |2.000|[13.5]| .295 | .62 [2.406 | MKM 3735 M12 x 35 225
6319-24-24M14* [15.0] MKM 2736 M14 x 40
6319-32-32 .53 MK 2737 | 1/2-13x 1 1/2
2 51 |6319-32-32M12 | 3.814.00 | 1.03 | 3.062 | 1.688 |2.470|[13.5]| .355 | .62 |2.844 | MKM 3737 M12 x 35 228
6319-32-32M14* [15.0] MKM 2737 M14 x 40
" 6319-40-40 .53 MK 1728 | 1/2-13 x 1 3/4
21/ 64 |6319-40-40M12 | 4.28 | 4.50 | 1.50 | 3.500 | 2.000 |2.950|[13.5]| .355 | .75 |3.344 | MKM 3738 M12 x 40 232
6319-40-40M14* [15.0] MKM 1728 M14 x 45
® 6319-48-48 .66 MK 2738 | 5/8-11x 13/4
3 76 6319-48.48M16 | 516 531|162 |4.188 | 2.438 |3.580| /77 | 355 | .88 |4.031 | 00 W16 % 50 237
@ 6319-56-56 .66 MK 1771 5/8-11 x 2
31/ 89 6319-56.56M16 | 550 | 6:00 | 1.12|4.750 | 2.750 |4.030| /07 | 422 | .88 |4.531 | 0 V16 x 50 241
@ 6319-64-64 .66 MK 1772 5/8-11 x 2
4 102 6319-646am16 | 6:00 [ 6:38|1.385.125| 3.062 |4.530| /07 | 422 |1.00(5.031 | oo V16 x 50 245

MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
bolts, add an SS at the end of the kit number (MK 501SS).
Please note that using stainless steel bolts may reduce the pressure rating of the assembly.

DRILL-G — T H

el v
O T /7
— H- T

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE 1518 62 SERIES / ISO 6162-2 PATTERN (J518 62 SERIES METRIC)
PART ® MOUNTING KIT @
FLANGE SIZE NUMBER A B c D E F G H J K PART NO. SCREW SIZE O-RING
1 6320-08-08 .34 MK 701 | 5/16-18 x 1 1/4
/> 13 6320-08-08Ms | 188 [222| 88 | 1.594| 718 | 970 | Ao | 285 | .62 |1.281) 00 M8 x 30 210
3 6320-12-12 41 MK 1725 | 3/8-16x 1 1/2
3/ 19 6320-12-12m10 | 238 [ 281 | 1.12]2.000 | .937 |1.280| /" | 325 | .75 | 1.656 | 1o W10 % 35 214
6320-16-16 47 MK 713 | 7/16-14 x 1 3/4
1 25 6320-16-16M12 | 275 | 3:19|1:31|2.250 | 1.093 |1.530| 3" | 355 | .94 |1.906| o0 W12 % 45 219
6320-20-20 .53 MK 2740 1/2-13x 2
114 32 |6320-20-20M12 | 3.06 | 3.75 | 1.50 | 2.625 | 1.250 | 1.750([13.5]| .385 |1.06|2.156 | MKM 704 M12 x 45 222
6320-20-20M14* [15.0] MKM 2740 M14 x 50
1 6320-24-24 .66 MK 2741 | 5/8-11x2 1/4
11/ 38 6320-24-24m16 | 375 [ 444 | 1.69 | 3.125| 1.437 12.030| /07 | 475 1.19|2.531 | o V16 55 225
6320-32-32 .78 MK 2743 | 3/4-10 x 2 3/4
2 51 6320-32.32M20 | 450 | 5:25|2.06 | 3.812 | 1.750 |2.660| 1) | 475 |1.44|3.156 |\ u oo 20 x 70 228
@ Order Separately @ 2500 PSI Max [12.5MPa Max] ® 2000 PSI Max [10 MPa Max] & 500 PSI Max [2.5 MPa Max]
® Includes Both Halves * Non Standard Screw For This Flange Size
76 NOTE: ALL Dimensions are in Inches. Metric Equivalents are in [].

© Copyright MAIN Mfg. 2019



FLANG AMPS

With Clearance Bolt Holes
0 6162-1 PATTERN (

SAE 1518 61 SERIES / 1

518 61 SERIES METRIC)

PART MOUNTING KIT @
FLANGE SIZE NUMBER A B c D E F G H J K PART NO. SCREW SIZE O-RING
1 6221-08-08 34 MK 701 | 5/16-18 x 1 1/4
/> 13 6221.08-0svg | 81| 2:12| .75 | 1.500| 688 | .955 | o | 245 .50 |1.219) T M8 x 25 210
3 6221-12-12 41 MK 1743 | 3/8-16x 1 1/4
3/ 19 6221-12-12m10 | 205256 | .88 | 1.875 | .875 |1.265| " | 245 | .56 | 1.531] oo M10 % 30 214
6221-16-16 41 MK 2735 | 3/8-16x 1 1/4
1 25 6221-16-16M10 | 231 [275| 94 | 2.062| 1.031 |1.515| /") | 295 | .62 |1.781 )\ u T T M10 % 30 219
6221-20-20 47 MK 1727 | 7/16-14 x 1 1/2
114 32 |6221-20-20M10 | 2.88 | 3.12 | .88 |2.312 | 1.188 [1.720|[11.0]| .295 | .56 [2.031| MKM 2767 M10 x 30 222
6221-20-20M12%* [13.5] MKM 767 M12 x 35
6221-24-24 .53 MK 2736 | 1/2-13x 1 1/2
11> 38 |6221-24-24M12 | 3.253.69 | 1.00 | 2.750 | 1.406 |2.000|[13.5]| .295 | .62 [2.406 | MKM 3735 M12 x 35 225
6221-24-24M14* [15.0] MKM 2736 M14 x 40
6221-32-32 .53 MK 2737 | 1/2-13x 1 1/2
2 51 |6221-32-32M12 | 3.81 | 4.00 | 1.03 | 3.062 | 1.688 |2.470|[13.5]| .355 | .62 |2.844 | MKM 3737 M12 x 35 228
6221-32-32M14* [15.0] MKM 2737 M14 x 40
" 6221-40-40 .53 MK 1728 | 1/2-13 x 1 3/4
21/ 64 |6221-40-40M12 | 4.28 | 4.50 | 1.50 | 3.500 | 2.000 |2.950|[13.5]| .355 | .75 |3.344 | MKM 3738 M12 x 40 232
6221-40-40M14* [15.0] MKM 1728 M14 x 45
® 6221-48-48 .66 MK 2738 | 5/8-11x 13/4
3 76 6221-48.48M16 | 516 531|162 |4.188 | 2.438 |3.580| /07 | 355 | .88 |4.031| 00 W16 % 50 237
@ 6221-56-56 .66 MK 1771 5/8-11 x 2
31/ 89 6221-56.96M16 | 550 | 6:00 | 1.12|4.750 | 2.750 |4.030| /07 | 422 | .88 |4.531 | 0 V16 x 50 241
@ 6221-64-64 .66 MK 1772 5/8-11 x 2
4 102 6221-64-6am16 | 6:00 638|138 5.125 | 3.062 |4.530| /07 | 422 |1.00(5.031 | oo V16 x 50 245

MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
bolts, add an SS at the end of the kit number (MK 501SS).
Please note that using stainless steel bolts may reduce the pressure rating of the assembly.

\&

3181 TRI-PARK DR.

—

A

DRILL-G

GRAND BLANC, MI 48439

~—H

800-521-7918 810-953-1380 FAX 810-953-1385

INFO@MAINMFG.COM

SAE 1518 62 SERIES / ISO 6162-2 PATTERN (J518 62 SERIES METRIC)
PART MOUNTING KIT @
FLANGE SIZE NUMBER A B c D E F G H J K PART NO. SCREW SIZE O-RING
1 6223-08-08 34 MK 701 | 5/16-18 x 1 1/4
/> 13 6223.08-08Ms | 188 [2:22| .88 | 1.594| 718 | 970 | Ao | 285 | .62 |1.281) 00 M8 x 30 210
3 6223-12-12 41 MK 1725 | 3/8-16x 1 1/2
3/ 19 6223-12-12m10 | 238 [ 2:81|1.12|2.000 | .937 |1.280| " | 325 | .75 |1.656 | 1o W10 % 35 214
6223-16-16 47 MK 713 | 7/16-14 x 1 3/4
1 25 6223-16-16M12 | 275 | 319|1:31|2.250 | 1.093 |1.530| 3'c | 355 | .94 |1.906| 0 M2 % 45 219
6223-20-20 .53 MK 2740 1/2-13x 2
114 32 |6223-20-20M12 | 3.06 | 3.75 | 1.50 | 2.625 | 1.250 |1.750([13.5]| .385 |1.06|2.156 | MKM 704 M12 x 45 222
6223-20-20M14* [15.0] MKM 2740 M14 x 50
1 6223-24-24 .66 MK 2741 | 5/8-11x 2 1/4
11/ 38 6223-24-2am16 | 375 [ 444|169 | 3.125| 1.437 12.030| /07 | 475 1.19|2.531 | o) V16 55 225
6223-32-32 .78 MK 2743 | 3/4-10 x 2 3/4
2 51 6223-32.32M20 | 450 | 5:25|2.06 | 3.812 | 1.750 |2.660| 1) | 475 |1.44|3.156 | v oo 20 x 70 228
@ Order Separately @ 2500 PSI Max [12.5MPa Max] ® 2000 PSI Max [10 MPa Max] @& 500 PSI Max [2.5 MPa Max]
* Non Standard Screw For This Flange Size
NOTE: ALL Dimensions are in Inches. Metric Equivalents are in []. 77

© Copyright MAIN Mfg. 2019



SOCKET WELD PIPE FLANGED HEADS

FLANGE PIPE PART @
e | Mk |A| B |C|D| E|F|G|H| K L O-RING NO.” |WT
6233-08-08D 1.000 210
1 1 212 | 1.188 |1.31|.265| .92 | .50 | .50 | .50 .860
/2 /2 e33408-08
3 3 6233-12-12D 1.250 214
T/ T/ 23412 1a0] 225 | 1500 |1.62].265|1.23| .75 | .50 | .50 | 1.070
233-16-16D . 21
1 1 62331616 | , 55| 1750 | 1.88 | .315 | 1.48 | 1.00 | .50 | .50 | 1.335 1.562 E
6234-16-16D
6233-20-20D 1.750 222
1 1
112 | 114 623420200 | 262 | 2000 |2.12.315|1.69 | 1.25| .50 | .50 | 1.680
6233-24-24D 2.125 225
1 1
11/ 11> e2349404D] 275 | 2375 |250.315|1.97 | 1.50 | .50 | .50 | 1.920
6233-24-32D 2.125 225
1
11> 2 23494320 40| 2375 |3.00|.315|1.97 | 1.50 | 1.00 | .62 | 2411
6233-32-32D 2.500 228
2 2 623430320 300 | 2812 [3.00|.375|244 1,94 | 75 | 62 | 2411
1.2 21 6233-40-40D 3.000 232
21/»% 21/ 23440400 | 325 | 3312 [362|.375|2389 232 | 75 | 62 | 2911
® 6233-48-48D 3.625 237
3 3 23448aa0 | 375 | 4000 |450].375|353 290 .88 | .75 | 3.540
® 6233-64-64D 4.609 245
4 i | 2346464 | 425 | 5000 |550|.442|4.483.88| .88 | .75 | 4.550
MATERIAL:
316L Stainless
O-Ring Style Companion Style
(Flat Face)
T |
B L T 4+ E___ K B |l= 4+ E__ K C
—{p|— H |— —{pj|— H [—
G [— G [—
A >

3181 TRI-PARK DR.

GRAND BLANC, MI 48439

Model 6233 / 6235
800-521-7918 810-953-1380 FAX 810-953-1385

<

Model 6234 / 6236

INFO@MAINMFG.COM

FLANGE PIPE PART @
SIZE SIZE numeer | A B C D E|F |G| H K L O-RING NO. | WT
1 1 6235-08-08D 1.000 210
/> /> 236-08-080 | 238 | 1250 [131].305| .92 | .50 | .62 | .50 .860
3 3 6235-12-12D 1.250 214
T/ T/ 623610120 275 | 1625 |1.62|.345|123| .69 | .62 | .50 | 1.070

6235-16-16D 1.562 219

1 1 e236-161ep] 300 | 1875 |2.00| 375|148 | .88 | .62 | .50 | 1.335
1 1 6235-20-20D 1.750 222
112 | 114 623620200 ] 3-38 | 2125 [238.405|1.69 | 1.19 | .62 | .50 | 1.680
1 1 6235-20-24D 1.750 222
112 | 11> 6236202401 375 | 2125 [275].405|1.69 | 1.19 | .62 | .50 | 1.920
1 1 6235-24-24D 2.125 225
117/ 11> 62369424p ] 375 | 2500 [275].495|1.97 | 1.38 | .62 | .50 | 1.920
1 6235-24-32D 2.125 225
11> 2 23694300 +88 | 2500 |3.25|.495|1.97|138|1.00 .75 | 2.411
6235-32-32D 2.500 228

2 2 623639300 400 | 3125 |3.50 | 495|260 |175| .75 | .62 | 2.411

@ Order Separately

78

@ 2500 PSI Max ® 2000 PSI Max @& 500 PSI Max

© Copyright MAIN Mfg. 2019



SOCKET WELD TUBE FLANGED HEADS

3181 TRI-PARK DR.

§

GRAND BLANC, MI 48439

D —=

p—

il

A |=—

Model 6287 / 6289

f'\tx

— A

Model 6288 / 6290

<

FLANGE TUBE PART @
pell B SO Y B c D F | H K L O-RING NO.” | WT
6287-08-08D 1.000 210
1 1 .50 1.188 91 .265 41 31 .510 2
/2 /2 | r88-08-080
3 3 6287-12-12D 1.250 214
T/ T/ 288121201 5° 1.500 1.22 .265 63 .38 .760 2
6287-16-16D 1.562 219
1 1 88161601 °° 1.750 1.47 .315 .88 .38 1.010 2
6287-20-16D 1.750 222
1
114 1 c28820-1601 °° 2.000 1.67 .315 .88 .38 1.010 4
6287-20-20D 1.750 222
1 1
112 | 11/ 28820200 5° 2.000 1.67 .315 112 | .38 1.260 3
6287-24-24D 2.125 225
1 1
11/ | 11> 28824240 62 2.375 1.95 .315 1.38 | .44 1.510 3
6287-32-32D 2.500 228
2 2 288303201 2 2.812 2.42 .375 1.88 | .44 2.010 4
1/-@ 6287-40-32D 3.000 232
21> 2 288403901 75 3.312 2.89 .375 1.88 | .44 2.010 8
1.2 21 6287-40-40D 3.000 232
21/»% 21/ 288402001 75 3.312 2.89 .375 2.38 | .50 2.510 6
® 6287-48-48D 3.625 237
3 3 eossasaan] 2 4.000 | 3.52 375 2.88 | .62 3.010 1.0
MATERIAL:
316L Stainless
0-Ring Style Companion Style
(Flat Face)
—| H ’_ —| H "
' ) i
B L F B (od

800-521-7918 810-953-1380 FAX 810-953-1385

INFO@MAINMFG.COM

B | o | . | A B C D F | H K L O-RING NO.” |WT
1/ 1/> gigz:gz:ggg 75 1.250 91 .305 41 | .50 510 1'_?(_)0 210 2
3/a 3/a gigzjijig 75 1.625 1.22 .345 63 .50 .760 1'_2_?0 214 2

1 1 gigzjgjgg .94 1.875 1.47 375 75 .50 1.010 1'_5_?2 219 4
114 1 Zigzjgjgg 1.00 | 2.125 1.69 405 75 .50 1.010 1'_7_?0 222 6
11 14 gigz:;g:igg 1.00 | 2125 | 1.69 405 1.00 | .62 1.260 1'_7_?0 222 5
117> | 11> gigz:;;‘jig 125 | 2500 | 1.97 | 495 | 125 | .75 | 1.510 212 225 5

2 11> Zigzjz:ig 1.50 | 3.125 | 2.59 495 138 | .75 1.510 2'_5_(_)0 228 1.6

2 2 2;33:2;2;3 1.50 3.125 2.59 495 1.75 | .75 2.010 2'_‘?(_)0 228 1.4
@ Order Separately @ 2500 PSI Max ® 2000 PSI Max

79

© Copyright MAIN Mfg. 2019



NPTF THREADED FLANGED HEADS

FLANGE PIPE PART @
e | et | mmetr |A| B |C|D|E|F|G|H| K L O-RING NO.” |WT
1 1 6241-08-08D | , o> | 1188 |1.31|.265| .92 | .50 | 1.00 | 1.06 1/2 1.000 210

/2 /2 esa305-080 /
3 3 6241-12-12D |, oo | 1500 | 1.62 | 265 | 1.23 | .75 | 1.00 | 1.06 3/4 1.250 214
Z 2 6242-12-12D /
-16- 1.562
1 1 6241-16-16D | 5 4 | 1750 | 1.88 | .315 | 1.48 | 1.00 | 1.25 | 1.25 1 56 219
6242-16-16D
1 6241-16-20D 1.562 219
1 114 222162001 3-50| 1750 |2.12.315|1.481.00|138 | 1.31| 11/4
1 1 6241-20-20D | 5 o | 5 000 | 2.12 | .315 | 1.69 | 1.25 | 1.38 | 1.31 11/4 1.750 222
1% | 1Y (o000 > ' i i il e !
1 1 6241-20-24D | 5 oo | 5 000 | 2.50 | .315 | 1.69 | 1.25 | 1.31 | 1.31| 1172 1.750 222
1Ya | 12 00w > : 20| : : ' : /
1 1 6241-24-24D | o) | 5375 | 2.50 | .315 | 1.97 | 1.50 | 1.38 | 1.31 11/2 2.125 225
12 | 1Y2 im0 > ‘ ad i el ' ' /
1 6241-24-32D | oo | 5375 |3.00|.315 | 1.97 | 1.50 | 1.38 | 1.31 2 2.125 225
1 /2 2 6242-24-32D | 7 ’ ’ ’ : ’ ' )
6241-32-32D 2.500 228
2 2 24730300 362 | 2812 |3.00|.375| 244 | 1.94 | 138 | 1.31 2
1/5,@ 1 6241-40-40D | | 20| 3315 | 362 | .375 | 2.80 | 2.44 | 1.75 | 1.59 | 2172 3.000 232
22°% 2Y2 |55 a0a00| ¢ : aall el I ' ' /
MATERIAL:
316L Stainless
O-Ring Style Companion Style
(Flat Face)
[ [
c B T 4+ —E c
D — [=—
l— G —] — G —
A A

3181 TRI-PARK DR.

GRAND BLANC, MI 48439

800-521-7918 810-953-1380 FAX 810-953-1385

Model 6241 / 6243

Model 6242 / 6244
INFO@MAINMFG.COM

FLANGE PIPE PART @
SeE | e | nme. /Al B |C|D|E|F|G|H| K L O-RING NO.” |WT
1 1 6243-08:08D | » 75| 1250 | 1.31|.305 | .92 | .50 | 1.06 | 1.06 1/2 1.000 210

/2 /2 | eraa-08-080| > ' s b 92 06 | 1. /
3 3 6243-12:12D | 5 15 | 1625 | 1.62 | .345 |1.23 | .69 | 1.06 | 1.06 3/4 1.250 214
/a Z 6244-12-12D | ' ' ' ’ ’ : : /
6243-16-16D 1.562 219

1 1 3.62| 1.875 |2.00|.375|1.48 | .88 | 1.25 | 1.25 1
6244-16-16D
1 1 6243-20:20D | 4 0o | 2.125 | 238 |.405 |1.69 | 1.19 [ 131 | 1.31| 11/4 L.750 222
1% | 14 [Guis000 | * ' i e i Rl /
1 1 6243-20:24D | 4 50 | 2125 |2.75|.405 [ 1.69 | 1.19 [ 138 | 1.31| 1172 L.750 222
1Y | 12 [in00m0 | * ' i el I ' ' /
1 1 6243-24-24D | 4 50| 2500 |2.75|.495 [1.97 | 1.38 138 | 1.31| 1172 2:125 22>
12 | 12 6244-24-24D | ' ' ' ' ' ' ' /
1 6243-24-32D | 5 75| 2.500 | 3.50 | .495 | 1.97 | 1.38 | 1.38 | 1.31 2 2:125 22>
12 2 6244-24-32D | ' ' ' ’ ) : )
6243-32-32D 2.500 228

2 2 4.62 | 3.125 |3.50 | .495|2.60 | 1.75 | 1.38 | 1.31 2
6244-32-32D

@ Order Separately

80

@ 2500 PSI Max

© Copyright MAIN Mfg. 2019



SAE J1926 THREADED FLANGED HEADS

FLANGE PART @
SIZE ORB NUMBER A B C D E F G K L O-RING NO. WT
1 - 6245-0808D | , o | 1188 | 1.31|.265| .92 | .50 | 1.00 3/4-16 1.000 210

/2 8 cos0m /
3 - 6245:12-12D | 5 o4 | 1500 | 1.75 | 265 | 1.23 | 75 | 1.12 11/16-12 1.250 214
/a 12 6246-12-12D /
1 -16 6245-16-16D | 300 | 1.750 | 2.00 | .315 | 1.48 | 1.00 | 1.12 15/16-12 1.562 219
6246-16-16D
6245-16-20D 1.562 219
1 -20 erae1ea0p] 350 | 1750 |2.38 | 315|148 | 1.00 | 1.19 15/8-12
1 - 6245-20-20D | 5 o | 5000 | 2.38 | .315 | 1.69 | 1.25 | 1.19 15/8-12 1.750 222
1a 20 [icooom | * : 38 : : : /
1 - 6245-20:24D | 5 oo | 5000 | 2.62 | .315 | 1.69 | 1.25 | 1.38 17/8-12 1.750 222
1 /4 24 6246-20-24D | ~° ’ ’ ’ : ’ ’ /
1 - 6245:24-24D | 5 oo | 5375 | 2.62 | 315 | 1.97 | 1.50 | 1.38 17/8-12 2.125 225
1 /2 24 6246-24-24D | ~° ’ ’ ) : : ’ /
1 - 6245:24-32D | |\ 4 | 2375 | 3.50 | .315 | 1.97 | 1.50 | 1.12 21/2-12 2.125 225
1 /2 32 6246-24-32D | ’ ’ ’ : ’ ’ /
6245-32-32D 2.500 228
2 -32 erat39300 ] 400 | 2812 |3.50 | 375 | 244 | 1.94 | 1.12 21/2-12
1/, - 6245:40-32D | |\ 0| 3312 | 3.50 | .375 | 2.89 | 1.94 | 1.44 21/2-12 3.000 232
22 32 et : S0 : : : /
MATERIAL:
316L Stainless
O-Ring Style Companion Style
(Flat Face)
[ [
T V/ g/ /e T / /e
B L |l= 4 E B |l= 4 E c
—| |~—b |——G—» — |—b |——G—»
A A

Model 6245 / 6247
GRAND BLANC, MI 48439

Model 6246 / 6248

3181 TRI-PARK DR. 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

FLANGE PART @
SIZE ORB NUMBER A B C D | E F | G K L O-RING NO.” |WT
1 - 6247-08:08D | , ;o | 1750 |1.31.305| .92 | .50 | 1.06 3/4-16 1.000 210

/2 8 [eaisos om0 /
3 - 6247-12-12D | 5 5 | 4625 | 1.75 | 345 | 1.23 | .69 | 1.31 11/16-12 1.250 214
/4 1 2 6248-12-12D | ~° ’ ’ ' : ’ ' /
6247-16-16D 1.562 219

1 -16 3.62| 1.875 |2.00/.375|1.48| .88 | 1.25 15/16-12
6248-16-16D
6247-16-20D 1.562 219
1 -20 24616900 400 | 1.875 |2.38|.375| 148 | .88 | 1.31 15/8-12
1 _ 6247-20-20D i 1.750 222
114 20 24520200 | 400 | 2125 |2.38 | .405 | 1.69 | 1.19 | 1.31 15/8-12
1 _ 6247-24-24D ] 2.125 225
11> 24 e228-2424D ] 50| 2500 | 2.75|.495 | 1.97 | 1.38 | 1.38 17/8-12
1 _ 6247-24-32D i 2.125 225
11> 32 24624300 00| 2500 | 3.50 | 495 | 1.97 | 1.38 | 1.38 21/2-12
6247-32-32D 2.500 228
2 -32 24539300 +:62 | 3125 |3.50 | 495|260 | 1.75 | 1.38 2 1/2-12

@ Order Separately @ 2500 PSI Max
NOTE: The Pressure Rating of the Assembly Should NOT Exceed the Lower of the Flange Pad or the Fitting. Check the Fitting Manufacturer for Details.
81

© Copyright MAIN Mfg. 2019



BUTT WELD FLANGED HEADS

For Schedule 40 Pipe ®

“Gize | size | wmser | A | B | € | D | F | F | L | O-RINGNO. |WT
1/ 1/ :;:z:g:zg:g 1.25 1.188 92 265 .53 62 1'_(3(_)0 210 2
3/4 3/4 gigz:iijig 1.44 1.500 1.23 265 .75 .82 1'_2_?0 214 3

6249-16-16D 1.562 219
1 1 crs0-16.1601 1 1.750 1.48 315 .94 1.05 4
11 | 1V :i:ijg:zgg 1.44 2.000 1.69 315 1.25 1.38 2730 222 5
11> | 11> 22:3:22:525 1.50 2.375 1.97 315 1.50 1.61 2125 225 6
6249-32-32D 2.500 228
2 2 [0 190 2.812 2.44 375 1.94 2.06 8
21> | 21/ :;:2:23:223 2.00 3.312 2.89 375 2.47 2.47 3'_?(_)0 232 1.2
6249-48-48D 3.625 237
3 3 |exoasasn| 212 4.000 3.53 375 2.90 3.06 2.1
31> | 31> 25:3:22:223 1.62 4.500 3.98 442 3.36 3.54 4'_1_(_)9 241 2.0
6249-64-64D 4.609 245
4 4 ocienn 188 5.000 4.48 442 3.83 4.02 2.6
MATERIAL.:
316L Stainless
O-Ring Style Companion Style
(Flat Face)

L \/ /37.5° L \/ /37.5"
A A

Model 6249 / 6251 Model 6250 / 6252

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

e | ewe NUMBER A B c D F, F, L O-RING NO.” |WT
Va | V2 fonoeem] | 10 | e | o | m | e R 210 2
3/a 3/a :;i;iii;g 1.62 1.625 1.23 345 .75 .82 1'_2_?0 214 4
1 1 2;;:12:123 1.88 1.875 1.48 375 .94 1.05 1'_‘??2 219 P
14 | 114 2;2;:22:;83 2.00 2.125 1.69 405 1.25 1.38 L750 222 5
19 |19 (22228] o | | v | e | w | e (2R
2 | 2 [g5bn] ase | 3azs | 2s0 | ass | isa | 208 |2 220

@ Order Separately
® Other Pipe and Tube Sizes are Available

© Copyright MAIN Mfg. 2019



BUTT WELD FLANGED HEADS

For Schedule 80 Pipe ®

FLANGE PIPE PART @
SIZE SIZE NUMBER A B C D E F L O-RING NO. WT
6253-08-08D 1.000 210
1 1 1.2 1.1 .92 2 . . 2
/> /> 6254-08-08D 5 88 9 65 65 53
6253-12-12D 1.250 214
3 3 1.44 1. 1.2 2 . 7 )
/n T/ 625412190 500 3 65 88 5 3
6253-16-16D 1.562 219
1.44 1.7 1.4 31 1. 1. 4
1 1 6254-16-16D 50 8 315 06 00
6253-20-20D 1.750 222
1 1 1.44 2. 1. 31 1. 1.2 )
112 | 114 625420200 000 69 315 38 5 5
6253-24-24D 2.125 225
1 1 1. 2.37 1.97 31 1.62 1. )
11/ 11> 62542424 50 375 9 315 6 50 6
6253-32-32D 2.500 228
1. 2.812 2.44 .37 2. 1.94 .
2 2 6254-32-39D 50 8 375 06 9 8
6253-40-40D 3.000 232
1 1 2. 312 2. .37 2.44 2.32 1.4
21> | 21> 6254-20-400 00 3.3 89 375 3
6253-48-48D 3.625 237
2.12 4, ) .37 .02 2. 2.1
3 3 6254-48480 000 3.53 375 3.0 90
6253-56-56D 4.109 241
1 1 1.62 4. . .442 4 ) 1.
31> | 31> 6254-56-560 6 500 3.98 3.48 3.36 9
6253-64-64D 4.609 245
1. ) 4.4 442 ) . 2.
4 i | 6254-64-64D 88 5.000 8 3.95 3.83 6
MATERIAL:
316L Stainless
0-Ring Style Companion Style
(Flat Face)
p ?I )__ ) _
I T T T
B L F — E (o] F - E (o]

3181 TRI-PARK DR.

GRAND BLANC, MI 48439

/37.5

Model 6253 / 6255

/37.5

s

Model 6254 / 6256

=

800-521-7918 810-953-1380 FAX 810-953-1385

INFO@MAINMFG.COM

"omE | e | numeer A B c D E F L O-RING NO.” | WT
1/ 1/> Z;?Z:g::g:g 1.38 1.250 .92 .305 .65 .53 1'_??0 210 2
3/a 3/a 25?231% 1.62 1.625 1.23 .345 .88 .75 1'_2_?0 214 4

1 1 Z;;g:i::i:g 1.88 1.875 1.48 375 1.06 .94 1'_‘??2 219 6
112 | 114 Z;;gjg:igg 2.00 2.125 1.69 .405 1.38 1.25 1'_7_?0 222 7
11> | 11> Zi?g:i::i:g 2.25 2.500 1.97 .495 1.62 1.50 2'_1_?5 225 1.1

2 2 Z;;gg;;ig 2.56 3.125 2.60 495 2.06 1.94 2'_‘??0 228 1.9
@ Order Separately

® Other Pipe and Tube Sizes are Available
83

© Copyright MAIN Mfg. 2019



BUTT WELD FLANGED HEADS

For Schedule 160 Pipe ®

e | Siee NUMBER A B C D E F L O-RING NO.” |WT
1/ 1/» :;i;:gzzgzg 1.25 1.188 .92 .265 .59 47 1'_?(_)0 210 2
3/a 3/a :ii;i;i;g 1.44 1.500 1.23 .265 .73 61 1'_2_?0 214 4

6257-16-16D 1.562 219
1 1 emsie1en] 1 1.750 1.48 315 .93 .81 5
112 | 114 253;:;8:583 1.44 2.000 1.69 315 1.28 1.16 1'_7_1_;0 222 6
11/ 11> 2;3;:;2:523 1.50 2.375 1.97 315 1.46 1.34 2'_1_?5 225 7
6257-32-32D 2.500 228
2 2 2539300 150 2.812 2.44 .375 1.81 1.69 1.1
21 | 21/ :;i;:ig:igg 2.00 3.312 2.89 375 2.24 2.12 3'_(3(_)0 232 1.8
6257-48-48D 3.625 237
3 3 eosasasn| 212 4.000 3.53 .375 2.75 2.62 2.7
31> | 31> 253;:32:2:3 1.62 4.500 3.98 442 3.12 3.00 4'_1_(_)9 241 2.6
6257-64-64D 4.609 245
i | i | c>s8-64.640 188 5.000 4.48 442 3.56 3.44 3.6
MATERIAL:
316L Stainless
0O-Ring Style Companion Style
(Flat Face)
PN X N I
B L (o3 B —’7 Cc

3181 TRI-PARK DR.

GRAND BLANC, MI 48439

—
i

1!
i

800-521-7918 810-953-1380 FAX 810-953-1385

/
L \/ 315
A

Model 6257 / 6259

N -
i

=

—D

>
Model 6258 / 6260

/
L v |35
A

INFO@MAINMFG.COM

Mo | ez NUMBER A B c D E F L O-RING NO.” |WT
1/ 1/ 2523:82:823 1.38 1.250 .92 .305 .59 .47 1'_??0 210 2
3/a 3/4 :;23:3:1;2 1.62 1.625 1.23 .345 73 .61 1'_2_?0 214 5

1 1 2;:3:12:123 1.88 1.875 1.48 .375 .93 .81 1'_‘??2 219 7
12 | 114 2;:3:23:533 2.00 2.125 1.69 .405 1.28 1.16 1'_7_?0 222 .8
11> | 11> 22:3:2::522 2.25 2.500 1.97 .495 1.46 1.34 2'_1_?5 225 1.2

2 2 2;:3:25:2;3 2.56 3.125 2.60 .495 1.81 1.69 2'_‘??0 228 2.4

@ Order Separately
® Other Pipe and Tube Sizes are Available

84

© Copyright MAIN Mfg. 2019




BUTT WELD FLANGED HEADS

For Schedule XXS Pipe ®

FLANGE PIPE PART @
SIZE SIZE NUMBER A B C D E F L O-RING NO. wT
6261-08-08D 1.000 210
1 1
/> /> 6260080801 125 1.188 .92 .265 .38 .25 2
6261-12-12D 1.250 214
3 3 . . . . . . .
T/ T/ 6260101001 1 1.500 1.23 265 56 44 4
6261-16-16D 1.562 219
1 1 cr6r16.160] 1 1.750 1.48 315 71 .59 6
6261-20-20D 1.750 222
1 1 . .
112 | 11/ 6260200001 1 2.000 1.69 315 1.01 89 7
6261-24-24D 2.125 225
1 1 . . . . . 1.1 .
11/ 11> 626024240 150 2.375 1.97 315 1.22 0 9
6261-32-32D 2.500 228
2 2 [ 150 2.812 2.44 375 1.62 50 1.2
6261-40-40D 3.000 232
1 1 . . . . . . 2.
22 | 2Y2 (oa0an| 290 3.312 2.89 375 1.89 1.77 3
6261-48-48D 3.625 237
3 3 |eeoasasn| 212 4.000 3.53 375 2.42 2.30 3.3
6261-56-56D 4.109 241
1 1 . 4. . 442 2.84 2.72 .
31> | 31> er60-6cep| 162 500 3.98 8 3.0
6261-64-64D 4.609 245
. . 4.4 442 2 12 4.2
4 4 626064640 188 5.000 8 3.25 3
MATERIAL.:
316L Stainless
0-Ring Style Companion Style
(Flat Face)
k it >— | ) 3
T 1 T 1
B L F i E (o3 F - E [
L _t i _t

3181 TRI-PARK DR.

GRAND BLANC, MI 48439

/37.5

Model 6261 / 6263

Model 6262 / 6264

/
L \/ |35
A

800-521-7918 810-953-1380 FAX 810-953-1385

=

INFO@MAINMFG.COM

"omE | e | numeer A B c D E F L O-RING NO.” | WT
1/ 1/ 2522:82:823 1.38 1.250 .92 .305 .38 .25 1'_??0 210 3
3/a 3/4 2222:3:1;3 1.62 1.625 1.23 .345 .56 44 1'_2_?0 214 5

1 1 2;22:12:1:3 1.88 1.875 1.48 375 71 .59 1'_5_?2 219 8
112 | 114 :;szgjgg 2.00 2.125 1.69 .405 1.01 .89 1'_7_?0 222 1.0

11> | 11> :222:2::223 2.25 2.500 1.97 .495 1.22 1.10 2'_1_?5 225 1.5
2 2 :;Zi:gi:g;g 2.56 3.125 2.60 .495 1.62 1.50 2'_‘??0 228 2.7
@ Order Separately

® Other Pipe and Tube Sizes are Available
85

© Copyright MAIN Mfg. 2019



SQUARE IN-LINE FLANGES

NOTES CONCERNING
SQUARE FLANGES

*Please be sure your bolt pattern matches.
(+/- .010"). There are dozens of similar square bolt patterns
besides the pages shown here.

*Other connections are stocked or available.
Socket Weld Tube, Butt Welds, SAE O-Ring Boss, ISO 6149, BSPP, BSPT,
and more are ready to ship.

*Other geometries are stocked or available.
In-Line, Elbows, Tees, Crosses, etc.

*Please fill out the generic drawing below & fax to:
MAIN at 810-953-1385 or call 800-521-7918
if the pattern/style you need is not shown.

*MAIN's web site, MAINmMfg.com
offers more choices as well.

E /G Dimensions

@ @ ////f__ =
| ﬁ) ENISE
O O e

A C L-

For your convenience, copy the above drawing and fill in the dimensions. Please indicate whether
the bolt holes are clearance holes (CBH) or are tapped (TBH). If the flange is flat-faced use the word
"none" for the O-ring groove diameter (Dim ‘L’). For ‘K’ note size (1 1/2”) and type (SWP, SWT, NPTF,
ORB, BW (schedule), etc.) of connection. When you are finished, fax the drawing to 810-953-1385
and MAIN will get back to you with a part number and price.

86

© Copyright MAIN Mfg. 2019



SOCKET WELD PIPE IN

For JIS O-Ring and JIS Pipe ®

LINE FLANGES

JIS B 2291 BOLT PATTERN (210K) TYPE SHA & SHB (TAPPED)

3181 TRI-PARK DR.

\\Il
i

— C

DRILL-G

Model 6501 / 6505

GRAND BLANC, MI 48439

(Flat Face)

TAP-J

l— n —

l— ¢ —

N

Model 6504 / 6506

FLANGE PIPE PART Gmm MOUNTING KIT®

SIZE SIZE NUMBER A|B | C|Enm E F JImm H | K Hasrno. | screwsize Jorme|WT
-08- 11.0 MKM 4771 M10 x 40 G25

15 15 601-08-08DM 15 50| 1.25| .87 | 40.0 | 1.574 | .63 43 | .874 . 1.3
6504-08-08DM M10x1.5
-12- 11.0 MKM 4772 M10 x 40 G30

20 20 6501-12-12DM |, Jc |y 35| 87 | 45.0 [ 1.772 | .81 47 |1.091 X 1.5
6504-12-12DM M10x1.5
-16- 13.0 MKM 4773 M12 x 50 G35

25 25 6501-16-16DM 1 5 55| 1.62 | 1.10 | 53.0 | 2.086 | .98 .55 |1.358 . 2.5
6504-16-16DM M12x1.75
-20- 13.0 MKM 4774 M12 x 50 G40

32 32 65012020015 55| 1.75 [ 1.10 | 63.0 | 2.480 | 1.24 .63 |1.701 . 2.9
6504-20-20DM M12x1.75
-24- 18.0 MK 4775 M16 x 60 G50

40 40 6501-24-24DM |, 4| 2.00 | 1.38 | 70.0 | 2.756 | 1.48 .71 |1.933 X 4.7
6504-24-24DM M16x2
-32- 18.0 MKM 4776 M16 x 60 G60

50 50 6501-32-32DM |, 4|55 1.38 | 80.0 |3.150 | 1.87 .79 |2.406 X 5.7
6504-32-32DM M16x2
6501-40-40DM 22.0 MKM 4777 M20 x 75 G75

.50 | 2.75 | 1.75 | 100. 937 | 2. ) . 10.4

65 65 | —ooizoaoom 1550|275 1.75 | 100.0 | 3.937 | 2.36 [ " .86 [3.035 ———{10
6501-48-48DM 24.0 MKM 4778 M22 x 80 G85
.25/3.12|1.75| 112.0 | 4.409 | 2. ) .54 13.
80 80 6504-48-48DM | 27 | 3 > 0 09| 2.80 s o5 | 28 3543 3.0
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
bolts, add an SS at the end of the kit number (MK 501SS).
Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
0O-Ring Style Companion Style MATERIAL:

316L Stainless

800-521-7918 810-953-1380 FAX 810-953-1385

INFO@MAINMFG.COM

JIS B 2291 BOLT PATTERN (210K) TYPE SSA & SSB
FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A|B | C|Enm E F i 3mm | H | K [Fartno. | screwsize [ormne|WT
6505-08-08DM 11.0 MKM 4571 M10 x 40 G25
2.25(1.12| .87 | 36.0 | 1.417 | .63 43 | .874 1.0
15 15 6506-08-08DM 8 M10x1.5
6505-12-12DM 11.0 MKM 4572 M10 x 40 G30
20 20 2.25|1.12| .87 | 40.0 | 1.574 | .81 47 |1.091 X 9
6506-12-12DM M10x1.5
6505-16-16DM 13.0 MKM 4573 M12 x 50 G35
2.75/1.381.10 | 48.0 | 1. ) .55 |1. 1.7
25 25 6506-16-16DM >|1:38 0| 48.0 | 1.890 | .98 [y 15| -5 [1:358
6505-20-20DM 13.0 MKM 4574 M12 x 50 G40
.00f1.50|1.1 .0 [2.205|1.24 .63 |1.701 1.4
32 32 6506-20-200m | 200 | 130 0] 560 05 Mi2x1.75| 3 0
6505-24-24DM 18.0 MKM 4575 M16 x 60 G50
75| 1.88] 1. 0 |2. 1.4 71 1. .
40 40 6506-2424apM | 375 | 1:881.38 | 65.0 | 2.559 8 i 933 —— 3.9
6505-32-32DM 18.0 MKM 4576 M16 x 60 G60
4.00 | 2.00 | 1. 73.0 | 2.874 | 1.87 .79 [2.4 4,
50 50 6506-32-32DM 0012.0011.38 73.0 | 2.8 87 Mtex2 9 06 3
6505-40-40DM 22.0 MKM 4577 M20 x 75 G75
.00|2.50|1.7 2. 622 | 2. . . .
65 65 | oocaoa0om | 500[250]1.75| 92,0 | 3.6 36 osy 5| 86 [3:035 ———| 8.6
6505-48-48DM 24.0 MKM 4578 M22 x 80 G85
.50 | 2.75|1.75| 103.0 | 4. 2. . .54 .
80 80 cc06-a5-4som | 550 5 5|103.0 | 4.055 | 2.80 == .98 (3.543 —— 9.5
@ Order Separately
® Also Available for JIS O-Ring and American Pipe or American O-Ring and American Pipe
NOTE: Dimensions are in Inches Unless Otherwise Noted. 87

© Copyright MAIN Mfg. 2019



SOCKET WELD PIPE IN-LINE FLANGES

For American O-Ring and American Pipe ®

JIS B 2291 BOLT PATTERN (210K) TYPE SHA & SHB (TAPPED)

FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A| B | C|Enm E F JImm H | K Hasrno. [ screwsize Jorme|WT
-08- 11.0 MKM M10 x 40 213
15 1/ 6531-08-08DM |, o014 25| .87 | 40.0 | 1.574 | .63 .50 | .860 X 1.3
6534-08-08DM M10x1.5
-12- 11.0 MKM M10 x 40 216
20 3/a 6531:12-12DM 15 75 | 138 | .87 | 45.0 |1.772 | .81 .50 |1.070 . 1.5
6534-12-12DM M10x1.5
-16- 13.0 MKM 1504 M12 x 50 219
25 1 6531-16-16DM 1 5 55| 1.62 | 1.10 | 53.0 | 2.086 | .98 .50 [1.335 . 2.5
6534-16-16DM M12x1.75
-20- 13.0 MKM 1502 M12 x 50 222
32 1 1/4 6531-20-20DM 3.50|1.75|1.10 | 63.0 | 2.480 | 1.24 .50 |1.680 X 2.9
6534-20-20DM M12x1.75
-24- 18.0 MK 515 M16 x 60 225
40 | 11> 6531-:24-24DM_1 4.00 | 2.00 | 1.38| 70.0 | 2.756 | 1.48 .62 |1.920 . 4.7
6534-24-24DM M16x2
-32- 18.0 MKM M16 x 60 228
50 2 6531:32:32DM | 4 50| 2.25 | 1.38 | 80.0 | 3.150 | 1.87 62 |2.411 . 5.7
6534-32-32DM M16x2
6531-40-40DM 22.0 MKM 5594 M20 x 75 233
1 .50 | 2.75 | 1.75 | 100. 937 | 2. .75 |2.911 10.4
65 21> 6534-40-40DM | ° 50 > 51000393 36 M20x2.5 > [29 0
6531-48-48DM 24.0 MKM M22 x 80 236
6.25|3.12 | 1.75| 112.0 | 4.409 | 2.80 .75 |3.540 13.0
80 3 6534-48-48DM M22x2.5
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
bolts, add an SS at the end of the kit number (MK 501SS).
Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
MATERIAL:

O-Ring Style Companion Style

316L Stainless

DRILL-G

(Flat Face)

TAP-J

/%

—| H

l— ¢ —

Model 6531 / 6535

S | o :

]
L
_i /é_

A

l— ¢ —

Model 6534 / 6536

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

JIS B 2291 BOLT PATTERN (210K) TYPE SSA & SSB

Fl-s‘;:: g :::E N::ll;:R A|B | C|Enm E F ?:: H | K [arrvo. Moz::s'::sl(:lz? ormng|WT
15 1/> zziz:ggzg:gm 2.25[1.12| .87 | 36.0 | 1.417 | .63 M11(:)l>l<(1).5 50 | .860 |l M10 x 49 213 1.0
20 3/a :zgziiigm 2.25/1.12| .87 | 40.0 | 1.574 | .81 M1101>£.5 50 |1.070 |—2KM M10 x 40 216 9

6535-16-16DM 13.0 MKM 1504  M12 x 50 219
25 1 o3 1etepm | 275|138 1.10| 48.0 | 1.890 | .98 (="t .50 |1.335 X —— 17
32 14 Zg;:jg:zggm 3.00(1.50 | 1.10 | 56.0 |2.205|1.24 M112?(l10.75 50 |1.680 |MKM 1502 M12 x 50 222 1.4
40 | 11> Zg;g:;i:i:gm 3.75[1.88 | 1.38 | 65.0 | 2.559 | 1.48 Mllségz 62 [1.920[ kM 315 | M16 X 60 225 3.9

6535-32-32DM 18.0 MKM M16 x 60 228
50 2 co3c39300m | 400|200 1.38| 73.0 | 2.874 | 1.87 [ =~ .62 |2.411 X =43
65 21> zgiz::g::ggm 5.00 [2.50 | 1.75| 92.0 | 3.622 | 2.36 M2202>l<(2).5 75 |2.011 [1KM 5594]  M20x 75 233 8.6
80 3 Zgig::g:iggm 5.50 [ 2.75 | 1.75 | 103.0 | 4.055 | 2.80 M22;>l<(2).5 75 |3.540 | —2KM M22 x 80 236 9.5

@ Order Separately
® Also Available for JIS O-Ring and JIS Pipe or JIS O-Ring and American Pipe
Dimensions are in Inches Unless Otherwise Noted.
© Copyright MAIN Mfg. 2019

88

NOTE:




SOCKET WELD PIPE IN

For JIS O-Ring and American Pipe ®

LINE FLANGES

JIS B 2291 BOLT PATTERN (210K) TYPE SHA & SHB (TAPPED)

3181 TRI-PARK DR.

GRAND BLANC, MI 48439

l— ¢ —

Model 6537 / 6539

DRILL-G

(Flat Face)

TAP-J

N

l— ¢ —

Model 6534 / 6536

FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A|B | C|Enm E F JImm H | K Harrno. | screwsize Jorme|WT
15 1/ 6537-08-08DM 550l 1.25| 87 | 400 | 1.574 63 11.0 50 | 860 MKM 4771 M10 x 40 G25 13
2 6534-08-08DM ) ' ' ' ' ' M10x1.5 | ' '
20 3/ 6537-12-12DM 575 138! 87 | 450 | 1.772| 81 11.0 50 |1.070 MKM 4772 M10 x 40 G30 15
4 | 6534-12-12DM | ad el % ['Mioxts | : — 1
-16- 13.0 MKM 4773 M12 x 50 G35
25 1 6537:16-16DM 1 3 55| 1.62 | 1.10 | 53.0 | 2.086 | .98 .50 |1.335 . 2.5
6534-16-16DM M12x1.75 ---
-20- 13.0 MKM 4774 M12 x 50 G40
32 14 6537:20:20DM 1 356 |1.75 | 1.10 | 63.0 | 2.480 | 1.24 .50 [1.680 . 2.9
6534-20-20DM M12x1.75 ---
-24- 18.0 MK 4775 M16 x 60 G50
40 | 11> 6537:24:24DM | 400 | 2.00 [ 1.38 | 70.0 | 2.756 | 1.48 62 [1.920 . 4.7
6534-24-24DM M16x2 -—-
-32- 18.0 MKM 4776 M16 x 60 G60
50 2 6537:32:32DM | 4 50| 2.25 | 1.38 | 80.0 | 3.150 | 1.87 62 |2.411 . 5.7
6534-32-32DM M16x2 -
6537-40-40DM 22.0 MKM 4777 M20 x 75 G75
1 5.50|2.75|1.75| 100.0 | 3.937 | 2.36 .75 |2.911 10.4
65 2 /2 6534-40-40DM M20x2.5 ---
6537-48-48DM 24.0 MKM 4778 M22 x 80 G85
6.25|3.12|1.75| 112.0 | 4.409 | 2.80 .75 |3.540 13.0
80 3 6534-48-48DM M22x2.5 --=
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
bolts, add an SS at the end of the kit number (MK 501SS).
Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
0O-Ring Style Companion Style MATERIAL:

316L Stainless

800-521-7918 810-953-1380 FAX 810-953-1385

INFO@MAINMFG.COM

JIS B 2291 BOLT PATTERN (210K) TYPE SSA & SSB
FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A|B | C|Enm E F 3mm | H | K [Fartno. | screwsize [orine|WT
6539-08-08DM 11.0 MKM 4571 M10 x 40 G25
1 2.25|1.12| .87 | 36.0 | 1.417 | .63 .50 | .860 1.0
15 /2 4536-08-080M 8 M10x1.5
6539-12-12DM 11.0 MKM 4572 M10 x 40 G30
3 2.25|1.12| .87 | 40.0 | 1.574| .81 .50 |1.070 .9
20 /a 6536-12-12DM M10x1.5
6539-16-16DM 13.0 MKM 4573 M12 x 50 G35
2.75|1.38|1.10 | 48.0 | 1.890 | .98 .50 |1.335 1.7
25 1 6536-16-16DM M12x1.75
6539-20-20DM 13.0 MKM 4574 M12 x 50 G40
1 3.00|1.50 | 1.10 | 56.0 | 2.205 | 1.24 .50 |1.680 1.4
32 14 6536-20-20DM M12x1.75
6539-24-24DM 18.0 MKM 4575 M16 x 60 G50
1 75| 1.88 1. 0 |2. 1.4 .62 |1.92 .
40 11> c5362424apM | 375 | 1:881.38 | 65.0 | 2.559 8 [ aieg | 62 |1:920 —— 3.9
6539-32-32DM 18.0 MKM 4576 M16 x 60 G60
4.00|2.00|1.38| 73.0 | 2.874 | 1.87 .62 [2.411 4.3
50 2 6536-32-32DM M16x2
6539-40-40DM 22.0 MKM 4577 M20 x 75 G75
1 .00|2.50|1.7 2. 622 | 2. .75 [2.911 .
65 21> 6536-40-40DM 5.0012.50 5| 920136 36 M20x2.5 > [29 e
6539-48-48DM 24.0 MKM 4578 M22 x 80 G85
5.50|2.75|1.75| 103.0 | 4.055 | 2.80 .75 |3.540 9.5
80 3 6536-48-48DM M22x2.5
@ Order Separately
® Also Available for JIS O-Ring and JIS Pipe or American O-Ring and American Pipe
NOTE: Dimensions are in Inches Unless Otherwise Noted. 89

© Copyright MAIN Mfg. 2019



SOCKET WELD PIPE IN-LINE FLANGES

JIS B 2291 BOLT PATTERN (210K) TYPE SHB (CLEARANCE) x JIS Pipe

"o | o | womaer | A | B | € [Emm| E | F | Gmm | H | K | e | WT
15 15 | 6502-08-08DM [2.50|1.25| .87 | 40.0 |1.574| .63 | 11.0 | .43 |.874 - |13
20 20 | 6502-12-12DM |2.75|1.38| .87 | 45.0 |1.772| .81 | 11.0 | .47 |[1.001 — |15
25 25 | 6502-16-16DM |3.251.62|1.10| 53.0 | 2.086 | .98 | 13.0 | .55 [1.358 — |25
32 32 | 6502-20-200M |3.50 [1.75|1.10| 63.0 | 2.480 [1.24| 13.0 | .63 |1.701 — |29
40 | 40 | 6502-24-24DM | 4.00|2.00|1.38| 70.0 | 2.756 | 1.48| 18.0 | .71 [1.933 — a7
50 | 50 | 6502-32-320M |4.50|2.25|1.38| 80.0 |3.150 | 1.87| 18.0 | .79 |2.406 - |57
65 | 65 | 6502-40-40DM |5.50|2.75|1.75|100.0 | 3.937 | 2.36| 22.0 | .86 [3.035 - |10.4
80 | 80 | 6502-48-48DM |[6.25|3.12 | 1.75 | 112.0 | 4.409 [ 2.80 | 24.0 | .98 |3.543 - 130
MATERIAL:

! Companion Style
316L Stainless (Flat Face)

I—B—— DRILL-G

5o =
E il Ny
| |

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

JIS B 2291 BOLT PATTERN (210K) YPE SHE ARAN American Pipe
FLSI;:SE :i:: N::\HE:R A B C |Emm E F Gmm H K PART NO. MO‘;:.;IE'::SKIIZ-I-E@ 0-RING WT
15 1/» 6532-08-08DM | 2.50 [1.25| .87 | 40.0 |1.574 | .63 | 11.0 | .50 |.860 — |13
20 3/a 6532-12-12DM [ 2.75|1.38 | .87 | 45.0 |1.772| .81 | 11.0 | .50 |1.070 - |15
25 1 6532-16-16DM [ 3.25|1.62 | 1.10 | 53.0 | 2.086 | .98 | 13.0 | .50 |1.335 - |25
32 | 114 | 6532-20-200M |3.50 | 1.75|1.10| 63.0 | 2.480 |1.24| 13.0 | .50 |1.680 - 29
40 | 11/2 | 6532-24-24aDM [4.00|2.00|1.38| 70.0 | 2.756 [ 1.48 | 18.0 | .62 [1.920 — a7
50 2 6532-32-32DM [ 4.50 | 2.25 | 1.38 | 80.0 | 3.150 | 1.87 | 18.0 | .62 |2.411 - |57
65 | 21/2 | 6532-40-40DM |5.50 | 2.75|1.75|100.0 |3.937 | 2.36 | 22.0 | .75 |2.911 - |10.4
80 3 6532-48-48DM | 6.25 | 3.12 | 1.75 | 112.0 | 4.409 | 2.80 | 24.0 | .75 |3.540 - 130

@ Order Separately

90 NOTE: Dimensions are in Inches Unless Otherwise Noted.
© Copyright MAIN Mfg. 2019



BLIND FLAN

For JIS O-Ring ®

JIS B 2291 BOLT PATTERN (210K) TYPE SHA & SHB (TAPPED)

O-Ring Style

3181 TRI-PARK DR.

DRILL-G

7

1

GRAND BLANC, MI 48439

l— ¢ —

Model 6501 / 6505

Companion Style
(Flat Face)

o

i

<

l— ¢ —

TAP-J

Model 6504 / 6506

FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A|B | C|Enm E JImm PARTNO. | SCREw sizé | o-rinG| W T
-08- 11.0 MKM 4771 M10 x 40 G25
15 NA 601-08-:00DM 15 50| 1.25| .87 | 40.0 | 1.574 . 1.5
6504-08-00DM M10x1.5
-12- 11.0 MKM 4772 M10 x 40 G30
20 NA 6501-12-000M |, ;5| 1 38| .87 | 45.0 | 1.772 X 1.9
6504-12-00DM M10x1.5
-16- 13.0 MKM 4773 M12 x 50 G35
25 NA 6501-16-00DM 15 55| 1.62 | 1.10 | 53.0 | 2.086 . 3.2
6504-16-00DM M12x1.75
-20- 13.0 MKM 4774 M12 x 50 G40
32 NA 6501-20-00DM 15 551,75 | 1.10 | 63.0 | 2.480 . 3.7
6504-20-00DM M12x1.75
-24- 18.0 MK 4775 M16 x 60 G50
40 | NA |-22200M 1, 00| 2.00| 1.38| 70.0 | 2.756 . 6.0
6504-24-00DM M16x2
-32- 18.0 MKM 4776 M16 x 60 G60
50 NA 6501-32-000M |, 50525 1.38 | 80.0 | 3.150 X 7.6
6504-32-00DM M16x2
6501-40-00DM 22.0 MKM 4777 M20 x 75 G75
. 2.75 | 1.75 | 100. 937 14.
65 NA 6504-40-00DM 5.50 > 5| 10001393 M20x2.5 3
6501-48-00DM 24.0 MKM 4778 M22 x 80 G85
.2 .12|1.75|112.0 | 4.4 18.
80 NA 6504-48-00DM 6.25]3 > 0 09 M22x2.5 8.6
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
bolts, add an SS at the end of the kit number (MK 501SS).
Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
MATERIAL:

316L Stainless

800-521-7918 810-953-1380 FAX 810-953-1385

INFO@MAINMFG.COM

JIS B 2291 BOLT PATTERN (210K) TYPE SSA & SSB
FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B C |Emm| E Jmm PART NO. SCREW SIZE | O-RING wT
6505-08-00DM 11.0 MKM 4571 M10 x 40 G25
2.25|1.12| .87 36.0 | 1.417 1.4
15 | NA | c0s-000m 8 M10x1.5
6505-12-00DM 11.0 MKM 4572 M10 x 40 G30
20 NA 2.25|1.12| .87 | 40.0 | 1.574 X 1.4
6506-12-00DM M10x1.5 --
6505-16-00DM 13.0 MKM 4573 M12 x 50 G35
2.7 1. 1.1 48. 1. 2.
25 NA 6506-16-00DM > 38 0 8.0 890 M12x1.75 -—- >
6505-20-00DM 13.0 MKM 4574 M12 x 50 G40
. 1. 1.1 . 2.2 2.7
32 NA 6506-20-00DM 3.00 >0 0f 56.0 05 M12x1.75 -
6505-24-00DM 18.0 MKM 4575 M16 x 60 G50
7 1. 1. . 2. .
40 NA 6506-24-00oM | 375 | 1:881.38 | 65.0 | 2.559 M6 ——{5.3
6505-32-00DM 18.0 MKM 4576 M16 x 60 G60
4., 2. 1. 73. 2.874 .2
50 NA 50632000 | +0| 200|138 730 |28 M16x2 — |°
6505-40-00DM 22.0 MKM 4577 M20 x 75 G75
. 2. 1.7 2. .622 11.
65 NA 6506-40-00DM 5.00 >0 5| 92.0 36 M20x2.5 - 8
6505-48-00DM 24.0 MKM 4578 M22 x 80 G85
. 2.7 1.7 103. 4., 14.
80 NA —csocas-00om | 550|275 | 175 | 103.0 | 4.055 M22x2.5 3
@ Order Separately
® Also Available for American O-Ring
NOTE: Dimensions are in Inches Unless Otherwise Noted. 91

© Copyright MAIN Mfg. 2019



NPTF THREADED IN-LINE FLANGES
_______ JISB2291BOLTPATTERN (210K) _ ___ ____ ____ TYPESH(A&B)

JIS B 2291 BOLT PATTERN (210K) TYPE SH(A & B)

FLSI;:I(E;E ::;E NL'::ITI;R A B |C Emwm| E F ?_::,:1 N§'F PART NO. MO‘;:;IE::SKIIZTS o-ring | WT
15 1/> Zgg;:g::g:gm 2.50 | 1.25|1.25| 40.0 | 1.574 | .63 M1101)l<(1).5 12 fMKMS3070  MI0x 50 G25 1.9
20 3/4 :gg;ji:gm 2.75/1.38 | 1.25| 45.0 | 1.772| .75 M1101>l<[1).5 374 |MKM508] M0 x50 G30 2.3

6507-16-16DM 13.0 MKM 4588|  M12 x 60 G35
25 1 evos 1o tepm | 325|162 | 150 | 53.0 | 2.086 | 1.00 | 1 X =2 138
32 114 :gg;:;g:zggm 3.50 | 1.75|1.50 [ 63.0 | 2.480 | 1.25 M112?<l10.75 11/4 MIKM 4589 M12 x 0 G40 4.2
40 11> :gg;:;:i:gm 4.002.00 | 1.75| 70.0 | 2.756 | 1.50 M1186l)[<)2 1172 [AKMS09L  MI6x70 GSO 6.1
6507-32-32DM 18.0 MKM 5521|  M16 x 70 G60
50 2 e20833 30| 450 | 2:25| 1.75| 80.0 | 3.150 | 1.94 | <= 2 X == 7.3
65 (21 ggg;:ig::ggm 5.50 | 2.75 | 2.00 | 100.0 | 3.937 | 2.44 M2202>l<[2).5 212 (MKM4392]  M20 X80 G75 12.8
6507-48-48DM 24.0 MKM 4593|  M22 x 90 G85
80 3 cc08-ag-asom | 625 |3:12(2.25|112.0 | 4.409 | 2.80 - 3 X ——{17.9

MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
bolts, add an SS at the end of the kit number (MK 501SS).
Please note that using stainless steel bolts may reduce the pressure rating of the assembly.

MATERIAL: . .
- O-Ring Style Companion Style
316L Stainless A (Flat Face)
DRILL-G TAP-J
7 4
G} K E g K ¥ 2
P
7 l I
E 1— F — F
3 l l
O Z gz

E [—c— «—c—»<
Model 6507 / 6509 Model 6508 / 6510

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

JIS B 2291 BOLT PATTERN (210K) TYPE SS(A & B)

FLSI;::E :::E NL'::I'::;R A B | C Emwm| E F % N|I§'F PART NO. MO‘;::[E’::;;IZTE(D oring | VT
15 1/> zgﬁz:ggzgggm 2.25/1.12|1.25| 36.0 | 1.417 | .63 M11;>l<2.5 12 fKMS3070  MI0 x50 st 1.4
20 3/s Zggz:ii:ggm 2.25(1.12 | 1.25| 40.0 | 1.574| .75 M1101)l<2.5 3jq (KM 3508 MIO X350 G3O 1.4

6509-16-16DM 13.0 MKM 4588|  M12 x 60 G35
25 1 6510-1616oM | 275 | 1:381.50| 48.0 | 1.890 | 1.00 o —= 1 X —— 2.5
32 114 :g?ijg:iggm 3.00 | 1.50 | 1.50 | 56.0 | 2.205|1.25 M112?(.10.75 11/4 MIKM 4589 M12 X 60 G40 2.7
40 11> :g?g:iizzigm 3.751.88 | 1.75 | 65.0 | 2.559 | 1.50 M118é22 1172 [RKM509L  MI6x70 GSO 5.3
6509-32-32DM 18.0 MKM 5521|  M16 x 70 G60
50 2 eo10-33 3o | 400 2:00| 1.75| 73.0 | 2.874 | 1.94 | = 2 : == 5.6
65 | 21> :zgz::g:zggm 5.00 | 2.50 | 2.00 | 92.0 | 3.622 | 2.44 M2202)l(2.5 212 [MKM4392]  M20 X80 G75 9.8
6509-48-48DM 24.0 MKM 4593|  M22 x 90 G85
80 3 c=10-a5-4som | 550 | 2:75[2.25|103.0 | 4.055 | 2.80 - — 3 X ——|12.6

@ Order Separately

92 NOTE: Dimensions are in Inches Unless Otherwise Noted.
© Copyright MAIN Mfg. 2019



SAE J1926 THREADED IN-LINE FLANGES

TYPE SH(A & B)

JIS B 2291 BOLT PATTERN (210K)

FLANGE PART Gmm MOUNTING KIT®
ORB
SIZE NUMBER A B | C Emwm| E F Jmm K PARTNO. | SCREW SIZE | O-RING| "W !
6511-08-08DM 11.0 MKM 4586 M10 x 35 G25
- 2. 1.2 1.2 40. 1.574 | . 4-1 1.
1 5 8 6512-08-08DM 50 > > 0.0 > 63 M10x1.5 3/4-16 --- o
6511-12-10DM 11.0 MKM 5505 M10 x 40 G30
- 2.7 1. 1. 45. 1.772 | . 7/8-14 2.4
20 10 6512-12-10DM > 38 50 5.0 50 M10x1.5 /8 ---
6511-12-12DM 11.0 MKM 5505 M10 x 40 G30
- 2.7 1. 1. 45. 1.772 | .7 11/16-12 2.
20 12 6512-12-12DM > 38 50 >0 > M10x1.5 /16 --- 3
6511-16-14DM 13.0 MKM 5506 M12 x 40 G35
- 2 1.62 | 1. . 2. .7 13/16-12 .
25 14 6512-16-14DM 3.25 6 50| 53.0 086 > M12x1.75 3/16 --- 3.8
6511-16-16DM 13.0 MKM 5506 M12 x 40 G35
- .2 1.62 | 1. . 2. 1. 15/16-12 .
25 16 cc1o16-1eom 325 |16 50| 53.0 | 2.086 | 1.00 [-==— 15/16 ——| 3.6
6511-20-20DM 13.0 MKM 5526 M12 x 40 G40
- . 1.7 1. . 2.4 1.2 1 -12 4.
32 20 6512-20-20DM 3.50 > 50| 63.0 80 > M12x1.75 >/8 --- >
6511-24-24DM 18.0 MKM 4590 M16 x 45 G50
- 4. 2. 1.7 70. 2.7 1. 17/8-12 1
40 24 6512-24-24DM 00 0o > 0.0 56 50 M16x2 /8 --- 6
6511-32-32DM 18.0 MKM 4591 M16 x 45 G60
- 4. 2.2 1.7 . .1 1.94 21/2-12 7.
50 3 2 6512-32-32DM >0 > >| 80.0 |3.150 o M16x2 / == 3
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
bolts, add an SS at the end of the kit number (MK 501SS).
Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
O-Ring Style Companion Style 31|V|6A|‘_T§$IAII"
A (Flat Face) ainiess
DRILL-G TAP-J
|—— B —]
7KL “
B /'4 = A
E + ——L A H— H— |'=
& @ ' A
%
E —C— ‘—c—»<

3181 TRI-PARK DR.

Model 6511 / 6513

GRAND BLANC, MI 48439

800-521-7918 810-953-1380 FAX 810-953-1385

Model 6512 / 6514

INFO@MAINMFG.COM

JIS B 2291 BOLT PATTERN (210K) TYPE SS(A & B)

FLSI;:S ) ORB N:::::;R A B |C|Emm E F ?,:‘nn: K PART NO. MO‘;:-I::\‘:SI;IZTE@ o-ring | WT
6513-08-08DM 11.0 MKM 4586|  M10 x 35 G25

15 -8 c512-08-0soM | 225|112 1.25| 36.0 | 1.417 | .63 oo 3/4-16 X ——— 1.4
6513-12-10DM 11.0 MKM 5505|  M10 x 40 G30

20 | =10 . 500w 250|125/ 1.50| 40.0 | 1.574| .50 [ooe ] 7/8-14 x —— 2.0
6513-12-12DM 11.0 MKM 5505|  M10 x 40 G30

20 | -12 5 oow 250|125 150 | 40.0 | 1.574 | .75 oo 11/16-12 X —— 1.9
6513-16-14DM 13.0 MKM 5506 |  M12 x 40 G35

25 =14 6514-161apM | 300 | 1:50 | 1.50 | 48.0 | 1.890 | .75 =" 13/16-12 X —— 2.7
6513-16-16DM 13.0 MKM 5506 |  M12 x 40 G35

25 | -16 . ooy | 300|150 1.50] 48.0 | 1.890 | 1.00 [ 15/16-12 X =2 2.6
6513-20-20DM 13.0 MKM 5526|  M12 x 40 G40

32 | =20 - iooo0om | 325|162 1.50| 56.0 | 2205 | 1.25 Lo 15/8-12 : ——{ 3.0
6513-24-24DM 18.0 MKM 4590|  M16 x 45 G50

40 | -24 . Saoumom | 375|188|1.75] 65.0 | 2.559 | 1.50 o 17/8-12 X —— 4.3

50 =-32 Zziizzzigm 4.002.00 | 1.75| 73.0 | 2.874 | 1.94 M1186l>?2 21/2-12 [TKMAS9LL  MI6 X 45 GGO 4.5

@ Order Separately
NOTE: The Pressure Rating of the Assembly Should NOT Exceed the Lower of the Flange Pad or the Fitting. Check the Fitting Manufacturer for Details.
NOTE: Dimensions are in Inches Unless Otherwise Noted. 93

© Copyright MAIN Mfg. 2019



SOCKET WELD PIPE IN-LINE FLANGES

ISO 6164 BOLT PATTERN BAR SERIES
FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A | B|C | Dmm| E F Imm H | K I rrvo. | screw size | o-riNG WT
6631-06-06DM
10 ¥8 | 6632-06-060M
1 6631-08-08DM
13 /2 532-08-080m
19 3/ 6631-12-12DM PLEASE USE THE 400 BAR SERIES FOUND BELOW. THE BLOCK SIZE,
4 6632-12-12DM BOLT PATTERN AND THE O-RING ARE IDENTICAL
25 1 6631-16-16DM IN FLANGE SIZES 10 - 38. IF YOU HAVE ANY QUESTIONS PLEASE CALL
6632-16-16DM ENGINEERING AT 1-800-521-7918.
1 6631-20-20DM
3 2 1 /4 6632-20-20DM MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
1 6631-24-24DM bolts, add an SS at the end of the kit number (MK 501SS).
38 1 /2 6632-24-24DM Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
6631-32-32DM 17.5 MKM 3531 M16 x 65 228
51 2 c632-32.300M | 400 [2:00|1.60 | 98 |2.7281.94 e .62 |2.411 —— 4.9
1 6631-40-40DM 22.0 MKM 5573 M20 x 80 232
56 21> c632-a0a0oM | 475 (2:38 188 | 118 |3.285|2.44 0 To— 75 (2.911 —=—7.8
6631-48-48DM 22.0 MKM 5558 M20 x 90 237
63 3 c632-a8aaoM | 550 | 2:75 | 2.28 | 145 | 4.037 | 2.94 o0 .75 [3.540 ——12.8
MATERIAL: ; :
O-Ring Style Companion Style
316L Stainless . na sy (FF:at IFace)y
B DRILL-G TAP-J
R . / /
& | £ £
, | l l l t
E A K —t F K —t F
° ' | Z 1 1
> 4 =
W %2 A
E —{H|— —|H— K
f—C — f—C —

Model 6631 / 6635 Model 6632 / 6636
800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

3181 TRI-PARK DR.  GRAND BLANC, MI 48439

RN 400 BAR SERIES
FLS‘;::E :::: NESIELR A|B | C | Dmm E F f‘j;:_: H | K [ arrvo. MOZ:;IE':\?SKIIZTEG) o-ring | WT
10 3/g zggzzgg:gzgm 1.50| .75 | .73 | 35 | .974 | .44 Msé)‘r(’l 38 | 688 [an 2346 M6 x 30 115 4
13 1/ zgiz:gg:gggm 1.75| .88 | .81 | 42 |[1.170| .50 Msif.zs 50 | 860 | M 212 HE X 3> 210 5
19 3/a zgizzgjigm 2.001.00| .90 | 50 |[1.392| .75 Msif.zs 50 |1.070 [ iH2359) M8 X35 214 7

6635-16-16DM 11.0 MKM 503 M10 x 40 219
25 1 ces6-16-16pM | 250|125 | 1.00| 62 | 1.726 | 1.00 o .50 |1.335 : —— 1.3
32 |14 Zgizﬁigiiggﬂ 3.00[1.50 | 1.20| 73 |2.0321.25 M1lzi'15.75 50 |1.680 [ 1202} M12 X 50 222 2.2
38 11> zgizjijigm 3.50(1.75|1.44| 85 |2.366|1.50 M117652 62 |1.920 [ kM 315 Ml x99 225 3.4

6635-32-32DM 17.5 MKM 5560|  M16 x 65 331
51 2 c636.32.300M | 400 [2:00|1.60 | 98 |2.7281.69 [ o .62 |2.411 X ——— 5.0
56 | 21> 2:;2:38:2855 4.75|2.38|1.98 | 118 |3.2852.12 M22§>l<(2).5 75 |2.011 KM 5338]  M20 x 80 335 8.5
63 3 2:;2:22:2:35 6.00 | 3.00 [ 2.12| 145 |4.037 |2.32 M2264l>(<)3 75 |3.540 [ iH 5361} M24 x 90 337 15.6
70 | 31> ::;Z:EZ:E:ES 6.50 [ 3.25|2.46 | 160 |4.454 (2.73 M2264l>(<)3 75 |4.045 [ kM 5362]  M24 X 100 340 21.3
80 4 ::;Z::Z:Z;‘gm 7.00 |3.50 | 2.85| 175 |4.872|3.15 M3303>l<g.5 75 |4.550 [iH 5363} M30 X 120 341 26.8
@ Order Separately

NOTE: Dimensions are in Inches Unless Otherwise Noted.

94

© Copyright MAIN Mfg. 2019




BLIND FLANGES

ISO 6164 BOLT PATTERN 250 BAR SERIES
FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A | B|C | Dmm| E Jmm PART NO. | SCREW SIZE | O-RING WT
10 NA 6631-06-00DM
6632-06-00DM
1 3 NA 6631-08-00DM
6632-08-00DM
19 NA 6631-12-00DM PLEASE USE THE 400 BAR SERIES FOUND BELOW. THE BLOCK SIZE,
6632-12-00DM BOLT PATTERN AND THE O-RING ARE IDENTICAL
25 NA 6631-16-00DM IN FLANGE SIZES 10 - 38. IF YOU HAVE ANY QUESTIONS PLEASE CALL
6632-16-00DM ENGINEERING AT 1-800-521-7918.
32 NA 6631-20-00DM
6632-20-00DM MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
6631-24-00DM bolts, add an SS at the end of the kit number (MK 501SS).
38 NA 6632-24-00DM Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
6631-32-00DM 17.5 MKM 3531 M16 x 65 228
4, 2. 1. 2.72 7.
5 1 NA 6632-32-00DM 0o 00 60 o8 8 M16x2 --- 0
6631-40-00DM 22.0 MKM 5573 M20 x 80 232
4.75 | 2. 1. 11 .2 11.
56 NA 6632-40-00DM > 38 88 8 |3.285 M20x2.5 --- >
6631-48-00DM 22.0 MKM 5558 M20 x 90 237
. 2.75|2.2 14 4.037 19.
63 NA 6632-48-00DM 5.50 > 8 > 03 M20x2.5 === 9.0
0-Ring Style Companion Style MATERI_AL:
A (Flat Face) 316L Stainless
DRILL-G TAP-J
|— B —
o ol Z
] — %
B |/
/ // '
E ( A A -+ L -
\ D ~ /
8 ' ¢ | 4 =
E
c — ¢ —
Model 6631 / 6635 Model 6632 / 6636
3181 TRI-PARK DR. GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM
ISO 6164 BOLT PATTERN BAR SERIES
FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B C [Dmm| E Jmm PART NO. SCREW SIZE | O-RING WT
6635-06-00DM 6.5 MKM 5546 M6 x 30 115
1.50| .75 | .73 35 .974 .5
1 0 NA 6636-06-00DM M6x1 ---
6635-08-00DM 9.0 MKM 512 M8 x 35 210
13 NA 1.75| .88 | .81 [ 42 |1.170 X 7
6636-08-00DM M8x1.25 ---
6635-12-00DM 9.0 MKM 5559 M8 x 35 214
2. 1. . 1.392 1.2
1 9 NA 6636-12-00DM 00 00| .90 >0 39 M8x1.25 ---
6635-16-00DM 11.0 MKM 503 M10 x 40 219
2. 1.25| 1. 2 1.72 2.
25 NA 6636-16-00DM 50 > 00 6 6 M10x1.5 --- 0
6635-20-00DM 13.5 MKM 1502 M12 x 50 222
. 1. 1.2 7 2.032 2
3 2 NA 6636-20-00DM 3.00 >0 0 3 03 M12x1.75 --- 3
6635-24-00DM 17.5 MKM 515 M16 x 60 225
. 1.75| 1.44 2. .
38 NA 6636-24-00DM 3.50 > 85 366 M16x2 --- 3.0
6635-32-00DM 17.5 MKM 5560 M16 x 65 331
4. 2. 1. 2.72 7.
5 1 NA 6636-32-00DM 00 00 60 o8 8 M16x2 --- 0
6635-40-00DM 22.0 MKM 5538 M20 x 80 335
4.75 | 2. 1. 11 .2 12.
56 NA 6636-40-00DM > 38 o8 8 |3.28 M20x2.5 --- 0
6635-48-00DM 26.0 MKM 5561 M24 x 90 337
. . 2.12| 14 4.037 20.
63 NA 6636-48-00DM 6.00 3.00 > 03 M24x3 --- 0.5
6635-56-00DM 26.0 MKM 5562 M24 x 100 340
. .25 2.4 1 4.454 28.
70 NA 6636-56-00DM 6.503.25 6 60 > M24x3 --- 8.3
6635-64-00DM 33.0 MKM 5563 M30 x 120 341
7. . 2. 17 4.872 7.
80 NA 6636-64-00DM 00 3.50 85 > 8 M30x3.5 -== 37.0

@ Order Separately

NOTE: Dimensions are in Inches Unless Otherwise Noted. 95
© Copyright MAIN Mfg. 2019



NPTF THREADED IN-LINE FLANGES

ISO 6164 0 BAR SERIES
FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A|B|[C|Dmm| E F Jmm K PARTNO. | BOLT SIZE | O-RING wT
6663-06-06DM
10 %8 [ ce64-06-06DM
1 6663-08-08DM
13 /2 [6664-08-08DM
19 3/ 6663-12-12DM PLEASE USE THE 400 BAR SERIES FOUND BELOW. THE BLOCK SIZE,
4 6664-12-12DM BOLT PATTERN AND THE O-RING ARE IDENTICAL
25 1 6663-16-16DM IN FLANGE SIZES 10 - 38. IF YOU HAVE ANY QUESTIONS PLEASE CALL
6664-16-16DM ENGINEERING AT 1-800-521-7918.
1 6663-20-20DM
3 2 1 /4 6664-20-20DM MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
1 6663-24-24DM bolts, add an SS at the end of the kit number (MK 501SS).
38 1 /2 6664-24-24DM Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
6663-32-32DM 17.5 MKM 3531 M16 x 65 228
51 2 66432300 | 400|200 | 1.75| 98 | 2.728 | 1.94 — 2 ——5.0
1 6663-40-40DM 22.0 MKM 5573 M20 x 80 232
56 | 22 [ cizoaoom | 475|238 200 118 |3.285 | 2.44 oo 21/2 —=— 8.0
6663-48-48DM 22.0 MKM 5558 M20 x 90 237
63 3 c66a-asaaom | 550275 2.25| 145 | 4.037 | 2.94 o T 3 ——113.0
MATERI_AL: A O-Ring Style Companion Style
316L Stainless e DRILL-G (Flat Face) TAP-J
- T
5y Il 2 :
e / B = =

/

3181 TRI-PARK DR.

GRAND BLANC, MI 48439

l— 1 —=]

%24

l— ¢ —

Model 6663 / 6665
800-521-7918 810-953-1380 FAX 810-953-1385

N

<

l— ¢ —

Model 6664 / 6666

INFO@MAINMFG.COM

ISO 6164 400 BAR SERIES
FLSI;:S g :::E N:::;LR A | B | C | Dmm| E F _c]i;: K PART NO. MOU::.:GS;(ZIET(D o-ring | WT
10 3/g 2:22:82:8233 1.50| .75 [1.25| 35 | .974 | .44 MGG')‘:’I 3/8 MK 5564 M x 40 115 7
13 1/ 2222:82:8:33 1.75| .88 |1.25| 42 |[1.170| .50 MS?(.EZS 1/2 MK oL ME x 33 210 9
19 3/a EZZE:EZEES 2.00(1.00|1.25| 50 |[1.392| .75 Msifzs 3a KM 5565 ME x 33 214 1.2
6665-16-16DM 11.0 MKM 5566|  M10 x 55 219
25 1 cecb-16-16DM 250 | 125|150 | 62 | 1.726 | 1.00 o 1 : —— 2.1
32 (114 zgzz:ig:iggm 3.00[1.50 | 1.50 | 73 |2.0321.25 M1123<l15.75 1174 M52z MIZX55 222 2.9
38 11> 2:22:;2:5333 3.50[1.75|1.75| 85 |2.3661.50 M1176l>?2 1172 [MB527  MI6X65 225 4.4
6665-32-32DM 17.5 MKM 6503|  M16 x 70 331
51 2 cec6-32.300M | 400|200 | 1.75| 98 |2.728 | 1.69 — 2 X ——— 5.5
56 | 21> 2222::8:2833 4.75|2.38(2.00| 118 |3.2852.12 M22(f>l<(2).5 212 [MKM3538, M20x80 335 8.6
6665-48-48DM 26.0 MKM 5567|  M24 x 100 337
63 3 c666-25-4sDm | 600 [3:00|2.50 | 145 | 4.037 | 2.32 — oo 3 X ——18.0
70 | 31> :222:?2:2223 6.50 [ 3.25|2.50 | 160 |4.454 |2.73 M226423 3172 |MKM562]  M24x 100 340 21.0
80 4 2:22::2:2233 7.00 | 3.50 | 2.85| 175 |4.8723.15 M:03)l<2.5 4 MM 55631 M30x 120 341 25.5
@ Order Separately
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED.

96

© Copyright MAIN Mfg. 2019




SAE J1926 THREADED IN-LINE FLANGES

3181 TRI-PARK DR.

A

l— ¢ —

Model 6667 / 6671

<

l— ¢ —

Model 6668 / 6672

MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
bolts, add an SS at the end of the kit number (MK 501SS).
Please note that using stainless steel bolts may reduce the pressure rating of the assembly.

GRAND BLANC, MI 48439

ISO 6164 x SAE ORB 250 BAR SERIES®

FLSI;:EE F;CI);{: NLF;:\:;:R A | B | C |Dmm| E F f];; K PART NO. MOU:::GSIKZI:® o-ring | WT
6667-06-06DM 6.5 MKM 5568 M6 x 35 115

10 -6 cecs0eoeom | 150 75 (125 35 | 974 | .47 [ 9/16-18 X —1 7
6667-08-08DM 9.0 MKM 512 M8 x 35 210

13 -8 cces-080s0m | 175 | 88 [ 125 42 1170 | 50 [ 3/a-16 X — 8
6667-12-12DM 9.0 MKM 5559 M8 x 35 214

19 ([ -12 ceea-121aDm | 2:00|1:00|1.50 | 50 |1.392| .75 o 11/16-12 X =12
6667-16-16DM 11.0 MKM 503 M10 x 40 219

25 =16 cees eteom | 250|125 1.50| 62 |1.726|1.00 [ 15/16-12 X 1.8
6667-20-20DM 13.5 MKM 1527|  M12 x 40 222

32 -20 cees 20 a0om | 3:00| 1:50 | 1.50 | 73 12032 | 1.25 > 15/8-12 X S L
6667-24-24DM 17.5 MKM 1544|  M16 x 45 225

38 -24 ceenaaaapm | 350 | 175|175 | 85 | 2366 | 1.50 o 17/8-12 X =138
6667-32-32DM 17.5 MKM 1524|  M16 x 45 228

51 -32 66830 3o0m | 400200175 | 98 2728 |1.94 o 21/2-12 X =438
6667-40-32DM 22.0 MKM 5570|  M20 x 60 232

56 -32 cee8403a0M | 475238200 | 118 |3.285|2.32 oo 21/2-12 X —< 185
6667-48-32DM 22.0 MKM 5558|  M20 x 90 237

63 -32 ccesa8300m | 550|275 2:25| 145 |4.037 | 2.32 [ 21/2-12 X = 1147
A O-Ring Style Companion Style MATERI_AL:
B DRILL-G (Flat Face) TAP. 316L Stainless

DY 72 4
B =
K K
E ( + A_L A \_ — = 1 \____ 110 1
P / Y l l

800-521-7918 810-953-1380 FAX 810-953-1385

INFO@MAINMFG.COM

ISO 6164 x ISO 6149 250 BAR SERIES®
FLSI;:S c ';(:?; N::::;R A| B | C | Dmm| E F _c]i;:: Kmm PART NO. MOU:(T;-:(;IKZIET 5 o-ring|WT
10 -6 2:;;:82:8:35 1.50| .75 |1.25| 35 | .974 | .47 Msé)‘r(’l M16 x 1.5 i 2268 o x 32 115 7
13 -8 :Z;;gg:g:gm 1.75| .88 [1.25| 42 |1.170| .50 M8?<f.25 MI8 x 1.5 [k 212 HE X 3> 210 8
19 -12 22;;;335 2.00[1.001.50| 50 |1.392| .75 M8?<110.25 M27x 2 [RM 5959} M8 X35 214 1.2
25 | -16 :2;;:12:1235 2.50 | 1.25|1.50 | 62 |1.7261.00 M1101>l<2.5 M33x2 | LM 203 MiDx 40 219 1.8
32 =20 ::;;:;g:iggm 3.00|1.50 | 1.50 | 73 |2.0321.25 M1123<l15t75 Mazxp KM 1527, M12 x40 222 2.5
38 | -24 :2;;:;2:5233 3.501.75|1.75| 85 |2.3661.50 M1176l>1:,2 Magx 2 e 1344 16 x45 225 3.8
51 | -32 :2;;2;;533 4.002.00 | 1.75| 98 |2.728|1.94 M1176l>1:,2 Moo x 2 |k 1524 16 x45 228 4.8
56 | -32 :2;;::8:;233 4.75|2.38|2.00 | 118 |3.285|2.12 Mzch;(g.s Moo x 2 ki 2570 M20 X 60 232 8.5
63 | -32 :2;;::2:;23:: 5.50 | 2.75|2.25| 145 |4.037 |2.12 MZZ;'(Z_S Moo x 2 |k 2571 M20 X 65 237 14.7
@ Order Separately @ 400BAR Series also available, contact engineering for information
NOTE: The pressure rating of the assembly should not exceed the lower of the flange pad or the fitting. Check the fitting manufacturer for details.
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 97

© Copyright MAIN Mfg. 2019



BUTT WELD IN-LINE FLANGES

For Schedule 80 Pipe ®

ISO 6164 BOLT PATTERN 250 BAR SERIES
FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A | B|C | Dmm| E F Imm H | K | rrvo. | screw size | o-rinG WT
6639-06-06DM
1 o 3/8 6640-06-06DM
1 6639-08-08DM
13 /2 e40-08-080m
19 3/ 6639-12-12DM PLEASE USE THE 400 BAR SERIES FOUND BELOW. THE BLOCK SIZE,
4 6640-12-12DM BOLT PATTERN AND THE O-RING ARE IDENTICAL
25 1 6639-16-16DM IN FLANGE SIZES 10 - 38. IF YOU HAVE ANY QUESTIONS PLEASE CALL
6640-16-16DM ENGINEERING AT 1-800-521-7918.
1 6639-20-20DM
3 2 1 /4 6640-20-20DM MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
1 6639-24-24DM bolts, add an SS at the end of the kit number (MK 501SS).
38 1 /2 6640-24-24DM Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
6639-32-32DM 17.5 MKM 3531 M16 x 65 228
51 2 6640-32-300M | 400 [2:00|2.25| 98 |2.728 | 1.94 —m—1.60 | 2.50 —— 5.7
1 6639-40-40DM 22.0 MKM 5573 M20 x 80 232
56 | 22 [ ozoaoom | 475|238 250 | 118 |3.285|2.32 [ == —1.88 | 3.00 —=— 9.0
6639-48-48DM 22.0 MKM 5558 M20 x 90 237
63 3 c640-26-48Dm | 550 | 2:75(3.00 | 145 | 4.037 | 2.90 [-o-7e"—2.28 | 3.50 ——{14.8
MATERI_AL: 0O-Ring Style Companion Style
316L Stainless A (Flat Face)

I— B— DRILL-G TAP-J
"] | P2y a:

b Qél J—%/ g | J_% !

E —H— l—H—]
——o¢c ——¢C S
Model 6639 / 6643 Model 6640 / 6644

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

RN 400 BAR SERIES
FLS‘;::E :::E NECIELR A|B | C | Dmm E F f];g H | K [ arrvo. MOZ:;IE':\?SKIIZTE@ o-ring | WT
10 3/g 2:22:82:8233 1.50| .75 |1.00| 35 | .974 | .42 Meg)‘:’l 73 | 68 [MKM3346] M6 x30 115 5
13 1/ 2222:82:8:33 1.75| .88 |1.12| 42 [1.170| .53 Msif.zs 81| .88 [kM312 ME x 23 210 7
19 3/s zgii:ijigm 2.00[1.001.25| 50 |1.392| .75 Msif.zs 90 | 1,12 [MKM5359) M8 X35 214 1.0
6643-16-16DM 11.0 MKM 503 |  M10 x 40 219
25 1 ceaa-16-16pM | 250 | 125|150 | 62 | 1.726 | .94 o 1.00 | 1.38 X —— 1.5
32 |14 zgii:ig:zggm 3.00[1.50 | 1.75| 73 |2.032|1.25 M112?<I15.75 120 1.75 [TKM 1502, M12 x50 222 2.5
38 (11> zgizjijigm 3.50[1.75|2.00| 85 |2.3661.50 M1176l>?2 1.44( 2,00 | TKM315 | MI6 X 60 225 4.0
6643-32-32DM 17.5 MKM 5560|  M16 x 65 331
51 2 64432300 | 400 [2:00|2.25| 98 |2.728 | 1.94 — 71,60 | 2.50 X ——— 5.7
56 21> :Z:i::g:iggm 4.75|2.382.75| 118 |3.285|2.32 M2202>l<(2).5 1.983.00 | kM 3538 M20 X80 335 9.5
6643-48-48DM 26.0 MKM 5561|  M24 x 90 337
63 3 c6a4-25-4sDm | 6:00|3:00|3.00 145 |4.037 | 2.62 [ Fo—2.12 | 3.50 : ——{17.2
70 | 31> 2222:::2223 6.50 [ 3.253.50 | 160 |4.454 |2.73 M2264:3 2.46| 4.00 [iM 5562 M24 x 100 340 25.0
6643-64-64DM 33.0 MKM 5563| M30 x 120 341
80 4 c644-64-6aDM | 7:00 | 3:50|4.00 | 175 | 4.872 |3.15 o= - 2.85 | 4.50 X ——31.5

@ Order Separately
® Other Pipe and Tube Sizes are Available
98 NOTE: Dimensions are in Inches Unless Otherwise Noted.
© Copyright MAIN Mfg. 2019



BUTT WELD IN-LINE FLANGES

For Schedule 160 Pipe ®

ISO 6164 BOLT PATTERN

250 BAR SERIES

3181 TRI-PARK DR.

Model 6647 / 6651

If
J—"f

——¢C

GRAND BLANC, MI 48439

H—]

800-521-7918 810-953-1380 FAX 810-953-1385

)/

%_

(Flat Face)

%Z_Z
A

/ TAP-J

[
I

7/

——¢C

Model 6648 / 66

~—H—‘<

52

FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A | B|C | Dmm| E F Imm H | K | Rrrvo. | screw size | o-rinG WT
1 6647-08-08DM
13 /2 [6625-08-08DM
19 3/ 6647-12-12DM
4 6648-12-12DM PLEASE USE THE 400 BAR SERIES FOUND BELOW. THE BLOCK SIZE,
25 1 6647-16-16DM BOLT PATTERN AND THE O-RING ARE IDENTICAL
6648-16-16DM IN FLANGE SIZES 13 - 38. IF YOU HAVE ANY QUESTIONS PLEASE CALL
1 6647-20-20DM ENGINEERING AT 1-800-521-7918.
32 | 14 [eis20200m
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
38 1 1/ 6647-24-24DM bolts, add an SS at the end of the kit number (MK 501SS).
2 6648-24-24DM Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
6647-32-32DM 17.5 MKM 3531 M16 x 65 228
51 2 c648-32-300M | 400 [2:00|2.25| 98 |2.728 | 1.69 — =-m—1.60 | 2.50 ——6.0
1 6647-40-40DM 22.0 MKM 5573 M20 x 80 232
56 21> c648-2020oM | 475 |2:38 250 | 118 |3.285|2.12 -0 ---—1.88 | 3.00 —=— 9.4
6647-48-48DM 22.0 MKM 5558 M20 x 90 237
63 3 c6a8-aaasom | 550 |2:75(3.00 | 145 | 4.037 | 2.62 [---T-"—2.28 | 3.50 ——|15.7
O-Ring Style Companion Style MATERIAL:

316L Stainless

INFO@MAINMFG.COM

© Copyright MAIN Mfg. 2019

150 6164 BOLT PATTERN 400 BAR SERIES
FLS‘;::E :::E NECIELR A|B | C | Dmm E F f];; H | K [ arrvo. MOZ:;IE':\?SKIIZTE@ o-ring | WT
13 1/> 2:2;:82:8:33 1.75| .88 | 1.12| 42 |[1.170| .47 M8i.10.25 81| .88 [kM512 ME x 35 210 7
19 3/a zgziiiﬁgm 2.001.00|1.25| 50 |[1.392| .61 Msi.10.25 90 | 1.12 [KM 5559 ME x 35 214 1.0

6651-16-16DM 11.0 MKM 503 M10 x 40 219
25 1 cesa-16-16pM | 250 | 125|150 | 62 | 1.726 | .81 o 1.00 | 1.38 X — 1.7
32 |14 Z:i;:;g:zggm 3.00[1.50 | 1.75| 73 |2.0321.16 M112?<I15.75 120 1.75 [TKM 1502, MI2 x50 222 2.7
38 11> 2:2;:;2:5233 3.50[1.75|2.00| 85 |2.3661.34 M1176l>1:,2 1.44( 2,00 | KM315 | MI6 X 60 225 4.2
6651-32-32DM 17.5 MKM 5560|  M16 x 65 331
51 2 c652-32.300M | 400 [2:00|2.25| 98 |2.728 | 1.69 — = 1.60 | 2.50 X ———16.1
56 21> 222;::8:2833 4.75|2.38|2.75| 118 |3.2852.12 M2202>l<g.5 1.983.00 | KM 3538 M20 X80 335 10.1
6651-48-48DM 26.0 MKM 5561|  M24 x 90 337
63 3 c650-25-4sDm | 600 3:00|3.00 | 145 |4.037 | 2.62 [ Fo—2.12 | 3.50 X ——{17.5
70 | 31> :22;:?2:?:23 6.50 [ 3.253.50 | 160 |4.454 |2.73 M226433 2.46| 4.00 [iM 5562 M24 x 100 340 25.0
80 4 Z:E;ZZZZZEE 7.00 | 3.50 [4.00 | 175 |4.8723.15 M;O3)l<2.5 2.85|4.50 [ 2363 M30x120 341 31.5
@ Order Separately
® Other Pipe and Tube Sizes are Available
NOTE: Dimensions are in Inches Unless Otherwise Noted. 99



BUTT WELD IN-LINE FLANGES

For Schedule XXS Pipe ®

ISO 6164 BOLT PATTERN 250 BAR SERIES
FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A | B|C | Dmm| E F Imm H | K | rrvo. | screw size | o-rinG WT
1 6655-08-08DM
13 /2 [6656-08-08DM
19 3/ 6655-12-12DM
4 6656-12-12DM PLEASE USE THE 400 BAR SERIES FOUND BELOW. THE BLOCK SIZE,
25 1 6655-16-16DM BOLT PATTERN AND THE O-RING ARE IDENTICAL
6656-16-16DM IN FLANGE SIZES 13 - 38. IF YOU HAVE ANY QUESTIONS PLEASE CALL
1 6655-20-20DM ENGINEERING AT 1-800-521-7918.
32 | 14 [es620200m
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
38 1 1/ 6655-24-24DM bolts, add an SS at the end of the kit number (MK 501SS).
2 6656-24-24DM Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
6655-32-32DM 17.5 MKM 3531 M16 x 65 228
51 2 c6s6-32-300M | 400 [2:00|2.25| 98 |2.728 | 1.50 — =m—1.60 | 2.50 ——6.3
1 6655-40-40DM 22.0 MKM 5573 M20 x 80 232
56 | 22 [ cccaoaoom | 475|238 250 | 118 |3.285 | 1.77 [ " 1.88 | 3.00 —=—10.0
6655-48-48DM 22.0 MKM 5558 M20 x 90 237
63 3 c656-a5-4som | 550 | 2:75(3.00 | 145 | 4.037 | 2.30 [-o-T-"—2.28 | 3.50 ——16.5
MATERIAL: 0O-Ring Style Companion Style

316L Stainless (Flat Face)

}[Zg - {— 5 —| I % / DRILLG 1 / AP

i _BI_A 1—#7 I ]_H f

- F K - F

b Qél J—%/ g | J_% !

I Ane 2
E —H—] —H—]
——o¢c ——¢C S
Model 6655 / 6659 Model 6656 / 6660

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

IS0 6164 BOLT PATTERN 400 BAR SERIES
FLS‘;::E :::E NECIELR A B C |Dmm| E F f];g H K PART NO. MOZ:;IE':\?SKIIZTE@ 0-RING WT
13 1> 2:23:82:8:33 1.75| .88 [1.25| 42 |1.170| .25 Msif.zs 81 | .88 M1z M8 x 35 210 .8
19 3/s zgzzjijigm 2.00(1.00|1.38| 50 |[1.392| .44 Msif.zs 90 | 1.12 [KM 5559 ME x 33 214 1.1

6659-16-16DM 11.0 MKM 503 M10 x 40 219
25 1 ceco-16-16pM | 250 | 125|150 | 62 | 1.726 | .60 o 1.0 1.38 X —— 1.8
32 114 zgzzjg:zggm 3.00|1.50|1.75| 73 |2.032| .89 M112?<I15.75 120 1.75 [TKM 1502, MI2x 30 222 2.8
38 11> zgzz:iijigm 3.50 | 1.75/2.00| 85 |2.366|1.10 M1176l>?2 1.44| 2.00 [KM 515 M16 x 60 225 4.4
6659-32-32DM 17.5 MKM 5560  M16 x 65 331
51 2 c660-32-300M | 400 [2:00|2.25| 98 |2.728 | 1.50 — = 1.60 | 2.50 X —— 6.3
56 | 21> :223::2:2233 4.75(2.38|2.75| 118 |3.285|1.77 M2202>l<2.5 1.98| 3.00 KM 2538 ™20 x 80 335 10.8
6659-48-48DM 26.0 MKM 5561  M24 x 90 337
63 3 6660-45-48DM | 600 | 3:00|3.00 | 145 | 4.037 | 2.30 —Fo—2.12 | 3.50 X ——{18.3
70 31/ :223:22:2233 6.50 | 3.25|3.50 | 160 |4.454 |2.73 M226423 2.46| 4.00 [ KM 5362]  M24 x 100 340 25.0
6659-64-64DM 33.0 MKM 5563|  M30 x 120 341
80 4 660-64-64DM | 7:00 | 3:50|4.00 | 175 | 4.872 |3.15 oo - 2.85 | 4.50 X ——31.5

@ Order Separately
® Other Pipe and Tube Sizes are Available
100 NOTE: Dimensions are in Inches Unless Otherwise Noted.
© Copyright MAIN Mfg. 2019



QUICK REFERENCE GUIDE

This guide and a toll-free call to

1-800-521-7918

can give you the flange
you need when you need it!

MAIN Manufacturing manufactures its cataloged
. parts to its exacting quality standards as well as
T e National and International standards. We are
iwm;:g.?;w“%c“w“ always ready to quickly quote and manufacture
W’m::;::\gwszx%%é%‘?@? ~ _ flanges to your requirements/drawings, however
: these may be considered special.

3 |
um{e:n};\(RlGHT Now!

a) flange YO
et SPe e siting o1 ©

818

pHONE: B0 00
-REE . §10-95%

SRR T

com
AN

B o

ARG PR AN

AN AN K DRIVE 39

b 1;4;’3‘;}}. ThcHioAN 454

GRANI

To aid in conversation, MAIN’s “Quick Reference

i Guide” is useful, with the drawing number and
4 q parameters, our engineers can quote the exact
g B e B ‘flange. Because we have the skill, knowledge,

B —c c — ¢ — . .
aweso  sooerwen  were s €XPErience, materials, and tools, you can be

O-RING & FLAT FACED 66-2A 66-2B 66-2C .
assured of receiving a flange manufactured to
To expedite your special flange, the MAIN Manufacturing‘s highest quality standards.

following information is important:

) Many “special” flanges turn out to be simply non
Pad (pattern and screw size) cataloged semi standard flanges that could be in
Flange Type (O-Ring or Flat Face) stock. If not, MAIN Manufacturing is ready and

Connection (type and size) | .
Geometry (In-line, Elbow, Tee, etc.) , able to'§olve your flange problems quickly and
competitively.

Material
Extra’s

We are ready and able to solve any of your flange
problems no matter how unique. Call today.

p

'SPLIT FLANGES

© Copyright MAIN Mfg. 2019




MOUNTING KITS (must be ordered separately)

To allow our customers to have a choice, MAIN Manufacturing offers eight standard choices
of mounting kits. The mounting kits shown in the catalog generally include:
4 socket head screws, 4 hi-collar lock washers, and 1 Buna-N O-Ring. Simply changing the
third digit from the right to either 6, 7, or 8 will indicate a different kit.

MK 5** MK 15** MK 25**, MK 35** series: Socket head screws, lock washers, & Buna-N O-Ring
MK 6**, MK 16**,6 MK 26**, MK 36** series: Socket head screws, lock washers, & Viton O-Ring
MK 7**, MK 17**,6 MK 27**, MK 37** series: Hex head screws, lock washers, & Buna-N O-Ring
MK 8**, MK 18**,6 MK 28**, MK 38** series: Hex head screws, lock washers, & Viton O-Ring

To specify stainless screws, add an SS at the end of the kit number (MK 533SS). Please
note that using stainless steel screws may reduce the pressure rating of the assembly.

MAIN STANDARD O-RING GROOVE

The O-Ring groove dimensions vary between standards and suggestions from O-Ring
manufacturers. As a consequence, MAIN has developed the groove below:

NOM. OD OF O-RING

O-Ring A B 50 MAX./\ /—BREAK CORNERS .005 — A [—
100 series .124/.134 .075/.085

200 series .155/.187 | .105/.115 1
300 series .248/.270 | .155/.170
G .161/.171 .093/.096

GROOVE SURFACE FINISH /125

The O-Ring numbers in the catalog tables are Uniform O-Ring Dash Numbers. They are
consistent between most manufacturers, commercial, and military standards. That number,

the “durometer”, and the material type (Buna-N, Viton, Nitrile, Silicone, etc.), are all that is

necessary to order the O-Ring. The “durometer”, or hardness, used in hydraulic flanges is
specified as 90 although 70 is sometimes used. The material is determined by the fluid

and temperature being used and is best determined by the fluid supplier.

WELDING INFORMATION

The following general information may need to be changed for specific applications. Consult
with a welding specialist for specific applications.

—| T |-

When using ASTM A53 or A106 ~lc ._[' ¢ |—
Grade B seamless pipe: \k ~AY

T = Nominal Wall Thickness
of the pipe

€ min = %hii Tltél;l,t(z_ﬁ,t] r:_]e )Ss N .06 APROX. * N .06 APROX.

Use low hydrogen electrode '
AWS E7018 series

102

© Copyright MAIN Mfg. 2019



MAIN APPRECIATES OUR CUSTOMERS

MAIN Manufacturing Products, Inc. would like to thank all of our partners (customers, vendors and
employees) who helped us become a premier supplier of hydraulic flanges and couplings for over 55 years.
MAIN currently has over 1,200 active customers. We appreciate and thank their reliance on MAIN’s
quality, price and delivery to enhance their operations. We would also like to thank our vendors who help
us provide delivery and the quality that our customers demand. A great amount of our success is due to

our employees’ desire for doing the right job, correctly. Their understanding that quality, safety and working

efficiently are necessary attributes to success are noted and appreciated.
Y Y PP THANK YOU!

VISIT MAIN’S PRODUCTION FACILITY IN MICHIGAN

MAIN Manufacturing Products, Inc.
encourages visits to our Michigan facility
where we produce most of the products we
sell. Our continous improvement philosophy

means that significant changes have been

made over the last few years.
We welcome your visit.

GRAND BLANC, MICHIGAN

IMAIN]

manufacturing products

WORLDWIDE

MAIN Manufacturing Products, Inc.

works closely with distributors and users of hydraulic flanges and components WORLDWIDE from
our sole manufacturing facility in Grand Blanc, Michigan USA. Inquiries are promptly handled.
Call 800-521-7918 or 810-953-1380; Fax 810-953-1385; e-mail info@MAINmfg.com;

and visit us at our web site MAINmfg.com.

© Copyright MAIN Mfg. 2019



[

A

MAINmfg.com OFFERS MORE ITEMS

MAIN MANUFACTURING PRODUCTS, INC. effectively combines the very
latest State-of-the-Art numerical-controlled machinery, engineering-design
department, and the space to maintain the inventory necessary to meet your
needs on-time. Our web site, MAINmfg.com, offers many more options on
an interactive basis.

OVER 55 YEARS OF FLUID POWER EXPERIENCE

MAIN MANUFACTURING PRODUCTS, INC. directs all of its knowledge
and energy to the design, development, manufacturing, and distribution
of quality flanges and components for the fluid power industry.

DO ‘ ®
Toll Free: 800-521-7918 A k MAINmfg.com

info@MAINmfg.com o F ol \ ‘ Y 3181 Tri-Park Drive
Fax: 810-953-1385 . Grand Blanc, Michigan 48439
manufacturing products

A U.S. Manufacturer

© Copyright MAIN Mfg. 2019



